






















CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll
RO

LL
AI

RS
PR

IN
GS

R1

TAURUS B 159 IKARUS 108.115.160

Order No: 111622 / 3159

36
5

Ø256

Ø178,7

Ø178,7

3159

Order No: 110422 / 3415 - 25

CONTITECH RZ 415-25
FIRESTONE 1R5P 345 290

W01 095 0381
PHOENIX 2 G 20
TAURUS B 271
DUNLOP FR D12S08
GOODYEAR 9004
GOODYEAR 556 0 3 8911
CF GOMMA 1S 280-25

203000

VOLVO 3 027 271

Ø130,8

34
5

Ø225

Ø150,8

3415 - 25

Order No: 111122 / 3415 - 25 2L

Ø130,8

Ø225

Ø150,8

34
5

3415 - 25 2L



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

R2

Order No: 110442 / 3415 - 28

CONTITECH RZ 415-28
FIRESTONE 1R5P 410 290

W01 095 0382
PHOENIX 2 G 20 A
TAURUS B 272
DUNLOP FR D12S09
GOODYEAR 9005
GOODYEAR 556 0 3 8922
CF GOMMA 1S 280-28

203001

VOLVO 3 027 272

Ø130,8

Ø225

Ø150,8

41
0

3415 - 28

Order No: 111142 / 3415 - 28 2L
Ø225

41
0

Ø130,8

Ø150,8

3415 - 28 2L

Order No: 110462 / 3450 - 25

CONTITECH RZ 450-25
PHOENIX 1 E 23
TAURUS BL 128
DUNLOP FR D12S13
GOODYEAR 9050
CF GOMMA 1S 300-27

203386

EVO BUS A 356.327.0001
IVECO 931.97594
MERCEDES A 356 327 0001

A 613 327 0101

39
4

Ø150,2

Ø225

Ø150,2

3450 - 25



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll
RO

LL
AI

RS
PR

IN
GS

R3

Order No: 111742 / 3644 Brazil

CONTITECH 644 N
FIRESTONE 1R1A 390 295

095.0118
GOODYEAR 556 0 3 8017

MERCEDES BENZ A364.327.7001
VOLVO 3 159 252

1 134 445

Ø130,8

Ø130,8

Ø210

39
5

3644

Order No: 110002 / 3644

CONTITECH 644 N
FIRESTONE 1R1A 390 295

W01 095 0118
PHOENIX 1 E 21
TAURUS B 121
DUNLOP UK PNP301470101

PNP301470102
DUNLOP FR D11S01
GOODYEAR 8017
CF GOMMA 1S 285-24

92574
VIBRACOUSTIC V 1 E 21 (-2)

Ø130,8

Ø130,8

Ø210

39
5

3644

BPW 02.200.24.40.0
BUSSING 536 905 265
DAF 0 689 677
EVO BUS A 000 327 01 01

A 000 328 00 01
4.771.170.000
4.771.441.000
4.771.143.000

M.A.N. 81.43601.0017
MAGIRUS-DEUTZ 536 905 265
MERCEDES A 000.327.0101

A 613 327 0001
NEOPLAN 1001 12 254

1001 10 300
VOLVO 1 134 445

1 199 893
0 134 445
1 622 111

Order No: 110022 / 3661

CONTITECH 661 N
FIRESTONE 1R1C 390 310

W01 095 0021
PHOENIX 1 E 25
TAURUS B 114
DUNLOP UK PNP304980101

IC3309
DUNLOP FR D12S02
GOODYEAR 8018
CF GOMMA 1S 310-28

91016
VIBRACOUSTIC V 1 E 25 (-2)

39
5

Ø150,8

Ø240

Ø150,8

3661

BUSSING 831 120 144
EVO BUS 4.731.012.000

4.731.031.000
4.771.427.000
4.771.440.000

IVECO 4182227-4746733
KASSBOHRER 4.731.012.000

4.771.427.000
M.A.N. 90.83112.0144
MAGIRUS-DEUTZ 041 822 247

0249 8667
NEOPLAN 1001 12 250

AA 10-01-001
RENAULT  V.I 5.001.829.866
SCHMITZ 750 208
VOLVO 1 137 882

1 137 888
3 159 253



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

R4

Order No: 110082 / 3701

AUWARTER B 510040
IKARUS B 510040

CONTITECH 701 N
FIRESTONE 1R3M 340 340

W01 095 0205
PHOENIX 1 E 26-1
TAURUS B 116-1
GOODYEAR 9006

35
0

Ø178,7

Ø256

Ø178,7

3701

Order No: 110062 / 3673

BERTOJA 45402001
DAF 0 627 584
DAIMLER CHRYSLER A 383 327 00 01
EVO BUS A 383 327 00 01
INBUS 5001098
MAGIRUS-DEUTZ 0249 1566
VAN HOOL 624319-860
VOLVO 1 611 776

6 135 049

CONTITECH 673 N
FIRESTONE 1R1A 370 285

W01 095 0198
PHOENIX 1 F 21 A
TAURUS B 141
GOODYEAR 9051
CF GOMMA 1S 285-22

88786

Ø240

37
0

Ø130,8

Ø194.6

Ø130,8

3673

Order No: 110042 / 3662

BPW 02.200.24.60.0
DAF 0 578 361
GRANNING 15623
M.A.N. 81.43601.0018

81.43601.0051
NEOPLAN AA 10-01-002

1001 122 51
1001 102 00

SCHMITZ 750 209
WARSTEINER 501

CONTITECH 662 N
FIRESTONE 1R1D 355 355

W01 095 0207
PHOENIX 1 E 32
TAURUS BL 143
DUNLOP UK PNP302730101
DUNLOP FR D13S01
GOODYEAR 9007
CF GOMMA 1SC 360-30

92594
VIBRACOUSTIC V 1 E 32

Ø300

Ø198,1

Ø198,1
36

0

3662



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll
RO

LL
AI

RS
PR

IN
GS

R5

Order No: 110662 / 3706

M.A.N. 81.43601.0127
81.43601.0139
81.43601.0096
81.43601.0098
81.43601.0101

CONTITECH 706 N1
GOODYEAR 9067

Ø130,8

Ø130,8

51
0

Ø196,94

Ø240

3706

Order No: 110502 / 3713

VOLVO 6 797 169
1 622 116

CONTITECH 713 N
PHOENIX 1 F 21 D
GOODYEAR 9066

Ø240

Ø130,8

Ø130,8

49
2

3713

Order No: 110702 /3715

DAF 0 659 561
DAIMLER CHRYSLER A 363 328 00 01
IVECO 445.6111

476.3473
M.A.N. 81.43601.0059

81.43601.0060
81.43601.0061
81.43601.0075
81.43601.0078
81.43601.0081
81.43601.0083
81.43601.0090
81.43601.0113
81.43601.0115
81.43601.0117

MERCEDES A 363 328 0001
RENAULT  V.I 5.000.819.517
VOLVO 6 885 533

CONTITECH 715 N
FIRESTONE 1R1C 335 310

W01 095 0087
PHOENIX 1 F 25
TAURUS B 144
DUNLOP UK PNP304890101
GOODYEAR 8015
CF GOMMA 1SC 310-16

9351835
0

Ø260

Ø150,8

Ø229

Ø150,8

3715



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

R6

Order No: 110122 / 3720

CONTITECH 720 N
FIRESTONE 1R2A 460 295

W01 095 0195
PHOENIX 1 F 21
TAURUS B 152
DUNLOP UK PNP301000100
DUNLOP FR D12S04
GOODYEAR 9008
CF GOMMA 1SC 290-30

88802

BPW 02.200.24.10.0
DAIMLER CHRYSLER A 387 328 01 01
DENNIS 650 292/ 8

650 883/ 7
650 883/ 4

M.A.N. 81.43601.0033
81.43601.0036
81.43601.0037

NEOPLAN 1001 123 00
VOLVO 6 797 169

1 629 193
1 590 136

Ø240

46
0

Ø130,8

Ø130,8

3720

Order No: 110482 / 3719

CONTITECH 719 N
FIRESTONE 1R2D 530 360

W01 095 0192
PHOENIX 1 F 32 B
TAURUS B 153
DUNLOP UK PNP304620101
GOODYEAR 8118
CF GOMMA 1SC 360-43

92593

BPW 02.200.24.00.0
DAF 0 818 225
EVO BUS 4.731.032.000
GIGANT 196036

166205
KASSBOHRER 4.731.032.000

4.731.030.000
NEOPLAN 1001 101 00

1021 002 00
SCHMITZ 750 215

Ø198.1

Ø300

Ø198.1

53
0

3719

Order No: 110102 / 3716

CONTITECH 716 N
FIRESTONE 1R2A 450 305

W01 095 0145
PHOENIX 1 F 26 B-1
TAURUS B 197
GOODYEAR 9073
CF GOMMA 1SC 300-34

92548

M.A.N. 81.43601.0039
81.43601.0040

VOLVO 1 075 290
1 593 842

Ø260

46
0

Ø130,8

Ø130,8

3716



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll
RO

LL
AI

RS
PR

IN
GS

R7

Order No: 110982 / 3728

CONTITECH 728 N
FIRESTONE 1R2D 470 360

W01 095 0419
PHOENIX 1 F 32 A
TAURUS B 149
DUNLOP UK PNP306420100
GOODYEAR 8117
CF GOMMA 1SC 360-34

92575

SCHMITZ 750 212
Ø300

47
0

Ø198.1

Ø198.1

3728

Order No: 110162 / 3737

CONTITECH 737 N
FIRESTONE 1R1A 480 330

W01 095 0211
PHOENIX 1 F 26
TAURUS B 127
GOODYEAR 9075
CF GOMMA 1S 323-23

89756

CHEREAU VSR U5 00211F
DAIMLER CHRYSLER A 393 328 01 01
MENARINI 178739

Ø265

48
4

Ø130,8

Ø130,8

3737

Order No: 110142 / 3727

CONTITECH 727 N
FIRESTONE 1R2D 460 360

W01 095 0191
PHOENIX 1 F 32 A
TAURUS B 149
DUNLOP UK PNP306420100
DUNLOP FR D13S04
GOODYEAR 8117
CF GOMMA 1SC 360-34

92575

Ø300

Ø198,1

Ø198,1
45

0

3727

DAF 0 638 148
0 166 226
0 196 043

GIGANT 166226
196043

M.A.N. 81.43601.0056
81.43601.0057
81.43601.0058
81.43601.0076
81.43601.0079
81.43601.0082
81.43601.0084
81.43601.0091
81.43601.0114
81.43601.0116

MERCEDES A 307 328 0101
SCHMITZ 750 212
VOLVO 1 134 446



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

R8

Order No: 110542 / 3762

BPW 02.200.24.20.0
02.200.24.00.0

DAF 0 644 425
0 578 361

EVO BUS 4.731.013.000
GIGANT 161210

161209
196035

KASSBOHRER 4.731.013.000
M.A.N. 81.43601.0049

81.43601.0052
MERCEDES A 382 327 7101
NEOPLAN 1021 003 00

CONTITECH 762 N
FIRESTONE 1R2D 390 360

W01 095 0190
PHOENIX 1 F 32
TAURUS BL 143
DUNLOP UK PNP307800100
DUNLOP FR D13S02
GOODYEAR 9010
CF GOMMA 1SC 360-30

92594

Ø198

Ø300

Ø198

39
0

3762

Order No: 110582 /3757

DAIMLER CHRYSLER A 363 328 02 01CONTITECH 757 N
FIRESTONE 1R2A 380 305

W01 095 0212
PHOENIX 1 F 26 C
TAURUS B 126
GOODYEAR 9077

38
5

Ø260

Ø130,8

Ø130,8

3757

Order No: 110182 / 3746

DAIMLER CHRYSLER A 318 328 00 01CONTITECH 746 N
GOODYEAR 9076

46
0

Ø265

Ø 130,8

Ø130,8

3746



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll
RO

LL
AI

RS
PR

IN
GS

R9

Order No: 110922 / 3768

CONTITECH 768 N
FIRESTONE 1R2A 380 330

W01 095 0213
PHOENIX
TAURUS B 125
GOODYEAR 9078

RENAULT  V.I 5.000.954.175
VOLVO 1 612 455

Ø265

Ø130,8
38

5

Ø130,8

3768

Order No: 110742 / 3769

CONTITECH 769 N
FIRESTONE 1R1A 380 260

W01 095 0204
PHOENIX 1 E 18
TAURUS B 156
DUNLOP UK PNP305140100
DUNLOP FR D10S02
GOODYEAR 8053
CF GOMMA 1SC 240-30

97326

MENARINI 252933
RENAULT  V.I 5.000.805.284
VAN HOOL 624319-860

Ø130.8

Ø190

Ø130,8

38
0

3769

Order No: 110682 / 3782

CONTITECH 782 N
FIRESTONE 1R1A 415 285

W01 095 0197
TAURUS B 124
DUNLOP FR D11S02
GOODYEAR 9013
CF GOMMA 1S 285-25

97555

IVECO 470.3904
470.3972
471.6989
931 95 986

MERCEDES A 382 327 7201
RENAULT  V.I 5.000.954.176

Ø130,8

Ø130,8

Ø214

41
6

3782



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

R10

Order No: 111732 / 3782 Brazil

CONTITECH 782 N
FIRESTONE 1R1A 415 285

095.0197
GOODYEAR 556 0 3 8013

8013

MERCEDES BENZ A382.327.7201
RENAULT 5 000 954 176

Ø130,8

Ø130,8

Ø210

41
6

3782

Order No: 110722 / 3786

CONTITECH 786 N
FIRESTONE 1R2S 355 245

W01 095 0436
PHOENIX 1 F 14

M.A.N. 81.43601.0053
Ø200

35
4

Ø100,8

Ø180

Ø100,8

3786

Order No: 111472 /3788

CONTITECH 788 N DAIMLER CHRYSLER A 674 328 03 01
NEOPLAN 1001 121 00
VAN HOOL 624319-560
VOLVO 6 782 726

43
9

Ø100,8

Ø130,8

Ø178

3788



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll
RO

LL
AI

RS
PR

IN
GS

R11

RENAULT  V.I 5.810.111.355
5.000.805.998

Order No: 111322 / 3817

CONTITECH 817 N
Ø220

31
2

Ø190

Ø100,8

Ø130,8

3817

DAIMLER CHRYSLER A 000 328 01 01

Order No: 110642 / 3819

CONTITECH 819 N

35
0

Ø100,8

Ø166

Ø100,8

3819

DAIMLER CHRYSLER A 674 328 00 01

Order No: 110762 / 3838

CONTITECH 838 N
PHOENIX 1 F 26 D
GOODYEAR 9074

Ø266

60
0

Ø130.8

Ø130.8

3838



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

R12

DAIMLER CHRYSLER A 674 328 01 01

Order No: 110802 / 3873

CONTITECH 873 N

59
0

Ø240
Ø130.8

Ø130.8

Ø196.9

3873

IVECO 410.22620
RENAULT  V.I 5.000.296.816

Order No: 110522 / 3876

CONTITECH 876 N
GOODYEAR 8314

47
0

Ø150,8

Ø240

Ø150,8

3876

Order No: 110622 / 3882

CONTITECH 882 N1
PHOENIX 1 F 16
TAURUS B 155
GOODYEAR 9048
CF GOMMA 1SC 250-28

97042

DAIMLER CHRYSLER A 699 328 01 01
A 658 328 01 01

M.A.N. 81.43601.0065
81.43601.0067
81.43601.0070
81.43601.0092
81.43601.0099
81.43601.0100
81.43601.0103
81.43601.0121
81.43601.0132

Ø210

Ø100,8

Ø130,8

46
5

3882



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll
RO

LL
AI

RS
PR

IN
GS

R13

Order No: 110562 / 3883

CONTITECH 883 N1
FIRESTONE 1R4R 465 260

W01 095 0435
PHOENIX 1 F 21 C-2
GOODYEAR 9012
CF GOMMA 1SC 250-29

204250

M.A.N. 81.43601.0071
81.43601.0072
81.43601.0110
81.43601.0128

VOLVO 1 082 085
1 082 130

Ø230

49
6

Ø130,8

Ø130,8

3883

Order No: 110602 / 3884

CONTITECH 884 N
FIRESTONE 1R1B 415 270

W01 095 0295
PHOENIX 1 F 20 A
TAURUS BL 249
DUNLOP FR D12S06
GOODYEAR 9002
CF GOMMA 1S 270-25C

97608

DAIMLER CHRYSLER A 658 328 00 01
IVECO 818.8539

971 08 363
500 301 452
818.4025

M.A.N. 81.43601.0066
81.43601.0068
81.43601.0069
81.43601.0106
81.43601.0108

RENAULT  V.I 5.010.294.385

Ø130,8

Ø230

42
0

Ø130.8

3884

Order No: 110202 / 3896

CONTITECH 896 N
FIRESTONE 1R1J 520 285

W01 095 0245
PHOENIX 2 E 18 A
TAURUS B 166
DUNLOP UK PNP305140100
DUNLOP FR SP2191
GOODYEAR 8040

DENNIS 656 300/ 2
SCANIA 411627

Ø186

51
0

Ø120,6

Ø120,6

3896



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

R14

Order No: 110222 / 3897

CONTITECH 897 N
FIRESTONE 1R1K 440 320

W01 095 0239
W01 095 0229

PHOENIX 2 E 23
TAURUS B 165
DUNLOP UK PNP305210100

PNP305210101
DUNLOP FR SP2192
GOODYEAR 8028

556 0 3 8028
CF GOMMA 1 S 320 30

88788

DENNIS 656 289/ 2
SCANIA 411622

411623
402315

42
5

Ø220

Ø164,8

Ø164,8

3897

Order No: 110942 / 3921

CONTITECH 921 N
FIRESTONE 1R1A 415 260

W01 095 0226
PHOENIX 1 E 18
TAURUS B 158
DUNLOP FR D10S04
GOODYEAR 8043
CF GOMMA 1S 285-23

202728

EVO BUS A 000 328 00 01
IVECO 994 59 166
RENAULT  V.I 5.000.288.982

5.010.151.378
5.010.151.379

41
0

Ø190

Ø130,8

Ø130,8

3921

3916

Order No: 110242 / 3916

46
0

Ø240

Ø130,8

Ø130,8

CONTITECH 916 N
PHOENIX 1 F 21 C-5
TAURUS  B154
DUNLOP  FR  D12S05
GOODYEAR  9015

MAN 81.43601.095
81.43601.097
81.43601.102
81.43601.105
81.43601.100
81.43601.126



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll
RO

LL
AI

RS
PR

IN
GS

R15

Order No: 111722 / 3927 Brazil

FIRESTONE 1R1J 415 285
095.0244

GOODYEAR 556 0 3 8037

SCANIA 434.932

41
8

Ø186

Ø120,6

Ø120,6

3927

CONTITECH 927 N
FIRESTONE 1R1J 415 285

W01 095 0244
PHOENIX 2 E 18 B
TAURUS B 179
DUNLOP UK PNP300080100
GOODYEAR 8037

DENNIS 611 896/ 12
LEYLAND AAU2542
VOLVO 3 116 354

Order No: 110262 / 3927

41
8

Ø186

Ø120,6

Ø120,6

3927

Order No: 111712 / 3921 Brazil

CONTITECH 921 N
FIRESTONE 1R1A 415 260

095.0226
GOODYEAR 556 0 3 8043
GOODYEAR 8043

RENAULT 5 000 288 982
KLL 8 035 213 B01

Ø130,8

Ø190

Ø130,8

41
0

3921



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

R16

Order No: 110282 / 3928

CONTITECH 928 N
FIRESTONE 1R1K 380 320

W01 095 0228
PHOENIX 2 E 23 A
TAURUS B 178
DUNLOP UK IC 3308
DUNLOP FR D12S03
GOODYEAR 8042

IVECO 645.3741
LEYLAND AAU2544
SCANIA 434932
VOLVO 3 116 983

37
5

Ø220

Ø164,8

Ø164,8

3928

Order No: 110302 / 3936

RENAULT  V.I 5.000.819.370
Ø225

Ø150.3

Ø150.3

34
8

3936

CONTITECH 936 N
DUNLOP UK PNP309070100
DUNLOP FR D12S01
GOODYEAR 9042

Order No: 111692 / 3928 - 01 Brazil

38
0

Ø220

Ø164,8

Ø164,8

3928 - 01

VOLVO 2TB 411099 ate 2001FIRESTONE 1R1K 380-320
W01 095 0339
W01 095 0228

GOODYEAR 8042



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll
RO

LL
AI

RS
PR

IN
GS

R17

Order No: 111642 / 3944 Brazil

CONTITECH 944 N
FIRESTONE 1R1B 390 270

095.0121
GOODYEAR 556 0 3 8016

SCANIA 523.229
533.802

EL DETALLE AO 101

Ø216

39
0

Ø130,8

Ø130,8

3944

Order No: 110342 / 3944

CONTITECH 944 N
FIRESTONE 1R1A 370 285

W01 095 0198
TAURUS B 141
DUNLOP UK PNP316720100
DUNLOP FR SP1217
GOODYEAR 8012
CF GOMMA 1S 285-22

88786

DAF 0 627 584
INBUS 4890001

4840005
IVECO 473.8008

472.2525
471.4025
473.6728

MENARINI 178623
325993

PORTESI 700 176
VAN HOOL 624319-860
VOLVO 1 611 776

1 999 893

Ø216

39
0

Ø130,8

Ø130,8

3944

Order No: 110322 / 3943

CONTITECH 943 N
FIRESTONE 1R1A 260 285

W01 095 0189
TAURUS B 194
DUNLOP UK PNP316720100
DUNLOP FR D11S03
GOODYEAR 9001
CF GOMMA 1S 285-18

88809

INBUS 5001051
IVECO 614.4040

816.0165

29
0

Ø216

Ø130,8

Ø130,8

3943



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

R18

Order No: 110362 / 3945

CONTITECH 945 N
FIRESTONE 1R1A 460 290

W01 095 0063
PHOENIX 1 E 21 C
TAURUS K 152
DUNLOP UK PNP301000101
DUNLOP FR D11S02
GOODYEAR 9014
CF GOMMA 1S 285-25

97555

IVECO 471.6989
MENARINI                         178741
SCANIA BUSSAR (South America) 523229

Ø216

43
5

Ø130,8

Ø130,8

3945

Order No: 111442 / 3975

CONTITECH 975 N
FIRESTONE 1R1T 320 195

W01 095 0437
PHOENIX 1 E 10

EVO BUS  A 699 328 01 01

31
6

Ø142

Ø81,2

Ø81,2

3975

Order No: 111812 / 30031

FIRESTONE 1RD 445 355
W01 095 0031

GOODYEAR 8031

Ø300

Ø198,1

Ø198,1

44
5

30031

MERCEDES BENZ A 382 327 7001



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll
RO

LL
AI

RS
PR

IN
GS

R19

Order No: 111702 / 30115

FIRESTONE  1R1G 525-379
W01 095 0115

GOODYEAR 8038
556 0 3 8038

Ø198,1

Ø295

Ø198,1

52
5

30115

Order No: 111662 / 30134

FIRESTONE 1R1E 355 320
W01 095 0134

GOODYEAR 8019
556 0 3 8019

SCANIA 523208
MAFERSA M210

Ø240

Ø150,8

33
5

Ø150,8

30134

RANDON 212100194

Order No: 111792 / 30232

FIRESTONE 1R1E 525 320
W01 095 0232

GOODYEAR 8032
556 0 3 8032

52
5

Ø150,8

Ø240

Ø150,8

30232

DAMCAR 000.001.404
TRES EIXOS 1501



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

R20

Order No: 111552 / 30789

GOODYEAR 9081 VOLVO 20 540 789Ø130,8

36
5

Ø130,8

Ø216

30789

Order No: 111802 / 30427

FIRESTONE 1R1K 330 320
W01 095 0427

GOODYEAR 8072
556 0 3 8072

33
0

Ø220

Ø164,8

Ø164,8

30427

VW Bus 220.616.041

Order No: 111682 / 30375

FIRESTONE 1R1E 440 320
W01 095 0375

TRES EIXOS 1502
VOLKSWAGEN 2TB 511101A

30375

Ø150,8

Ø240

Ø150,8

44
0



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll
RO

LL
AI

RS
PR

IN
GS

R21

Order No: 111302 / 31277

FIRESTONE 1R4U 395 260
W01 095 0453

DUNLOP UK A310950013

VOLVO 3 111 277

Ø186

Ø130,8

Ø120,6

40
0

31277

Order No: 111282 / 30907

DUNLOP UK PNP30907100

39
0

Ø164,8

Ø220

Ø164,8

30907

Order No: 111532 / 30792

GOODYEAR 9082 VOLVO 20 540 792

34
1

Ø119,2

Ø193

Ø130,8

30792



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

R22

49
0

Ø265

Ø130,8

Ø130,8

Order No: 111482 / 31415

CONTITECH 1415 N IRIS 5.000.021.414

31
7

Ø130,8

Ø150,8

Ø223

31415

Order No: 110842 / 31421

CONTITECH 1421 N
FIRESTONE 1R2A 490 305

W01 095 0472

VOLVO 1 075 290

31421

Order No: 110862 / 31720

CONTITECH 1720 N
GOODYEAR 9068

DAIMLER CHRYSLER A 655 327 00 01Ø240

46
0

Ø130,8

Ø130,8

31720



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll
RO

LL
AI

RS
PR

IN
GS

R23

Order No: 110902 / 31924

IRIS 5.001.843.640
RENAULT  V.I 5.001.843.640
VOLVO 1 075 366

CONTITECH 1924 N1Ø230

Ø150,8

Ø130,8

35
6

31924

Order No: 110402 / 31885

CONTITECH 1885 N1
FIRESTONE 1R2A 445 280

W01 095 0429
PHOENIX 1 F 20 B
DUNLOP FR D12S07
GOODYEAR 9003
CF GOMMA 1SC 270-28

97043

IVECO 984.78799
M.A.N. 81.43601.0125

8.143601.0150
8.143601.0111
8.143601.0123
8.143601.0104
8.143601.0109

45
0

Ø130,8

Ø230

Ø130,8

31885

Order No: 111172 / 31782

CONTITECH 1782 N1 IRIS 5.001.857.612
Ø150,8

41
0

Ø230

Ø130,8

31782



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

R24

Order No: 110382 / 36305

Ø130,8

Ø225

Ø150,8

49
5

36305

Order No: 110782 / 36306

Ø130,8

Ø225

Ø150,8

48
5

36306

Order No: 110132 / 36875

PHOENIX 1 E 18 D
DUNLOP UK 01003A-AP
DUNLOP FR D12S21
GOODYEAR 9080

39
4

Ø190

Ø130,8

Ø130,8

36875



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll
RO

LL
AI

RS
PR

IN
GS

R25

Order No: 110052 / 36876

39
4

Ø190

Ø130,8

Ø130,8

36876

PHOENIX 1E18D-1

Order No: 110072 / 36877

39
4

Ø190

Ø130,8

Ø130,8

36877

PHOENIX 1E18D-2

Order No: 110112 / 37142

CONTITECH RZ 260-30

37142

Ø130,8

Ø178

34
0

Ø100,8



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

R26

Order No: 110032 / 318285

26
5

Ø216

Ø130,8

Ø130,8

318285

CF GOMMA 1S285-18C
97261

Order No: 111592 / 319250

Ø130,8

Ø100,8

23
4

Ø200

319250

CF GOMMA 1SC 250-19
201727

IVECO 41006926

Order No: 111572 / 319270

Ø130,8

Ø216

Ø130,8

30
3 319270

CF GOMMA 1S 270-19
201732



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll
RO

LL
AI

RS
PR

IN
GS

R27

Order No: 111362 / 320270

34
2

Ø218

Ø130,8

Ø130,8

320270

CF GOMMA 1S 270-20 V
202773

IVECO 42531994
MENARINI D020990

Order No: 111342 / 320285

33
4

Ø218

Ø130,8

Ø130,8

320285

CF GOMMA 1S 285-20
96534

IVECO 4843220
577443

Order No: 111382 / 323290

42
4

Ø218

Ø130,8

Ø130,8

323290

CF GOMMA 1S 290-23 V
204427

IVECO 500 324 098



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

R28

Order No: 111762 / 332260

CF GOMMA 1SC260-32

35
7

Ø130,8

Ø100,8

332260

Order No: 111752 / 330260

CF GOMMA 1SC260-30

30
5

Ø130,8

Ø100,8

330260

Order No: 110012 / 327270

IVECO 203698

Ø130,8

Ø130,8

Ø210

48
0

327270

CF GOMMA 1S 270-27



CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll

CROSS REFERENCE OEM REFERENCE

Roll
RO

LL
AI

RS
PR

IN
GS

R29

Order No: 111602 / 336323
Ø240

Ø150,8

Ø150,8

50
7

336323

CF GOMMA 1S 323-36
203833

IVECO 41022620

Order No: 111502 / 30008

PHOENIX 1 G 08

Order No: 111782 / 30375 - 01

FIRESTONE 1R1E 440 320
W01 095 0229

DUNLOP UK PNP30521
GOODYEAR 8313

556 0 3 8313

Ø151,8

Ø240

Ø151,8

44
0

30375 - 01

TRES EIXOS 1502
VOLKSWAGEN 2TB 511101A

30008

Ø140

Ø88,5

26
8

Ø68,5



CROSS REFERENCE OEM REFERENCE

Roll

R30

Order No: 111262 / 31888

46
6

Ø150,8

Ø240

Ø150,8

31888

CONTITECH 1888 N

Notes





TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

TOP VIEW

BOTTOM VIEW

CROSS REFERENCE OEM REFERENCE

Service Assembly

CROSS REFERENCE OEM REFERENCE

Service Assembly

TOP VIEW

BOTTOM VIEW

CROSS REFERENCE OEM REFERENCE

Service Assembly

SE
RV

ICE
 AS

SE
MB

LY
AIR

SP
RIN

GS

S1

Order No : 121562 / 3727-01 P

70

11
3

113

3/8"-16UNC-2B

M12 M22x1,5

285

M16

M12

Ø324

58
45

8
Order No : 121382 / 3662-01 P

113

7011
3

M22x1,5

3/8"-16UNC-2BM12

160,5

M12

M16

Ø324

36
8

58

3662- 01

Order No : 121542 / 3727 P

285

113

7011
3

M12

3/8"-16UNC-2B

M22x1,5

M16

M12

Ø324

58

45
8

3727

3727 - 01



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Service Assembly

CROSS REFERENCE OEM REFERENCE

Service Assembly

CROSS REFERENCE OEM REFERENCE

Service Assembly

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

S2

Order No : 120602 / 3808 T

3808

Ø219

97

28
4

M12

CONTITECH 808 NTB
PHOENIX 1 D 23 A-1
TAURUS UR 500-13

M.A.N. 81.43601.6017

Order No : 120922 / 3809 T

M12

41
5

Ø219

97

3809

CONTITECH 809 NTB
FIRESTONE 1T15L-6

W01 M58 0687
PHOENIX  1 D 23 C-1
TAURUS UR 504-13
GOODYEAR 1R12-709
CF GOMMA 1 T 320 SP

89753

M.A.N. 81.43601.6002
81.43601.6023

Order No : 120102 / 3811-03 P

10090

86
,6

86
,6

50

M10M16x1,5

51
1

Ø156.5

Ø286

3811- 03

CONTITECH 811 M16
FIRESTONE 1T19L-11



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

TOP VIEW

BOTTOM VIEW

CROSS REFERENCE OEM REFERENCE

Service Assembly

CROSS REFERENCE OEM REFERENCE

Service Assembly

TOP VIEW

BOTTOM VIEW

CROSS REFERENCE OEM REFERENCE

Service Assembly

SE
RV

ICE
 AS

SE
MB

LY
AIR

SP
RIN

GS

S3

Order No : 120682 / 3811-04 P

180

79
,4

10
,5

M22x1,5

M10

M12

Ø286

58

51
1

3811- 04

FIRESTONE 1T19L-11

Order No : 120842 / 3811-05 P

158.8

79,4

15
8,

8

M22x1,5
M12

51
1

Ø156.5

Ø286

58

3811 - 05

FIRESTONE 1T19L-11

Order No : 120162 / 3836-01 P

80

85

5

33

70

70

11
0

M16x1,5 M10

Ø150.8

37
5

Ø273,5

80

3836 - 01

CONTITECH 836 MB
FIRESTONE 1T17AR-4.5

W01 M58 0775

DAF 0 513 985



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Service Assembly

CROSS REFERENCE OEM REFERENCE

Service Assembly

CROSS REFERENCE OEM REFERENCE

Service Assembly

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

S4

Order No : 120962 / 3909 T

M12

Ø219

36
6,

5

97

3909

CONTITECH 909 NTB
FIRESTONE 1T15L-6

W01 M58 0687
PHOENIX 1 D 23 C-1
TAURUS B 151
CF GOMMA 1T 320 SP

89753

M.A.N. 81.43601.0050
81.43601.0054
81.43601.6023

NEOPLAN 1021 215 00
1021 005 00

Order No : 120562 / 3951 P

M16

73

150

25

M22x1,5

M12
Ø259

40
,6

61
0

3951

CONTITECH 951 MB
FIRESTONE 1T17D-12

W01 M58 8621
GOODYEAR 1R11-704

BPW 05.429.40.72.0
BPW Type BPW 30-1

Order No : 123192 / 30010 P

175,5

Ø9,9

M16X1,5

Ø130,8

37
3

Ø259

30010

VOLVO 21013010



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

TOP VIEW

BOTTOM VIEW

CROSS REFERENCE OEM REFERENCE

Service Assembly

CROSS REFERENCE OEM REFERENCE

Service Assembly

TOP VIEW

BOTTOM VIEW

CROSS REFERENCE OEM REFERENCE

Service Assembly

SE
RV

ICE
 AS

SE
MB

LY
AIR

SP
RIN

GS

S5

Order No : 120072 / 32621 P

M16

15
0

73
25

M12
M22x1,5

Ø259

46
3

32621

M20

Order No : 122492 / 31324 P

15
8,

8

79
,4

79,4
158,8

M12

M16x1,5

61
7

58
Ø311

31324

PHOENIX 1 DK 32 E-4
CF GOMMA 1TC 360-50

KASSBOHRER 4.731.043.000
4.731.043.100.13

Order No : 123052 / 34007 P

20

73

160

M12

M22x1,5Ø259

41
8

Ø116

34007

CONTITECH 4007 N P01 GIGANT 166271
247104



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Service Assembly

CROSS REFERENCE OEM REFERENCE

Service Assembly

CROSS REFERENCE OEM REFERENCE

Service Assembly

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

S6

Order No : 120472 / 34157-03 P

M12

157,5

M12M20x1,5
M12x1,5

48
8

Ø259

97

34157 - 03

CONTITECH 4157 N P03 FRUEHAUF M078580
NEWAY 905 572 33

Order No : 123102 / 34705 P

35

60
84

M12

M16x1,5

Ø273,5

Ø150,8

53
6

34705

CONTITECH 4705 N1 P01 M.A.N. 81.43601.0155

Order No : 122932 / 34725 P

20

220

95

M12

M22x1,5

Ø311

43
5

Ø171,1

34725

CONTITECH 4725 N P01 GIGANT 247103



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

TOP VIEW

BOTTOM VIEW

CROSS REFERENCE OEM REFERENCE

Service Assembly

CROSS REFERENCE OEM REFERENCE

Service Assembly

TOP VIEW

BOTTOM VIEW

CROSS REFERENCE OEM REFERENCE

Service Assembly

SE
RV

ICE
 AS

SE
MB

LY
AIR

SP
RIN

GS

S7

Order No : 120622 / 34810 T

M12

58

43
2

Ø275

34810

CONTITECH 810 NTB
FIRESTONE 1T19L-7

W01 M58 0749
PHOENIX 1DK 28 A4
TAURUS UR 621-03
DUNLOP UK PNP311380000
GOODYEAR 1R14-713
CF GOMMA 1T 19E-1

M.A.N. 81.43601.0042
81.43601.0047
81.43601.6019

Order No : 121202 / 34838 P

Ø150

M24x1,5

M16x1,5

59
0

Ø130,8

34838

CONTITECH 4838 N DAIMLER CHRYSLER A 946 328 00 01

Order No : 120462 / 34881 P

CONTITECH 4881 N P02
FIRESTONE 1T66D-7.0

W01 M58 8601
PHOENIX 1DK 32 K
TAURUS UR 838-01 T
DUNLOP FR D14U37
GOODYEAR 1R14-701

BPW 05.429.41.01.0
BPW Type BPW 36 K

34881

Ø311,5

30
42

0

M16

95

25

210

M22x1,5

M12



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Service Assembly

CROSS REFERENCE OEM REFERENCE

Service Assembly

CROSS REFERENCE OEM REFERENCE

Service Assembly

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

S8

Order No : 121462 / 34915 P

M16x1,5

140

M24x1,5

M16x1,5Ø12
53

7

58

Ø239

34915

RENAULT  V.I 5.001.855.856CONTITECH 4915 N P03

Order No : 122552 / 34922 P

72
,5

100
M12

M16x1,5

M12

Ø259

69
44

7

34922

CONTITECH 4922 N

Order No : 122562 / 36055 P

15
8,

8

79
,4

158,8

79,4

M12

M16x1,5

M20

71
7

58

Ø311

36055

CF GOMMA 1TC 360-55 KASSBOHRER 4.731.044.100



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

TOP VIEW

BOTTOM VIEW

CROSS REFERENCE OEM REFERENCE

Service Assembly

CROSS REFERENCE OEM REFERENCE

Service Assembly

TOP VIEW

BOTTOM VIEW

CROSS REFERENCE OEM REFERENCE

Service Assembly

SE
RV

ICE
 AS

SE
MB

LY
AIR

SP
RIN

GS

S9

M12

Order No : 121762 / 36873 P

20

160

70

M22x1,5

M10

44
5

97

Ø227

36873

CF GOMMA 1T 323-33
96873

BERTOJA 45402004
ZORZI 298568

Order No : 123112 / 36198 P

73

157,5

12
,5

Ø12

M12X1,5

80

Ø227

30
9

Ø147,3

58

36198

SCANIA 1386198

Order No : 122842 / 38002 P

48

6454

113,5

M10x1,25

M6x1

M12x1,5

Ø180

21
8 38002

TOYOTA Coaster Long Type



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Service Assembly
TOP VIEW

BOTTOM VIEW

S10

Order No : 122862 / 38003  P

M12x1,5

52

54

113,5

M6x1

M10x1,25

Ø180
30

6
22

38003

TOYOTA Coaster Short Type

Notes





TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 1

M18x1,5

M10

Order No : 134982 / 3661 K

M18x1,5
M10x1

Ø289,4

56

13
3

48
,5

Ø224,5

Ø4

32

3661

CONTITECH 661 N P01 RENAULT  V.I 5.010.073.846

Order No : 135572 / 3724 K

45

120
M20x2,5

M16

73

160

20

M12

M22x1,5

Ø200

17
0

60

Ø259

3724

CONTITECH 724 N P02 GIGANT 166225
3053

CONTITECH 724 N P01
GOODYEAR 1R11-711

GIGANT 246169 Service Assembly Available - Order No: 122822 / 3724 P

Order No : 134182 / 3701 K

Ø166

M12

M12

M12x1,5

200

12
9

Ø215

80

Ø280

3701

BOVA B 510040
IKARUS B 510040



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 2

Ø200

M12

Order No : 130022 / 3810  K

79
,4 15

8,
8

79,479,4

79,4

M12

M22x1,5
Ø286

Ø260

13
9.

8

58

3810

BERTOJA 45402002
DAF 1 384 273
GRANNING 15635
HENDRICKSON B 2065
IVECO 9988467
NEWAY 211 586
R.O.R / MERITOR 21215632
RENAULT  V.I 5.000.452.939
SAF 2.228.0002.00
SAF Type E1 2918 AR 414
SAMRO 25008
T.E.C 506243/ 01
VOLVO 1 080 707
WEWELER US 87413
YORK 785168

CONTITECH 810 MB
FIRESTONE 1T19L-7

W01 M58 6345
W02 M58 8775

PHOENIX 1 D 28 A-2
TAURUS KR 621-26
DUNLOP UK PNP311780000
DUNLOP FR D13B20
GOODYEAR 1R14-716
CF GOMMA 1T 19E-1
CF GOMMA 2 87413/1

CONTITECH 810 N
FIRESTONE 2 W01 095 7237
DUNLOP UK PNP307520000

 Service Assembly Available - Order No: 120022 / 3810 P

Order No : 130002 / 3725  K

M22x1,5

220

9520

M12

M20

Ø255

Ø311.5

58

19
1

3725

CONTITECH 725 N P02
FIRESTONE 1T66F-10.8

W01 M58 8969
PHOENIX 1 DF 32
TAURUS UR 836- 11
DUNLOP FR D14U38
CF GOMMA 1 TCS 360-45

202964

GIGANT 166217
246149

GIGANT 3653CONTITECH 725 N P01
GOODYEAR 1R14-704

 Service Assembly Available - Order No: 120002 / 3725 P

Order No : 130642 / 3725-01  K

60

74
,5

60

45
,5

120

M16

M22x1,5

220

20 95

M22x1,5

M12

Ø311,5

58

Ø251

16
8

3725-01

CONTITECH 725 N P03
FIRESTONE 1T66F-10.8

W01 M58 8610

GIGANT 166252

 Service Assembly Available - Order No: 120002 / 3725 P



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 3

Order No : 130042 / 3811  K

17
3,

2

10090

50

M22x1,5
M10x1,25

Ø200

M12-6H

Ø259

Ø286

17
7,

8

58

3811

CONTITECH 811 MB
FIRESTONE 1T19L-11

W01 M58 6359
DUNLOP FR D13B34
GOODYEAR 1R14-718
CF GOMMA 1T 19-E2

203878

RENAULT V.I 5.000.745.918

 Service Assembly Available - Order No: 120042 / 3811 P CONTITECH 811 MB/0
FIRESTONE 1T19L-11

W01 M58 6359

DAF 0 526 823
EVO BUS 4.731.029.000

Order No : 130062 / 3811-01 K

Ø200

M12-6H

95

210

25

M22x1,5

M12

Ø286

Ø259

17
7.

8

58

3811-01

FIRESTONE 1T19L-11

 Service Assembly Available - Order No: 120062 / 3811-01 P

Order No : 130082 / 3811-02  K

15
8,

8

79
,4

79,479,4

M12

M22x1,5

Ø200

M12

Ø259

17
7,

8

Ø286

58

3811-02

FIRESTONE 1T19L-11
W01 M58 7370
W01 M58 6339

DUNLOP FR D14B51
GOODYEAR 1R14-721

 Service Assembly Available - Order No: 120082 / 3811-02 P

BATTAGLINO 22111400
R.O.R / MERITOR 212 222 39



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 4

Order No :  130482 / 3811-06  K

60 60

120

M14
95

210

25

M22x1,5

M12x1,75

3811-06

Ø286

Ø260,5

17
4,

9
FIRESTONE 1T19L-11

Order No : 131082 / 3811-07  K

17
3,

2

10090

50M16x1,5

M10x1,25

45°

200

M12

Ø260

Ø286

17
7,

8

58

3811-07

CONTITECH 811 M16 K1
FIRESTONE 1T19L-11

W01 M58 6334
PHOENIX 1D 28 B-7
TAURUS KR 622-31
DUNLOP FR D13B36
GOODYEAR 1R14-719

DAF 0 067 306

 Service Assembly Available - Order No: 121322 / 3811-07 P CONTITECH 811 M16 (with bumper)
FIRESTONE 1T19F-11

79
,415

8,
8

79,479,4

M12M22x1,5

Ø200

M12

Order No : 130102 / 3813  K

Ø259

Ø286

17
7,

8

58

3813

CONTITECH 813 MB
FIRESTONE 1T19L-11

W01 M58 6364
PHOENIX 1 D 28 B-2
TAURUS KR 622-26
DUNLOP UK PNP311770000
DUNLOP FR D13B19
GOODYEAR 1R14-705
CF GOMMA 1T 19E-2

Service Assembly Available - Order No: 120122 / 3813 P CONTITECH 813 MB/0
FIRESTONE W01 M58 7238

BARTOLETTI 91619005
DAF 1 384 274
EVO BUS 4.731.030.000
FRUEHAUF 003615E
HENDRICKSON B 2063

Y 505 859
785170

KASSBOHRER 4.731.033.000
NEWAY 22 282
R.O.R / MERITOR 21215633
RENAULT  V.I 5.010.130.925
S.A.F 2.229.0003.00
SAMRO 2500009
WEWELER US 87408

Plastic Piston Available - Order No: 135922 / 3813 KPP



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 5

Order No : 132102 / 3813-03 K

79,4

15
8,

8

79
,4

158,8

M22x1,5
M12

Ø200

M12

Ø286

Ø260

17
7,

8

58

3813-03

FIRESTONE 1T 19E-2

Order No : 130122 / 3813-01 K

79,479,4

79
,415

8,
8

79,4

M22x1,5 M12

45°

M14

Ø286

17
4,

89

Ø260,5

58

3813-01

FIRESTONE 1T19L-11

 Service Assembly Available - Order No: 120642 / 3813-01 P

Order No : 132282 / 3813-05 K

139.7

3/4"-16UNF

1/4"-18NPT1/2"-13UNC

45
°

Ø200

1/2"-13UNC

17
7.

8

Ø260

58

Ø286

3813-05

CONTITECH 11 10.5-21 A 313
FIRESTONE 1T19L-11

W01 358 9122
PHOENIX 1 D 28 C-9122
TAURUS KR622-9122
GOODYEAR 1R13-038

DAYTON  352-9122
HENDRICKSON  S 3467/S 3830

C 22173
B-12514-008
B-12514-010

LOADGUARD SC2041
NAVISTAR 554772C1
NEWAY 905 570 20/71

905 570 76/77
905 571 85

REYCO GRANNING 12883-02
RIDEWELL 1003589122C
SAUER  P50-732
TRIANGLE 8313
WATSON & CHALIN  AS-0023

 Service Assembly Available - Order No: 122302 / 3813-05 P



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 6

3813-06

Order No : 132402 / 3813-06 K

210

25

95

M22x1,5

M12

60

60

M14
Ø260,5

17
4,

89
Ø286

58

FIRESTONE 1T19L-11

Order No : 132822 / 3813-07 K

120

70

M16x1,5

180

10
.5

79
.4

M22x1,5

M10x1,25

286

Ø260

17
3

58

3813-07

FIRESTONE 1T19L-11
W01 M58 6361

PHOENIX 1DK 28 B-7
GOODYEAR 1R14-706
CF GOMMA 1T 19E-2

93762

BARTOLETTI 91619011
BATTAGLINO 2211401
CARDI 58050700
VIBERTI 128147102
ZORZI 1006553

Order No : 133402 / 3813-08 K

79.4

15
8.

8

79
.4

M22x1,5

M12

Ø200

Ø 286

17
7.

8

Ø258

58

3813-08

FIRESTONE 1T19L-11
W01 M58 7502

PHOENIX 1D 28 B-4
DUNLOP FR D13B29
GOODYEAR 1R14-709

Plastic Piston Available - Order No: 135782 / 3813-08 KPP



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 7

M12

Ø200

Order No : 130752 / 3813-11 K

79
,4

158,8

79,4

15
8.

8

M12

M22x1,5

M12

Ø200

Ø286

17
7,

8

58

Ø259

3813-11

FIRESTONE 1T19L-11
1T19F-11
W01 095 0524

3813-10

Order No : 136422 / 3813-10 K

79
,4

158,8

79,4

15
8.

8

M12

M22x1,5
78

Ø286

18
0

Ø260

FIRESTONE 1T 19F-11
W0A 095 0320

GOODYEAR 8550

HBZ 8 0006-04( 14 )
RANDON 212100261
SILPA 2210200135
TRES EIXSOS 1969

Service Assembly Available - Order No: 122782 / 3813-10 P FIRESTONE W01 095 3012
GOODYEAR 556 0 2 8671

RANDON 2121303012

Order No : 136792 / 3813-12 K

79
,4

15
8,

8

M8

M22x1,5

Ø200

M12

76

Ø286

Ø259

17
7,

8

3813-12

FIRESTONE 1T19L-11
1T19F-11
W01 095 0290

Service Assembly Available - Order No: 122732 / 3813-12 P FIRESTONE W01 095 0344



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 8

Order No : 131022 / 3836  K

M16

80

85

5
28

70

11
0

M16x1,5
M10Ø273,5

Ø226

13
5

3836

CONTITECH 836 M K1
FIRESTONE 1T17AR-4.5

W01 M58 8722
PHOENIX 1 DF 25-11
TAURUS KR 721-06
DUNLOP FR D13B32
GOODYEAR 1R12-712

DAF 1 697 678
0 388 165

 Service Assembly Available - Order No: 120142 / 3836 P CONTITECH 836 M
FIRESTONE W01 M58 0776
GOODYEAR 1R12-700

DAF 0 067 504

Order No : 136802 / 3813-13 K

Ø200

M12

139,7

M18x2,5
M12x1,5

M12

Ø259

17
7,

8

76

Ø286

3813-13

FIRESTONE 1T19 F-11
W01 095 0378

GOODYEAR 8691

 Service Assembly Available - Order No: 122852 / 3813-13 P FIRESTONE W01 095 0403
GOODYEAR 556 0 2 8673

Order No : 136822 / 3813-14 K

Ø200

M12

M12 M18x2,5
M12x1,5

157,5

Ø259

17
7,

8

76

Ø286

3813-14

FIRESTONE 1T19L-11
1T19F-11
W01 095 0337

 Service Assembly Available - Order No: 122872 / 3813-14 P FIRESTONE W01 095 0402
GOODYEAR 556 0 2 8672



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 9

Order No : 131922 / 3836-04 K

M16

85

80

28

5

70

55
55

70M16x,5
M10

Ø273,5

Ø226

13
5

80

3836-04

CONTITECH 836 MB K4
FIRESTONE 1T17AR-4.5

W01 M58 8705
PHOENIX 1 DF 25-14

DAF 0 377 498

Order No : 130502 / 3836-05 K

M16

80 85
70

110

M10

M22x1,5

28
5

Ø273,5

13
0

Ø226

75

3836-05

CONTITECH 836 N P05 DAF 1 153 933

 Service Assembly Available - Order No: 120702 / 3836-05 P

Order No : 131062 / 3836-02 K

M16

70

70

40
5

85

75

80

28

11
0

M16

M16

M10

Ø226

Ø273,5

13
5

3836-02

CONTITECH 836 M2 K1
FIRESTONE 1T17AR-4.5

W01 M98 8721
PHOENIX 1 DF 25-13
TAURUS KR 721-03
DUNLOP FR D13B31
GOODYEAR 1R12-711

DAF 0 388 167

 Service Assembly Available - Order No: 120182 / 3836-02 P CONTITECH 836 M2
FIRESTONE W01 M58 0777
GOODYEAR 1R12-710

DAF 0 513 982



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 10

Order No : 135222 / 3876 K

M10
M18x1,5

M18x1,5

M10x1

11
7

Ø263,5

19
,5

Ø289,4

56

3876

CONTITECH 876 MB RENAULT  V.I 5.000.738.516
5.000.640.399
5.010.073.847

DAF 0 526 651

Order No : 131942 / 3836-06 K

M16

85

80

28

5

70

55
55

70M16x,5
M10

CONTITECH 836 MB K6
FIRESTONE 1T17AR-4.5

W01 M58 8701
PHOENIX 1 DF 25-15

Ø273,5

14
0

Ø226

80

3836-06

Order No : 130582 / 3836-16 K

M16

80 85
70

110

M10

M22x1,5

28
5

CONTITECH 836 N P06 DAF 1 153 934

13
0

Ø226

Ø273,5

3836-16



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 11

Order No : 130602 / 3881-02  KPP

210

95

25

M22x1,5

M12

70
120

80
17

2,
14

M16

Ø311,5

18
7.

6

30

Ø251

3881-02

BPW 05.429.43.38.0
BPW Type BPW 36

Order No : 130182 / 3881 K

25

105

210

95

M 12

M22x1,5

80

45
120

70

M16

Ø311,5

Ø256

18
8,

5

30

3881

 Service Assembly Available - Order No: 120222 / 3881 P

BPW 05.429.40.61.1
BPW Type BPW 36

Order No : 130522 / 3881-01  K

25

105

210

95

M 12

M22x1,5

80

45

120

70

M16

30

Ø311,5

Ø256

18
8,

5

3881-01

FIRESTONE 1T66F-10.8
W01 M58 8966

PHOENIX 1 DK 32-1
DUNLOP FR D14B36
GOODYEAR 1R14-712
CF GOMMA 1TC 360-45

 Plastic Piston Available - Order No: 132202 / 3881-01 KPP



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 12

10
0

76 58

20
7

M10

M16x1,5

M16

Order No : 134902 / 3887 K
Ø227

60

Ø 192

13
5

3887

CONTITECH 387 MB K6
FIRESTONE 1T15LNR-3

W01 M58 8683

DAF 1 141 525

 Service Assembly Available - Order No: 122612 / 3887 P CONTITECH 887 M
FIRESTONE W01 M58 0780
GOODYEAR 1R11-796

DAF 0 513 983

Order No  : 137052 / 3887-03 K

10
0

134

29

134

M10

M22x1,5

M12

Ø239

75

15
0

Ø190

3887-03

CONTITECH 887 NP 03 DAF 1 153 935

 Service Assembly Available - Order No: 123202 /3887-03 P

Order No : 137062 / 3887-04 K

M12

10
0

134

27

134

M10

M16x1,5

Ø239

75

15
0

Ø190

3887-04

CONTITECH 887 NP 04 DAF 1 154 761

 Service Assembly Available - Order No: 123222 /3887-04 P



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 13

Order No : 131282 / 3897  K

32

17
0

60

152

120

M10x1,25

M16x1,5

175

29

M14x1,5

Ø236

Ø300

18
0.

5

58

3897

CONTITECH 897 MB

Order No : 136632 / 3889 K

M16

70

25 5

90

M10

M16x1,5

Ø190

14
5

Ø239

3889

CONTITECH 889 M K2 DAF 1 279 141
1 698 434

 Service Assembly Available - Order No: 123122 / 3889 P CONTITECH 889 M DAF 1 276 846

Order No : 130962 / 3902 K

177
70

69
,2

8

40

60
°

M24x1,5

M16x1,5

M16x1,5

M12

Ø200

M12x1,25

Ø305

Ø311,5

55

14
5

3902

CONTITECH 902 MB
FIRESTONE 1T19G-12

W01 M58 9910

GRANNING 15709
RENAULT  V.I 5.010.211.724

 Service Assembly Available - Order No: 122602 / 3902 P CONTITECH 902 N



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

C 14

157,5

73

M10

M16x1,5

Order No : 132062 / 3912  K

79,4 15
8,

8

158,8

M22x1,5

M12

Ø20
0

M12x1,75

Ø260

20
8

58

Ø286

3912

CONTITECH 912 N P02
FIRESTONE 1T19L-14

W01 M58 8766
PHOENIX 1D28D2
DUNLOP FR D13B03
GOODYEAR 1R14-758
CF GOMMA 1T 19 E-4

FRUEHAUF M060770
HENDRICKSON 507782
R.O.R / MERITOR 21222673
SAF 2.229.0005.00

3.229.0013.00
3.229.0006.01

SAF Type 2926 V P02
WEWELER US 96681

Order No : 136322 / 3909-01K

Ø105

1/2"-13UNC

Ø227

Ø240

11
6

3909-01

FIRESTONE 1T15LR-4
W01 095 0455

GOODYEAR 8716

SCANIA 1402423

 Service Assembly Available - Order No: 123012 / 3909-01 P FIRESTONE W01 095 0468
GOODYEAR 5560 0 2 8717

Order No : 130202 / 3940  K

25

150

73

M22x1,5

M12

70

60
20

M16

Ø205

Ø259

41

14
3

3940

BPW 05.429.40.93.1
BPW Type BPW 30 K

 Service Assembly Available - Order No: 120242 / 3940 P

 Plastic Piston Available - Order No: 133362 / 3940 KPP

CONTITECH 940 MB
FIRESTONE W01 M58 8613

BPW 05.429.40.91.0

GOODYEAR 1R11-752 BPW 05.429.43.21.0

CONTITECH       940 MB



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 15

Order No : 130682 / 3940-02 K

25

150

73

M22x1,5

M12

70

60

M16
Ø205

Ø259

41

14
3

3940-02

BPW 05.429.42.42.1
BPW Type BPW 30 K

Order No : 130842 / 3940-01  K

73

150

25

M22x1,5

M12

70

35

20
60

M16

41

Ø259

Ø205

19
3

3940-01

FIRESTONE 1T17D-4.3
W01 M58 8609

GOODYEAR 1R11-763

BPW 05.429.41.28.1
BPW Type BPW 30 K

 Plastic PistonAvailable - Order No: 130702 / 3940-01 KPP BPW 05.429.43.22.0

Order No : 130222 / 3941  K

150

25

73

M12

M22x1,5

70

60

20

M16

Ø259

Ø205

19
3

41

3941

FIRESTONE 1T17D-8.3
W01 M58 8619

PHOENIX 1 DK 21
TAURUS KR 730-01
DUNLOP FR D11B38
GOODYEAR 1R11-762

BPW 05.429.40.59.1
BPW Type BPW 30

 Service Assembly Available - Order No: 120262 / 3941 P CONTITECH 941 MB
FIRESTONE W01 M58 8620
GOODYEAR 1R11-700

BPW 05.429.40.03.0



C 16

80

120

70

45

M16

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

150

73

25

M12

M22x1,5

70

60

M12

20

Ø259

Ø202

19
3.

5

41

3941-01

Order No : 132222 / 3941-01  KPP

GOODYEAR 1R11-743
DUNLOP FR D11B33
CF GOMMA 1TC 300-36

BPW Type BPW 30
05.429.43.20.0

WEWELER US 500-10 KD

210

25

95

M22x1,5

M12

Ø311,5

Ø250

21
3

30

3942

BPW Type BPW 36-1

 Service Assembly Available - Order No: 120542 / 3942 P

Order No : 130542 / 3942  K

CONTITECH 942 MB
FIRESTONE W01 M58 8611
GOODYEAR 1R14-700

BPW 05.429.40.05.0

210

25

95

M12

M22x1,5

80

120

70

45

M16

Ø311,5

Ø250

21
3

30

3942-01

Order No : 130802 / 3942-01  K

GOODYEAR 1R14-781 BPW 05.429.41.69.0
BPW Type BPW 36-1



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 17

Order No : 131262 / 3944  K

Ø290

93

M
16x1.5

Ø230

30

Ø287

3944

CONTITECH 944 MB

Order No :  136682 / 30051 KPP

157,5

M20x1,5

M12x1,5M12

Ø227

Ø205

78

17
1

30051

VIBRACOUSTIC V 1 DK 20 A51 FRUEHAUF M051232

Order No : 133942 / 30073 K

100

100

45
°

157,5
M20x1,5

M12x1,5 M12

Ø 286

20
7,

2

Ø 258,2

58

30073

FIRESTONE 1T19L-14
W01 M58 8762

GOODYEAR 1R13-803
CF GOMMA 1T 19 E-3

201840

FRUEHAUF M001464



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 18

Order No : 133222 / 30076 K

79
,4

18010
,5

M22x1,5

M10x1,25

120

71

M16x1,5

26
0

Ø 250

Ø 286

58

30076

CF GOMMA 1T 19-E6
201715

ZORZI 1006557

Order No : 132762 / 30081-01  K

Ø144

1/2"-13UNC

78,75

3/4"-16UNF

1/4"-18NPT

Ø259

76

Ø260

14
5

30081-01

CONTITECH 10 10-21 P 434
FIRESTONE 1T15VLT-10.5

W01 358 9580
GOODYEAR 1R13-118

DAYTON 352-9580
E.R.F. 139855-0
HENDRICKSON C20127 / S20127
LOADGUARD SC2761
TRIANGLE 8434

 Service Assembly Available - Order No: 122972 / 30080-01 P

Order No : 132082 / 30081  K

78,75

M20
M14x1,5

M12

Ø144

Ø259

14
5

Ø260

78

30081

FIRESTONE 1T17B-11
W01 M58 8747

GOODYEAR 1 R13-150

 Service Assembly Available - Order No: 121482 / 30081 P

DISCOS/MERCEDES A946 328 04 01
HENDRICKSON HS 251087
SAMRO 2500915



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 19

Order No : 135242 / 30907 K

M18x,5

M10x1

M12

Ø205

Ø260

68

10
1

30907

DUNLOP UK  PNP30907100

Order No : 136542 / 30283 K

25
95

210

M12x1,5

M22x1,5

100

30
141,5

20
20

,7

M12

Ø286

18
2

Ø258,5

58

30283

PHOENIX 1 D 28 F3 DISCOS / MERCEDES A 946 328 15 01
SCHMITZ S015323
WEWELER US 04030P

 Service Assembly Available - Order No: 122902 / 30283 P

Order No : 134722 / 30285 K

M12

150

30
95

M12*1,75

M22x1,5

Ø286

78

Ø259

17
7,

8

30285

PHOENIX 1D28F-5 (566-28-3-529) SCHMITZ US04031

 Service Assembly Available - Order No: 123142 /30285 P PHOENIX 1 D 28 F-5



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 20

Order No : 133902 / 31924 K

M18x1,5

M22x1,5

M16x1,5

Ø289,4

Ø183

12
7

56

31924

CONTITECH 1924 N1 P05 RENAULT  V.I 5.010.347.891

Order No : 135792 / 31415 - 01 K

M10x1,5
M18x1,5

M22x1,5
M16x1,5

CONTITECH 1415 N P01 IRIS BUS 5.006.172.377
RENAULT  V.I 5.006.172.377

Ø190

57

12
8,

5
21

289,4

31415-01

Order No : 130792 / 31070 K

150

73

25

M12

M22x1,5

M18x1,5

Ø259

50

58

Ø226

12
7

PHOENIX 1 DF 25 A-1 SOLARIS 1001 101 060

 Service Assembly Available - Order No: 120452 / 31070 P

31070



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 21

Order No : 130652 / 32428 K

132

25

M24x1,5
M16x1,5

100

Ø227

Ø198

Ø38

10
6

32428

VOLVO 20712428

 Service Assembly Available - Order No: 120292 / 32428 P

Order No : 134522 / 32303 K

157,5

88
,5

3/4"-16UNF

1/4"-18NPT

1/2"-13UNC

1/2"-13UNCØ270

Ø227

16
4.6

32303

CONTITECH 9 10S-16 A 382
FIRESTONE 1T15ZR-6

W01 358 9782
GOODYEAR 1R12-303

DAYTON 352-9780
FREIGHTLINER 16-13810-000

  681-320-0017
TRIANGLE 8382

 Service Assembly Available - Order No: 120982 / 32303 P
 Plastic Piston Available - Order No: 136922 / 32303 KPP FREIGHTLINER 16-13810-00 02FIRESTONE W01 358 9780

Order No : 132942 / 32618  KPP

150

25

73

M22x1,5

M12

Ø20
0

M16

14
1

Ø240

Ø259

78

32618

CONTITECH 4022 N P03
FIRESTONE 1T17BS-6

W01 M58 6367
PHOENIX 1 DK 22 E-9
TAURUS KR 725-28
DUNLOP FR D12B14
GOODYEAR 1R11-714

SAF 3.229.0029.00
3.229.2129.00
3.229.2229.00
3.229.2429.00

SAF Type 2618 V

 Service Assembly Available - Order No: 121742 / 32618 P



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 22

M16

Order No :  133422 / 32918 K

M12

Ø200

21
0

25

95
M22x1,5

M12

Ø 286

Ø259

14
0

58

32918

CONTITECH 4810 N P05
PHOENIX 1D 28A-12

SAF 3.229.0027.00
3.229.2127.00
3.229.2227.00

Order No : 130432 / 32922 K

M12

21
0

95

25

M12

M22x1,5

Ø286

17
7

Ø259

32922

SAF 3.229.0036.00

 Service Assembly Available - Order No: 120312 / 32922 P

Order No : 132922 / 32619  KPP

150

25

73

M22x1,5

M12

Ø240

15
1.

5

Ø259

78

32619

CONTITECH 4022 N P05
FIRESTONE 1T17BS-6

W01 M58 8612
DUNLOP FR D11B41
GOODYEAR 1R11-781

SAF 3.229.0033.00
SAF Type 2619 V

 Service Assembly Available - Order No: 121662 / 32619 P CONTITECH 4022 N P02
FIRESTONE W01 M58 0756
GOODYEAR 1R11-709

SAF 4.284.3006.00
SAF Type 2618 V



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 23

32923-01

32923

Order No : 135552 / 32923 KPP

210

25

95

M22x1,5

M12

Ø200

Ø286

58

17
8

Ø263

Ø12
Ø8

SAF 3.229.0028.00
SAF Type 2923 VK

Order No : 130072 / 32923-01 K

15
8,

8

158,8

M12
M22x1,5

M1217
7,

8

Ø286

Ø260

SAF 3.229.0025.01

 Service Assembly Available - Order No: 120052 / 32923-01 P

Order No : 132702 / 32926  K

45°

Ø200

M12x1,75

210

25

95

M22x1,5

M12

CONTITECH 912 N P01 SAF 3.229.0030.00
SAF Type 2926 N P01
WEWELER US 07380

21
6

Ø286

70

32926

Ø260



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 24

Order No : 136142 / 33708 K

144

M12

1/2"-13UNC

150

73

25

M22x1,5

M12

Ø259

44

Ø260

14
6

33708

FIRESTONE 1T17CL-9.5
W01 M58 8643

GOODYEAR 1R13-708

HENDRICKSON QE100004/F

 Service Assembly Available - Order No: 120322 / 34022 P

 Plastic Piston Available - Order No:  132802 / 34022 KPP

Order No : 130302 / 34022  K

Ø20
0

M12

150

25

73

M22x1,5

M12

14
2

Ø260

Ø259

78

34022

CONTITECH 4022 N P03 (Steel)
FIRESTONE 1T17BS-6

W01 M58 6367(Steel)
CF GOMMA 1T 300-37

SAF 3.229.0029.00
3.229.2129.00
3.229.2229.00
3.229.2429.00

SAF Type 2618 V

CONTITECH 4022 N P02
FIRESTONE W01 M58 0756
GOODYEAR 1R11-714

SAF 4.284.3006.00
SAF Type 2619 V

Order No : 130282 / 34004  K

79

158

73

M22x1,5

M12

Ø200

M12

Ø259

76

14
2

Ø260

34004

CONTITECH 4004 N P03 (Steel)
FIRESTONE 1T17BS-6

W01 M58 6366 (Steel)
PHOENIX 1 DK 22 E-5
TAURUS K 505-27 SM
DUNLOP FR D12B25
GOODYEAR 1R11-706
CF GOMMA 1T 300-33

SAF 3.229.0007.00
3.229.0007.01
3.229.0007.02

SAF Type 2618

 Service Assembly Available - Order No: 120302 / 34004 P

 Plastic PistonAvailable - Order No: 132782 / 34004 KPP SAF 3.229.0007.02

SAF 4.284.3003.01CONTITECH 4004 N P02
FIRESTONE W01 M58 0919

GOODYEAR 1R11-713



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 25

 Service Assembly Available - Order No: 123232 / 34028-05 P

Order No : 137332 / 34028-05 K

Ø286

17
7.

8

Ø258

58

M12

200

M12

M22x1,5

15
8,

8

158,8

79,4

CONTITECH 4028 NP05 R.O.R / MERITOR 2122 2239

34028-05

 Service Assembly Available - Order No: 120342 / 34023 P

Order No : 130322 / 34023  K

210

25

95

M22x1,5

M12

Ø200

M12

CONTITECH 4023 N P03
FIRESTONE 1T19F-11

W01 M58 6348
PHOENIX 1D 28 A-10
TAURUS KR 624-18
DUNLOP FR D13B26
GOODYEAR 1R14-729
CF GOMMA 1T 19E-2

204676

SAF 3.229.0031.00
3.229.2231.00
3.229.2431.00
3.229.2131.00

Ø260

Ø286

17
8

58

34023

CONTITECH 4023 N

 Service Assembly Available - Order No: 120362 / 34028 P

Order No : 130342 / 34028  K

Ø200

M12

95

210

25

M12

CONTITECH 4028 N P02 SCHMITZ 015 323
WEWELER US 04028

Ø286

Ø259

17
7,

8

58

34028

CONTITECH 4028 N



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 26

 Service Assembly Available - Order No: 122812 / 34113 P

Order No : 130452 / 34113 K

144

105

M16x1,5

M16x2

SCANIA 1731113Ø286

50

Ø226

19
4

34113

 Service Assembly Available - Order No: 121122 / 34150 T

Order No : 134382 / 34150 K

139,7

3/4"-16UNF

1/4"-18NPT
1/2"-13UNC

104,5

NEWAY 905 570 23
R.O.R / MERITOR 21216135

21208939

76

97

Ø241

Ø227

34150

 Service Assembly Available - Order No: 122722 / 34150 P

CONTITECH 4150 N P01
GOODYEAR 1R12-097
CONTITECH 4150 N

CONTITECH 4150 N P04
FIRESTONE 1T15M-0

W01 358 9039
GOODYEAR 1R12-095
TAURUS KR-500-9039

 Service Assembly Available - Order No: 120382 / 34154 P

Order No : 134162 / 34154  K

Ø 200

M12

45°

157,5

73

M16x1,5

M10x1,25

CONTITECH 4154 N P05

97

Ø227

Ø 241

12
0

34154

Plastic PistonAvailable - Order No: 130362 / 34154 KPP RENAULT  V.I 5.010.294.252.B
5.010.488.071

PHOENIX 1DK 23 F-1



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 27

 Service Assembly Available - Order No: 121142 /34154-01 P

Order No : 132022 / 34154-01  K

157,5

M20x1,5

M12x1,5M12

Ø200

M12

FIRESTONE 1T15M-4

97

Ø241

12
0

Ø227

34154-01

 Service Assembly Available - Order No: 121922 / 34154-02 P

Order No : 132522 / 34154-02  KPP

139,73/4"-16UNF
1/4"-18NPT

1/2"-13UNC

Ø 200

1/2"-13UNC

CONTITECH 9 10-14 P 345
FIRESTONE 1T15M-4

W01 358 9010
GOODYEAR 1R12-352 / 1R12-421

DAYTON 352-9020
HENDRICKSON B2827 / S11566
REYCO GRANNING 12928-01
RIDEWELL 10035890110C
TRIANGLE 8345
WATSON & CHALIN AS-0044

12
1

Ø 240

Ø 227

97

34154-02

Order No : 133082 / 34154-03  K

200

M12

157,5

73
,1

5

3/8"-16UNC

1/4"-18NPT

FIRESTONE 1T15M-4
W01 D08 9056

DAF 0 656 991
Ø227

12
0

Ø241

97

34154-03



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 28

 Service Assembly Available - Order No: 121962 /34154-06 P

Order No : 133702 / 34154-06 K

157,5

73
,1

5

M10

M14x1,5

Ø 200

M12

FIRESTONE 1T15M-4
W01 M58 7283

RENAULT  V.I 5.010.294.252
SCANIA 1320151

Ø 227

Ø241

12
0

97

34154-06

 Service Assembly Available - Order No: 120402 / 34156 P

Order No : 134142 / 34156 K

157,5

M20x1,5

M12x1,5
M12

Ø 200

M12

FIRESTONE 1T15M-6Ø 227

Ø260

14
2

97

34156

 Plastic Piston Available - Order No: 130382 / 34156 KPP WEWELER US 35864CONTITECH 4156 N P15
CONTITECH 4156 N P05

 Service Assembly Available - Order No: 121942 / 34154-04 P

Order No : 134102 / 34154-04 K

157,5

73
,1

5

3/8"-16UNC

1/4"-18NPT

Ø 200

1/2"-13 UNC

Ø 227

Ø241

12
0

97

34154-04

PHONEIX 1 DK 23 H-0742



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 29

 Service Assembly Available - Order No: 120422 / 34156-02 P

Order No : 131902 / 34156-02 KPP

139,7

M20x1,5

M12x1,5M12

Ø 260

Ø 227

14
5

97

Ø200

M12

FIRESTONE 1T15M-6
W01 M58 9229

NEWAY M00557002

Order No : 132162 / 34156-03  K

228

14
1

71

M12

157,5

M20x1,5

M12x1,5
M12

Ø227

14
2

Ø260

97

CONTITECH 4156 N P09
FIRESTONE 1T15M-6

W01 M58 9089
TAURUS KR 506-28
DUNLOP FR D12B16
GOODYEAR 1R12-706

FRUEHAUF M001472
UJA 0930
152 52 67
UJB-027-001

R.O.R / MERITOR 21216135

Order No : 130402 / 34156-01  K

M12

157,5

M20x1,5

M12x1,5

M12

CONTITECH 4156 N P07
FIRESTONE 1T15M-6

W01 M58 9361
PHOENIX 1 DK 21 A-2
DUNLOP FR D12B19
GOODYEAR 1R12-719
CF GOMMA 1T 323-32

NEWAY 905 570 75
R.O.R / MERITOR 21215761

21215762
21226046

14
2

Ø260

97

Ø227

34156-01

34156-02

34156-03



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 30

 Service Assembly Available - Order No: 122702 / 34156-07 P

Order No : 132722 / 34156-07  KPP

10
0

M12x1,75

157.5M18x1,5

G1/4
M12

Ø205

97

16
9,

5

Ø227 FIRESTONE 1T15M-6
W01 455 6288

HENDRICKSON HA 100053

34156-07

34156-06

 Service Assembly Available - Order No: 121162 / 34156-05 P

Order No : 132302 / 34156-05  KPP

Ø200

1/2"-13UNC

139,7
3/4"-16UNF

1/4"-18NPT

1/2"-13UNC

DAYTON  352-9082
HDA  PMABG9082B
HENDRICKSON  B 2066

36514-7/S11651
B-12514-007

HUTCHENS  H-9630-01
LOADGUARD  SC2035
NAVISTAR 517559C9
NEWAY 905 570 06
                           905 570 27/37/54/75
REYCO GRANNING 12882-01 / 2727
RIDEWELL 1003589082C
R&S TRUCK 1090217
TRIANGLE 8310
WATSON & CHALIN  AS-0011

CONTITECH 9 10-16 P 310
FIRESTONE 1T15M-6

W01 358 9082
TAURUS KR 506-9082
GOODYEAR 1R12-092

Ø260

14
5

Ø227

97

34156-05

FIRESTONE W01 358 0712

 Service Assembly Available - Order No: 122682 / 34156-06 P

Order No : 132682 / 34156-06 KPP

157,5

73
,2

3/4"-14NPT

3/8"-16UNC

14
5

Ø 260

Ø 227

97

Ø20
0

1/2"-13UNC

FIRESTONE 1T15M-6

FIRESTONE W01 358 0707



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C  31

Ø20
0

1/2"-13UNC

Order No : 133242 / 34156-12 KPP

1/4"-18NPT

3/8"-16 UNC

73

157.5

1/2"-13 UNC

Ø200

CONTITECH 9 10-16 P 325
FIRESTONE 1T15M-6

W01 358 9096
TAURUS KR 506-9096
GOODYEAR 1R12-358 / 1R12-155

DAYTON 352-9096
FRUEHAUF UCE-1304-1
HENDRICKSON 13049
LOADGUARD SC2051 / SC2765
NEWAY 57009096
SCANIA 1123386
TRIANGLE 8325

Ø227

Ø260

14
5

34156-12

Order No : 133122 / 34156-10 K

73
,1

5

157.5

3/8"-16NC

1/4"-18NPT

71 70

70
.5

14
1

5/8"-11UNC

1/2"-13UNC

FIRESTONE 1T15M-6
W01 358 9508

FRUEHAUF UJB-1304-1

Ø258

14
4

Ø227

97

34156-10

Order No : 132742 / 34156-08  KPP

157.53/4"-16UNF

1/4"-18NPT

1/2"-13UNC

CONTITECH 9 10-16 P 353
FIRESTONE 1T15M-6

W01 358 9227
GOODYEAR 1R12-130

DAYTON 352-9227
HENDRICKSON S2924 / 48195-1
TRIANGLE 8353
WEWELER US 35864

Ø 260

14
5

Ø 227

97

34156-08

 Service Assembly Available - Order No: 122042 / 34156-08 P



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C  32

34156-14

FACCHINI 308 501 706
RANDON 212 100303
VOLVO 1 076 594

97

Ø258

14
4

Ø227

Ø227

Ø258

14
2

11
2

34156-15

Order No : 136342 / 34156-14 K

139,7

M12
M18x2,5

M12x1,5

M12

20
0

FIRESTONE 1T15M-6
W01 095 0332

GOODYEAR 8663

 Service Assembly Available - Order No: 122962 / 34156-14 P FIRESTONE W01 095 0333

Order No : 136672 / 34156-15 K

139,7

M12
M18x2,5

M12x1,5

Ø200

M12

FIRESTONE 1T15M-6
W01 095 0420

GOODYEAR 8653

 Service Assembly Available - Order No: 122742 / 34156-15P FIRESTONE W01 095 0308

RANDON 212 100333
VOLKSWAGEN 2TO 616 041

Order No : 134542 / 34156-16 K

11
2

14
2

Ø260

Ø227

34156-16

73,2

15
7,

5

M8X1,25

M22x1,5

Ø200

M12

FIRESTONE W01 095 0291
GOODYEAR 8662

 Service Assembly Available - Order No: 122892 / 34156-16 P FIRESTONE W01 095 0316



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 33

Order No : 134662 / 34156-17 K

139,7

M12
M18x2,5

M12x1,5

M12

Ø20
0

FIRESTONE W01 095 0292
GOODYEAR 8581

11
2

14
2

Ø227

Ø258

34156-17

Order No : 130412 / 34156-19 K

Ø200

M12

120

38

M20x1,5
M12x1,5

Ø227

11
2

Ø258

14
2

34156-19

FIRESTONE 1T15M-6
W01 095 0526

Order No :  136842 / 34156-18 K

M12
M18x2,5

M12x1,5

157,5

Ø200

M12

Ø260

14
2

97

Ø227

34156-18

FIRESTONE 1T15M-6
W01 095 0502

 Service Assembly Available - Order No: 122452 / 34156-18 P



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 34

 Service Assembly Available - Order No: 120712 / 34157-05 P

Order No :130902 / 34157-05 KPP

157,5
M22x1,5
M12x1,5

M12

100

M12

CONTITECH 4157 N P05
PHOENIX 1 DK 21 A-3

WEWELER US 07074CØ259

Ø205±1

16
9,

5

97

34157-05

FIRESTONE 1 T15MPW-7
W01-M58-7074

GOODYEAR 1R11-106

US 07074P

 Service Assembly Available - Order No: 121642 / 34157 P

Order No : 131302 / 34157  KPP

100

M12

150

25

73

M22x1,5

M12

CONTITECH 4157 N P04
PHOENIX 1 DK 21 A-8
TAURUS KR915-54
DUNLOP FR D12B18

DISCOS / MERCEDES A 946 328 14 01
R.O.R / MERITOR 21221307
WEWELER US 06287

US 07364

Ø259

97

Ø205

16
9,

5

34157

 Service Assembly Available - Order No: 120732 / 34157-04 P

Order No : 131042 / 34157-04 KPP

CONTITECH 4157 N P04 DISCOS / MERCEDES A 946 328 14 01
R.O.R / MERITOR 2122 1307
WEWELER US 07364

34157-04

100

M12

150

73

25

M12

M22x1,5

98

17
1

Ø259

Ø205

WEWELER US 6287



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 35

Order No : 130922 / 34157-10 KPP

100

M12x1,75

157,5
M12 M20x1,5

M12x1,5

Ø259

97

Ø205

16
9,

5

34157-10

CONTITECH 4157 N P10 FRUEHAUF M060924

 Service Assembly Available - Order No: 121002 / 34158 P

Order No : 133202 / 34158 KPP

73

150

M10

M22x1,5

Ø260

19
2.

5

Ø259

11
2

34158

CONTITECH 4158 N P02
PHOENIX 1 DK 20 B-1 MP
DUNLOP FR D12U23

CONTITECH 4158 N P03
W01 M58 8185

PHOENIX 1 DK 20 B-1
DUNLOP FR D12B22
VIBRACOUSTIC V1 DK 20 B-1

SCHMITZ 750 999
WEWELER US 06285

Order No : 130942 / 34157-08 KPP

157,5
M12 M20x1,5

M12x1,5

M12

Ø200

CONTITECH 4157 N P08 FRUEHAUF M078580
NEWAY 905 572 33

Ø259

97

12
1

Ø240

34157



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 36

Order No : 130442 / 34159-01 K

157,5

M20x1,5

M12x1,5

M12

Ø200

M12

97

Ø260

Ø227

18
8

34159-01

CONTITECH 4159 N P03
FIRESTONE 1T15M-9

W01 M58 7548
PHOENIX 1 DK 21 B-4
DUNLOP FR D12B01
CF GOMMA 1T 323-40

 Service Assembly Available - Order No: 120442 / 34159 P

Order No : 130422 / 34159  K

120

35
60

M12

157,5

M20x1,5

M12x1,5

M12

18
8

Ø260

97

Ø227

34159

FIRESTONE 1T15M-9

CONTITECH 4159 N P05
FIRESTONE W01 M58 0736

Order No : 133982 / 34159-S1 K-ALU

Ø200

M12

73

157,5

M14

M10

97

Ø260

Ø227

18
8

34159

FIRESTONE 1T15 M-9
W01 M58 7308

SCANIA 1314905
 255294



Bolt/Stud Combo studAir inletThreaded hole C 37

 Service Assembly Available - Order No: 121422 / 34159-03 P

Order No : 131102 / 34159-03  K

139,7

M20x1,5

M12x1,5

M12

35

120

60

M12

Ø227

18
8

Ø260

97

34159-03

FIRESTONE 1T15M-9

Plastic Piston Available - Order No: 133382 / 34159-02 KPP

Order No : 130762 / 34159-02 K

157,5

M12
M20x1,5

M12x1,5

M12

200

Ø227

Ø260

18
8

97

34159-02

FIRESTONE 1T15M-9
GOODYEAR 1R12-701

CONTITECH 4159 N P09
FIRESTONE W01 379 9131
GOODYEAR 1R12-721

TOP VIEW

BUTTOM VIEW

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

FRUEHAUF UJB 0358
TRAILOR M00 1774

Service Assembly Available - Order No: 121682 / 34159-04 P

Order No :  131122 / 34159-04  KPP

139,7

M20x1,5

M12x1,5M12

Ø20
0

M12

Ø 260

Ø 227

18
8

97

34159-04

FIRESTONE 1T15M-9
W01 M58 9222

NEWAY M00557007

Aluminum Piston Available - Order No: 133962 / 34159-04 K-ALU CONTITECH 4159 N P14
FIRESTONE W01 M58 7548

SAMRO 2500425

CO
M

PL
ET

E
AI

RS
PR

IN
GS



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

C 38

 Service Assembly Available - Order No: 121822 / 34159-05 P

Order No : 132042 / 34159-05  K

14
1

71
M12

157,5

M20x1,5

M12x1,5
M12

Ø260

18
8

97

Ø227

34159-05

CONTITECH 4159 N P07
FIRESTONE 1T15M-9

W01 M58 8859
PHOENIX 1 DK 21 B-6
TAURUS KR 509-9091

FRUEHAUF UJB 0203

Order No : 132142 / 34159-06 KPP

157,5

73
,2

3/4"-14NPT

3/8"-16UNC

450 1/2"-13UNC

Ø200

18
8

Ø 260

Ø 227

97

34159-06

FIRESTONE 1T15M-9
W01 358 9104

SCANIA 255294

Order No : 135722 / 34159-07  K

Ø20
0

1/2"-13 UNC

139,7

1/2"-13UNC-2A
3/4"-16 UNF

1/4"-18NPT

Ø227

Ø260

18
8

97

34159-07

CONTITECH 4159 N P12
FIRESTONE 1T15M-9

W01 358 9101
TAURUS  AS-504-9101
GOODYEAR 1R12-717

E.R.F. 139275-4
HENDRICKSON  B 3842
NEWAY 905 570 82
TOYO  TRL-250
TRIANGLE 8315
TRUCKSTELL 63.647
WATSON & CHALIN  AS-0040

Service Assembly Available - Order No: 122002 / 34159-07 P

Aluminum Piston Available - Order No: 135502 / 34159-07 K-ALU
Plastic Piston Available - Order No: 132322 /34159-07 KPP

CONTITECH 4159 N P01
CONTITECH 9 10-19 P 315 NEWAY 905 570 08/09/43
GOODYEAR 1 R12-717 HENDRICKSON B 3842



TOP VIEW

BUTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

C 39

Order No : 133162 / 34159-09 K

Ø200

M12

157,5

M20x1,5

M12x1,5
M12

18
8

Ø227

97

Ø258

34159-09

FIRESTONE 1T15M-9

Order No : 133682 / 34159-10 KPP

157.5

M20x1,5

M12x1,5

M12

M12

Ø200
Ø260

18
8

Ø227

97

34159-10

CONTITECH 4159 N P14
FIRESTONE 1T15M-9

W01 M58 7548
PHOENIX 1 DK 21 B4
DUNLOP FR D12B01

Order No : 132842 / 34159-08  K

CONTITECH 9 10-19 P 326
FIRESTONE 1T15M-9

W01 358 9192
TAURUS AS509-9192
GOODYEAR 1R12-167

DAYTON  352-9192
HENDRICKSON  B 6195
LOADGUARD SC2102
NAVISTAR 1681738C1

 1681740C1
NEWAY 90557086

90557135
90557108
90557136

TRIANGLE 8326
WATSON & CHALIN  AS-0038

AS-0046

139,7

3/4"-16UNF
1/4"-18NPT

1/2"-13UNC

Ø200

M12

Ø227

18
8

Ø260

34159-08

Plastic Piston Available - Order No: 134322 /34159-08 KPP

CO
M

PL
ET

E
AI

RS
PR

IN
GS



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

C 40

Order No : 134792 / 34159-11 K

Ø200

M12

157

73

M10x1,5

M14x1,5

Ø227

Ø243

17
1

97

34159-11

FIRESTONE 1T15M-9
W01 M58 7348

SCANIA 1327144

Service Assembly Available - Order No: 120782 / 34159-12 P

Order No : 132382 / 34159-12 K

1/4"-18NPT

3/8"-16 UNC

73

157.5

1/2"-13 UNC

Ø200

Ø227

Ø260

14
5

97

34159-12

CONTITECH 9 10-19 P 321
FIRESTONE 1T15M-9

W01 358 9394
GOODYEAR 1R12-281

DAYTON  352-9130
FRUEHAUF  UCD-9393-1/2/3/4
HENDRICKSON  S103522
TRIANGLE 8321

Aluminum Piston Available - Order No: 135492 / 34159-12 K-ALU
Plastic Piston Available - Order No: 135302 / 34159-12 KPP HENDRICKSON 13181

FIRESTONE W01 358 9130

Order No : 136382 / 34159-15 K ALU

139,7

M12
M18x2,5

M12x1,5

Ø20
0

Ø227

18
8

Ø260

11
2

34159-15

FIRESTONE 1T15M-9
W01 095 0294

GOODYEAR 8582

Service Assembly Available - Order No: 120762 / 34159-15 P FIRESTONE W01 095 0309
GOODYEAR 556 0 2 8467



TOP VIEW

BUTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

C 41

Order No : 134802 / 34159-17 K ALU

139,7

M12
M18x2,5

M12x1,5

Ø200

M12

97

18
8

Ø260

Ø227

34159-17

FIRESTONE W01 095 0440
GOODYEAR 8728

Service Assembly Available - Order No: 120762 / 34159-15 P FIRESTONE W01 095 0449

Order No : 134742 / 34159-18 K ALU

73,2

15
7,

5

M8X1,25

M22x1,5

Ø200

M12

Ø227

Ø260

18
8

11
2

34159-18

FIRESTONE W01 095 0293
GOODYEAR 8665

Service Assembly Available - Order No: 122752 / 34159-18 P

Order No : 136402 / 34159-16 K

139,7

M12
M18x2,5

M12x1,5

M12

Ø200

Ø260

Ø227

11
2

14
2

34159-16

FIRESTONE 1T15M-9
W01 095 0314

GOODYEAR 8666

FACCHINI 308 501 705
HBZ 8 0006-03
RANDON 212100301

CO
M

PL
ET

E
AI

RS
PR

IN
GS



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

C 42

Order No : 134822 / 34159-19 K

139,7

M12
M18x2,5

M12x1,5

M12

Ø200

Ø260

Ø227

11
2

14
2

34159-19

FIRESTONE W01 095 0463

Order No : 136882 / 34159-23 K ALU

157,5

M12
M20x1,5

G1/4-6

M12

Ø200

Ø260

11
2

18
8

Ø227

34159-23

FIRESTONE W01 095 0361
GOODYEAR 8667

Service Assembly Available - Order No: 122772/ 34159-23 P FIRESTONE W01 095 0394
GOODYEAR 556 0 2 8698

Order No : 136862 / 34159-22 K

157,5

M12
M20x1,5

G1/4-6

M12

Ø20
0

Ø260

Ø227

14
2

97

34159-22

FIRESTONE W01 095 0479
GOODYEAR 8480

Service Assembly Available - Order No: 122792 / 34159-22 P FIRESTONE W01 095 0395
GOODYEAR 556 0 2 8669



TOP VIEW

BUTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

C 43

4010

34 39

M24x1,5

M16x1,5
Ø265

16
5

34183-23

 Service Assembly Available - Order No: 121502 / 34183-24 P

Order No : 135822 / 34183-24 K

M16x1,5

3934

10 40

M24x1,5M16x1,5

16
5

Ø50

Ø265

34183-24

CONTITECH 4183 N1

CONTITECH 4183 N P24 DAIMLER CHRYSLER A 942 320 23 21

 Service Assembly Available - Order No: 122172 / 34158-01 P

Order No : 132172 / 34185-01 K

M16x1,5

34

M24x1,5

M16x1,5

4010

Ø250

16
5

27
5

34185-01

CONTITECH 4185 N P01 MERCEDES A 974 320 00 21

 Service Assembly Available - Order No: 122622 / 34183-23 P

Order No : 135042 / 34183-23 K

CONTITECH 4183 N P23 DAIMLER CHRYSLER  A 942 320 22 21

CONTITECH 4183 N2

CO
M

PL
ET

E
AI

RS
PR

IN
GS



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

C 44

Order No : 135892 / 34187-21 K

M16x1,5

34 39

4010

M24x1,5

Ø265

Ø50

16
5

34187-21

Order No : 131482 / 34187-01 K

34 39

10
40

M24x1,5

M16x1,5

16
5

Ø265

34187-01

CONTITECH 4187 N P01 (Voss 230) DAIMLER CHRYSLER A 942 320 18 21

CONTITECH 4187 N P21 (Voss 232) DAIMLER CHRYSLER A 942 320 26 21

 Service Assembly Available - Order No: 122192 / 34185-21 P

Order No : 132192 / 34185-21 K

CONTITECH 4185-21K MERCEDES A 942 320 30 21

M16x1,5

34

M24x1,5

M16x1,5

4010

34185-21

Ø250

16
5

27
5



TOP VIEW

BUTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

C 45

 Service Assembly Available - Order No: 121102 / 34390-01 P

Order No : 130982 / 34390-01  K

M16x1,5

52

M24x1,5

M16x1,5

Ø200

16
5

34390-01

CONTITECH 4390 N P01
DUNLOP FR D12T10
GOODYEAR 9505

DAIMLER CHRYSLER A 942 320 01 21

CONTITECH 4390 N1
GOODYEAR 9507

DAIMLER CHRYSLER A 942 328 00 01
EVO BUS A 942.327.0001

 Service Assembly Available - Order No: 120722 / 34390-02 P

Order No : 131002 / 34390-02  K

M16x1,5

52

45

M16x1,5
M24x1,5

M16x1,5

Ø200

16
5

34390-02

CONTITECH 4390 N P02
DUNLOP FR D12T11
GOODYEAR 9506

DAIMLER CHRYSLER A 942 320 02 21

CONTITECH 4390 N2
GOODYEAR 9508

DAIMLER CHRYSLER A 942 328 01 01

Order No : 132462 / 34187-22 K

CONTITECH 4187 N P22 (Voss 232) DAIMLER CHRYSLER A 942 320 27 21

34187-22

16
5

Ø265

34 39

10
40

M24x1,5M16x1,5

M16x1,5

CO
M

PL
ET

E
AI

RS
PR

IN
GS



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

C 46

Order No : 134842 / 34390-03 K

M16

600
52

M16x1,5M24x1,5
M16x1,5

45

16
5

Ø190

34390-03

CONTITECH  4390 N P03
CF GOMMA 1VSC 285-30

206783

DAIMLER CHRYSLER  A 942 320 04 21

Order No : 134862 / 34390-04 K

M16

52

60°

M24x1,5

M16x1,5

Ø190

16
5

34390-04

CONTITECH  4390 N P04
CF GOMMA 1VSC 285-30

206781

DAIMLER CHRYSLER  A 942 320 03 21

 Service Assembly Available - Order No: 122512 / 34390-21 P

Order No : 135602 / 34390-21 K

M16x1,5

52

M24x1,5
M16x1,5

Ø200

16
5

34390-21

CONTITECH  4390 N P21 DAIMLER CHRYSLER A 942 320 49 21



TOP VIEW

BUTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

C 47

 Service Assembly Available - Order No: 122522 / 34390-22 P

Order No : 135622 / 34390-22 K

M16x1,5

45

52
M16x1,5M24x1,5

M16x1,5

Ø200

16
5

34390-22

CONTITECH  4390 N P22 DAIMLER CHRYSLER A 942 320 50 21
A 942 320 29 21

Order No : 135662 / 34390-23 K

M16x1,5

M16x1,5M24x1,5
M16x1,5

52

45

16
5

Ø190

34390-23

CONTITECH  4390 N P23 DAIMLER CHRYSLER A 942 320 52 21

Order No : 135672 / 34390-24 K

M16x1,5

60°

52

M24x1,5

M16x1,5

Ø190

16
5

34390-24

CONTITECH  4390 N P24 DAIMLER CHRYSLER A 942 320 51 21

CO
M

PL
ET

E
AI

RS
PR

IN
GS



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

C 48

 Service Assembly Available - Order No: 120092 / 34391-01 P

Order No : 130092 / 34391-01 K

M16x1,5

M24x1,5
M16x1,5

52

Ø200

66
14

5

34391-01

CONTITECH 4391 N P01 DAIMLER CHRYSLER A 942 320 06 21

 Service Assembly Available - Order No: 123382 / 34391-02 P

Order No : 137042 / 34391-02 K

M16x1,5

45

52
M16x1,5M16x1,5

M24x1,5

Ø200

66
14

5

34391-02

CONTITECH 4391 N P02

 Service Assembly Available - Order No: 120112 / 34391-21 P

Order No : 130132 / 34391-21 K

M16x1,5

M24x1,5
M16x1,5

52

Ø200

66
14

5

34391-21

CONTITECH 4391 N P21 DAIMLER CHRYSLER A 942 320 53 21



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 49

Order No : 133862 / 34420 K

141

71

M12

157,5 M20x1,5
M12x1,5M12

17
7,

7

Ø260

Ø286

58

34420

CF GOMMA 1T 19-E2
204420

FRUEHAUF 431487

DAIMLER CHRYSLER A 942 320 54 21

Order No : 130152 / 34391-22 K

M16x1,5

45

52
M16x1,5M24x1,5

M16x1,5

66
14

5

Ø200

34391-22

CONTITECH 4391 N P22

 Service Assembly Available - Order No: 120132 / 34391-22 P

Order No : 132472 / 34644 K

M16x1,5

M16x1,5

M24x1,5

96

12
7,

5

Ø205

34644

CONTITECH 4644 N P 02

 Service Assembly Available - Order No: 122472 / 34644 P CONTITECH 4644 N EVO BUS A 629 327 00 01
DAIMLER CHRYSLER A 629 327 00 01



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 50

Order No : 131962 / 34718 K

Order No : 131842 / 34713 K

15

32
,5

32
,5

83,9

M16x1,5

M10

15

Ø6

Ø259

75

Ø190

15
5

34713

CONTITECH 4713 N P02
DUNLOP FR D12B24
GOODYEAR 1R12-762
CF GOMMA 1TS 300-28

VOLVO 1 076 594

 Service Assembly Available - Order No: 121222 / 34713 P CONTITECH 4713 N
GOODYEAR 1R12-763

VOLVO 1 076 595

15

180

93 5

M10

M16x1,5

16
0

Ø259

75

Ø226

34718

CONTITECH 4718 N P01 VOLVO 20 554 759

 Service Assembly Available - Order No: 121982 / 34718 P VOLVO 1 079 718

Order No : 133022 / 34737-01 K

M16x1,5

M24X1,5
M16X1,5

16
5

Ø220

55

34737-01

CONTITECH 4737 N P01
DUNLOP FR D13T04
GOODYEAR 9523

DAIMLER CHRYSLER A 946 320 03 21

Service Assembly Available - Order No: 122692 / 34737-01 P CONTITECH 4737 N



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

TOP VIEW

BUTTOM VIEW

C 51

Order No : 133042 / 34737-02 K

M24X1,5
M16X1,5

M16x1,5

Ø190

16
5

53

34737-02

CONTITECH 4737 N P02
DUNLOP FR D13T05
GOODYEAR 9524

DAIMLER CHRYSLER A 946 320 05 21

Order No : 135642 / 34737-21 K

M16x1,5

M24x1,5
M16x1,5

16
5

Ø220

53

34737-21

CONTITECH 4737 N P21 DAIMLER CHRYSLER A 942 320 37 21

M16x1,5

M24x1,5
M16x1,5

Order No : 135652 / 34737-22 K

Ø190

16
5

53

34737-22

CONTITECH 4737 N P22 DAIMLER CHRYSLER A 942 320 39 21



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

 Service Assembly Available - Order No: 122572 / 34757-01 P

C 52

Order No : 132982 / 34757-01 K

M24X1,5
M16X1,5

M16x1,5

Ø279

15
7,

5

34757-01

CONTITECH 4757 N P01
DUNLOP FR D13T01
GOODYEAR 9519
CF GOMMA 1VSC 300-26

206785

DAIMLER CHRYSLER A 942 320 01 17

Order No : 134882 / 34757-09 K

M16

52

60°

M24x1,5

M16x1,5

15
5

Ø279

34757-09

CONTITECH 4757 N P09
DUNLOP FR D13T02
GOODYEAR 9520
CF GOMMA 1VSC 300-26

206786

DAIMLER CHRYSLER A 974 320 04 17

CONTITECH 4757 N1
GOODYEAR 9517

DAIMLER CHRYSLER A 942 327 00 01

 Service Assembly Available - Order No: 122802 / 34757-02 P

Order No : 133002 / 34757-02 K

M16x1,5

52

M24X1,5
M16X1,5

Ø279

15
7,

5

34757-02

CONTITECH 4757 N P02

CONTITECH 4757 N2
GOODYEAR 9518

DAIMLER CHRYSLER A 974 328 01 01



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 53

Order No : 135692 / 34757-21 K

M24x1,5
M16x1,5

M16x1,5
Ø279

15
7,

5

34757-21

CONTITECH  4757 N P21 DAIMLER CHRYSLER A 942 320 43 21

Order No : 135712 / 34757-22 K

M16x1,5

52

M24x1,5

M16x1,5

Ø279

15
7,

5

34757-22

CONTITECH  4757 N P22

52

M24x1,5

M16x1,5

M16x1,5

Order No : 135682 / 34757-29 K

15
5

Ø278

34757-29

CONTITECH  4757 N P29 DAIMLER CHRYSLER A 942 320 32 21



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 54

Order No : 135852 / 34758-01 K

M24X1,5
M16X1,5

M16x1,5

Ø279

15
7,

5

34758-01

CONTITECH  4758 N P01 DAIMLER CHRYSLER A 945 320 00 17

Order No :  135862 / 34758-21 K

M24X1,5
M16X1,5

M16x1,5

Ø279

15
7,

5

34758-21

CONTITECH  4758 N P21 DAIMLER CHRYSLER A 942 320 48 21

Order No : 137012 / 34759-01 K

M24X1,5
M16X1,5

M16x1,5

11
7,

5

Ø279

34759-01

CONTITECH 4759 N P01 DAIMLER CHRYSLER A 942 320 02 17



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 55

 Service Assembly Available - Order No: 123372 / 34759-21 P

Order No : 137022 / 34759-21 K

M24X1,5
M16X1,5

M16x1,5

11
7,

5

Ø279

34759-21

CONTITECH 4759 N P21 DAIMLER CHRYSLER A 942 320 44 21

Order No : 131222 / 34838-01 K

M24x1,5
M16x1,5

M16x1,5

21
0

Ø220

34838-01

CONTITECH 4838 N P01 DAIMLER CHRYSLER A 946 320 04 21

 Service Assembly Available - Order No: 120522 / 34813 P

Order No : 130822 / 34813  K

45°

45°

M12

158,8

15
8,

8

M14x1,5

M10
Ø286

Ø260

17
7,

8

58

34813

CONTITECH 4813 N P07
FIRESTONE 1T19L-11

W01 M58 7358
PHOENIX 1 D 28 B-9
TAURUS KR 622-01
DUNLOP FR D13B10
GOODYEAR 1R14-727
CF GOMMA 1T 19E-2 BR

97764

S.A.F 3.229.0005.00
SCANIA 255295

325748
298568
255293
1107674
1314906

 Service Assembly Available - Order No: 12124 1 / 34813 T
CONTITECH 4813 N07
CONTITECH 4813 T



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 56

Order No : 132442 / 34838-02 K

M16x1,5

M24x1,5

Ø220

19
5

55

34838-02

CONTITECH 4838 N P02
DUNLOP FR D13T03
GOODYEAR 9522

DAIMLER CHRYSLER A 946 320 02 21

Order No : 132482 / 34838-03 K

M16x1,5

M24x1,5

Ø230

19
5

55

34838-03

DAIMLER CHRYSLER A 946 320 01 21CONTITECH 4838 N P03

Order No : 135702 / 34838-21 K

M16x1,5

M24x1,5
M16x1,5

Ø220

21
0

34838-21

CONTITECH 4838 N P21 DAIMLER CHRYSLER  A 942 320 38 21



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 57

Order No : 135802 / 34838-22 K

M16x1,5

M24x1,5

Ø220

19
5

15

34838-22

CONTITECH 4838 N P22 DAIMLER CHRYSLER A 942 320 36 21

Order No : 135812 / 34838-23 K

M16x1,5

M24x1,5

Ø230

19
5

15

34838-23

CONTITECH 4838 N P23 DAIMLER CHRYSLER A 942 320 35 21

Order No : 131862 / 34881-01  K

25

210

95

M22x1,5

M12

45
80

120

70

M1614
8

30

Ø256

Ø311,5

34881-01

FIRESTONE 1T66F-7.0
W01 M58 8602

GOODYEAR 1R14-724

BPW Type BPW 36 K

Plastic Piston Available - Order No: 133342 / 34881-01 KPP GOODYEAR 1R14-757 BPW 05.429.43.41.0



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 58

Order No : 135512 / 34882 K

M18x2

84

70

60
M16x1,5

M12x1,5

Ø178

13
1,

5

58

Ø259

34882

CONTITECH  4882 N1 P05 M.A.N. 81.43600.6036

 Service Assembly Available - Order No: 122122 / 34882 P CONTITECH 4882 N1 P01
GOODYEAR 1R10-702

M.A.N. 81.43601.0151

Order No : 135522 / 34883 K

M18x2

84

60

M16x1,5

M12x1,5

Ø200

13
1,

5

58

Ø259

34883

CONTITECH  4883 N1 P07 M.A.N. 81.43600.6038

 Service Assembly Available - Order No: 122142 / 34883 P CONTITECH 4883 N1 P01
GOODYEAR 1R11-804

M.A.N. 81.43601.0153

Order No : 135532 / 34884 K

M18x2

84

60

M16x1,5

M12x1,5

Ø200

13
1,

5

58

Ø259

34884

CONTITECH  4884 N1 P06 M.A.N. 81.43600.6035

 Service Assembly Available - Order No: 122162 / 34884 P CONTITECH 4884 N1 P01
GOODYEAR 1R11-820

M.A.N. 81.43601.0152



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 59

Order No : 136642 / 34885 K

M18x2

60

84

M12x1,5

35

M16x1,5

58

13
1,

5

Ø178

Ø259

34885

CONTITECH 4885 N1 P02 M.A.N. 81.43600.6044
81.43601.0160

 Service Assembly Available - Order No: 123022 / 34885 P CONTITECH 4885 N1 P01 M.A.N. 81.43601.6071

Order No : 136582 / 34886 K

84

60

35

M12

M16x1,5

M18x2

58

Ø259

13
1,

5

Ø200

34886

CONTITECH 4886 N P01 M.A.N. 81.43600.6046

 Service Assembly Available - Order No: 122942 / 34886 P CONTITECH 4886 N P02 M.A.N. 81.43601.0165

Order No : 131182 / 34911  K

M16x1,5

16
5

9060

75

M24x1,5
M16x1,5

M16x1,5

Ø286

Ø226

21
0

58

34911

CONTITECH 4911 N P03
GOODYEAR 1R13-714

RENAULT  V.I 5.010.239.971
5.010.557.356

 Service Assembly Available - Order No: 121022 / 34911 P CONTITECH 4911 N RENAULT  V.I 5.011.294.308



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 60

Order No : 134442 / 34911-01 K

M16x1,5

15
8,

8

79,4 M22x1,5

M12x1,75
158,8

Ø226

21
0

Ø286

58

34911-01

Order No : 135982 / 34911-04 K

M16x1,5

75
9030

M22x1,5

50
21

1

Ø226

Ø286
Ø12

34911-04

CONTITECH 4911 N P04 RENAULT  V.I 5.010.557.356

Order No : 131202 / 34912  K

M16x1,5

16
5

9060

75

M24x1,5
M16x1,5

M16x1,5

Ø286

Ø226

21
0

58

34912

CONTITECH 4912 N P07 GRANNING 15910
RENAULT  V.I 5.010.294.307

 Service Assembly Available - Order No: 121042 / 34912 P CONTITECH 4912 N P08
GOODYEAR 1R13-713

RENAULT  V.I 5.001.8320.67



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 61

Order No : 135062 / 34912-01 K

M16x1,5

158,8

79
,4

79,4

15
8,

8

M22x1,5

M12x1,75

Ø 226

76
,5

21
0

58

Ø286

34912-01

Order No : 135912 / 34912-10 K

 M16x1,5

75
90

30

M24x1,5

M16x1,5

12

Ø286

58

21
1

50

Ø226

34912-10

CONTITECH  4912 N P10 RENAULT  V.I 5.010.557.355

 Service Assembly Available - Order No: 123212 / 34912-10 P

Order No : 132122 / 34913  K

72 72

105

Ø12

M16x1,5

70

M16

21
0

Ø226

Ø286

34913

CONTITECH 4913 N P02
FIRESTONE 1T19F-14

W01 095 0366
TAURUS KR 625-16
CF GOMMA 1T 19E-93

SCANIA 1379392
1440294

 Service Assembly Available - Order No: 120582 / 34913 P CONTITECH 4913 N P04 SCANIA 1379393



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 62

Order No : 135182 / 34915-01 K

40

M16x1,5

140

M24x1,5

M16x1,5

Ø227

Ø12

Ø185

21
4

36
,5

34915-01

CONTITECH  4915 N P06
PHOENIX 1 DK 19-1

RENAULT  V.I 5.010.294.309

Order No : 135422 / 34922 KPP

Ø200

M12

72
.5

100

157.5

M16x1,5

M12

Ø259

18
8

Ø260

69

34922

CONTITECH  4922 MB RENAULT  V.I 5.010.600.262

 Service Assembly Available - Order No: 122552 / 34922 P CONTITECH 4922 N

Order No : 132002 / 34925  K

15

180

935

M10

M16x1,5

10
0

Ø226

Ø259

85

34925

CONTITECH 6609 N P01 VOLVO 20 554 761
1 075 365
1 629 782
20 452 138

 Service Assembly Available - Order No: 120252 / 34925 P



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 63

Order No : 135742 / 34940 KPP

Order No : 131522 / 34930 KPP

30

M16*2

77,5 60,5
10,5

40

50

M16x1,5

Ø11.9

Ø12

Ø227

20
5,

5

45 73
,5

Ø175

34930

FIRESTONE 1T15UR-9
W01 M58 8633

SCANIA 1434930

 Service Assembly Available - Order No: 121262 / 34930 P

Order No : 131502 / 34933 K

23

M16x2Ø16

58

153

41
,5

13913

Ø11.9

Ø12M16x1,5

M16x1,5

Ø259

20
7

Ø226

68

34933

FIRESTONE 1T17HR-8
W01 M58 8633

SCANIA 1434933

 Service Assembly Available - Order No: 120802 / 34933 P

170

M18x1,5
M12

70

20
60

M16

14
1,

5

Ø197

41

Ø259

34940

BPW 05.429.43.24.0
BPW Type BPW 30 K

 Service Assembly Available - Order No: 120482 / 34940 P CONTITECH 4940 N P02
GOODYEAR 1R11-799

BPW 05.429.41.56.0



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 64

70

20
60

M16

Order No : 130722 / 34940-01 KPP

170

M18x1,5
M12

14
1,

5

Ø197

41

Ø259

34940-01

BPW 05.429.43.32.0
BPW Type BPW 30 K

Order No : 130882 / 34941  K

60

20

70

M16

170

M18x1,5M12

19
3

Ø205

Ø259

41

34941

BPW 05.429.43.25.0
BPW Type BPW 30

 Service Assembly Available - Order No: 120502 / 34941 P CONTITECH 4941 N P02
GOODYEAR 1R11-802

BPW 05.429.41.25.0

Order No : 135732 / 34960 KPP

70

20
60

M16

157,5

M12 M20x1,5
M12x1,5

Ø197

41

Ø259

14
1,

5

34960

BPW 05.429.43.23.0
BPW Type BPW 30 K

 Service Assembly Available - Order No: 120742 / 34960 P CONTITECH 4960 N P02
GOODYEAR 1R11-801

BPW 05.429.41.77.0



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 65

Order No : 130862 / 34960-01 KPP

70

20
60

M16

157,5

M12 M20x1,5
M12x1,5

Ø259

41

Ø197

19
3,

5

34960-01

Order No : 130162 / 35755 K

Ø2
00

M12-6H

15
8,

8

158,8

M10
M14x1,5

Ø286

78

17
7,

8

Ø259

35755

SCANIA 1865755

 Service Assembly Available - Order No: 120152 / 35755 P

Order No : 135752 / 34961 KPP

70

40
20

M16

M22x1,5
M12x1,5

150

73

M12

Ø197

14
1,

5

Ø259

41

34961

BPW 05.429.43.27.0
BPW Type BPW 30 K

 Service Assembly Available - Order No: 120762 / 34961 P CONTITECH 4961 N P02
GOODYEAR 1R11-800

BPW 05.429.42.04.0



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 66

Order No : 130192 / 35759 KPP

M16x1,5

73

157

M10

10
4

Ø240

12
2

Ø227

35759

SCANIA 1865759

 Service Assembly Available - Order No: 120172 / 35759 P

Order No : 134562 / 36075 K

32
,5

Ø180

83,9

M10

M16x1,5

75

Ø235

14
0

15

Ø259

36075

CONTITECH 4420 N P01 VOLVO 1 076 076

 Service Assembly Available - Order No: 122882 / 36075 P

Order No : 135832 / 36108 K

150

49 21

62,5

M16x1,5
Ø14

10
6

Ø38

34
,2

Ø197,5

Ø227

36108

CONTITECH 6604 N P01 VOLVO 20 573 108
70 321 690
70 313 718
70 321 692

 Service Assembly Available - Order No: 122262 / 36108 P



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 67

Order No : 136562 / 36113 K

65

92
,5

83
,9

M10x1,5
M16x1,5

M10x1,5

127

Ø259
75

12
8

190

36113

CONTITECH 6602 N P01 VOLVO 20 573 113
21 041 697
20 480 202

 Service Assembly Available - Order No: 122922 / 36113 P

Order No : 132862 / 36199 K

157,5

80

73

12
,5

M12x1,5

18
0

Ø12

Ø 227

Ø249,5

14
6,

2

58

36199

PHOENIX 1 DF 23 C-1 SCANIA 1386199

 Service Assembly Available - Order No: 121582 / 36199 P

Order No : 133182 / 36200 K

18
0

Ø12

12
,5

73

157,5

80 M12x1,5

Ø 227

18
3

Ø 249,5

58

36200

PHOENIX 1 DF 23 D-1 SCANIA 1386200

 Service Assembly Available - Order No: 121602 / 36200 P



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 68

Order No : 134762 / 36251 K

Order No : 135942 / 36247 KPP

M12

Ø200

61

10
0

78.5

M20x1,5

M12x1,5

M12

14
5

Ø227

Ø260

97

36247

VOLVO 20 386 228

 Service Assembly Available - Order No: 122542 / 36251 P

157,5

73

M16x1,5

M10x1,5

105

M12

Ø227

11
6

Ø240

36251

FIRESTONE 1T15LP-3
 W01 M58 6251

GOODYEAR 1R11-826

GRANNING 15619
SCANIA 1314903

1402423

 Service Assembly Available - Order No: 123032 /36286 P

Order No : 135882 / 36286 K

73

M22x1,5

150

M10x1,5

Ø227

19
2,

5

11
2

36286

FIRESTONE 1T15MPW-9
W01 M58 6286

SCHMITZ 751 020HP
WEWELER US 06286F



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 69

Order No : 132542 / 36305 T

54,5

54,5

M10x1,5

32
64

M10x1,5

Ø150,8

18
5 19
9

37

Ø226

Ø225

36305

VOLVO 20 573 305

Order No : 132562 / 36306 T

54,5

54,5

M10x1,5

32
64

M10x1,5

Ø226

37

18
4,

5

19
8,

5

Ø150,8

Ø225

36306

VOLVO 20 573 306

Order No : 136652 / 36311 K

92
,5

83
,9

65
M16x1,5

M10

12
8,

5

Ø226

75

Ø259

14
7

36311

CONTITECH 73311 M VOLVO 20 573 311

 Service Assembly Available - Order No: 121062 / 36311 P CONTITECH 9514 M VOLVO 9 959 514



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 70

Order No : 135872 / 36318 K

73

M22x1,5
M12x1,5

150

M8x1,25

100

16
9,

5

Ø205

Ø227

36318

FIRESTONE 1T15MPW-9
W01 M58 6318

SCHMITZ 016 512
WEWELER US 06318F

 Service Assembly Available - Order No: 123072 / 36318 P

Order No : 132902 / 36416 K

80
47

M24x1,5
M16x1,5

M14

Ø168

80

Ø227

16
2

45

160

36416

CONTITECH 6608 N P01 VOLVO 1 076 416
20 582 215
20 531 985
20 456 152
20 374 510
31 171 693

 Service Assembly Available - Order No: 122642 / 36416 P

Order No : 136662 / 36312 K

92
,5

83
,9

65
M16x1,5

M10

12
8,

5

Ø226

75

Ø259

16
6

36312

CONTITECH 5240 N VOLVO 20 573 312

 Service Assembly Available - Order No: 121082 / 36312 P CONTITECH 5240 N VOLVO 3 195 240



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 71

Order No : 135932 / 36753 K

52
52

11.5

70

M16x1,5

Ø168

17
4

15
3.

2

Ø227

36753

VOLVO 20 452 472
20 554 753
3 987 630

Order No :  135282 / 36420 K

80 47,5

M24x1,5
M16x1,5

M14

Ø168

Ø227

10
9

45

36420

CONTITECH 82212 M VOLVO 20 582 212
20 571 988
20 456 158
20 427 802
1 076 420

Order No : 134302 / 36418 K

M14

47,580
M24x1,5

M16x1,5

168

14
8

45

Ø227

36418

CONTITECH 6607 N P01 VOLVO 1 076 418
20 582 214

“ 20 531 987
20 456 156
20 374 511
3 171 695

 Service Assembly Available - Order No: 123002 / 36418 P



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 72

Order No : 135992 / 36770 K

65

8492
.5

M16x1,5
M10

19
0

Ø190

Ø259

36770

CONTITECH 54770 M VOLVO 20 554 770
  3 173 271

Order No : 135962 / 36760 K

160

76

M16x1,5

M10

Ø227

18
3

75

Ø239

36760

VOLVO 20 554 760
20 452 136

CONTITECH 2136 M

Order No : 135972 / 36762 K

160

76

M16x1,5

M10

Ø227

12
4

75

Ø239

36762

VOLVO 20 554 762CONTITECH 54762 M

 Service Assembly Available - Order No: 120192 / 36762 P



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 73

Order No : 130852 / 36876 T

28

95

M10x1,5Ø203

13
0

Ø190

Ø130,8

36876

VOLVO 20 535 875

Order No :  130892 / 36877 T

32
,5

95

M10x1,5

Ø190

Ø130,8

Ø203

13
0

36877

VOLVO 20 535 877

 Service Assembly Available - Order No: 120512 / 36771 P

Order No : 130912 / 36771 K

65

83
,9

92
,5

M16x1,5

M10x1,5

78
Ø259

Ø190

16
0

36771

VOLVO 20 554 771CONTITECH 54771 M



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 74

Order No : 130772 / 37313 KPP

Order No : 133822 / 36884 K

80

12
0

M16

15
8,8

79,4
79,4

79
,4

M12M22x1,5

Ø286
14

1

Ø260

58

36884

FIRESTONE 1T19L-7
W01 M58 8772

PHOENIX 1 DK 28 A-7
CF GOMMA 1T 19E-1

96884

BERTOJA 46311001
ZORZI 1006546

Order No : 133842 / 36885 K

80

12
0

M16

79,4

15
8,8 79,4

M22x1,5

M12

Ø 286

17
9,

3

Ø260

58

36885

FIRESTONE 1T19L-11
W01 M58 8794

PHOENIX 1 DK 28 B-8
CF GOMMA 1T 19E-2

96885

ZORZI 1006545

 Service Assembly Available - Order No: 120312 / 37313 P

M20x2,5

68

120

M10x1,5

M14x1,5

Ø227

76

11
6

Ø240

37313

FIRESTONE 1T 15 AAA-6
W01 M58 7313

IVECO 99458555
NEWAY MO 557 020/031

MO 557 019 630
IVECO 99458557

IVECO 99458557
NEWAY MO 557 019/030



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 75

 Service Assembly Available - Order No: 122582 / 37315 P

Order No : 133762 / 37315 K

105

M12
73

,1
5

157,5
78,75

M14x1,5

M10

Ø227

19
1

Ø240

55

37315

FIRESTONE 1T15LUX-11
W01 M58 7315

SCANIA 1314904

Order No :  135582 / 37803 K

 Service Assembly Available - Order No: 121522 / 37803 P

80 47.5
M24x1,5

M16x1,5

M1416
4.

5
13

6.
5

Ø200

45

Ø227

10
8.

4

37803

CONTITECH 6605 N P01 VOLVO 20 582 206
20 427 803
20 531 984
20 456 150
20 427 800
3 171 692

 Service Assembly Available - Order No: 120942 / 37804 P

Order No : 134462 / 37804 K

80 47,5
M24x1,5

M16x1,5

M14

15
1

Ø200

45

Ø227

10
8,

4

37804

CONTITECH 6606 N P01 VOLVO 20 582 209
20 427 804
20 531 986
20 456 154
20 427 801
3 171 694



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 76

Order No : 135592 / 37805 K

47,580
M24x1,5
M16x1,5

M14

Ø200

45

Ø227

11
9,

5 91
,5

10
8,

4

37805

CONTITECH 7802 M VOLVO 20 427 802

 Service Assembly Available - Order No: 122282 / 38050 P

Order No : 134502 / 38050 K

35

197

3/4"-16UNF
1/4"-18NPT

45
°

Ø200

1/2"-13UNC

Ø286

Ø292

10
2

69

38050

CONTITECH 11 10.5 E-16 A 320
FIRESTONE 1T192K-5.7

W01 358 8050
GOODYEAR 1R14-039

DAYTON  352-8050
HENDRICKSON S 4771

B12514
B125013

NAVISTAR 1685174C1
NEWAY 570 08 050
REYCO GRANNING 23631-01
TRIANGLE 8320
WATSON & CHALIN  AS-0039

Order No : 137142 / 38050-01 K

35

197

3/4"-16UNF
1/4"-18NPT

45
°

Ø200

1/2"-13UNC

69

Ø286

99

292

38050-01

CONTITECH 11 10.5CT-16 A 943
GOODYEAR 1R12-039

WATSON & CHALIN AS-0039



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 77

 Service Assembly Available - Order No: 121902 / 38185-01 P

Order No : 134122 / 38185-01 KPP

73

150

M22x1,5

M12

11
2

Ø 227

Ø260

19
2,

5

38185-01

 Service Assembly Available - Order No: 121722 / 38185 P

Order No :133782 / 38185 KPP

73

150

M22x1,5

M10

Ø227

Ø260

19
2,

5

11
2

38185

FIRESTONE 1T15MPW-9
W01 M58 8185
W01 M58 6285

GOODYEAR 1R12-749
PHENIX 1DK 20B-1

SCHMITZ 750 999
WEWELER US 06285F

FIRESTONE W01 M58 6257
GOODYEAR 1R12-748
PHOENIX 1DK 20B-1NP

 Service Assembly Available - Order No: 122022 / 38186 P

Order No : 133802 / 38186 KPP

73

150

M22x1,5

M10

Ø227

19
2,

5

Ø260

11
2

38186

CONTITECH 4157 N P06
FIRESTONE 1T15MPW-7

W01 M58 8186
PHOENIX 1 DK 20 A1
DUNLOP UK D11B37
GOODYEAR 1R11-764

SCHMITZ 751065
WEWELER US 06316F

FIRESTONE W01 M58 8194



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 78

Order No : 136602 / 38608 KPP

Order No : 137182 / 38204 KPP

139,7

1/4"-18NPT

3/4"-16UNF

1/2"-13UNC

1/2"-13UNC

Ø227

Ø242

97

72

38204

CONTITECH 9 10-12 P 484
FIRESTONE 1 T15 M2

W01 358 8204
GOODYEAR 1R12-508

NEWAY 90557173
90557223

TRIANGLE 8484

 Service Assembly Available - Order No: 123042 / 38608 P

20°

37
°

M12x1,75M12x1,5

10
0Ø205

16
9,

5

Ø259

78

38608

FIRESTONE 1T17DJ-7
W01 M58 8608

R.O.R / MERITOR 21229214

 Service Assembly Available - Order No: 122242 / 38683 P

Order No : 134782 / 38683 K

M16

76

20

7

10
0

58

M16x1,5

M10

Ø192

13
5

Ø227

38683

CONTITECH  887 M K1
FIRESTONE 1T15LNR-3

W01 M58 8683

DAF 0 392 022



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 79

1/2"-13 UNC

1/2"-13 UNC

Order No : 137202 / 38708 KPP

140

35

1/4"-18NPT

3/4"-16UNF

Ø259

11
2

13
8,

5

Ø235

38708

FIRESTONE 1 T17 CA-6.5
W01 358 8708

HENDRICKSON S21966

Order No : 137072 / 38709 KPP

140

35

1/4"-18NPT

3/4"-16UNF

1/2"-13 UNC

Ø259

69

12
1

Ø232

38709

CONTITECH 10 10.16 S460
FIRESTONE 1 T17 CA-5

W01 358 8709
GOODYEAR 1R13-159

HENDRICKSON S21800

Order No : 137082 / 38713 KPP

140

35

1/4"-18NPT

3/4"-16UNF

Ø259

97

Ø235

13
8,

5

38713

CONTITECH 10 10-17.5.S 5 33
FIRESTONE 1 T17 CA-6.5
FIRESTONE 2 W01 358 8713
GOODYEAR 1R13-176

HENDRICKSON S22948
TRIANGLE 8533



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 80

Order No : 137212 / 38829 KPP

1/2"-13UNC

139,7

1/4"-18NPT1/2"-13UNC

Ø254

Ø227

12
4

38829

CONTITECH 9 10 -16 P 449
FIRESTONE 1 T15 M-6

W01 358 8829
GOODYEAR 1R12-405

LOADGUARD SC2757
TRIANGLE 8449
VOLVO 3934699

8079902
2 050 5399

Order No : 137192 / 38852 KPP

1/2"-13UNC

157,25

73

3/8"-16UNC

1/2"-14NPTØ227

14
3

Ø260

38852

CONTITECH 9 10-19 P 472
FIRESTONE 1 T15 M-9

W01 358 8852
GOODYEAR 1R12-568

PETERBILT 03-07887
TRIANGLE 8472

Order No : 137152 / 38755 K ALU

1/2"-13 UNC

140

35

3/4"16 UNF
1/4"-18 NPT

Ø259

97

14
2,

5

Ø216,5

CONTITECH 10 10-15 5 522
FIRESTONE 1T17B-5

W01 358 8755
GOODYEAR 1 R 13-124

HENDRICKSON S22045
C22046
C21623

38755



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C  81

Order No : 133322 / 39002-A3-01 KPP

 Service Assembly Available - Order No: 120902 / 39002 A3 P

Order No : 133282 / 39002 A3  KPP

100

M12x1,75

157,5

M12
M20x1,5

M12x1,5

Ø227

16
9,

5

Ø205

97
39002 A3

CF GOMMA 1T 300-30

Order No :  136482 / 39002 A3  KPP 90º

157,5

M22x1,5

M12x1,5

M12

10
0

M12

CONTITECH 4157 N P09
FIRESTONE 1T15MPW-7

W01 M58 7074
DUNLOP FR D12B17
GOODYEAR 1R11-106
CF GOMMA 1T 300-338
PHOENIX 1DK 21A-3

GRANNING 15732
R.O.R / MERITOR 21222442
WEWELER US O7074F

Ø205

16
9,

5

Ø226

97

39002 A3

 Service Assembly Available - Order No: 121702 / 39002-A3-01 P

FIRESTONE 1T15MPW-7
W01 M58 6315

GOODYEAR 1R11-772
TAURUS KR91521

ACERBI 441901
FRUEHAUF M060924

UJB06
UJB0975

GOODYEAR 1R11-753
100

M12x1,75

157,5

M12
M20x1,5

M12x1,5

Ø227

16
9,

5

Ø205

97

39002 A3



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 82

Order No : 131072 / 39026 KPP

157,5

73
,2

1/2"-14 NPT

3/8"16 UNC

1/2"-13 UNC

34

Ø227

Ø260

14
3,

5

39026

FIRESTONE 1T15M-6
W01 358 9026

PETER BILT 03-06213
03-07111

Order No : 133302 / 39002-A8  KPP

100

M12x1,75

25

73

150

M12

M22x1,5

Ø205

16
9,

5

97

Ø227

39002 A8

FIRESTONE 1T15MPW-7
W01 M58 6297

GOODYEAR 1R11-111
TAURUS KR915-54

DISCOS / MERCEDES A 946 328 14 01
R.O.R / MERITOR 21221307
WEWELER US 87 EURO F

 Service Assembly Available - Order No: 120882 / 39002 - A8 P

 Service Assembly Available - Order No: 120882 / 39002-A3/08 P

Order No : 134262 / 39002-A3/08 KPP

157,5

M20x1,5
M12x1,5

M12

Ø200

M12

Ø227
12

1

Ø240

97

39002 A3

FIRESTONE 1T15MPW-7
W01 M58 6317

PHOENIX 1 DK 20C-2
TAURUS KR915-53NW
DUNLOP FR D12B30
GOODYEAR 1R11-773

FRUEHAUF M078580
NEWAY 905 572 33

MERCEDES A 946 328 14 01
R.O.R / MERITOR 21221307



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 83

 Service Assembly Available - Order No: 122362 / 39121 P

Order No : 134942 / 39121 K

Ø 200

1/2-13UNC

139,7

3/4"-16UNC
1/4"-18NPT

1/2-13UNC

Ø 259,8

13
9,

8

Ø 286

58

39121

CONTITECH 11 10.5-17 A 317
FIRESTONE  1T19F-7

1T19L-7
 W01 358 9121

PHOENIX
TAURUS AS621-9121

DAYTON  352-9121
HDA   PMABG9123B
HENDRICKSON B3411
LOADGUARD  SC2040
NAVISTAR 554773C1
NEWAY 905 570 19 / 52 / 78

905 570 19 / 83 / 10
REYCO GRANNING 12882-02
RIDEWELL S-3052-C

1003589121C
R&S TRUCK 1090023
SAUER  P50-733
TRIANGLE 8317
VOLVO 85 101 159
WATSON & CHALIN  AS-0083

FIRESTONE  W01 358 9123

 Service Assembly Available - Order No: 122322 / 39039 P

Order No : 134362 / 39039 K

139,7

3/4"-16UNF
1/4"-18NPT

1/2"-13UNC

21
5

3/4"-10UNC

Ø241

Ø227

97

76

39039

CONTITECH 9 10-10 P311
FIRESTONE 1T15M-0

W01 358 9039
TAURUS  AS500-9039
GOODYEAR 1R12-095

Plastic Piston Available - Order No:136952 / 39039 KPP
FIRESTONE W01 358 0702

HENDRICKSON           S 2064/S11650
NEWAY                       90557001

90557023
90557085

HUTCHENS                  H-9424-01
RIDEWELL                    1013589039C

55356-C/52061-C
FAB TEK 101877
SAUER                          P50-734
WATSON & CHALIN  AS-0012

FIRESTONE W01 358 0709 Service Assembly Available - Order No: 122342 / 39069 P

Order No : 134482 / 39069 K

1/2"-13UNC

73

157

1/2"-14NPT

3/8"-16UNC

Ø227

12
0.

5

11
2

Ø239

39069

CONTITECH 9 10-14 P 312
FIRESTONE 1T15M-4

W01 358 9069
PHOENIX
TAURUS KR-504-9069

AS506-9069
GOODYEAR 1R12-069

1R12-669

DAYTON 352-9069
FODEN 1300248000
HENDRICKSON 13031
LOADGUARD  SC2034
NAVISTAR 554764C1
PETERBILT 307112/301645

302038/302456
304759/2310042
306746

TRIANGLE 8312
VOLVO 85 101 145
WATSON & CHALIN  AS-0077
PETERBILT 301649 / 302038

302456 / 304759
307112

Plastic Piston Available - Order No: 136972 / 39069 KPP



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 84

Order No : 137112 / 39219 KPP

1/2"-13UNC

139,7

1/4"-18NPT

3/4"-16UNF

1/2"-13UNC

254

12
5

Ø227

39219

CONTITECH 9 10-16 P 408
FIRESTONE 1T15M-6

W01 358 9219
GOODYEAR 1R12-182

LOADGUARD SC2070
NAVISTAR 1672401C1
NEWAY 570 09 219
TRIANGLE 8408
VOLVO 350003-3201

350003-3209
350003-3204
352223-3203

 Service Assembly Available - Order No: 122382 / 39213 P

Order No : 135102 / 39213 K

139,7

13
9,

7

3/4"-16UNF

1/4"-18NPT

1/2"-13UNC

104

1/2"-13UNC

Ø227
35

12
2

Ø253,5

39213

CONTITECH 9 10-16 P 441
FIRESTONE  1T15M-6

W01 358 9213
GOODYEAR 1R12-090

DAYTON  352-9213
LOADGUARD SC2048
NAVISTAR 501559C-1

501559C-2
1660581 C-1

NEWAY 905 571 27
TRIANGLE 8407

Plastic Piston Available - Order No: 136982 / 39213 KPP
FIRESTONE W01 358  0748

Order No : 131192 / 39241 KPP

157,5

3/4"-16UNF

1/4"-18NPT
1/2"-13UNC

1/2"-13 UNC

200

Ø227

18
8

Ø260

97

39241

FIRESTONE 1T15M-9
W01 358 9241



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 85

Order No : 137132 / 39243 KPP

139,7

1/2"-13UNC 1/4"-18NPT

3/4"-16UNF

1/2"-13UNC

Ø227

97

Ø260

14
5

39243

CONTITECH 9.10-19 P 384
FIRESTONE 1 T15 M-9

W01 358 9243
GOODYEAR 1R12-480

NEWAY 90557112
WATSON & CHALIN AS 0061

Order No : 134022 / 39265 K

77,78

3/4"-16UNF

1/4"-18NPT

101,5
10

1,5

1/2"-13UNC

58

Ø227

Ø240,7

13
8,

8

39265

CONTITECH 9 10-19 P 435
FIRESTONE 1T15MM-9

W01 358 9265
GOODYEAR 1R12-375

DAYTON 352-9265
HENDRICKSON S20124 / HT-250 T

C20413/HT-250 U
C20413/HT-250 -U-Y

LOADGUARD SC2134 / SC2759
RIDEWELL 1003589245C
TRIANGLE 8435
VOLVO 85 101 155

 Service Assembly Available - Order No: 122402 / 39265 P

Order No : 134042 / 39270 K

46,5

12
4

77,78

3/4"-16UNF

1/4"-18NPT

3/8"-16UNC

101,5
10

1,5

1/2"-13UNC

Ø227

Ø240,7

10
6

58

39270

CONTITECH 9 10-13.5 S 433
FIRESTONE 1T15VP-4

W01 358 9270
TAURUS KR 501-01
GOODYEAR 1R13-119

DAYTON 352-9270
HENDRICKSON  C20010

C20108
C25559
C21208
S200010(HT230T)

TRIANGLE 8433
VOLVO 85 101 147
WATSON & CHALIN  AS-0084

 Service Assembly Available - Order No: 122422 / 39270 P FIRESTONE 1T15VP-4



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 86

 Service Assembly Available - Order No: 122442 / 39293 P

Order No : 135002 / 39293 K

1/2"-13UNC

139,7

3/4"-16UNF

1/4"-18NPT

1/2"-13UNC

Ø227

78

Ø239

12
0,

5

38

39293

CONTITECH 9 9K-15 P 424
FIRESTONE  1T15LP-5

W01 358 9293
GOODYEAR 1R10-120

DAYTON 352-9293
GRANNING 8896
LOADGUARD SC2048
NEWAY 90557127 (RL-196-14)

90557120
REYCO GRANNING 8896
TRIANGLE 8424

Platic Piston Available - Order No: 136942 / 39293 KPP

DAYTON 352-9294
NEWAY 905 571 27

 Service Assembly Available - Order No: 122982 / 39294 P

Order No : 135262 / 39294 K

139.7

3/4"-16UNF
1/4"-18NPT

1/2"-13UNC

104.5

1/2"-13UNC

Ø227

Ø241

38

76

76

39294

CONTITECH 9 9K-15 P 423
FIRESTONE 1T15LP-5

W01 358 9294
GOODYEAR 1R11-915

Platic Piston Available - Order No: 136962 / 39294 KPP

Order No : 130952 / 39287 KPP

FIRESTONE 1T15M-8
W01 358 9287157.5

1/4"-18 NPT 1/2"-13 UNC

11
4

1/2"-13 UNC

Ø254

Ø227
11

2

12
5

39287

HENDRICKSON 50405-1&2



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 87

 Service Assembly Available - Order No: 122462 / 39321 P

Order No : 135022 / 39321 KPP

Ø200

1/2"-13UNC

157,51/2"-13UNC

3/4"-16UNF

1/4"-18NPT

Ø227

Ø260

97

18
8

39321

CONTITECH 9 10-21 A 361
9 10-21 P 361

FIRESTONE 1T15M-11
W01 358 9321

GOODYEAR 1 R12-335

DAYTON 352-9321
GRANNING 7640
HENDRICKSON NS501304
NEWAY 570 093 21
REYCO GRANNING 7640
VOLVO 85 101 160
WATSON & CHALIN  AS-0036

39297

Order No : 131132 / 39296 KPP

FIRESTONE 1T15M-6
W01 358 9296

139,7

1/4"-18NPT 1/2"-13UNC

1/2"-13UNC

104

Ø227

12
5

Ø254

39296

VOLVO 8061151
8169868

Order No : 131112 / 39297 KPP

FIRESTONE 1T15M-8
W01 358 9297157,5

50
,2

8

1/4"-18NPT

1/2"-13UNC

1/2"-13UNC

28
,5

Ø254

12
5

11
2

Ø227 HENDRICKSON 50898-1&2



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 88

Order No : 137122 / 39370 KPP

1/2"-13UNC

1/4"-18NPT

3/4"-16UNF

1/2"-13UNC

157,5

Ø227

97

19
2,

5

Ø260

39370

CONTITECH 9.10-21 P448
FIRESTONE 1T15M-11

W01 358 9370

WATSON & CHALIN AS 0057

 Service Assembly Available - Order No: 123082 / 39371 P

Order No : 135542 / 39371 K

10
4

1/2"-13UNC

146

13
9,

7

16
6

3/4"-16UNF

1/4"-18NPT

1/2"-13UNC

Ø227

92

12
2

Ø253,5

35

39371

CONTITECH 9 10-17.5 P 521
FIRESTONE 1T15MT-8

W01 358 9371
GOODYEAR 1R12-401

1R12-244

DAYTON 352-9371
NAVISTAR 1670073C-1

1686386C-1
2027911C-1

TRIANGLE 8521

 Service Assembly Available - Order No: 136932 / 39371 KPP

Order No : 131092 / 39362 KPP

FIRESTONE 1T15M-6
W01 358 9362

GOODYEAR 1R12-441

1/2"-13 UNC

139,7

3/4"-16 UNF
1/41-18 NPT

1/2"-13 UNC

39362

14
3,

5

34

Ø227

Ø260

WATSON-CHALIN AS 00 49
NEWAY 90557113



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 89

Order No : 133462 / 39391 K

Ø200

M12

73
.2

157.5

1/4"-18NPT

1/2"-13UNC

95

Ø241

Ø 227

97

39391

FIRESTONE 1T15L-4
W01 358 9391

R.O.R / MERITOR 21223269

 Service Assembly Available - Order No: 122202 / 39373 P

Order No : 133442 / 39373 K

1/2"-13UNC

157,5

50
,2

8

1/4"-18NPT

1/2"-13UNC

Ø227

12
2

Ø253,5

97
39373

CONTITECH 9 10-17.5 P 440
FIRESTONE 1T15MT-8

W01 358 9373
GOODYEAR 1R12-403

DAYTON 352-9373
HAS HAS-360

HAS-400
HAS-402
HAS-460

HDA PMABG9373B
HENDRICKSON 57122-1 & 2
TRIANGLE 8519

 Plastic Piston Available - Order No: 136122 / 39373 KPP

Order No : 136362 / 39373-01 K

50
,3

157,5

1/4"-18 NPT 1/2"-13UNC

1/2"-13UNC

Ø239

12
0

11
2

Ø227

39373

FIRESTONE 1T15MT-8
W01 095 0356

GOODYEAR 556 0 2 8727

 Service Assembly Available - Order No: 122952 / 39373-01 P FIRESTONE W01 095 0357



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 90

Order No : 137002 / 39422-01 KPP

157,5

3/4"-16UNF

1/4"-18NPT
1/2"-13UNC

104

1/2"-13UNC

Ø227

72

35

Ø242

39422-01

CONTITECH 9 9-12 P 314
FIRESTONE  1T15L-1.5

W01 358 9422
GOODYEAR 1R11-028

DAYTON  253-9422
HENDRICKSON 13032
KENWORTH K303-6

K303-14
K303-15

LOADGUARD  SC2050
NAVISTAR 554762c1
NEWAY 905 571 20
TOYO  TRL230H
TRIANGLE 8314
VOLVO 85 101 148
WATSON & CHALIN  AS-0017

 Service Assembly Available - Order No: 121302 / 39466 P

Order No : 135772 / 39466 K

10
4

1/2"-13UNC

157,5

1/2"-13UNC
3/4"-16UNF

1/8"-18NPT

Ø253,5

35
12

2

11
2

Ø227

39466

CONTITECH 9 10-16 P 410
FIRESTONE 1T15MT-6

W01 358 9466
GOODYEAR 1 R12-365

1R12-197

DAYTON 352-9466
HENDRICKSON 49048

49674-1&2
49207

LOADGUARD SC2175
MACK 364QS28

574QL411M
TRIANGLE 8410

 Service Assembly Available - Order No:136992 / 39466 KPP

 Service Assembly Available - Order No: 122482 / 39422 P

Order No : 135142 / 39422 K

157,5

3/4"-16UNF

1/4"-18NPT
1/2"-13UNC

104,5

1/2"-13UNC

Ø227
34

,8

Ø234,5

51

39422

FIRESTONE 1T15L-1.5
1T15KW-1,5
W01 358 9422

KENWORTH K303-6
K303-14
K303 15



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C  91

Order No : 137172 / 39648 KPP

146

1/4"-18NPT

3/4"-16UNF

1/2"-13UNC

1/2"-13 UNC

Ø254

12
5

Ø227

39648

CONTITECH 9 10-17.5 P 456
FIRESTONE 1 T15 MT-8

W01 358 9648
GOODYEAR 1R12-538

NAVISTAR 2027911C1
2027911C2

Order No :  132962 / 39780 K

15

180

93 5

M10

M16x1,5Ø259

Ø190

18
0

75

39780

CONTITECH 9780 N VOLVO 1 629 780

Order No : 137162 / 39640 K ALU

CONTITECH 9 10-12 A 427
FIRESTONE 1 T15 MT-3

W01 358 9640
W01 358 9630

GOODYEAR 1R12-367

HENDRICKSON S20223
LOADGUARD SC 2758

77,5

3/4"16 UNF

1/4"-18 NPT

1/2"-13 UNC

39640

Ø227

Ø247

97

95
,5



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 92

Order No : 133722 / 39910  K

Ø200

M12x1,75

17
7

70

M16x1,5

M12

14
4,

8

Ø 305

Ø 286

55

39910

FIRESTONE 1T19L-12
W01 M58 9910

NEWAY M0057000G
RENAULT  V.I 5.000.815.749

Order No : 132502 / 39921 KPP

139,7

1/4"-18NPT

3/4"-16UNF

1/2"-13UNC

1/2"-13 UNC

Ø227

Ø240

97

12
1,

5

39921

CONTITECH 9 10-17.5 P 443
FIRESTONE 1  T15-7.5

W01 358 9921
GOODYEAR 1R12-502

NEWAY 90557117
TRIANGLE 8443
WATSON & CHALIN AS 0090

Order No : 132582 / 39923 KPP

1/2"-13 UNC

139,7

1/4"-18NPT

3/4"-16UNF

1/2"-13UNC

CONTITECH 9 10 -17.5 P 429
FIRESTONE 1 T15 M-7.5

W01 358 9923
GOODYEAR 1R12-481

NEWAY 90557118
TRIANGLE 8429

Ø260

Ø227

97

14
3,

5

39923



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 93

 Service Assembly Available - Order No: 122662 / 330301 P

Order No : 134622 / 330301 K

180

56
,5

140

M14x1,5Ø259

20

Ø240

Ø11,9

Ø11,9

11
1

33-0301

FIRESTONE 1T15VR-3
W01 S15 8192

SCANIA 470920
488265
1440301

Order No : 136102 / 330301-02  K

15°

180

140

15
°

56
,5

45°M14x1,5

Ø259

Ø240

11
1

12

12

330301-02

FIRESTONE 1  T15M-4
W01 095 0389

GOODYEAR 556 0 2 8562

SCANIA 144301
1515499

Order No : 135632 / 330302 K

140

140

45°

56
.5

M14x1,5
Ø259

Ø11.9

55

Ø11.9

Ø229

11
0

330302

FIRESTONE  1T15VPR-3
W01 M58 8193

GOODYEAR 556 0 2 8562

SCANIA 1440302
470921

 Service Assembly Available - Order No: 123392 / 330302 P



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 94

 Service Assembly Available - Order No: 122672 / 330304 P

Order No : 134582 / 330304 K

127

56
,5

140

45°

M14x1,5

16
4

54

Ø185,6

94
.5

Ø11.9

Ø227

33-0304

SCANIA 1440304
470922

FIRESTONE  1T15LR-4
W01 095 0424

GOODYEAR 556 0 2 8560

 Service Assembly Available - Order No: 122712 / 330305 P

Order No : 134702 / 330305 K

56
,5

140

M14x1,5

127

Ø227

Ø206

94
,5 Ø11,9

16
3

Ø11,9

54

33-0305

SCANIA 1440305
492680

GOODYEAR 556 0 2 8561

Order No : 135482 / 330306 K

127

56
,5

140

M14x1,5
Ø11,9

18
6,

5

Ø206

54

Ø227

Ø11,9

94
.5

330306

SCANIA 1440306
442678

FIRESTONE  1T15LR-4
W01 095 0481

GOODYEAR 556 0 2 8566



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 95

Order No : 136702 / 331237 K

180

56
,5

140

M16x1,5

Ø259

20

Ø240

Ø11,9

Ø11,9

11
1

331237

SCANIA 1726237

Order No : 134682 / 330307 K

56
,5

140

M14x1,5

127

Ø227

54

13
1,

5

Ø200

Ø11,9

Ø11,9

33-0307

SCANIA 1440307
470919
475149

FIRESTONE  1T15L-4
W01 095 0405

GOODYEAR 556 0 2 8563

 Service Assembly Available - Order No: 123412 / 330307 P

SCANIA 1521114
1475106
1440303
488263

Order No : 135202 / 331114 K

90

45°

140

56
,5

M14x1,5
Ø227

Ø11.9

30

13
1.

5

Ø11.9

Ø220

21

12
.5

331114

 Service Assembly Available - Order No: 123422 / 331114 P

FIRESTONE W01 095 0422
GOODYEAR 556 0 2 8564



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 96

Order No : 136712 / 331238 K

140

140

450

56
.5

M16x1,5

Ø259
Ø11.9

55

Ø11.9

Ø229

11
0

331238

SCANIA 1726238

Order No : 136722 / 331239 K

90

45°

140

56
,5

M16x1,5

Ø227

Ø11.9

30

13
1.

5

Ø11.9

Ø220

21

12
.5

331239

SCANIA 1726239

Order No : 136732 / 331240 K

127

56
,5

140

45°

M16x1,5

16
4

54

Ø185,6

94
.5

Ø11.9

Ø227

331240

SCANIA 1726240



C 97

TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

Order No : 136752 / 331242 K

127

56
,5

140

M16x1,5

Ø11,9

18
6,

5

Ø206

54

Ø227

Ø11,9

94
.5

331242

SCANIA 1726242

127

140

56
,5

45°

M16x1,5
Ø227

Ø11,9

55

Ø11.9
Ø206

18
6,

5

331243

SCANIA 1726243

Order No : 136762 / 331243 K

56
,5

140

M16x1,5

127

Ø227

Ø206

94
,5 Ø11,9

16
3

Ø11,9

54
331241

SCANIA 1726241

Order No : 136742 / 331241 K



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 98

Order No : 136782 / 331247 K

56
,5

140

M16x1,5

127

Ø227

54

13
1,

5

Ø200

Ø11,9

Ø11,9

331247

SCANIA 1726247

Order No : 136772 / 331246 K

56
,5

140

M16x1,5

127

Ø227

54

13
1,

5

Ø200

Ø11,9

Ø11,9
SCANIA 1726246

331246

Order No : 134602 / 334506 K

127

140

56
,5

45°

M14x1,5

16
1,

5

54

Ø206

Ø227

Ø11,9

33-4506

SCANIA 1434506
488264
473868

 Service Assembly Available - Order No: 123432 / 334506 P



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 99

Order No : 133642 / 361420 K

M16x1,5

15
0

Ø 199,5

Ø 227

64

361420

GART D 276 / R AUSTERAS/VERAS 99381009

Order No : 133622 / 361480 K

12
6

M16

M16x1,5

15
0

Ø 199,5

Ø 227

64

361480

GART D 276 / LR AUSTERAS/VERAS 99381010

Order No : 133602 / 361421 K

12
6

M16

20

160

70

M22x1,5

M10x1,25

Ø 227

Ø 199,5

15
0

64

361421

BATTAGLINO 22.119.07
CAMPANA 05.040.0100
TRASCAR 3003000070

GART D 276 / R

 Service Assembly Available - Order No: 122592 / 361421 P



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 100

Order No : 133542 / 361481 K

12
6

M16

20

160

70

M10x1,5

M22x1,5

15
0

Ø 199,5

Ø 227

64

361481

GART D 276 / LR TRASCAR 3003000060

Order No : 133562 / 362421 K

20

70

160

M22x1,5

M10x1,25

120

38
,9

M16x1,5Ø 199,5

15
5

Ø 227

64

362421

GART D 276/ R-2 F BATTAGLINO 2211900

Order No : 133522 / 374521 K

160

M12x1,75

79,4

15
8,

8

79
,4

79,4

79
,4

M12

M22x1,5Ø 286

Ø 217

18
0

58

374521

GART D 277 / DA



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 101

Ø 196

Ø 227

19
7

58

382520

Order No : 137032 / 382430-01 K

20

70

160

M22x1,5

M10x1,25

50

70

120
M16x1,5

Ø 227

Ø 196

15
5

58

382430-01

Order No : 133662 / 382430 K

25

73

150

M22x1,5

M10x1,25

50

70

120
M16x1,5

Ø 227

Ø 196

15
5

58

382430

GART D 278 / E BATTAGLINO 0.41.04.001.0

Order No : 133582 / 382520 K

25

73

150

M22x1,5

M10x1,25

50

70

120
M16x1,5

GART D 278 / F AUSTERAS/VERAS 99381031



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 102

Order No : 131662 / 391209  K

160

20

70

M22x1,5

M10x1,25

50

120

M16x1,5

18
8

Ø260

Ø227

97

391209

FIRESTONE 1T15M-9
FIRESTONE 2 W01 M58 6289
DUNLOP FR D12B09

D12B07
CF GOMMA 1T 323-40
CF GOMMA 2 96871

CARDI 58050900
ZORZI 1006551

 Service Assembly Available - Order No: 121842 / 391210 P

Order No : 131642 / 391210  K

160

20

70

M22x1,5

M10x1,25

Ø200

M12

18
8

Ø260

Ø227

97

391210

DUNLOP FR D12B06
D12B10

CF GOMMA 1T 323-40
96864

GART D278H
278.4.514

VIBERTI 128147109

 Service Assembly Available - Order No: 121442 / 391208 P

Order No : 131682 / 391208  K

Ø200

M12

157,5

M20x1,5

M12x1,5
M12

Ø227

18
8

Ø260

97

391208

FIRESTONE 1T15M-9
W01 M58 8859

TAURUS KR 509-9091
DUNLOP FR D 12 B08

D12BO1

FRUEHAUF UJB 0203
UJA 0894

FIRESTONE W01 M58 0736



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 103

Order No : 131162 / 391303  K

Order No : 134422 / 391210-01 K

Ø200

M12

160

70
20

M10x1,25

M22x1,5

18
8

Ø260

Ø227

97

391210-01

CF GOMMA 1T 323-40 BG
97307

VIBERTI 128147111

79,4

158.8

15
8.

8

M22x1,5

M12x1,75

Ø200

M12x1,75

Ø286

Ø260

21
6

58

391303

FIRESTONE 1T19F-12
W01 M58 7380

PHOENIX 1D28C-12
DUNLOP FR D 13 B 03

FRUEHAUF UJB 0305
R.O.R / MERITOR 21221349
SAF 3.229.0024.00
WEWELER US 07380F

Order No : 131562 / 391304  K

157,5

M20x1,5

M12x1,5M12

141.4

M12x1,75

Ø286

Ø260,5

20
8

58

391304

FIRESTONE 1T19L-14
W01 M58 8762

DUNLOP FR D13B04
CF GOMMA 1T 19E-3

201840

FRUEHAUF M001464
UJB0129001

ZORZI 1006552



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 104

Order No : 131582 / 391305  K

104,92

209,84

M20
M12x1,5

M14

180

55

M16x2

58

Ø 260

Ø 286
13

9

391305

DUNLOP FR D13 B05

Order No : 131722 / 391314  K

141,42

Ø200

M12x1,75

158,8

45°

15
8,8

79
,4

M22x1,5

M12

21
6

Ø260

58

Ø286

391314

CONTITECH 912 N P02
FIRESTONE 1T19L-14

W01 M58 7385
W01 M58 8766

PHOENIX 1D 28 D-2
DUNLOP FR D13B14
CF GOMMA 1T 19E-4

FRUEHAUF M060770
HENDRICKSON Y507782
R.O.R / MERITOR 21222673
SAF 3.229.0013.00

3.229.0005 01
3.229.0006 01

WEWELER US 96681F

Order No : 131142 / 391318  K

12
0

70

M16x1,5

79
,4

180

10
,5

M22x1,5

M10x1,25

Ø260

Ø286

17
3

58

391318

PHOENIX 1DK 28 B-7
DUNLOP FR D13B18

D13B12



TOP VIEW

BOTTOM VIEW

Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete

TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

CO
M

PL
ET

E
AI

RS
PR

IN
GS

C 105

200

M12x1,75

Order No : 131442 / 391319  K

79
,4

158,8

15
8,8

45°

M12

M22x1,5

M12

200

Ø286

Ø260

17
7,

8

58
391319

CONTITECH 813 MB
FIRESTONE 1T19L-11

W01 M58 6364
W01 M58 7345

PHOENIX 1D 28 B-2
DUNLOP FR D13B02

D13B19
GOODYEAR 1R14-705
CF GOMMA 1T 19E-2

87408

HENDRICKSON 505859
R.O.R / MERITOR 21215633
RENAULT  V.I 5.010.130.925

5.000.790 692
SAF 2.229.0003.00

3 228 0003 00
TROUILLET ST225-675
VIBERTI 128147122

Order No : 131242 / 391320  K

15
8,

8

79,4

158.8

M22x1,5 M12x1,75

13
9,

8

Ø260

Ø286

58

391320

CONTITECH 810 MB
FIRESTONE 1T19L-7

W01 M58 6345
PHOENIX 1 D 28 A-2
TAURUS B 104/K 104
DUNLOP UK PNP311780000
DUNLOP FR D13B01
GOODYEAR 1R14-716
CF GOMMA 1T 19E-1

87413/1

DAF 1 384 273
GRANNING 15635
HENDRICKSON 506243
R.O.R / MERITOR 21215632

21208082
RENAULT  V.I 5.000.452.939
SAF 2.228.0002.00
TROUILLET HB10315
YORK 506243/01

Order No : 131602 / 391322  K

141,42

M12

79
,4

158,8

45°

15
8,8

M10

M14x1,5

Ø260

58

17
7,

8

Ø286

391322

CONTITECH 4813 N P07
FIRESTONE 1T19L-11

W01 M58 7358
PHOENIX 1D 28 B-9
TAURUS KR 622-01
DUNLOP FR D13B10

D13B22
GOODYEAR 1R14-065

1R14-727
CF GOMMA 1T 19E-2 BR

97764

SCANIA 1107674
255295
255293
1314906
325748
298568

ZORZI 298568



Bolt/Stud Combo studAir inletThreaded hole

CROSS REFERENCE OEM REFERENCE

Complete

CROSS REFERENCE OEM REFERENCE

Complete
TOP VIEW

BOTTOM VIEW

TOP VIEW

BOTTOM VIEW

C 106

Order No : 131622 / 391323  K

79
,4

158,8

45°

15
8,8

M12

M22x1,5

120

70

M16x1,517
3

58

Ø286

Ø260

391323

DUNLOP FR D 13 B23

Order No :  131462 / 391324  K

10017
3,

2

90

50

M22x1,5

M10

45°

45°

M12

Ø260

17
8

Ø286

58

391324

CONTITECH 811 MB3
813 MB3

FIRESTONE 1T19F-11
W01 M58 6359
W01 M58 6334

DUNLOP UK PNP311770000
DUNLOP FR D13B24
CF GOMMA 1T19 E-2

203878

DAF 0 526 823
0 676122

Notes





CONVOLUTED AIRSPRINGS
COMPONENTS

Air Inlet
Top Plate
Blind Nut

Bellow

Girdle Hoop

Bottom Plate
Bumper

Air Inlet
Top Plate

Girdle Hoop

Bellow

Bolt

Clamp Ring

Bead Plate

Blind Nut

Bead Plate

Combination stud/air inlet
( Combo Stud )

Clamp Ring HARDWARE KEY - SYMBOLS

Bold / Stud

Blind Nuts

Air Inlet

Combination studs/air inlet (Combo Stud)

Air Inlet

Air Inlet

Bead Plate

Bolt / Stud

Bead Plate

Bottom Plate

All data in this catalogue are informational. Air Otomotiv does not warrant the correctness or the completeness of these information
and has the right to apply changes when necessary, without notice. A.I.R. Otomotiv Koll. Sti. 2010 All rights reserved

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BARCODE
Barcoding system provides AIRKRAFT products a maximum traceability down to the raw material.Via
the barcode number on the label, it is possible to answer all questions regarding the product, until the
final customer.

Sales Part Number
Barcode Tracking Number

Production Assembly Date

2B 320
Bellow Style

Bellow Production
Week / Year

PRODUCT ID AND TRACEABILITY



44,5 mm

44,5 mm

BELLOW COMPLETE COMPLETE
AIRKRAFT 111001
CONTITECH FS 50-5   61388
FIRESTONE W01 M58  6140
WEFORMA WBE 150-E1
BOSCH 1915041000

AIRKRAFT 112002

CONTITECH FS 50-5   62242
FIRESTONE FLEX 16
FIRESTONE W01 358 0010

STYLE Description Order No

Two Ply
Bellows

1B-120
Rubber bellow only 112002
Blind nuts,G1/4 111001

STYLE 1B - 120

1

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 1B - 150

44,5 mm

44,5 mm

1B-150

STYLE Description

Two Ply
Bellows

Rubber bellow only 112003
Blind nuts,G1/4 111002

Order No

AIRKRAFT 112003

CONTITECH FS 70-7  60512
FIRESTONE FLEX 131
FIRESTONE W01-358-0131

AIRKRAFT 111002

CONTITECH FS 70-7  2681 015 000
PHOENIX SP 1 B 05
BOSCH 822419002
FESTO EB-165-65
WEFORMA WBE 200-E1

2



BELLOW COMPLETE COMPLETE

STYLE 1B - 190

1B-190

STYLE Description

Two Ply
Bellows

Rubber bellow only 112004
Blind nuts,G3/4 111003
Blind nuts,G1/4 111005

Order No

AIRKRAFT 112004
CONTITECH FS 120-9  60479
FIRESTONE FLEX 116
FIRESTONE W01 358 0133

AIRKRAFT 111003
CONTITECH FS 120-9

2681 030 000
FIRESTONE W01 M58 6165
DUNLOP (FR) 8"x1 S08101
BOSCH 822419003
FESTO EB-215-80
NORGREN PM/31081 (8x1)
WEFORMA WBE 300-E1

AIRKRAFT 111005
CONTITECH FS 120-9   61358
FIRESTONE W01 M58 6166
DUNLOP (FR) 8"x1 S08100
BOSCH 822419008
WEFORMA WBE 300-E2

3

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



STYLE Description

Two Ply
Bellows

1B-190
Rubber bellow only                                                                                       112004
Blind nuts,G1/4 111013

Order No

BELLOW COMPLETE COMPLETE

STYLE 1B - 190

AIRKRAFT 111013
PHOENIX SP 1 B 07

AIRKRAFT 112004
CONTITECH FS 120-9  60479
FIRESTONE FLEX 116
FIRESTONE W01 358 0133

4



1B-220

STYLE Description

Two Ply
Bellows

Rubber bellow only 112005
Blind nuts,G3/4 ( air inlet 38.1mm) 111004
Blind nuts,G1/4 ( air inlet 44.4 mm) 111006

Order No

38
,1 

/ 4
4,4

BELLOW COMPLETE COMPLETE

STYLE 1B - 220

AIRKRAFT 112005
CONTITECH FS 200-10 60319
FIRESTONE FLEX 115
FIRESTONE W01-358-0118

AIRKRAFT 111004
CONTITECH FS 200-10

2681 045000
FIRESTONE W01 M58 6374
DUNLOP (FR) 9"1/4x1 S09101
BOSCH 822419004
FESTO EB-250-85
NORGREN PM/31091 (91/4x1)
WEFORMA WBE 400-E1

AIRKRAFT 111006
CONTITECH FS 200-10   60030
FIRESTONE FLEX  115
FIRESTONE W01 M58 6375
BOSCH 822419009
WEFORMA WBE 400-E2 / 410-E1

5

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 220 - 60

STYLE Description

Two Ply
Bellows

220-60
Rubber bellow only 112001
Blind nuts,1/4 NPT 111150

Order No

AIRKRAFT 112001
GART T291/B

AIRKRAFT 111150

GART T291/B (291.1.170)
MERCEDES-ACTROS - TURKEY

6



BELLOW COMPLETE COMPLETE
AIRKRAFT 111152

BMC 57RS306423
AIRKRAFT 112001
GART T291/B

STYLE Description

Two Ply
Bellows

220-60
Rubber bellow only 112001
Top / bottom plate bolts  ; 1/4 NPT 111152

Order No

STYLE 220 - 60

7

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



STYLE Description

Two Ply
Bellows

2B-150
Rubber bellow only 114053
Top plate only clamp-rings(M10),bottom plate blind nuts M8 113070
Top plate, bolts M10(15mm), Air inlet G1/2,bottom plate, nuts M8 113071

Order No

BELLOW COMPLETE COMPLETE
AIRKRAFT 114053

DUNLOP (FR) 6"x2 SP 917
AIRKRAFT 113070
DUNLOP (FR) 6"x2

AIRKRAFT 113071
DUNLOP (FR) DB 06219

STYLE 2B - 150

8



STYLE Description

Two Ply
Bellows

2B-150
Rubber bellow only 114053
Top / Bottom only clamp-rings M10 113072
Top / Bottom plate, bolts M10(27mm) , Air inlet G1/2 113073

Order No

BELLOW COMPLETE COMPLETE
AIRKRAFT    113073
DUNLOP (FR)     6"x2  SP 1482

AIRKRAFT    113072
DUNLOP (FR)   6"x2

AIRKRAFT 114053

DUNLOP (FR) 6"x2 SP 917

STYLE 2B - 150

9

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



STYLE Description

Two Ply
Bellows

2B-150
Rubber bellow only 114055
Top plate, bolts M10(15mm),Air inlet G1/2,bottom plate nuts M8 113074
Top plate, bolts  M10 (27mm) ,Air inlet G1/2 113075

Order No

BELLOW COMPLETE COMPLETE
AIRKRAFT 113074
DUNLOP (FR)pneumatis DB 06219    6x2"

AIRKRAFT 113075
DUNLOP (FR) 6x2"
NORGREN M/31062 (6x2)
WEFORMA WBZ-G 210

AIRKRAFT 114055
DUNLOP  6x2"

STYLE 2B - 150

10



BELLOW COMPLETE COMPLETE

STYLE 2B - 180

STYLE Description

Two Ply
Bellows

2B-180
Rubber bellow only 114052
Blind nuts M8,  G1/4 113056
Blind nuts M10, G1/4 113057

Order No

AIRKRAFT 114052
FIRESTONE FLEX 26C
GOODYEAR FLEX             579-92-3-530

M8 / M10

M8 / M10

11

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



STYLE Description

Two Ply
Bellows

2B-180
Rubber bellow only 114050
Blind nuts, 1/4NPT 113067
Blind nuts, 3/4 NPT 113068

Order No

BELLOW COMPLETE COMPLETE

STYLE 2B - 180

AIRKRAFT 113067
CONTITECH FD 120-20 509
FIRESTONE W01-358-7325
GOODYEAR 2B8-550

AIRKRAFT 113068
FIRESTONE W01-358-7327
GOODYEAR 2B8-552

AIRKRAFT 114050
CONTITECH 603 N
FIRESTONE FLEX 26
FIRESTONE W01 358 0142
PIRELLI 26
PHOENIX 2B O7 R

12



BELLOW COMPLETE COMPLETE

STYLE 2B - 180

STYLE Description

Two Ply
Bellows

Rubber bellow only 114050
Flange ( Steel ) M6 113055
Flange ( Steel ) M8 113064

2B-180

Order No

AIRKRAFT 114050
CONTITECH 603 N
FIRESTONE FLEX 26
FIRESTONE W01 358 0142
PIRELLI 26
PHOENIX 2B O7 R

4xM6 / 4xM8

13

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 180

STYLE Description

Two Ply
Bellows

2B-180
Rubber bellow only 114050
Blind nuts, G1/4 113054
Blind nuts , G3/4 113053

Order No

AIRKRAFT 113054
BOSCH 822419062
CONTITECH FD 120-17 61361
FIRESTONE W01 M58 6353

026B 095.0275
WEFORMA WBZ 300-E2

AIRKRAFT 113053
BOSCH 822419042
CONTITECH FD-120-17

2682 030000
DUNLOP (FR) SO 8201
FESTO EB-215-155
GOODYEAR 2B 7-540
NORGREN PM/31082 (8x2)
PIRELLI T26 84181
TAURUS KF 218
WEFORMA WBZ 300-E1

AIRKRAFT 114050
CONTITECH 603 N
FIRESTONE FLEX 26
FIRESTONE W01 358 0142
PIRELLI 26
PHOENIX 2B O7 R

14



BELLOW COMPLETE COMPLETE

STYLE 2B - 180

STYLE Description

Two Ply
Bellows

2B-180
Rubber bellow only 114050
Blind nuts,G1/4 113052

Order No

AIRKRAFT 114050
CONTITECH 603 N
FIRESTONE FLEX 26
FIRESTONE W01 358 0142
PIRELLI 26
PHOENIX 2B O7 R

AIRKRAFT 113052
GOODYEAR 2B 8-550
PHOENIX SP 2B O7 R

15

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 200

STYLE Description

Two Ply
Bellows

2B-200
Rubber bellow only 114051
Top / Bottom plate bolts,Rp1/2 (air inlet in the center) 113060
Only clamp ring 113062

Order No

AIRKRAFT 114051
CONTITECH FD 138-18S
DUNLOP (FR) 8"x2

AIRKRAFT 113060
CONTITECH FD 138-18 1/2M10
DUNLOP (FR) SP 1490 (8x2) 

SP918
NORGREN M/31082  (8x2)
WEFORMA WBZ-G 350

16



BELLOW COMPLETE COMPLETE

STYLE 2B - 215

AIRKRAFT       113015
PHOENIX       SP 2B 12R-12
Truck in Turkey
HENDRICKSON        H5507907/P

STYLE Description

Two Ply
Bellows

2B-215
Rubber bellow only 114005
Blind nuts,Combostud M20x1.5-M12x1.5,Bumper(90mm) 113015

Order No

x x

AIRKRAFT       114005

17

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 220

STYLE Description

Two Ply
Bellows

2B-220
Rubber bellow only 114001
Blind nuts M10, G1/4   (44.4mm) 113001
Blind nuts M8,   G3/4   (38,1mm) 113004
Blind nuts M10,  G3/4  (38,1mm) 113005
Blind nuts M8,   G1/4   (44.4mm) 113482

Order No

AIRKRAFT 114001
CONTITECH FD 20019 S / 895 N
FIRESTONE FLEX 20
FIRESTONE W01-358-0138

095-0009
GOODYEAR 2B 9-200

578923202
PHOENIX 2B 12R
PIRELLI T20 86600

AIRKRAFT 113001
CONTITECH FD 200-19

1/4  60336
DUNLOP (FR) 9"¼ SO 9201
FIRESTONE W01.M58-6887
GART T291/2 (291.2.200)
GOODYEAR 2B 9-201
PHOENIX SP 2B 12R
PIRELLI T20

AIRKRAFT 113004
CONTITECH FD 200-19

2682 045000
BOSCH 822419043
FESTO EB-250-185
NORGREN PM/31092  (91/4x2)
WEFORMA WBZ 400 E1
AIRKRAFT 113482
CONTITECH FD 200-19  60336
FIRESTONE 20-T3 095.0255
GOODYEAR 556 2 2 8649
BOSCH 822419063
WEFORMA WBZ 400-E2

44
,4 

/ 3
8,1

18



BELLOW COMPLETE COMPLETE

STYLE 2B - 220

STYLE Description

Two Ply
Bellows

2B-220
Rubber bellow only 114001
Top / Bottom plate bolts, G1/4  113021

Order No

AIRKRAFT 114001
CONTITECH FD 20019 S / 895 N
FIRESTONE FLEX 20
FIRESTONE W01-358-0138

095-0009
GOODYEAR 2B 9-200

578923202
PHOENIX 2B 12R
PIRELLI T20 86600

19

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 220

STYLE Description

Two Ply
Bellows

2B-220
Rubber bellow only    114001
Top plate bolts, M12,Blind nuts M8;1/4 NPT,Bumper (90mm)            113474

Order No

AIRKRAFT 113474
FIRESTONE 20 T3 095.0313
GOODYEAR 556 2 2 8521

AIRKRAFT 114001
CONTITECH FD 20019 S / 895 N
FIRESTONE FLEX 20
FIRESTONE W01-358-0138

095-0009
GOODYEAR 2B 9-200

578923202
PHOENIX 2B 12R
PIRELLI T20 86600

20



BELLOW COMPLETE COMPLETE

STYLE 2B - 220

STYLE Description

Two Ply
Bellows

2B-220
Bellow rubber only 114001
Blind nuts , 1/4 NPT (center distance 44,4mm) 113017
Blind nuts ,1/4 NPT,Bumper(96mm) (center distance 44.4mm) 113027
Blind nuts , 3/4 NPT (center distance 38.1mm) 113487

Order No

AIRKRAFT 113017
CONTITECH FD 200-19  320
FIRESTONE W01 358 6910
GOODYEAR 2B9-200
TAURUS KF218-6910

AIRKRAFT 113027
CONTITECH FD 20019  310
FIRESTONE W01 358 6902
GOODYEAR 2B9-201
TAURUS KF218-6902

AIRKRAFT 113487
CONTITECH FD 200-19  319
FIRESTONE W01-358-6900
GOODYEAR 2B9-216

AIRKRAFT 114001
CONTITECH FD 20019 S / 895 N
FIRESTONE FLEX 20
FIRESTONE W01-358-0138

095-0009
GOODYEAR 2B 9-200

578923202
PHOENIX 2B 12R
PIRELLI T20 86600

44
,4 

/ 3
8,1

21

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 220

STYLE Description

Two Ply
Bellows

2B-220
Rubber bellow only                114001
Top plate bolts, 1/4 NPT,Bottom plate blind nuts;Bumper(96mm)                   113028

Order No

AIRKRAFT 113028
CONTITECH FD 200-19 315
FIRESTONE W01 358 6905
GOODYEAR 2B9-206
TAURUS KF218-6905

AIRKRAFT 114001
CONTITECH FD 20019 S / 895 N
FIRESTONE FLEX 20
FIRESTONE W01-358-0138

095-0009
GOODYEAR 2B 9-200

578923202
PHOENIX 2B 12R
PIRELLI T20 86600

22



BELLOW COMPLETE COMPLETE

STYLE 2B - 220

STYLE Description

Two Ply
Bellows

2B-220
Rubber bellow only     114001
Top plate bolts, 1/4 NPT,Bottom plate blind nuts                    113501

Order No

AIRKRAFT 113501
CONTITECH FD 200-19  539
FIRESTONE W01-358-6890

AIRKRAFT 114001
CONTITECH FD 20019 S / 895 N
FIRESTONE FLEX 20
FIRESTONE W01-358-0138

095-0009
GOODYEAR 2B 9-200

578923202
PHOENIX 2B 12R
PIRELLI T20 86600

23

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 220

STYLE Description

Two Ply
Bellows

2B-220
Rubber bellow only 114001
Flange ( Steel ) (4xM8) 113006
Flange ( Steel ) (8xM8) 113546

Order No

AIRKRAFT 113546
FIRESTONE 095.0023
GOODYEAR 556 2 2 8425

AIRKRAFT 114001
CONTITECH FD 20019 S / 895 N
FIRESTONE FLEX 20
FIRESTONE W01-358-0138

095-0009
GOODYEAR 2B 9-200

578923202
PHOENIX 2B 12R
PIRELLI T20 86600

4xM8 / 8xM8

24



BELLOW COMPLETE COMPLETE

STYLE 2B - 220

STYLE Description

Two Ply
Bellows

2B-220
Rubber bellow only 114001
Combination stud/Air inlet stud outside theared is 3/4-16 113026
Combination stud/Air inlet stud outside theared is 3/4-16,Bumper (96mm) 113541

Order No

AIRKRAFT 113026
CONTITECH FD 200-19 505
FIRESTONE W01 358 6897
GOODYEAR 2B9-229

AIRKRAFT 114001
CONTITECH FD 20019 S / 895 N
FIRESTONE FLEX 20
FIRESTONE W01-358-0138

095-0009
GOODYEAR 2B 9-200

578923202
PHOENIX 2B 12R
PIRELLI T20 86600

25

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE Description

Two Ply
Bellows

2B-220
Rubber bellow only        114001
Comb. stud M12x1,5 Air inlet stud outside theared is M18x2,5        113475

Order No

AIRKRAFT 113475
FIRESTONE 20 T3 095.0353
GOODYEAR 556 2 2 8520

STYLE 2B - 220

AIRKRAFT 114001
CONTITECH FD 20019 S / 895 N
FIRESTONE FLEX 20
FIRESTONE W01-358-0138

095-0009
GOODYEAR 2B 9-200

578923202
PHOENIX 2B 12R
PIRELLI T20 86600

x

26



BELLOW COMPLETE COMPLETE

STYLE 2B - 220-3

STYLE Description

Two Ply
Bellows

2B-220-3
Rubber bellow only 114003
Blind nuts ,  M12x1.5 113002
Blind nuts ,  M14x1.5 113018
Blind nuts , G1/4 113549

Order No

AIRKRAFT 113002
CONTITECH FD 200-19 P04 895 N
DUNLOP (FR) S09208
FIRESTONE W01 M58 7894
GOODYEAR 2B9-287
PHOENIX 2B 12R-3
PIRELLI T20 86660
TAURUS KF 216

AIRKRAFT 114003

27

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 220-3

STYLE Description

Two Ply
Bellows

2B-220-3
Rubber bellow only 114003
Blind nuts , G1/4,Bumper (90mm) 113008

Order No

AIRKRAFT 114003

28



BELLOW COMPLETE COMPLETE

STYLE 2B - 220-3

STYLE Description

Two Ply
Bellows

Rubber bellow only 114003
Blind nuts , M12x1.5 1130032B-220-3

Order No

AIRKRAFT 113003
DUNLOP (FR) 9"¼ SO 9203

AIRKRAFT 114003

29

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 225

STYLE Description

Two Ply
Bellows

2B-225
Rubber bellow only 114004
Blind nuts M10,1/4 NPT (center distance 44,4mm) 113010
Blind nuts M10, G1/4  (center distance 44,4mm) 113012
Blind nuts M8, 1/4"-18 NPT,Bumper (80mm)  (center distance 44,4mm) 113473
Blind nuts M10, M12 x1.5  (center distance 44,4mm) 113481
Blind nuts M8, G3/4(center distance 38,1mm) 113483
Blind nuts M8, G1/4 (center distance 44,4mm) 113484

Order No

44
,4 

/ 3
8,1

AIRKRAFT 114004
CONTITECH   FD 200-25 S
GOODYEAR    556 2 3 8332
FIRESTONE    W01-358-0305/20-2

AIRKRAFT 113010
DUNLOP (FR) S0 9280
FIRESTONE W01 M58 7679
GART T291/2B

291.2.260
GOODYEAR 2B 9-269

AIRKRAFT 113012
DUNLOP (FR) 9"¼ x2 SO 9280
FIRESTONE W01 M58  7394

AIRKRAFT 113481
PHOENIX SP2B12R-A-4

AIRKRAFT 113473
FIRESTONE 20-2 T3 095.0256
GOODYEAR 556 2 2 8656

AIRKRAFT 113483
CONTITECH FD 200-25 / 60382
WEFORMA WBZ 430-E1

AIRKRAFT 113484
CONTITECH FD 200-25 1/4 M8 60555
BOSCH 822419049
WEFORMA WBZ 430-E2

30



BELLOW COMPLETE COMPLETE

STYLE 2B - 225

STYLE Description

Two Ply
Bellows

2B-225
Rubber bellow only 114004
Blind nuts , 1/4 NPT 113011
Blind nuts , M14x1.5 113038
Blind nuts , M12x1.5 113476

Order No

AIRKRAFT 114004
CONTITECH   FD 200-25 S
GOODYEAR    556 2 3 8332
FIRESTONE    W01-358-0305/20-2

AIRKRAFT 113011
FIRESTONE W01 S05 7182

AIRKRAFT 113038
FIRESTONE W01 M58 6891

AIRKRAFT 113476
PHOENIX SP 2B12R-A-3

31

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 225

STYLE Description

Two Ply
Bellows

2B-225
Rubber bellow only 114004
Top plate bolts M12, blind nuts ,1/4 NPT,Bumper(90mm) 113506
Top plate bolts M12, blind nuts ,M16x1.5 113550

Order No

AIRKRAFT 113506
FIRESTONE 095.0327
GOODYEAR 556 2 2 8657

AIRKRAFT 113550
GOODYEAR 556 2 2 8406

AIRKRAFT 114004
CONTITECH   FD 200-25 S
GOODYEAR    556 2 3 8332
FIRESTONE    W01-358-0305/20-2

32



BELLOW COMPLETE COMPLETE

STYLE 2B - 225

STYLE Description

Two Ply
Bellows

2B-225
Rubber bellow only 114004
Blind nuts, 1/4 NPT (center distance 44,4mm) 113488
Blind nuts, 3/4NPT  (center distance 38,1mm) 113489

Order No

AIRKRAFT 113488
CONTITECH FD 200-25
FIRESTONE W01-358-6951

AIRKRAFT 113489
CONTITECH FD 200-25
FIRESTONE W01-358-6952

AIRKRAFT 114004
CONTITECH   FD 200-25 S
GOODYEAR    556 2 3 8332
FIRESTONE    W01-358-0305/20-2

44
,4 

/ 3
8,1

33

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 225

STYLE Description

Two Ply
Bellows

2B-225
Rubber bellow only    114004
Top plate bolts, blind nuts,1/4 NPT,Bumper(90mm) 113013
Top plate bolts, blind nuts,1/4 NPT 113502

Order No

AIRKRAFT 113013
CONTITECH FD 200-25 429
FIRESTONE W01 358 6948
GOODYEAR 2B9-251

AIRKRAFT 113502
CONTITECH FD 200-25 426
FIRESTONE W01 358 6943
GOODYEAR 2B9-250

AIRKRAFT 114004
CONTITECH             FD 200-25 S
GOODYEAR              556 2 3 8332
FIRESTONE              W01-358-0305/20-2

34



BELLOW COMPLETE COMPLETE

STYLE 2B - 225

STYLE Description

Two Ply
Bellows

2B-225
Rubber bellow only    114004
Flange ( Steel ) 113547

Order No

AIRKRAFT 113547
FIRESTONE 095.0318
GOODYEAR 556 2 2 8418

AIRKRAFT 114004
CONTITECH   FD 200-25 S
GOODYEAR    556 2 3 8332
FIRESTONE    W01-358-0305/20-2

35

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B-250/2B-250 HYD

AIRKRAFT 114150
CONTITECH 620 N
FIRESTONE W01 095 0219
PHOENIX 2B 15 R
PIRELLI T245 93625

AIRKRAFT 114151
CONTITECH 620 N Hydro
PIRELLI T245 BV

AIRKRAFT 113151

PIRELLI T245 93740

AIRKRAFT 113150

CONTITECH 620 M Hydro
PIRELLI T245 BV 92141

STYLE Description
2B-250 Rubber bellow only 114150

Flange (Aluminum) ( Blind Nuts Axis Ø142mm ) 113151

Order No

Two Ply
Bellows

2B-250
HYD

Rubber bellow only 114151
Flange ( Aluminum ) ( Blind Nuts Axis Ø142 mm ) 113150
Flange( Aluminum ) ( Blind Nuts Axis    140mm ) 113551ØHigh

Strength
Bellows

142 / 140

36



BELLOW COMPLETE COMPLETE

STYLE 2B - 255

STYLE Description

Two Ply
Bellows

2B-255
Rubber bellow only 114100
Top / bottom plate bolts,Rp1/2 113100
Only clamp rings 113101

Order No

AIRKRAFT 114100
CONTITECH FD 210-22 S
DUNLOP (FR) 10"x2 SP 920
FIRESTONE W01 095 0175

AIRKRAFT 113100
CONTITECH FD 210-22  1/2 M10
DUNLOP (FR) SP 1538 (10x2)
NORGREN M/31102  (10x2)
WEFORMA WBZ-G 450

AIRKRAFT 113101
DUNLOP (FR) SP 1003 (10x2)

37

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 257

STYLE Description

Two Ply
Bellows

2B-257
Combination stund ,M12x1,5 Air Inlet 113508
Stud outside theared is M18x2,5

Order No

AIRKRAFT 113508
FIRESTONE 257-1  095.0439
GOODYEAR 556 2 2 8736

x
x

FIRESTONE FLEX 257-1
GOODYEAR FLEX 556 2 3 8342

38



BELLOW COMPLETE COMPLETE

STYLE 2B - 285

STYLE Description

Two Ply
Bellows

2B-285
Rubber bellow only 114250
Flange( Steel ) 113250

Order No

AIRKRAFT 114250
CONTITECH 608 N
PHOENIX 2B 20R
TAURUS KF211-200

AIRKRAFT 113250

CONTITECH 608 M

39

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 300

STYLE Description

Two Ply
Bellows

Rubber bellow only 114300
Top / bottom plate bolts,Rp1/2 113300
Top / bottom plate bolts, M16x1,5 (air inlet in the Ø120mm) 113301
Only clamp rings 113305

2B-300

Order No

AIRKRAFT 114300
CONTITECH FD 412-18 S
DUNLOP (FR) SP 256 NB

AIRKRAFT 113300
CONTITECH FD 412-18  1/2  M10
DUNLOP (FR) SP 1541 NB
NORGREN M/31122  (12x2)
WEFORMA WBZ-G 550
AIRKRAFT 113301
CONTITECH FD 412-18
DUNLOP (FR) SP 2665 NB(12x2)
FIRESTONE fole 210 095.0082
AIRKRAFT 113305
CONTITECH FD 412-18
DUNLOP (FR) SP 1025 NB
GART T291/B - 291.1.170

40



BELLOW COMPLETE COMPLETE

STYLE 2B - 301

STYLE Description

Two Ply
Bellows

2B-301
Rubber bellow only 114301
Blind nuts M8, G1(center distance 66mm) 113306
Blind nuts M8, G1/2(center distance 66mm) 113307
Blind nuts M12, G3/4(center distance 73mm) 113310
Blind nuts M10, Rp1/4(center distance 73mm) 113312
Blind nuts M8, Rp1/4(center distance 73mm) 113313
Blind nuts M8, G1/4(center distance 66mm) 113314
Blind nuts M8, M22x1,5(center distance 73mm) 113477

Order No

AIRKRAFT 114301
FIRESTONE FLEX 22
FIRESTONE W01 358 0226

095.0037
095.0082

GOODYEAR 556 2 3 8210
PHOENIX 2B 22R
PIRELLI T22 88544

AIRKRAFT 113306
CONTITECH FD 330-22

2682 060000
BOSCH 822419044
WEFORMA WBZ 500-E1

AIRKRAFT 113310
PHOENIX SP 2B 22R

AIRKRAFT 113477
FIRESTONE 22T3

095 .0257
GOODYEAR 556 2 2 8442

AIRKRAFT 113312
DUNLOP (FR) 12"x2  S 12201
AIRKRAFT 113313
CONTITECH FD 330-22

60031
PHOENIX SP 2B 22R
BOSCH 822419064
FESTO EB-325-215
WEFORMA WBZ 500-E2
AIRKRAFT 113314
WEFORMA WBZ 500-E2

66
 / 7

3

41

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 301

STYLE Description

Two Ply
Bellows

2B-301
Rubber bellow only 114301
Blind nuts, 1/4 NPT,Bumper (97mm) 113333
Blind nuts, 1/4 NPT 113490
Blind nuts, 3/4 NPT 113491
Blind nuts, 3/4 NPT,Bumper (97mm) 113492

Order No

AIRKRAFT 113492
FIRESTONE W01-358-7185
GOODYEAR 2B12- 318
GOODYEAR FLEX 578-92-3-309

AIRKRAFT 113491
FIRESTONE W01-358-7184
GOODYEAR 2B12-429
GOODYEAR FLEX 578-92-3-309

AIRKRAFT 113333
CONTITECH FD 330-22  313
FIRESTONE W01 358 7400
GOODYEAR 2B12-309
GOODYEAR FLEX 578-92-3-309
TAURUS KF 222-7400

AIRKRAFT 113490
CONTITECH FD 330-22  363
FIRESTONE W01-358-7180
GOODYEAR 2B12  425
GOODYEAR FLEX 578-92-3-309

AIRKRAFT 114301
FIRESTONE FLEX 22
FIRESTONE W01 358 0226

095.0037
095.0082

GOODYEAR 556 2 3 8210
PHOENIX 2B 22R
PIRELLI T22 88544

42



BELLOW COMPLETE COMPLETE

STYLE 2B - 301

STYLE Description

Two Ply
Bellows

2B-301
Rubber bellow only 114301
Blind nuts, Rp1/4 113308
Blind nuts,  G3/4 113309

Order No

AIRKRAFT 113308
CONTITECH FD 330-22
DUNLOP (FR) S 12202
FIRESTONE W01 M58 6381
GOODYEAR 2B 12-425
PHOENIX 2B 22R

AIRKRAFT 113309
FIRESTONE W01 M58 6200
NORGREN PM/31122  (12x2)

AIRKRAFT 114301
FIRESTONE FLEX 22
FIRESTONE W01 358 0226

095.0037
095.0082

GOODYEAR 556 2 3 8210
PHOENIX 2B 22R
PIRELLI T22 88544

43

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 301

STYLE Description

Two Ply
Bellows

2B-301
Rubber bellow only 114301
Combo stud 1/4 NPT - 3/4-16 Bolt 113339
Bumper ( 97 mm )

Order No

AIRKRAFT 113339
CONTITECH FD 330-220 318
FIRESTONE W01 358 7403
GOODYEAR 2B12-307
TAURUS KF 222-7403

AIRKRAFT 114301
FIRESTONE FLEX 22
FIRESTONE W01 358 0226

095.0037
095.0082

GOODYEAR 556 2 3 8210
PHOENIX 2B 22R
PIRELLI T22 88544

44



BELLOW COMPLETE COMPLETE

STYLE 2B - 301

STYLE Description

Two Ply
Bellows

2B-301
Rubber bellow only 114301
Blind nuts, M14x1.5,Bumper(118mm) 113329

Order No

AIRKRAFT 113329
SCANIA 1510249

AIRKRAFT 114301
FIRESTONE FLEX 22
FIRESTONE W01 358 0226

095.0037
095.0082

GOODYEAR 556 2 3 8210
PHOENIX 2B 22R
PIRELLI T22 88544

45

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 301

AIRKRAFT 113334
CONTITECH FD 330-22  331
FIRESTONE W01 358 7410
GOODYEAR 2B12-406
TAURUS KF 222-7410

STYLE Description

Two Ply
Bellows

2B-301
Rubber bellow only     114301
Combination stud 1/4 NPT, air inlet stud outside3/4-16 ,Bumper(97mm)   113334

Order No

AIRKRAFT 114301
FIRESTONE FLEX 22
FIRESTONE W01 358 0226

095.0037
095.0082

GOODYEAR 556 2 3 8210
PHOENIX 2B 22R
PIRELLI T22 88544

46



BELLOW COMPLETE COMPLETE

STYLE 2B - 315

STYLE Description

Two Ply
Bellows

2B-315
Combination stud M12x1,5 air inlet Stud outside M20x1,5, Bolt,Bumper(97mm) 113320

Order No

AIRKRAFT 113320
PHOENIX SP 2B 22 Ra-2
Truck in Turkey
HENDRICKSON HS 507906/P

47

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 320

STYLE Description

Two Ply
Bellows

2B-320
Rubber bellow only 114302
Blind nuts,Rp1/4(Air inlet is in the center) 113311
Blind nuts, 1/4NPT ( air inlet 73mm) 113316
Blind nuts,1/4NPT(Air inlet is in the center) 113493
Blind nuts, 3/4NPT ( air inlet 73mm) 113494

Order No

AIRKRAFT 114302
FIRESTONE                   W01 358 0259
                                     22-1,5/095.0092
GOODYEAR FLEX           556 2 3 8328
                                     578 92 3 310

AIRKRAFT 113311
DUNLOP (FR) S12280
FIRESTONE W01 358   7440
GOODYEAR 2B12-305

AIRKRAFT 113316
FIRESTONE FLEX 22-1,5
FIRESTONE W01-358-7444
GOODYEAR 2B12-416

AIRKRAF T 113493
DUNLOP (FR) S12280
FIRESTONE W01-358-7443
GOODYEAR 2B12-305

AIRKRAFT 113494
FIRESTONE W01-358-7442
GOODYEAR 2B12-419

48



BELLOW COMPLETE COMPLETE

STYLE 2B - 320

STYLE Description

Two Ply
Bellows

2B-320
Rubber bellow only 114302
Blind nuts ,G3/4  113326

Order No

AIRKRAFT 113326
DUNLOP (FR)              12"x2

AIRKRAFT 114302
FIRESTONE                      W01 358 0259
                                        22-1,5/095.0092
GOODYEAR FLEX             556 2 3 8328
                                        578 92 3 310

49

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 320

STYLE Description

Two Ply
Bellows

2B-320
Rubber bellow only 114302
Blind nuts ,M12x1,5  113342

Order No

AIRKRAFT 113342
FIRESTONE FLEX 22-1,5
FIRESTONE W01 M58 6875

AIRKRAFT 114302
FIRESTONE                     W01 358 0259
                                       22-1,5/095.0092
GOODYEAR FLEX            556 2 3 8328
                                       578 92 3 310

50



BELLOW COMPLETE COMPLETE

STYLE 2B - 320

STYLE Description

Two Ply
Bellows

2B-320
Rubber bellow only 114302
Top / bottom plate bolts,Combination stud 1/4 NPT,Bumper (90mm)   113341

Order No

AIRKRAFT 113341
CONTITECH FD 331-26 480/541
FIRESTONE W01 358 7550 / 7555
GOODYEAR 2B12-440

AIRKRAFT 114302
FIRESTONE                     W01 358 0259
                                       22-1,5/095.0092
GOODYEAR FLEX            556 2 3 8328
                                       578 92 3 310

51

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 320

STYLE Description

Two Ply
Bellows

2B-320
Rubber bellow only 114302
Top plate bolts,Combostud 1/4 NPT - 3/4 -16 ,Bumper(97mm)  113545

Order No

AIRKRAFT 114302
FIRESTONE                      W01 358 0259
                                        22-1,5/095.0092
GOODYEAR FLEX             556 2 3 8328
                                        578 92 3 310

52



BELLOW COMPLETE COMPLETE

STYLE 2B - 320

STYLE Description

Two Ply
Bellows

2B-320
Rubber bellow only 114302
Blind nuts,M22x1.5   113325

Order No

AIRKRAFT 113325
FIRESTONE 22-1.5 T3 095.0258
GOODYEAR 556 2 2 8634

AIRKRAFT 114302
FIRESTONE                     W01 358 0259
                                       22-1,5/095.0092
GOODYEAR FLEX            556 2 3 8328
                                       578 92 3 310

53

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 350

STYLE Description

Two Ply
Bellows

2B-350
Rubber bellow only 114304
Top / bottom plate bolts , M16x1,5 113330

Order No

AIRKRAFT 114304
DUNLOP (FR) SP 2770

AIRKRAFT 113330

 DUNLOP(FR) SP2782 NB

232

232

54



BELLOW COMPLETE COMPLETE

STYLE 2B - 351

STYLE Description

Two Ply
Bellows

2B-351
Blind nuts,M22x1,5 113507

Order No

55

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 351

STYLE Description

Two Ply
Bellows

2B-351
Bolts ;Combo stud M12x1,5 air inlet stud outside M18x2,5 113478

Order No

x1,5
x2,5

56



BELLOW COMPLETE COMPLETE

STYLE 2B - 352

AIRKRAFT 113499
CONTITECH FD 530-30 518
FIRESTONE W01-358-6800
GOODYEAR 2B14-363

STYLE Description

Two Ply
Bellows

2B-352
Blind nuts, 3/4 NPT, Bumper (78mm) 113479
Blind nuts, 1/4 NPT, Bumper(91mm) 113480
Blind nuts, 1/4 NPT 113499

Order No

AIRKRAFT 113479
CONTITECH FD 530-30 

532/707
FIRESTONE W01-358-6805
GOODYEAR 2B14-462

AIRKRAFT 113480
CONTITECH FD 530-30  451
FIRESTONE W01-358-6801
GOODYEAR 2B 14-365

GOODYEAR FLEX 578 92 3 356
FIRESTONE FLEX 21 D 2

57

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 352

STYLE Description

Two Ply
Bellows

2B-352
Top / bottom plate bolts, 1/4 NPT,Bumper (96,5mm) 113500

Order No

AIRKRAFT 113500
CONTITECH FD 530-30 519
FIRESTONE W01-358-6808

GOODYEAR FLEX 578 92 3 356
FIRESTONE FLEX 21 D 2

58



BELLOW COMPLETE COMPLETE

STYLE 2B - 355

STYLE Description

Two Ply
Bellows

2B-355
Rubber bellow only 114450
Blind nuts M8, G3/4 113450
Blind nuts M8, G1 113453
Blind nuts M8, G1/2 113455
Blind nuts M10, G1/2 113459
Blind nuts M8, G1/4 113460

Order No

AIRKRAFT 114450
FIRESTONE FLEX 21
FIRESTONE 21-095.0035

W01-358-0213
GOODYEAR 2B 14
PHOENIX 2B 34R

AIRKRAFT 113453
BOSCH 822419045
CONTITECH FD 530-22

2682 075000
PIRELLI 1938
WEFORMA WBZ 600-E1
AIRKRAFT 113460
BOSCH 822419065
CONTITECH FD 530-22  61362
FESTO EB-385-230
WEFORMA WBZ 600-E2
AIRKRAFT 113450
PHOENIX SP 2B 34R

59

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 355

STYLE Description

Two Ply
Bellows

2B-355
Rubber bellow only 114450
Flange (Steel ) 113548

Order No

AIRKRAFT 113548
FIRESTONE 095.0038
GOODYEAR 556 2 3 8411
GOODYEAR FLEX 556 2 3 8329

AIRKRAFT 114450
FIRESTONE FLEX 21
FIRESTONE 21-095.0035

W01-358-0213
GOODYEAR 2B 14
PHOENIX 2B 34R

287,3 mm

60



BELLOW COMPLETE COMPLETE

STYLE 2B - 355

STYLE Description

Two Ply
Bellows

2B-355
Rubber bellow only 114450
Blind nuts ,1/4NPT,Bumper (91mm) 113466
Blind nuts,1/4 NPT 113495
Blind nuts , 3/4 NPT 113496
Blind nuts , 3/4NPT,Bumper (91mm) 113497
Blind nuts ,1/4NPT, Bumper (112mm) 113503

Order No

AIRKRAFT 113466
CONTITECH FD 530-22 321
FIRESTONE W01 358 7136
GOODYEAR 2B14 356

AIRKRAFT 113503
CONTITECH FD 530-22 342
FIRESTONE W01-358-7146
GOODYEAR 2B14-355

AIRKRAFT 114450
FIRESTONE FLEX 21
FIRESTONE 21-095.0035

W01-358-0213
GOODYEAR 2B 14
PHOENIX 2B 34R

AIRKRAFT 113495
CONTITECH FD 530-22 374
FIRESTONE W01-358-7145
GOODYEAR 2B14-354

AIRKRAFT 113496
FIRESTONE W01-358-7143
GOODYEAR 2B14-352

AIRKRAFT 113497
FIRESTONE W01-358-7144

61

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 355

STYLE Description

Two Ply
Bellows

2B-355
Rubber bellow only 114450
Top / bottom plate bolts, 1/4NPT 113454
Top / bottom plate bolts , 1/4NPT,Bumper (91mm) 113464

Order No

AIRKRAFT 113454
CONTITECH FD 530-22  311
FIRESTONE 21T2  W01 358 7135
GOODYEAR 2B 14-360

556 2 2 8554

AIRKRAFT 113464
CONTITECH FD 530-22  316
FIRESTONE W01 358 7140

 W01 681 7110
GOODYEAR 2B14-359
TAURUS KF 221-7140

AIRKRAFT 114450
FIRESTONE FLEX 21
FIRESTONE 21-095.0035

W01-358-0213
GOODYEAR 2B 14
PHOENIX 2B 34R

1/2-13UNC

1/2-13UNC

62



BELLOW COMPLETE COMPLETE

STYLE 2B - 355-HYD

STYLE Description

High
 Strength
Bellows

2B-355
HYD

Rubber bellow only 114452
Blind nuts ,  1/4 NPT 113461
Blind nuts ,  1/4 NPT , Bumper (122mm) 113498
Blind nuts,  3/4 NPT 113452

Order No

AIRKRAFT 114452
FIRESTONE W01-358-7929
FIRESTONE FLEX 205

AIRKRAFT 113461
FIRESTONE W01-358-7208

AIRKRAFT 113498
FIRESTONE W01-358-7221

AIRKRAFT 113452
CONTITECH FD 530-22     2682
FIRESTONE W01-358 7224
PIRELLI 1938

63

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 360

STYLE Description

Two Ply
Bellows

2B-360
Rubber bellow only 114451
Blind nuts , G3/4 113451

Order No

AIRKRAFT 114451
PHOENIX 2B 34R-b

AIRKRAFT 113451

PHOENIX SP 2B 34R-b

64



BELLOW COMPLETE COMPLETE

STYLE 2B - 370

STYLE Description

Two Ply
Bellows

2B-370
Rubber bellow only 114350
Top / bottom plate bolts,M22x1,5(air inlet in the center) 113353
Top / bottom plate bolts,M22x1,5(air inlet in the Ø170) 113354
Top / bottom plate bolts,Rp1/2(air inlet in the center) 113358
Top / bottom plate bolts,Rp1/2(air inlet in the Ø170) 113359
Only clamp rings 113355

Order No

AIRKRAFT 114350
CONTITECH FD 614-26
DUNLOP (FR) SP 1039 (14x2)

AIRKRAFT 113353
CONTITECH FD 614-26
DUNLOP (FR) 14 x 2
AIRKRAFT 113354
CONTITECH FD 614-26
DUNLOP (FR) 14"1/2 x 2 SP 1988
AIRKRAFT 113358
CONTITECH FD 614-26
DUNLOP (FR) SP 1556
NORGREN M/31142  (141/2x2)
WEFORMA WBZ-G 600

AIRKRAFT 113355
CONTITECH FD 614-26
DUNLOP (FR) SP 1041

AIRKRAFT 113359
CONTITECH FD 614-26
DUNLOP (FR) SP 1988

65

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 370-HYD

STYLE Description

2B-370
HYD

Rubber bellow only 114351
Top / bottom plate bolts,M22x1,5(air inlet in the center) 113350
Top / bottom plate bolts,M22x1,5(air inlet in the Ø170) 113351
Top / bottom plate bolts,Rp1/2(air inlet in the center) 113356
Top / bottom plate bolts,Rp1/2(air inlet in the Ø170) 113357
Only clamp rings 113352
Only clamp rings bolts 12xM8 113361High

 Strength
Bellows

Order No

AIRKRAFT 114351
CONTITECH FD 614-26
DUNLOP (FR) 14 x 2 RE

AIRKRAFT 113350
CONTITECH FD 614-26
DUNLOP (FR) 14 x 2 RE
AIRKRAFT 113351
CONTITECH FD 614-26
DUNLOP (FR) 14 x 2 RE
AIRKRAFT 113356
CONTITECH FD 614-26
DUNLOP (FR) 14 x 2 RE

AIRKRAFT 113357
CONTITECH FD 614-26
DUNLOP (FR) 14 x 2 RE
AIRKRAFT 113352
CONTITECH FD 614-26
DUNLOP (FR) 14 x 2 RE
AIRKRAFT 113361
CONTITECH FD 614-26
DUNLOP (FR) SP 2599

66



BELLOW COMPLETE COMPLETE

STYLE 2B - 400

STYLE Description

Two Ply
Bellows

2B-400
Rubber bellow only 114400
Top / bottom plate bolts,M22x1,5(air inlet in the center) 113403
Top / bottom plate bolts,M22x1,5(air inlet in the Ø170) 113404
Top / bottom plate bolts,Rp1/2(air inlet in the center) 113408
Top / bottom plate bolts,Rp1/2(air inlet in the Ø170) 113409
Only clamp rings 113405

Order No

AIRKRAFT 114400
DUNLOP (FR) SP 1194 / 1998

AIRKRAFT 113403
DUNLOP (FR) 16" x 2  SP 2340
AIRKRAFT 113404
DUNLOP (FR) 16 x 2
AIRKRAFT 113408
DUNLOP (FR) 16x2  SP 1557
AIRKRAFT 113405
DUNLOP (FR) 16 x 2

67

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 2B - 400-HYD

STYLE Description

2B-400
HYD

Rubber bellow only 114401
Top / bottom plate bolts,M22x1,5(air inlet in the center) 113400
Top / bottom plate bolts,M22x1,5(air inlet in the Ø170) 113401
Top / bottom plate bolts,Rp1/2(air inlet in the center) 113406
Top / bottom plate bolts,Rp1/2(air inlet in the Ø170) 113407
Only clamp rings 113402
Only clamp rings 4pcs Bolts 113411High

 Strength
Bellows

Order No

AIRKRAFT 114401
DUNLOP (FR) 16 x 2 RE

AIRKRAFT 113400
DUNLOP (FR) 16 x 2 RE
AIRKRAFT 113401
DUNLOP (FR) 16 x 2 RE
AIRKRAFT 113406
DUNLOP (FR) 16 x 2 RE
AIRKRAFT 113407
DUNLOP (FR) 16 x 2 RE
AIRKRAFT 113402
DUNLOP (FR) 16 x 2 RE

68



BELLOW COMPLETE COMPLETE

STYLE 3B - 255

STYLE Description

Two Ply
Bellows

3B-255
Rubber bellow only 116005
Top / bottom plate bolts, Rp1/2 115055
Only clamp rings 115056

Order No

AIRKRAFT 115055
CONTITECH FT 210-32
DUNLOP (FR) SP 1539 (10x3)
NORGREN M/31103  (10x3)
WEFORMA WBD-G 450
AIRKRAFT 115056
CONTITECH FT 210-32
DUNLOP (FR) SP 1015 (10x3)

AIRKRAFT 116005

181 mm

181 mm

69

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 3B - 255-HYD

STYLE Description

3B-255
HYD

High
Strength
Bellows

Rubber bellow only 116006
Top / bottom plate bolts;Rp1/2 115057

Order No

AIRKRAFT 116006

181 mm

181 mm

70



BELLOW COMPLETE COMPLETE

STYLE 3B - 300

STYLE Description Order No

3B-300
Rubber bellow only 116001
Top / bottom plate bolts, Rp1/2(air inlet in the center) 115003
Top / bottom plate bolts,M16x1,5(air inlet in the Ø120) 115004
Only clamp rings 115007
Top plate Bolts(25mm),Rp1/2(air inlet in the center),Bottom plate 78mm Bolts 115014

Two Ply
Bellows

AIRKRAFT 116001
DUNLOP (FR) 12x3    SP 259

AIRKRAFT 115003
CONTITECH FT 412-32
 DUNLOP (FR) 12x3    SP 1542
NORGREN M/31123 (12x3)
WEFORMA WBD-G 550
AIRKRAFT 115004
CONTITECH FT 412-32
DUNLOP (FR) 12x3   SP 2666 NB
AIRKRAFT 115007
CONTITECH FT 412-32 S
DUNLOP (FR) SP 1033 NB

232 mm

232 mm

71

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 3B - 300-HYD

STYLE Description

3B-300
HYD

High
Strength
Bellows

Rubber bellow only 116003
Top / bottom plate bolts,Rp1/2(air inlet in the center) 115011
Top / bottom plate bolts,M16x1,5(air inlet in the Ø120) 115012
Only clamp rings 115013

Order No

AIRKRAFT 116003
CONTITECH FT 412-32 S
DUNLOP (FR) 12 x 3 RE

AIRKRAFT 115011
CONTITECH FT 412-32 S
DUNLOP (FR) 12 x 3 RE SP 1542 NB
AIRKRAFT 115012
CONTITECH FT 412-32 S
DUNLOP (FR) 12 x 3 RE SP 2666 NB
AIRKRAFT 115013
CONTITECH FT 412-32 S
DUNLOP (FR) 12x3  SP 2271 RE(12x3)

232 mm

232 mm

72



BELLOW COMPLETE COMPLETE

STYLE 3B - 300-HYD

STYLE Description

3B-300
HYD

Rubber bellow only                                                                             116003
Only clamp rings 115005

High
Strength
Bellows

Order No

AIRKRAFT 115005
CONTITECH FT 412-32 S
DUNLOP (FR) SP 2597 RE (12x3)

232 mm

AIRKRAFT 116003
CONTITECH FT 412-32 S
DUNLOP (FR) 12 x 3 RE

73

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 3B - 305-HYD

STYLE Description

3B-305
HYD

Top / bottom plate bolts,M12x1,5,Bumper(120mm) 115021

High
Strength
Bellows

Order No

AIRKRAFT 115021
BMC 57RS3066424

74



BELLOW COMPLETE COMPLETE

STYLE 3B - 310

STYLE Description

Two Ply
Bellows

3B-310
Rubber bellow only 116008
Combo Stud 1/4NPT - 3/4-16 Bolt,Bumper (112mm) 115034
Combo Stud 1/4NPT - 3/4-16 Bolt,Bumper(123mm) 115072

Order No

AIRKRAFT 116008
FIRESTONE FLEX 38R/38D
FIRESTONE 095.0047
GOODYEAR FLEX 556 3 3 8334

578 93 3 100

AIRKRAFT 115034
CONTITECH FT 330-29  431/469
FIRESTONE W01-358-8008

W01-358-8025
W01-358-8028

GOODYEAR 3B12-300

AIRKRAFT 115072
CONTITECH FT 330-29  546
FIRESTONE W01-358-7994
GOODYEAR 3B12-328

3/4-16

75

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 3B - 310

STYLE Description

Two Ply
Bellows

3B-310
Rubber bellow only                                                                                  116008
Combo Stud 1/4NPT -3/4-16,Bumper (112mm) 115016

Order No

AIRKRAFT 115016
CONTITECH FT 330-29 413/547
FIRESTONE W01 358 8032/7995
GOODYEAR 3B12-315   /319/329

3/4-16

AIRKRAFT 116008
FIRESTONE FLEX 38R/38D
FIRESTONE 095.0047
GOODYEAR FLEX 556 3 3 8334

578 93 3 100

76



BELLOW COMPLETE COMPLETE

STYLE 3B - 310

STYLE Description

Two Ply
Bellows

3B-310
Rubber bellow only                                                                             116008
Blind nuts, 1/4NPT 115027
Blind nuts, 3/4NPT 115033
Blind nuts,1/4NPT,Bumper( 112mm) 115035

Order No

AIRKRAFT 115027
CONTITECH FT 330-29  430

FT 330-29  498
FT 330-29  503
FT 330-29  702

FIRESTONE W01 358 8006
W01 358 8030

GOODYEAR 3B12-304

AIRKRAFT 115033
CONTITECH FT 330-29  773
FIRESTONE W01-358-8013
GOODYEAR 3B12-305

AIRKRAFT 115035
CONTITECH FT 330-29  432
FIRESTONE W01-358-8010
GOODYEAR 3B12-301

AIRKRAFT 116008
FIRESTONE FLEX 38R/38D
FIRESTONE 095.0047
GOODYEAR FLEX 556 3 3 8334

578 93 3 100

77

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 3B - 310

STYLE Description

Two Ply
Bellows

3B-310
Rubber bellow only                                                                             116008
Combo Stud 1/4NPT - 3/4-16 ,Bolt,Bumper(112mm) 115037

Order No

AIRKRAFT 115037
CONTITECH FT 330-29 520/723
FIRESTONE W01-358-7996
GOODYEAR 3B12-335

3/4-16

AIRKRAFT 116008
FIRESTONE FLEX 38R/38D
FIRESTONE 095.0047
GOODYEAR FLEX 556 3 3 8334

578 93 3 100

78



BELLOW COMPLETE COMPLETE

STYLE 3B - 310

STYLE Description

Two Ply
Bellows

3B-310
Rubber bellow only 116008
Flange ( Steel ) 115086

Order No

AIRKRAFT 115086
FIRESTONE 095.0154
GOODYEAR 556 3 2 8534

AIRKRAFT 116008
FIRESTONE FLEX 38R/38D
FIRESTONE 095.0047
GOODYEAR FLEX 556 3 3 8334

578 93 3 100

79

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 3B - 310

STYLE Description

Two Ply
Bellows

3B-310
Rubber bellow only 116008
Combo stud 1/4NPT-3/4-16,Bolt ,Bumper (112mm) 115036

Order No

AIRKRAFT 115036
CONTITECH FT 330-29  433/722
FIRESTONE W01-358-8016

3/4-16

AIRKRAFT 116008
FIRESTONE FLEX 38R/38D
FIRESTONE 095.0047
GOODYEAR FLEX 556 3 3 8334

578 93 3 100

80



BELLOW COMPLETE COMPLETE

STYLE 3B - 310

STYLE Description

Two Ply
Bellows

3B-310
Rubber bellow 116008
Blind nuts,M22x1,5 115023

Order No

AIRKRAFT 115023
FIRESTONE 38R T3  095.0274
GOODYEAR 556 3 2 8401

AIRKRAFT 116008
FIRESTONE FLEX 38R/38D
FIRESTONE 095.0047
GOODYEAR FLEX 556 3 3 8334

578 93 3 100

81

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 3B - 310-HYD

STYLE Description Order No

3B-310
HYD

High
Strength
Bellows

Rubber bellow only 116004
Blind nuts , G1   ( Center distance 66 mm ) 115024
Blind nuts,G 1/4 ( Center distance 73 mm ) 115032

AIRKRAFT 116004
CONTITECH FT 330-29 S
FIRESTONE 38

AIRKRAFT 115024
CONTITECH FT 330-29 61830
WEFORMA WBD 500-E1
AIRKRAFT 115032
CONTITECH FT 330-29 61831
WEFORMA WBD 500-E2
BOSCH 822419081

73
 / 6

6

82



BELLOW COMPLETE COMPLETE

STYLE 3B - 310-HYD

STYLE Description Order No

3B-310
HYD

High
Strength
Bellows

Rubber bellow only 116004
Top plate M12 Bolts,M16x1,5,Bottom plate bolts M14 ,Bumper(120mm) 115028
Top/bottom plate M12 Bolts(36mm) ,M16x1,5 115029
Top plate M12 Bolts ,M16x1,5,Bottom plate bolts M14 115030

AIRKRAFT 115028
CF GOMMA 322 BB 204413
GART 271.3.298 ( T271/S )
AIRKRAFT 115029
CF GOMMA 322 BB 204450
GART 271.3.298 / 2
AIRKRAFT 115030
PIRELLI 93410 322 B.B

AIRKRAFT 116004
CONTITECH FT 330-29 S
FIRESTONE 38

83

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 3B - 310-HYD

STYLE Description Order No

3B-310
HYD

High
Strength
Bellows

Rubber bellow only   116004
Bolts,M12x1,5,Bumper(120mm),Top plate with metal sheet 115015
Top / bottom plate bolts,M12x1,5,Bumper(120mm) 115017

AIRKRAFT 115017
MERCEDES -ACTROS - TURKEY

AIRKRAFT 116004
CONTITECH FT 330-29 S
FIRESTONE 38

84



BELLOW COMPLETE COMPLETE

STYLE 3B - 310-HYD

STYLE Description Order No

3B-310
HYD

High
Strength
Bellows

Rubber bellow only                                                                             116004
Top / bottom plate bolts,M16x1,5 115009

AIRKRAFT 115009
DUNLOP (FR) 12X3 RE NB  SP 12350
PIRELLI 322 BB-93410

AIRKRAFT 116004
CONTITECH FT 330-29 S
FIRESTONE 38

85

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 3B - 310-HYD

STYLE Description Order No

High
Strength
Bellows

Rubber bellow only 116004
Combo stud M12x1,5 - M20x1,5,Bumper (112mm)   1150103B-310

HYD

AIRKRAFT 115010
DUNLOP (FR) S  12302 (12"x3 NB)
FIRESTONE W01 M58 8017

M20x1,5

M12x1,5

AIRKRAFT 116004
CONTITECH FT 330-29 S
FIRESTONE 38

86



BELLOW COMPLETE COMPLETE

STYLE 3B - 310-HYD

STYLE Description Order No

High
Strength
Bellows

Rubber bellow only 116004
Top / bottom plate bolts,M12x1,5,Bumper(120mm)    1150083B-310

HYD

AIRKRAFT 115008
CONTITECH FT 330-29 P01
GART T271 /S  271.3.296

M12x1,5

AIRKRAFT 116004
CONTITECH FT 330-29 S
FIRESTONE 38

87

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 3B - 310-HYD

STYLE Description Order No

High
Strength
Bellows

Rubber bellow only 116004
Blind nuts,G3/4                                                                                     1150823B-310

HYD

AIRKRAFT 115082
NORGREN PM/31123 (12x3)

AIRKRAFT 116004
CONTITECH FT 330-29 S
FIRESTONE 38

88



BELLOW COMPLETE COMPLETE

STYLE 3B - 356

STYLE Description

Two Ply
Bellows

Order No

3B-356
Rubber bellow only 116052
Blind nuts , 1/4 NPT 115061
Blind nuts , 1/4 NPT,Bumper(112mm) 115059

AIRKRAFT 115061
CONTITECH FT 530-32 336
FIRESTONE W01-358-7808
GOODYEAR 3B14-350/354

AIRKRAFT 115059
CONTITECH                FT 530 32 329
FIRESTONE W01-358-7798
GOODYEAR 3B14-356

AIRKRAFT 116052
FIRESTONE FLEX 313D
GOODYEAR FLEX 578-93-3-350

89

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 3B - 356

STYLE Description

Two Ply
Bellows

Order No

3B-356
Rubber bellow only                                                                               116052
Top / bottom plate bolts, 1/4NPT 115060
Top / bottom plate bolts,1/4NPT,Bumper(112mm) 115070

AIRKRAFT 115060
CONTITECH FT 530-32  333
FIRESTONE W01-358-7800
GOODYEAR 3B14-360

AIRKRAFT 115070
CONTITECH FT 530-32  325
FIRESTONE W01-358-7818
GOODYEAR 3B14-359

AIRKRAFT 116052
FIRESTONE FLEX 313D
GOODYEAR FLEX 578-93-3-350

90



BELLOW COMPLETE COMPLETE

STYLE 3B - 356

STYLE Description

Two Ply
Bellows

Order No

3B-356
Rubber bellow only                                                                             116052
Blind nuts,G1/4 115054
Blind nuts,G3/4 115051
Blind nuts,G1 115053

AIRKRAFT 115051
CONTITECH FT 530-32
WEFORMA WBD 600-E3

AIRKRAFT 115054
BOSCH 822419082
CONTITECH FT 530-32 -60717
WEFORMA WBD 600-E2

AIRKRAFT 115053
CONTITECH FT 530-32
WEFORMA WBD 600 E1

AIRKRAFT 116052
FIRESTONE FLEX 313D
GOODYEAR FLEX 578-93-3-350

91

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 3B - 356

STYLE Description

Two Ply
Bellows

Order No

3B-356
Rubber bellow only                                                                               116052
Combo stud 1/4 NPT - 3/4-16, Bumper(112mm) 115062

AIRKRAFT 115062
CONTITECH FT 530-32  535
FIRESTONE W01-358-7797

UNC

AIRKRAFT 116052

FIRESTONE FLEX 313D
GOODYEAR FLEX 578-93-3-350

92



BELLOW COMPLETE COMPLETE

STYLE 3B - 357

STYLE Description

Two Ply
Bellows

Order No

3B-357
Rubber bellow only 116051
Blind nuts;1/4NPT 115067
Blind nuts;1/4NPT;Bumper(112mm) 115063

AIRKRAFT 116051

93

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 3B - 357

STYLE Description Order No

3B-357
Rubber bellow only                                                                                116051
Top plate bolts (35mm) ;1/4NPT; Bumper(112mm) 115068

Two Ply
Bellows

AIRKRAFT 116051

94



BELLOW COMPLETE COMPLETE

STYLE 3B - 357

STYLE Description Order No

3B-357
Rubber bellow only                                                                             116051
Top / bottom plate bolts ;1/4NPT 115065
Top / bottom plate bolts ;1/4NPT;Bumper(112mm) 115064
Top / bottom plate bolts ;3/4NPT;Bumper(112mm) 115069

Two Ply
Bellows

AIRKRAFT 116051

95

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 3B - 357

STYLE Description Order No

3B-357
Rubber bellow only                                                                            116051
Top / bottom plate bolts ; M22x1,5;Bumper (112mm) 115038

Two Ply
Bellows

M12

M12

AIRKRAFT 116051

96



BELLOW COMPLETE COMPLETE

STYLE 3B - 357

STYLE Description Order No

3B-357
Rubber bellow only                                                                                    116051
Blind nuts; M22x1,5;Bumper(112mm) 115039
Blind nuts; G1 115049
Blind nuts; G1 /4 115050

Two Ply
Bellows

AIRKRAFT 116051

97

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 3B - 357

STYLE Description

Two Ply
Bellows

Order No

3B-357
Rubber bellow only                                                                              116051
Combo Stud 1/4NPT- 3/4-16 ; Bumper (112mm) 115066

AIRKRAFT 116051

98



BELLOW COMPLETE COMPLETE

STYLE 3B - 370

STYLE Description Order No

3B-370
Rubber bellow only 116100
Top / bottom plate bolts,M22x1,5(air inlet in the center) 115103
Top / bottom plate bolts,M22x1,5(air inlet in the Ø170) 115104
Top / bottom plate bolts,Rp1/2(air inlet in the center) 115108
Top / bottom plate bolts,Rp1/2(air inlet in the Ø170) 115109
Only clamp rings 115105

Two Ply
Bellows

AIRKRAFT 115109
CONTITECH FT 614-36
DUNLOP (FR) 14 ½ x 3 RE
AIRKRAFT 115105
CONTITECH FT 614-36
DUNLOP (FR) 14 ½ x 3 SP 2169

AIRKRAFT 115103
CONTITECH FT 614-36 S
DUNLOP (FR) 14 ½ x 3 SP 22799
AIRKRAFT 115104
CONTITECH FT 614-36 S
DUNLOP (FR) 14 ½ x 3 SP 2547
AIRKRAFT 115108
CONTITECH FT 614-36  1/2 M10
DUNLOP (FR) 14 ½ x 3 SP 1558
NORGREN M/31143  (141/2x3)
WEFORMA WBD-G 590

AIRKRAFT 116100
CONTITECH FT 614-36 S
DUNLOP (FR) 14 ½ x 3 SP 2007

99

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS



BELLOW COMPLETE COMPLETE

STYLE 3B - 370-HYD

STYLE Description Order No

3B-370
HYD

High
Strength
Bellows

Rubber bellow only 116101
Top / bottom plate bolts,M22x1,5(air inlet in the center) 115100
Top / bottom plate bolts,M22x1,5(air inlet in the Ø170) 115101
Top / bottom plate bolts,Rp1/2(air inlet in the center) 115106
Top / bottom plate bolts,Rp1/2(air inlet in the Ø170) 115107
Only clamp rings 115102
Only clamp rings bolts 4xM10 115110
4pcs bolts,Rp 1/2(air inlet in the center) 115111
Only clamp rings bolts 12xM8 115113

AIRKRAFT 116101
CONTITECH FT 614-36 S
DUNLOP (FR) SP 2007 RE

AIRKRAFT 115102
CONTITECH FT 614-36 S
DUNLOP (FR) 14 ½ x 3 RE
AIRKRAFT 115110
CONTITECH FT 614-36 S
DUNLOP (FR) SP 2169 RE
AIRKRAFT 115111
CONTITECH FT 614-36 S
DUNLOP (FR) SP 2526 RE
AIRKRAFT 115113
DUNLOP (FR) SP 2169 RE
CONTITECH FT 614-36 S

AIRKRAFT 115100
CONTITECH FT 614-36 S
DUNLOP (FR) 14 ½ x 3 RE
AIRKRAFT 115101
CONTITECH FT 614-36 S
DUNLOP (FR) 14 ½ x 3 RE
AIRKRAFT 115106
CONTITECH FT 614-36 S
DUNLOP (FR) SP 2008 RE
AIRKRAFT 115107
CONTITECH FT 614-36 S
DUNLOP (FR) 14 ½ x 3 RE

100



BELLOW COMPLETE COMPLETE

STYLE 3B - 400-HYD

STYLE Description Order No

High
Strength
Bellows

3B-400
HYD

Rubber bellow only 116151
Top / bottom plate bolts,M22x1,5(air inlet in the center) 115150
Top / bottom plate bolts,M22x1,5(air inlet in the Ø170) 115151
Top / bottom plate bolts,Rp1/2(air inlet in the center) 115153
Top / bottom plate bolts,Rp1/2(air inlet in the Ø170) 115154
Top/Bottom only clamp rings bolts (Xmm) 115152
4pcs Bolts,Rp1/2(air inlet in the center) 115155

AIRKRAFT 115154
DUNLOP (FR) 16x3 RE  SP 2156
AIRKRAFT 115152
DUNLOP (FR) 16 x 3 RE
AIRKRAFT 115155
DUNLOP (FR) 16X3 RE  SP 2141

AIRKRAFT 115150
DUNLOP (FR) 16 x 3 RE
AIRKRAFT 115151
DUNLOP (FR) 16 x 3 RE
AIRKRAFT 115153
DUNLOP (FR) 16 x 3 RE SP 2156

AIRKRAFT 116151

DUNLOP (FR) 16 x 3 RE

101

CO
NV

OL
UT

ED
AI

RS
PR

IN
GS





All data in this catalogue are informational. Air Otomotiv does not warrant the correctness or the completeness of these information

and has the right to apply changes when necessary, without notice. A.I.R. Otomotiv Koll. Sti. 2010 All rights reserved

SLEEVE STYLE AIRSPRINGS
 COMPONENTS

Air inlet

Piston

Sleeve

Crimping ring

Top plate

Air jack / Air inlet

Piston

Sleeve

Crimping ring

Top plate

SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS



BARCODE
barcoding system provides AIRKTAFT products a
maximum traceability down to the raw material.Via
the barcode number on the label, it is possible to
answer all questions regarding the product, until the
final customer.

Sales Part Number
Barcode Tracking Number
Date

PRODUCT ID AND TRACEABILITY



CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

121101 VEHICLE
481002

FRONT
REAR

S
C

A
N

IA
 3

C
R

 S
E

R
IE

S1348121 / 1314278

SC
AN

IA

CR - SERÝE :
CR13 / CR19
3 - SERÝE
93m/113m/143m/T113/T143H

FRONT
REAR

SC
AN

IA

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

121201 VEHICLE

557001

S
C

A
N

IA
 4

C
R

 - 
C

P 
S

E
R

IE
S

1349840

CP - SERÝE :
CP14/19/28/31
CR - SERÝE :
CR14/19
4 - SERÝE
94/114/124/144/164

ORDER NO

OEM

CH
AS

SI
S 

N
O

121202 VEHICLE FRONT
REAR

S
C

A
N

IA
 4

 S
E

R
IE

S

MONROE CB0030
717262725

1476415 / 1381919

SC
AN

IA

94/114/124/144/164

adaptable 1

SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS



CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

121207 VEHICLE
310619

FRONT
REAR

S
C

A
N

IA
 4

C
R

 - 
C

P 
S

E
R

IE
S

1424231

SC
AN

IA

CP - SERÝE :
CP14/19/28/31
CR - SERÝE :
CR14/16/19
4 - SERÝE
94/114/124/144/164

ORDER NO
MONROE

OEM

CH
AS

SI
S 

N
O

121208 VEHICLE

1502468 / 1502471

REAR

SC
A

N
IA

 R
 S

ER
IE

S

CB0074

SC
AN

IA

94/114/124/144/164

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

121209 VEHICLE
312465

1444016

S
C

A
N

IA
 R

R
 - 

C
P 

S
E

R
IE

S

SC
AN

IA

FRONT
REAR

CP - SERÝE :
CP28/31
CR - SERÝE :
CR16/19

adaptable2



CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

SACHS

OEM

CH
AS

SI
S 

N
O SC

AN
IA

101169K VEHICLE FRONT
REAR

S
C

A
N

IA
 3

C
R

 S
E

R
IE

S

112320+105876
105845+105875
105831+481002

                 370227/393257/550365
1116535/1117320/1117334/133162013
31621/1331634/1331635/1348117
1348119/1348120/1177326/13316261
348118/1348211
1348121/1314278 ( only bellows )

ORDER NO

CR - SERÝE :
CR13/19
3- SERÝE
93/113/143/T113H/T143H

( only bellows )

SACHS

OEM

CH
AS

SI
S 

N
O SC
AN

IA

201180K VEHICLE FRONT

1349840
1424228
1363122
1397396
1381904

S
C

A
N

IA
 4

C
R

-C
P 

S
E

R
IE

S

290988/557001+105872
557001+290201/290203

ORDER NO

CP - SERÝE :
CP14/19/28/31
CR - SERÝE :
CR14/16/19
4 - SERÝE
94/114/124/144/164

SACHS

OEM

CH
AS

SI
S 

N
O SC
AN

IA

201181K VEHICLE REAR

S
C

A
N

IA
 4

C
R

-C
P 

S
E

R
IE

S

1349840
1382827
1424229
1349844

557001+105873
557001+290989

ORDER NO

CP - SERÝE :
CP14/19/19f
CR - SERÝE :
CR14/19
4 - SERÝE
94/114/124/144/164

( only bellows )

adaptable 3

SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS



CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

MONROE

OEM

CH
AS

SI
S 

N
O SC
AN

IA

202186K VEHICLE FRONT

1476415 ( only bellows )
1381919 ( only bellows )
1381904
1397400
1435859

ORDER NO
CB0030
CB0010
717262725

S
C

A
N

IA
 4

 S
E

R
IE

S

94/114/124/144/164

               1476415 ( only bellows )
               1381919 ( only bellows )
   1382826/1381906
   1382829/1435856

OEM

CH
AS

SI
S 

N
O SC

AN
IA

202187K VEHICLE REARORDER NO

S
C

A
N

IA
 4

 S
E

R
IE

CB0030
CB0009
717262725

MONROE

94/114/124/144/164

128001K VEHICLE FRONT
REARORDER NO

SACHS

OEM

CH
AS

SI
S 

N
O SC

AN
IA

S
C

A
N

IA
 4

C
R

-C
P 

S
E

R
IE

S

310619 + 310620

1424231( only bellows )
1505563/1502471
1502470/1502472
1502474/1595642
1495642

CP - SERÝE :
CP14/19/28/31
CR - SERÝE :
CR14/16/19
4 - SERÝE
94/114/124/144/164

adaptable4



CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

ORDER NO
MONROE

OEM

CH
AS

SI
S 

N
O SC
AN

IA

128002K VEHICLE REAR

SC
A

N
IA

 R
 S

ER
IE

S

CB0074
7172 62 778

1502468 ( only bellows )
1502471 ( only bellows )
1502474

94/114/124/144/164/R

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

SC
AN

IA

128003K VEHICLE FRONT

S
C

A
N

IA
 R

 C
R

-C
P 

S
E

R
IE

S

312465 + 290987
312465 + 105871

1444016 ( only bellows )
1424227/1363120
1397396/1397390
1397392/1397386
1397388

CP - SERÝE :
CP14/19
CR - SERÝE :
CR14/16/19

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O SC

AN
IA

128004K VEHICLE REAR

S
C

A
N

IA
 R

C
R

-C
P 

S
E

R
IE

S

312465 + 310620

1444016 ( only bellows )
1495642/1505563/1502470
1502471/1502472 / 1502474
1595642

CP - SERÝE :
CP14/19
CR - SERÝE :
CR14/16/19

adaptable 5

SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS



CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

1831-1860 L/K/S/AK/LL/LS/LLS
2031 - 2053  A/K/S/AK/AS
2531 - 2557 L/LS
2631 - 2658 B/K/L/S/LK/LS
3231 - 3335 A/B/K/S/AK/AS
3340 - 3357  A/B/K/S/AK/AS
4140 - 4148  A/B/K/AK

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

206001K VEHICLE REAR

M
ER

CE
DE

S
A

C
TR

O
S

18
31

 - 
18

60

105409 / 290997
311189 / 311189

           942 8900219/942 8906019
A 942 890 02 19/A 943 890 02 19
943 890 39 19/943 890 39 19

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

207001K VEHICLE FRONT

1831 S - 1831 LS
1835 S - 1835 LS
1840 S - 1840 LS
1843 S - 1843 LS
1848 S - 1848 LS
1853 S - 1853 LS M

ER
CE

DE
S105408

942 890 52 19
A 942 890 52 19

A
C

TR
O

S
18

31
 - 

18
60

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

M
ER

CE
DE

S

205001K VEHICLE FRONT

A
C

TR
O

S
18

31
 - 

18
60

105392

942 890 29 19
A 942 890 29 19

1831 S - 1831 LS
1835 S - 1835 LS
1840 S - 1840 LS
1843 S - 1843 LS
1848 S - 1848 LS
1853 S - 1853 LS

adaptable6



CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

206119K VEHICLE REAR

M
ER

CE
DE

S
A

C
TR

O
S

18
31

 - 
18

60
1831 -1860 L/K/S/AK/LL/LS/LLS
2031 - 2053  A/AE/K/S/AS
2531 - 2557 L/LL/LS
2631 - 2658 B/K/L/S/LK/LS/LL
3231 - 3336 A/K/S
3340 - 3357  A/S
4140 - 4150  K

942 890 61 19
A 942 890 61 19

                            311664
731700001830 / 731700000920
731700000691

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

206919K VEHICLE FRONT

M
ER

CE
DE

S
A

C
TR

O
S

18
31

 - 
41

48

731700002549

942 890 69 19
A 942 890 69 19

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

208001K VEHICLE FRONT

M
ER

CE
DE

S
A

C
TR

O
S

18
31

 - 
18

60

105414
290998
311663

942 8905319
942 8905919
943 8903819

1831-1860 L/K/S/AK/LL/LS/LLS
2031 - 2053  A/K/S/AK/AS
2531 - 2557 L/LS
2631 - 2658 B/K/L/S/LK/LS
3231 - 3335 A/B/K/S/AK/AS
3340 - 3357  A/B/K/S/AK/AS
4140 - 4148  A/B/K/AK

adaptable 7

SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS



CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

207019K VEHICLE FRONT

M
ER

CE
DE

S
A

C
TR

O
S

18
31

S
 - 

33
53

S942 890 70 19
A 942 890 70 19

731700002547

ORDER NO 203001K
SACHS

OEM

CH
AS

SI
S 

N
O

VEHICLE

18.403 T33 - Front - Rear
19.293 T20 (all) Front - Rear
19.343 T20 (all) Front - Rear
19.344 FLL ( 4 X 2 )  Front

M
AN

FH
 - 

20
00

105855

81 41722 6048
81 41722 6051

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

204001K VEHICLE REAR

Man F-2000    ( Rear ) STEYR
19.273 T3 ( all ) 19 S 29 T03
19.323 T3 ( all ) 19 S 34 T03
19.293 T3 ( all ) 35 S 36 T46
19.343 T3 ( all ) 35 S 41 T46
19.293 FLL( 4x2) T20 41 S 36 T46
19.344 FLL( 4x2) T20 41 S 40 T46
35.314 VF T26 41 S 41 T46
35.364 VF T26 41 S 46 T46

M
AN

FH
 - 

20
00

105856

81 41722 6049
81 41722 6052

adaptable8



CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

M
AN

206014K VEHICLE FRONT

TG
A

TGA (Front)
18.280 LL-FLS-FLLS-FLLS/N
18.530 FLS-FLLS-FLLS/N
26.310 FDS-FDSL-FDLS/M
26.530 FNLS-FNLLS-FDLS/M
28.310 FNLC-FNLS / 28.530 FNLC-FNLS
33.360 FDS-FDS-WW-FDLS
33.510 FDS-FDLS/M
41.480 / 41.660  FVDS-FVDLS
STEYR
18  S31 - S36 - S41 - S46 - S51
26  S31 - S36

135194
135196
313181

        85 417226008/85 417226014
85 41722 6022/81 41722 6077

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

206015K VEHICLE FRONT

M
ANTG

A

135195
135197
313182

85 41722 6009/85 41722 6015
85 41722 6023/81 41722 6078

TGA ( Front)
18.280 LL-FLC-FLLC-FLLC/N
18.510 FLS-FLLS-FLLS/N
26.310 FDC-FDSC-FDLC/M
26.530 FDC-FDLC-FDC/M
33.360 FDC-FDC-WW-FDLC/M
33.410 FD-TM-FDK-FDC
STEYR
18  S31 - S36 - S41 - S46 - S51
26  S31 - S36

ORDER NO
SACHS
OEM

CH
AS

SI
S 

N
O

206057K VEHICLE REAR

M
AN

TR
A

C
TO

R

135198 / 313183
     81 41722 6057/81 41722 6075
85 41722 6006/85 41722 6012

TGA DX RIGHT ( Rear )
18.280 LL-FLS-FLLS-FLLS/N
18.530 FLS-FLLS-FLLS/N
26.310 FDS-FDSL-FDLS/M
26.530 FNLS-FNLLS-FDLS/M
28.310 FNLC-FNLS
28.530 FNLC-FNLS
33.350 FDS-FDS-WW-FDLS
33.531 FDLS-FDLRS/M
41.480 / 41.660  FVDS-FVDLS
STEYR
TG-A  ( Front )
18  S31 - S36 - S41 - S46 - S51
26  S31 - S36

adaptable 9

SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS



CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

228879K VEHICLE

RE
N

AU
LT

REAR

                         25376537
781700002201 /781700001622
313072 / 781700004038

5010 615 879

P
R

E
M

IU
M

 4
40

 1
9T

 4
x2

 E
C

O
 H

R
 P

R
E

M
IU

M
 4

50
 D

X
I

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

228908K VEHICLE REAR

V.
I. 

P
R

E
M

IU
M

RE
N

AU
LT

131041/310957
CONTITECH SZ36 - 10

         5010 228 908
5010 228 908 A  / 5010 316 783
5010 228 908 B
5010 228 908 C
5010 316 783 A
5010 269 674

SACHS
OEM

CH
AS

SI
S 

N
O

206058K VEHICLE REAR

TR
U

C
K

135199/135200/313184

M
AN

               81417226058 / 85417226007
85 41722 6013 / 85 41722 6024
CLAAS   0596 619 1

TGA DX RIGHT ( Rear )
18.280 LL-FLS-FLLS-FLLS/N
18.530 FC-FLC-FLLC-FLLW
26.310 FDC-FDCL-FDLC/M
26.530 FNLS-FNLLS-FDLS/M
28.310 FNLC-FNLS
28.530 FNLC-FNLS
33.350 FDS-FDS-WW-FDLS
33.530 FDC-FDLC-FDC/M
TG - L
7.150-7.180 FC-FRC-FLR-FLRC
8.180-8.240FC-FRC-FK-FLRC-FRK
10.180 -- 10.240 FC-FK-FRC-FRK
12.180 -- 12.240 FC-FK-FRC-FRK
TG-A  ( Rear )
18  S31 - S36 - S41 - S46 - S51
26  S31 - S36

ORDER NO

adaptable10



SL
EE

VE
 ST

YL
E

AI
RS

PR
IN

GS

ORDER NO
MONROE

OEM

CH
AS

SI
S 

N
O

121053 VEHICLE REAR

G
  S

ER
IE

S 
G

 3
40

 T
i

RE
N

AU
LT

CONTITECH
CB0082
SZ 50-8

5010 092 916 E

ORDER NO
CONTITECH

OEM

CH
AS

SI
S 

N
O

121414 VEHICLE FRONT

PR
EM

IU
M

 R
VI

.

SZ 50-9 PO2

RE
N

AU
LT5010 629 414

ORDER NO
CONTITECH

OEM

CH
AS

SI
S 

N
O

121079 VEHICLE FRONT

R
V

I. 
G

A
M

M
E

 G

RE
N

AU
LT

SZ 50-6

5010 133 079D

ORDER NO
MONROE

OEM

CH
AS

SI
S 

N
O

RE
N

AU
LT

121051 VEHICLE FRONT

K
E

R
A

X
 9

7/
06

PR
EM

IU
M

 0
0 

/ 0
1

CB 0075

5010 130 797 G

CONTITECH SZ  50-9
C 075185PHOENIX

CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

adaptable 11

SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS



CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

ORDER NO
MONROE

OEM

CH
AS

SI
S 

N
O

228893K VEHICLE REAR

M
A

G
N

U
M

 D
X

I

RE
N

AU
LT

20889055

5010 552 241
7420898055
7482052893

ORDER NO

OEM

CH
AS

SI
S 

N
O

121054 VEHICLE FRONT

CB0083

RE
N

AU
LT

MONROE
CONTITECH SZ 50-10

5010 266 845 A
5010 313 619 A

G
  S

E
R

IE
S

 G
 3

40
 T

i

ORDER NO
MONROE

OEM

CH
AS

SI
S 

N
O

228849K VEHICLE

RE
N

AU
LT

M
A

G
N

U
M

 E
-T

EC
H

5010 228 849

REAR

CB0070
69849

adaptable12



SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS

CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

ORDER NO

OEM

CH
AS

SI
S 

N
O

121052 VEHICLE FRONT
REAR

CB0076

RE
N

AU
LT

MONROE
CONTITECH 816-Z

M
ag

nu
m

 A
E

   
96

/0
4 

- 0
0/

05
M

ag
nu

m
 E

-t
ec

h 
00

/0
5 

-0
2/

03
M

ag
nu

m
 E

-t
ec

h 
02

/0
3 

 F
ro

nt

5010 320 096 A
PHOENIX C 091340

ORDER NO
CONTITECH

OEM

CH
AS

SI
S 

N
O

121086 VEHICLE FRONT

RE
N

AU
LT

M
A

G
N

U
M

 D
X

I 1
2

SK 86-10

5010 491 301

ORDER NO
PIRELLI

OEM

CH
AS

SI
S 

N
O

121055 VEHICLE FRONT

E
U

R
O

TE
C

H
E

U
R

O
S

TA
R

IV
EC

O

 I GC 130-30

410 19 150

816 90 50

MONROE CB0077

adaptable 13

SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS



CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

128010K VEHICLE REAR

115743

IV
EC

O41028764
41028763
500377878
500348793

E
U

R
O

S
TA

R
 T

Y
P

E
 2

E
U

R
O

S
TA

R
  /

 E
U

R
O

TE
C

H
E

U
R

O
TR

A
K

K
E

R

LD 180 E38 - LD440 E52 TZ
MP 180 E34 - 440 E42 TZ
MT 180E 34R  /  400E 34R
MP190E 31H-MP 720E 47 HT

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

128011K VEHICLE REAR

115731
115902

IV
EC

O
E

U
R

O
TE

C
H

 / 
E

U
R

O
S

TA
R

TY
P

E
 L

500379698
5003077338
99438514
99455937
500352808
98472734

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

128012K VEHICLE FRONT

310820

S
TR

A
LI

S

IV
EC

O500 357 351

190S31 - 40 -43 AT
260S35 / S40-40-43 AT
440S40 - 43 AT
190S40 - 43 - 48 AS

adaptable14



CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

ARVINMERITOR 908 322 986

500 340 706

ORDER NO

OEM

CH
AS

SI
S 

N
O

128014K VEHICLE REAR

IV
EC

O
S

TR
A

LI
S

190S31 - 40 - 48 AT
260S40 - 44-48 - 54 AS
440S40 - 43 - 48 - 54 - AS

ORDER NO

OEM

CH
AS

SI
S 

N
O

128013K VEHICLE FRONT

IV
EC

O

190S31 - 40 -43 AT
260S35 - 40- 43 AT
440S40 - 43 AT
190S40 - 43 - 48 AS

S
TR

A
LI

S

ARVINMERITOR 908 322 985

500 340 705

ORDER NO
ARVINMERITOR

OEM

CH
AS

SI
S 

N
O

128015K VEHICLE REAR

928 323 140

S
TR

A
LI

S

IV
EC

O504 060 233

190S31 - 40 -43 AT
260S35 - 40 - 43 AT
440S40 - 43 AT

adaptable 15

SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS



CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

128016K VEHICLE REAR

310821

IV
EC

O
S

TR
A

LI
S

500 357 352

190S40 - 43 -48 AS
260S40-43-48 - 54 AS
440S40 - 43 - 48 - 54 AS

ORDER NO
SACHS

OEM

CH
AS

SI
S 

N
O

128017K VEHICLE REAR

504 060 241

IV
EC

O
S

TR
A

LI
S

311884
73 1700 000 277
73 1700 002 845

190S31 - 40 - 43 AT
440S40 - 43 AT

ORDER NO
MONROE

OEM

CH
AS

SI
S 

N
O

128020K VEHICLE FRONT

FH
 - 

12
FH

 - 
16

VO
LV

O

CB0003
7172 69 833

3172984 /1629719 /1629724

ex L1H1
A291152
A544695
B216585
B311773
A257343
B162550
C754615
D100895
2806854

FH16
A257343 - B162550
B162550
D110198
A257344 - A291151
B162551 - B216584
D110208
A291152 - A544695
B216585 - B311773

adaptable16



CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

ORDER NO

OEM

CH
AS

SI
S 

N
O

128021K VEHICLE REAR

CB0006
7172 69 647

20427897
20721169

FH
 - 

12
FH

 - 
16

VO
LV

O

ex L1H1
A291152
A544695
B216585
B311773
A544696
B311774

FH16
A291152-A544695
B216585-B311773

MONROE

ORDER NO

OEM

CH
AS

SI
S 

N
O

128022K VEHICLE REAR

FH
 - 

12
FH

 - 
16

VO
LV

O

CB0002
7172 69 602

10750761
075077

ex L1H1
C754615
D100895
2806854

FH16
A257343
B162550
D110198

MONROE

ORDER NO
MONROE

OEM

CH
AS

SI
S 

N
O

121059 VEHICLE FRONT

CB0055

VO
LV

O
FH

 - 
12

20453256

ex L1EH1
A544696
B311774

L1EH1
A544696
B311774

adaptable 17

SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS



CABIN AIRSPRING

CABIN AIRSPRING

CABIN AIRSPRING

ORDER NO
MONROE

OEM

CH
AS

SI
S 

N
O VO

LV
O

128023K VEHICLE FRONT

FH
 - 

12

CB0039
CB0055

20453256 (only bellows )
20889132-1

ex L1EH1
A544696
B311774

L1EH1
A544696
B311774

ORDER NO
MONROE

OEM

CH
AS

SI
S 

N
O

128024K VEHICLE FRONT

CB0055

VO
LV

O
FH

 - 
12

ex L1EH1

20453256 (only bellows )
21111932-1

ORDER NO
MONROE

OEM

CH
AS

SI
S 

N
O DA

F

128033K VEHICLE FRONT

CB0033

C
F 

/ X
F 

/ 9
51265281 / 1285393

1321590 / 1353450
1353453  / 1371065
1444147  / 1622211
375224

adaptable18



SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS

CABIN AIRSPRING

ORDER NO
MONROE

OEM

CH
AS

SI
S 

N
O

128034K VEHICLE REAR

CB0034

DA
F

C
F 

/ X
F 

/ 9
51265282 / 1285394

1321591 / 1353451
1353454 / 1371066
1623477 / 299862

adaptable 19

SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS

Notes



LIFT - AXLE  AIRSPRING

LIFT - AXLE  AIRSPRING

LIFT - AXLE  AIRSPRING

VO
LV

O
LI

FT
-A

XL
E/

LO
N

G
V

E
R

S
IO

N

SZ130-25 PO5CONTITECH

20534646

ORDER NO

OEM

CH
AS

SI
S 

N
O

126046 VEHICLE

ORDER NO
CONTITECH

OEM

CH
AS

SI
S 

N
O

126045 VEHICLE

LI
FT

-A
XL

E/
SH

O
R

T
 V

E
R

S
IO

N

VO
LV

O

SZ130-25 PO4

20534645

ORDER NO

OEM

CH
AS

SI
S 

N
O

126001 VEHICLE

VO
LV

O1081785

CONTITECH SK95-26

LI
FT

 - 
AX

LE

adaptable20



LIFT - AXLE  AIRSPRING

LIFT - AXLE  AIRSPRING

LIFT - AXLE  AIRSPRING

ORDER NO

OEM

CH
AS

SI
S 

N
O

126019 VEHICLE

SZ135-19CONTITECH

S
pe

ci
al

 P
ur

po
se

 V
eh

ic
le

s'
 R

ea
r A

xl
e

(e
.g

. a
m

bu
la

nc
es

)

ORDER NO
CONTITECH

OEM

CH
AS

SI
S 

N
O

126023 VEHICLE
SZ135-23

S
pe

ci
al

 P
ur

po
se

 V
eh

ic
le

s'
 R

ea
r A

xl
e

(e
.g

. a
m

bu
la

nc
es

)

ORDER NO
CONTITECH

OEM

CH
AS

SI
S 

N
O

125520 VEHICLE
SZ 55-20 P01

C
am

pi
ng

 V
eh

ic
le

s,
e.

g.
 L

in
ep

pe

adaptable 21

SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS



CONTITECH SZ70-11
ORDER NO

OEM

127203

ORDER NO
CONTITECH

OEM

127201
SZ35-11

EVO : 4.731.046.000

ORDER NO

OEM

127202
CONTITECH SZ50-11

VAN HOOL : 10635845
IRIS            : 5.006.153.851

ORDER NO

OEM

127115
CONTITECH SZ11-5

IRIS / RVI :5010455628B
SCANIA   :486985

BELT TENSIONER AIRSPRINGBELT TENSIONER AIRSPRING

BELT TENSIONER AIRSPRING

BELT TENSIONER AIRSPRING

BELT TENSIONER AIRSPRING

adaptable22



SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS

SEAT  AIRSPRING

SEAT  AIRSPRING

SEAT  AIRSPRING

ORDER NO

OEM

125101
CONTITECH SZ 51-7

ORDER NO

OEM

125112

ISRINGHAUSEN
SZ59-7
38570 / 36879

CONTITECH

ORDER NO

OEM

125102
SZ60-6 / 864Z
3,1396ISRINGHAUSEN

CONTITECH

adaptable 23

SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS



SEAT  AIRSPRING

SEAT  AIRSPRING

SEAT  AIRSPRING

ORDER NO

OEM

125103

ISRINGHAUSEN
CONTITECH SZ62-7

3,3207

ORDER NO

OEM

125104
865Z / 937N

ISRINGHAUSEN
CONTITECH

ORDER NO

OEM

125105
FIRESTONE                W01 358

adaptable24



SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS

ORDER NO

OEM

CONTITECH SZ82-8
125122

ISRINGHAUSEN 27403-1

ORDER NO

OEM

125121
SZ51-5CONTITECH

ORDER NO

OEM

125106
CONTITECH
GRAMMER

SZ 51-6
140214

ORDER NO

OEM

125111
CONTITECH 880Z

adaptable 25

SL
EE

VE
 S

TY
LE

AI
RS

PR
IN

GS

BELT TENSIONER AIRSPRINGSEAT  AIRSPRING

SEAT  AIRSPRING

SEAT  AIRSPRING

SEAT  AIRSPRING





OE
M

LI
ST

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No
ACERBI

441901 121702 39002-A3/01P Service Assy. C81
441901 133322 39002-A3-01 KPP Complete C81
AUSTERAS/VERAS

99381009 133642 361420 K Complete C99
99381010 133622 361480 K Complete C99
99381031 133582 382520 K Complete C101
AUWARTER

B 510040 110082 3701 Roll R4
BERTOLETTI

91619005 130102 3813  K Complete C4
91619005 135922 3813 KPP Complete C4
91619007 130022 3810  K Complete C2
91619011 132822 3813-07 K Complete C6
BATTAGLINO

22111400 130082 3811-02  K Complete C3
2211400 130102 3813  K Complete C4
2211400 135922 3813 KPP Complete C4
2211401 132822 3813-07 K Complete C6
2211900 133562 362421 K Complete C100
2211907 133602 361421 K Complete C99
2211907 122592 361421 P Service Assy. C99
0.41.04.001.0 133662 382430 K Complete C101
BELLE TRAILER

BT0321 134362 39039 K Complete C83
 BT0321 136952 39039 KPP Complete C83
BERTOJA

45402001 110062 3673 Roll R4
45402002 130022 3810  K Complete C2
45402004 121762 36873 P Service Assy. S9
46311001 133822 36884 K Complete C74
BPW

02.200.24.00.0 110482 3719 Roll R6
02.200.24.00.0 110542 3762 Roll R8
02.200.24.10.0 110122 3720 Roll R6
02.200.24.20.0 110542 3762 Roll R8
02.200.24.40.0 110002 3644 Roll R3
02.200.24.60.0 110042 3662 Roll R4
05.429.40.01.0 120222 3881 P Service Assy. C11
05.429.40.03.0 120262 3941 P Service Assy. C15
05.429.40.05.0 120542 3942 P Service Assy. C16
05.429.40.59.1 130222 3941  K Complete C15
05.429.40.61.1 130522 3881-01  K Complete C11
05.429.40.72.0 120562 3951 P Service Assy. S4
05.429.40.91.0 120242 3940 P Service Assy. C14
05.429.40.93.1 130202 3940  K Complete C14
05.429.41.01.0 120462 34881 P Service Assy. S7
05.429.41.25.0 120502 34941 P Service Assy. C64
05.429.41.28.1 130842 3940-01  K Complete C15
05.429.41.56.0 120482 34940 P Service Assy. C63
05.429.41.69.0 130802 3942-01  K Complete C16

BPW

05.429.41.77.0 120742 34960 P Service Assy. C64
05.429.42.04.0 120762 34961 P Service Assy. C65
05.429.42.42.1 130682 3940-02 K Complete C15
05.429.42.72.0 120562 3951 P Service Assy. S4
05.429.43.20.0 132222 3941-01  KPP Complete C16
05.429.43.21.0 133362 3940 KPP Complete C14
05.429.43.22.0 130702 3940-01 KPP Complete C15
05.429.43.23.0 135732 34960 KPP Complete C64
05.429.43.24.0 135742 34940 KPP Complete C63
05.429.43.25.0 130882 34941  K Complete C64
05.429.43.26.0 130862 34960-01 KPP Complete C65
05.429.43.27.0 135752 34961 KPP Complete C65
05.429.43.32.0 130722 34940-01 KPP Complete C64
05.429.43.38.0 130602 3881-02  KPP Complete C11
05.429.43.41.0 133342 34881-01 KPP Complete C57
05.429.43.51.0 132202 3881-01  KPP Complete C11
BPW Type

BPW 30 130882 34941  K Complete C64
BPW 30 120502 34941 P Service Assy. C64
BPW 30 130222 3941  K Complete C15
BPW 30 120262 3941 P Service Assy. C15
BPW 30 132222 3941-01  KPP Complete C16
BPW 30 K 135742 34940 KPP Complete C63
BPW 30 K 120482 34940 P Service Assy. C63
BPW 30 K 130722 34940-01 KPP Complete C64
BPW 30 K 135732 34960 KPP Complete C64
BPW 30 K 120742 34960 P Service Assy. C64
BPW 30 K 130862 34960-01 KPP Complete C65
BPW 30 K 135752 34961 KPP Complete C65
BPW 30 K 120762 34961 P Service Assy. C65
BPW 30 K 130202 3940  K Complete C14
BPW 30 K 133362 3940 KPP Complete C14
BPW 30 K 120242 3940 P Service Assy. C14
BPW 30 K 130842 3940-01  K Complete C15
BPW 30 K 130702 3940-01 KPP Complete C15
BPW 30 K 130682 3940-02 K Complete C15
BPW 30-1 120562 3951 P Service Assy. S4
BPW 36 120222 3881 P Service Assy. C11
BPW 36 130522 3881-01  K Complete C11
BPW 36 132202 3881-01  KPP Complete C11
BPW 36 130602 3881-02  KPP Complete C11
BPW 36 K 120462 34881 P Service Assy. S7
BPW 36 K 131862 34881-01  K Complete C57
BPW 36 K 133342 34881-01 KPP Complete C57
BPW 36-1 130542 3942  K Complete C16
BPW 36-1 120542 3942 P Service Assy. C16
BPW 36-1 130802 3942-01  K Complete C16
BUSSING

536 905 265 110002 3644 Roll R3
831 120 144 110022 3661 Roll R3

O 1



O 2

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No
CAMPANA

05.040.0100 122592 361421 P Service Assy. C99
05.040.0100 133602 361421 K Complete C99
CARDI

58050700 132822 3813-07 K Complete C6
58050900 131662 391209  K Complete C102
58051000 130102 3813  K Complete C4
58051000 135922 3813 KPP Complete C4
CHEREAU

VSR U5 00211F 110162 3737 Roll R7
DAF

0 067 306 131082 3811-07  K Complete C4
0 067 504 120142 3836 P Service Assy. C8
0 166 226 110142 3727 Roll R7
0 196 043 110142 3727 Roll R7
0 377 498 131922 3836-04 K Complete C9
0 388 165 131022 3836  K Complete C8
0 388 167 131062 3836-02 K Complete C9
0 392 022 134782 38683 K Complete C78
0 513 982 120182 3836-02 P Service Assy. C9
0 513 983 122612 3887 P Service Assy. C12
0 513 985 120162 3836-01 P Service Assy. S3
0 526 651 131942 3836-06 K Complete C10
0 526 823 120042 3811 P Service Assy. C3
0 526 823 131462 391324  K Complete C106
0 578 361 110042 3662 Roll R4
0 578 361 110542 3762 Roll R8
0 627 584 110062 3673 Roll R4
0 627 584 110342 3944 Roll R17
0 638 148 110142 3727 Roll R7
0 644 425 110542 3762 Roll R8
0 656 991 133082 34154-03  K Complete C27
0 659 561 110702 3715 Roll R5
0 676 122 131462 391324  K Complete C106
0 689 677 110002 3644 Roll R3
0 818 225 110482 3719 Roll R6
1 141 525 134902 3887 K Complete C12
1 153 933 130502 3836-05 K Complete C9
1 153 934 130582 3836-16 K Complete C10
1 153 935 137052 3887-03 K Complete C12
1 154 761 137062 3887-04 K Complete C12
1 276 846 123122 3889 P Service Assy. C12
1 279 141 136632 3889 K Complete C13
1 384 273 130022 3810  K Complete C2
1 384 273 131242 391320  K Complete C105
1 384 274 130102 3813  K Complete C4
1 384 274 135922 3813 KPP Complete C4
1 697 678 131022 3836  K Complete C8
1 698 434 136632 3889 K Complete C13
DAMCAR

000.001.404 111792 30232 Roll R19

DAYTON

 253-9422 135142 39422 K Complete C90
 253-9422 137002 39422-01 KPP Complete C90
 352-8050 134502 38050 K Complete C76
 352-9039 134362 39039 K Complete C83
 352-9039 136952 39039 KPP Complete C83
 352-9082 132302 34156-05  KPP Complete C30
 352-9121 134942 39121 K Complete C83
 352-9122 132282 3813-05 K Complete C5
 352-9130 132382 34159-12 K Complete C40
 352-9130 135492 34159-12 K-ALU Complete C40
 352-9130 135302 34159-12 KPP Complete C40
 352-9192 134322 34159-08  KPP Complete C39
 352-9213 135102 39213 K Complete C84
 352-9213 136982 39213 KPP Complete C84
352-9020 132522 34154-02  KPP Complete C27
352-9069 134482 39069 K Complete C83
352-9069 136972 39069 KPP Complete C83
352-9096 133242 34156-12 KPP Complete C31
352-9101 132322 34159-07  KPP Complete C38
352-9227 132742 34156-08  KPP Complete C31
352-9265 134022 39265 K Complete C85
352-9270 134042 39270 K Complete C85
352-9293 135002 39293 K Complete C86
352-9293 136942 39293 KPP Complete C86
352-9294 135262 39294 K Complete C86
352-9294 136962 39294 KPP Complete C86
352-9321 135022 39321 KPP Complete C87
352-9371 135542 39371 K Complete C88
352-9371 136932 39371 KPP Complete C88
352-9373 133442 39373 K Complete C89
352-9466 135772 39466 K Complete C90
352-9466 136992 39466 KPP Complete C90
352-9580 132762 30081-01  K Complete C18
352-9780 134522 32303 K Complete C21
DAIMLER CHRYSLER

A 942 320 03 21 134862 34390-04 K Complete C46
A 942 320 04 21 134842 34390-03 K Complete C46
A 942 320 22 21 135042 34183-23 K Complete C43
A 000 328 01 01 110642 3819 Roll R11
A 318 328 00 01 110182 3746 Roll R8
A 363 328 00 01 110702 3715 Roll R5
A 363 328 02 01 110582 3757 Roll R8
A 383 327 00 01 110062 3673 Roll R4
A 387 328 01 01 110122 3720 Roll R6
A 393 328 01 01 110162 3737 Roll R7
A 629 327 00 01 122472 34644 P Service Assy. C49
A 655 327 00 01 110862 31720 Roll R22
A 658 328 00 01 110602 3884 Roll R13
A 658 328 01 01 110622 3882 Roll R12
A 674 328 00 01 110762 3838 Roll R11



OE
M

LI
ST

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

O 3

DAIMLER CHRYSLER

A 674 328 01 01 110802 3873 Roll R12
A 674 328 03 01 111472 3788 Roll R10
A 699 328 01 01 110622 3882 Roll R12
A 942 320 01 17 132982 34757-01 K Complete C52
A 942 320 01 21 130982 34390-01  K Complete C45
A 942 320 02 17 137012 34759-01 K Complete C54
A 942 320 02 21 131002 34390-02  K Complete C45
A 942 320 06 21 130092 34391-01 K Complete C48
A 942 320 18 21 131482 34187-01 K Complete C44
A 942 320 23 21 135822 34183-24 K Complete C43
A 942 320 26 21 135892 34187-21 K Complete C44
A 942 320 27 21 132462 34187-22 K Complete C45
A 942 320 28 21 135602 34390-21 K Complete C46
A 942 320 29 21 135622 34390-22 K Complete C47
A 942 320 32 21 135682 34757-29 K Complete C53
A 942 320 35 21 135812 34838-23 K Complete C57
A 942 320 36 21 135802 34838-22 K Complete C57
A 942 320 37 21 135642 34737-21 K Complete C51
A 942 320 38 21 135702 34838-21 K Complete C56
A 942 320 39 21 135652 34737-22 K Complete C51
A 942 320 43 21 135692 34757-21 K Complete C53
A 942 320 44 21 137022 34759-21 K Complete C55
A 942 320 48 21 135862 34758-21 K Complete C54
A 942 320 49 21 122512 34390-21 P Service Assy. C46
A 942 320 49 21 135602 34390-21 K Complete C46
A 942 320 50 21 122522 34390-22 P Service Assy. C47
A 942 320 50 21 135622 34390-22 K Complete C47
A 942 320 51 21 135672 34390-24 K Complete C47
A 942 320 52 21 135662 34390-23 K Complete C47
A 942 320 53 21 130132 34391-21 K Service Assy. C48
A 942 320 54 21 130152 34391-22 K Service Assy. C49
A 942 327 00 01 122572 34757-01 P Service Assy. C52
A 942 328 00 01 121102 34390-01 P Service Assy. C45
A 942 328 01 01 120722 34390-02 P Service Assy. C45
A 945 320 00 17 135852 34758-01 K Complete C54
A 946 320 01 21 132482 34838-03 K Complete C56
A 946 320 02 21 132442 34838-02 K Complete C56
A 946 320 03 21 133022 34737-01 K Complete C50
A 946 320 04 21 131222 34838-01 K Complete C55
A 946 320 05 21 133042 34737-02 K Complete C51
A 946 328 00 01 121202 34838 P Service Assy. S7
A 974 320 04 17 134882 34757-09 K Complete C52
A 974 328 00 01 122802 34757-02 P Service Assy. C52
A 974 328 01 01 122802 34757-02 P Service Assy. C52
DENNIS

611 896/ 12 110262 3927 Roll R15
650 292/ 8 110122 3720 Roll R6
650 883/ 4 110122 3720 Roll R6
650 883/ 7 110122 3720 Roll R6
656 289/ 2 110222 3897 Roll R14

DENNIS

656 300/ 2 110202 3896 Roll R13
DISCOS / MERCEDES

A 946 328 04 01 132082 30081  K Complete C18
A 946 328 14 01 131302 34157  KPP Complete C34
A 946 328 14 01 131042 34157-04 KPP Complete C34
A 946 328 14 01 133302 39002-A8  KPP Complete C82
A 946 328 15 01 136542 30283 K Complete C19
A 946 328 15 01 122902 30283 P Service Assy. C19
DROGMOELLER

440320200002-00 110022 3661 Roll R3
EL DETALLE

AO 101 111642 3944 BRZ Roll R17
E.R.F.

139275-4 135722 34159-07  K Complete C38
139275-4 132322 34159-07  KPP Complete C38
139275-4 135502 34159-07 K ALU Complete C38
139855-0 132762 30081-01  K Complete C18
143908-3 130102 3813  K Complete C4
143908-3 135922 3813 KPP Complete C4
EVO BUS

4.731.012.000 110022 3661 Roll R3
4.731.013.000 110542 3762 Roll R8
4.731.029.000 120042 3811 P Service Assy. C3
4.731.030.000 130102 3813  K Complete C4
4.731.030.000 135922 3813 KPP Complete C4
4.731.031.000 110022 3661 Roll R3
4.731.032.000 110482 3719 Roll R6
4.731.033.000 130102 3813  K Complete C4
4.731.033.000 135922 3813 KPP Complete C4
4.731.042.000 110022 3661 Roll R3
4.771.143.000 110002 3644 Roll R3
4.771.170.000 110002 3644 Roll R3
4.771.427.000 110022 3661 Roll R3
4.771.440.000 110022 3661 Roll R3
4.771.441.000 110002 3644 Roll R3
 A 699 328 01 01 111442 3975 Roll R18
A 000 327 01 01 110002 3644 Roll R3
A 000 328 00 01 110002 3644 Roll R3
A 000 328 00 01 110942 3921 Roll R14
A 356.327.0001 110462  3450-25 Roll R2
A 383 327 00 01 110062 3673 Roll R4
A 629 327 00 01 122472 34644 P Service Assy. C49
A 942.327.0001 121102 34390-01 P Service Assy. C45
FAB TEK

101828 132302 34156-05  KPP Complete C30
PMABG9039 134362 39039 K Complete C83
FREIGHTLINER

  16-13810-000 134522 32303 K Complete C21
  16-13810-001 134522 32303 K Complete C21
  16-13810-002 134522 32303 K Complete C21



O 4

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No
FREIGHTLINER

16-15595-000 134522 32303 K Complete C21
16-15595-001 134522 32303 K Complete C21
16-15595-002 134522 32303 K Complete C21
681-320-0017 134522 32303 K Complete C21
16-13810-00 (plastic) 136922 32303 KPP Complete C21
FRUEHAUF

431487 133862 34420 K Complete C49
1525267 132162 34156-03  K Complete C29
 UCD-9393-1 132382 34159-12 K Complete C40
 UCD-9393-1 135492 34159-12 K-ALU Complete C40
 UCD-9393-1 135302 34159-12 KPP Complete C40
 UCD-9393-2 132382 34159-12 K Complete C40
 UCD-9393-2 135492 34159-12 K-ALU Complete C40
 UCD-9393-2 135302 34159-12 KPP Complete C40
 UCD-9393-3 132382 34159-12 K Complete C40
 UCD-9393-3 135492 34159-12 K-ALU Complete C40
 UCD-9393-3 135302 34159-12 KPP Complete C40
 UCD-9393-4 132382 34159-12 K Complete C40
 UCD-9393-4 135492 34159-12 K-ALU Complete C40
 UCD-9393-4 135302 34159-12 KPP Complete C40
003615E 130102 3813  K Complete C4
003615E 135922 3813 KPP Complete C4
M001464 133942 30073 K Complete C17
M001464 131562 391304  K Complete C103
M001472 132162 34156-03  K Complete C29
M001782 132042 34159-05  K Complete C38
M051232 136682 30051 KPP Complete C17
M060770 132062 3912  K Complete C14
M060770 131722 391314  K Complete C104
M060924 130922 34157-10 KPP Complete C35
M060924 121702 39002-A3/01P Service Assy. C81
M060924 133322 39002-A3-01 KPP Complete C81
M078580 120472 34157-03 P Service Assy. S6
M078580 130942 34157-08 KPP Complete C35
M078580 134262 39002-A3/08 KPP Complete C82
UCE-1304-1 133242 34156-12 KPP Complete C31
UJA 0894 131682 391208  K Complete C102
UJA 0930 132162 34156-03  K Complete C29
UJB 0203 132042 34159-05  K Complete C38
UJB 0203 131682 391208  K Complete C102
UJB 0305 131162 391303  K Complete C103
UJB 0358 133382 34159-02 KPP Complete C37
UJB 0975 130922 34157-10 KPP Complete C35
UJB 0975 133322 39002-A3-01 KPP Complete C81
UJB0129001 131562 391304  K Complete C103
UJB-0207-001 132162 34156-03  K Complete C29
UJB-1304-1 133122 34156-10 K Complete C31
FODEN

1300248000 134482 39069 K Complete C83
1300248000 136972 39069 KPP Complete C83

GIGANT

3053 135572 3724 K Complete C1
3053 122822 3724 P Service Assy. C1
3653 120002 3725 P Service Assy. C2
161209 110542 3762 Roll R8
161210 110542 3762 Roll R8
166205 110482 3719 Roll R6
166217 130002 3725  K Complete C2
166225 135572 3724 K Complete C1
166226 110142 3727 Roll R7
166252 130642 3725-01  K Complete C2
166271 123052 34007 P Service Assy. S5
196035 110542 3762 Roll R8
196036 110482 3719 Roll R6
196043 110142 3727 Roll R7
246149 130002 3725  K Complete C2
246149 120002 3725 P Service Assy. C2
246169 122822 3724 P Service Assy. C1
247103 122932 34725 P Service Assy. S6
247104 123052 34007 P Service Assy. S5
GRANNING

1359 132302 34156-05  KPP Complete C30
7640 135022 39321 KPP Complete C87
8896 135002 39293 K Complete C86
8896 136942 39293 KPP Complete C86
15619 134762 36251 K Complete C68
15621 110022 3661 Roll R3
15622 110002 3644 Roll R3
15623 110042 3662 Roll R4
15634 130102 3813  K Complete C4
15634 135922 3813 KPP Complete C4
15635 130022 3810  K Complete C2
15635 131242 391320  K Complete C105
15709 130962 3902 K Complete C13
15732 136482 39002 A3  KPP 90º Complete C81
15910 131202 34912  K Complete C60
15916 120242 3940 P Service Assy. C14
16919 133362 3940 KPP Complete C14
HAS

HAS-360/400/402/460 133442 39373 K Complete C89
HAS 360 136122 39373 KPP Complete C89
HDA

PMABG9123B 134942 39121 K Complete C83
PMABG9039 134362 39039 K Complete C83
PMABG9082B 132302 34156-05  KPP Complete C30
PMABG9039 136952 39039 KPP Complete C83
PMABG9373B 133442 39373 K Complete C89
HANOMAG-HENSCHEL

546 905 134 110002 3644 Roll R3
536 905 265 110022 3661 Roll R3
536 905 266 110022 3661 Roll R3



OE
M

LI
ST

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

O 5

HENDRICKSON

B-12514 134502 38050 K Complete C76
B2827 / S11566 132522 34154-02  KPP Complete C27
B3411 134942 39121 K Complete C83
C20010 122422 39270 P Service Assy. C85
C20127 / S20127 132762 30081-01  K Complete C18
C20413 / HT-250U 134022 39265 K Complete C85
C21623 137152 38755 K ALU Complete C80
C22046 137152 38755 K ALU Complete C80
HA 100001 130382 34156 KPP Complete C28
HA 100053 132722 34156-07  KPP Complete C30
HS 251087 132082 30081  K Complete C18
HT-250U-Y 134022 39265 K Complete C85
NS501304 122462 39321 P Service Assy. C87
QE100004/F 136142 33708 K Complete C24
S 4771 134502 38050 K Complete C76
S11651 132302 34156-05  KPP Complete C30
S20010 134042 39270 K Complete C85
S20124 / HT-250 T 134022 39265 K Complete C85
S20223 137162 39640 K ALU Complete C91
S21800 137072 38709KPP Complete C79
S21966 137202 38708KPP Complete C79
S22045 137152 38755 K ALU Complete C80
S22948 137082 38713KPP Complete C79
S2924 / 48195-1 132742 34156-08  KPP Complete C31
Y505859 130102 3813  K Complete C4
Y505859 135922 3813 KPP Complete C4
Y507782 131722 391314  K Complete C104
HUTCHENS

 H-9630-01 132302 34156-05  KPP Complete C30
 9424-01 & 03 134362 39039 K Complete C83
9424-01&03 136952 39039 KPP Complete C83
IKARUS

B 510040 110082 3701 Roll R4
108.115.160 111622 3159 Roll R1
INBUS

4840005 110342 3944 Roll R17
4890001 110342 3944 Roll R17
5001051 110322 3943 Roll R17
5001098 110062 3673 Roll R4
IRIS BUS

5.000.021.414 111482 31415 Roll R22
5.001.843.640 110902 31924 Roll R23
5.001.857.612 111172 31782 Roll R23
5.006.172.377 135792 31415-01 K Complete C20
IVECO

203698 110012 327270 Roll R28
577443 111342 320285 Roll R27
4182227 110022 3661 Roll R3
4843220 111342 320285 Roll R27
9988467 130022 3810  K Complete C2

HENDRICKSON

13031 134482 39069 K Complete C83
13031 136972 39069 KPP Complete C83
13032 135142 39422 K Complete C90
13032 137002 39422-01 KPP Complete C90
13049 133242 34156-12 KPP Complete C31
13161 135302 34159-12 KPP Complete C40
49048 136992 39466 KPP Complete C90
49207 135772 39466 K Complete C90
49207 136992 39466 KPP Complete C90
505859 131442 391319  K Complete C105
506243 131242 391320  K Complete C105
507782 132062 3912  K Complete C14
785170 130102 3813  K Complete C4
785170 135922 3813 KPP Complete C4
 36514-7 132302 34156-05  KPP Complete C30
 B 2064 136952 39039 KPP Complete C83
 B 2066 132302 34156-05  KPP Complete C30
 B 3842 135722 34159-07  K Complete C38
 B 3842 132322 34159-07  KPP Complete C38
 B 3842 135502 34159-07 K ALU Complete C38
 B 6195 134322 34159-08  KPP Complete C39
 B-11650 136952 39039 KPP Complete C83
 B-12514-007 132302 34156-05  KPP Complete C30
 B-12514-008 132282 3813-05 K Complete C5
 B12514-010 132282 3813-05 K Complete C5
 C20010 134042 39270 K Complete C85
 C20108 134042 39270 K Complete C85
 C21208 134042 39270 K Complete C85
 C22173 132282 3813-05 K Complete C5
 C25559 134042 39270 K Complete C85
 S 2064 134362 39039 K Complete C83
 S 3467 132282 3813-05 K Complete C5
 S 3830 132282 3813-05 K Complete C5
S-11650 134362 39039 K Complete C83
 S103522 132382 34159-12 K Complete C40
 S103522 135492 34159-12 K-ALU Complete C40
 S103522 135302 34159-12 KPP Complete C40
364QS28 136992 39466 KPP Complete C90
49048/364QS28 135772 39466 K Complete C90
49674-1 & 2 136992 39466 KPP Complete C90
49674-1&2 (57QL411M) 135772 39466 K Complete C90
50405 -1 & 2 130952 39287 KPP Complete C86
50898-1 & 2 131112 39297 KPP Complete C87
57122-1 & 2 133442 39373 K Complete C89
57122-2 136122 39373 KPP Complete C89
57122-2 122202 39373 P Service Assy. C89
B 2063 130102 3813  K Complete C4
B 2063 135922 3813 KPP Complete C4
B 2065 130022 3810  K Complete C2
B-125013 134502 38050 K Complete C76



O 6

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No
IVECO

41006926 111592 319250 Roll R26
41008929 111572 319270 Roll R26
41022620 111602 336323 Roll R29
42531994 111362 320270 Roll R27
99458555 130772 37313 KPP Complete C74
99458557 110462  3450-25 Roll R2
99458557 130772 37313 KPP Complete C74
410.22620 110522 3876 Roll R12
445.6111 110702 3715 Roll R5
470.3904 110682 3782 Roll R9
470.3972 110682 3782 Roll R9
471.4025 110342 3944 Roll R17
471.6989 110682 3782 Roll R9
471.6989 110362 3945 Roll R18
472.2525 110342 3944 Roll R17
473.6728 110342 3944 Roll R17
473.8008 110342 3944 Roll R17
474.6733 110022 3661 Roll R3
476.3473 110702 3715 Roll R5
500 301 452 110602 3884 Roll R13
500 324 098 111382 323290 Roll R27
614.4040 110322 3943 Roll R17
645.3741 110282 3928 Roll R16
816.0165 110322 3943 Roll R17
818.4025 110602 3884 Roll R13
818.8526 111492 3944 CR Roll
818.8539 110602 3884 Roll R13
931 95 986 110682 3782 Roll R9
931.97594 110462  3450-25 Roll R2
971 08 363 110602 3884 Roll R13
984.78799 110402 31885 Roll R23
994 59 166 110942 3921 Roll R14
KASSBOHRER

4.731.012.000 110022 3661 Roll R3
4.731.013.000 110542 3762 Roll R8
4.731.030.000 110482 3719 Roll R6
4.731.032.000 110482 3719 Roll R6
4.731.033.000 130102 3813  K Complete C4
4.731.033.000 135922 3813 KPP Complete C4
4.731.043.000 122492 31324 P Service Assy. S5
4.731.044.100 122562 36055 P Service Assy. S8
4.771.427.000 110022 3661 Roll R3
4.731.043.100.13 122492 31324 P Service Assy. S5
KENWORTH

K303-6 / K303-14 135142 39422 K Complete C90
K303-15 135142 39422 K Complete C90
K303-6 137002 39422-01 KPP Complete C90
K303-14 137002 39422-01 KPP Complete C90
K303-15 137002 39422-01 KPP Complete C90

KLL

8 035 213 B01 111712 3921 B Roll R15
LEYLAND

AAU2542 110262 3927 Roll R15
AAU2544 110282 3928 Roll R16
LOADGUARD

 SC2033 134362 39039 K Complete C83
 SC2033 136952 39039 KPP Complete C83
 SC2034 134482 39069 K Complete C83
 SC2034 136972 39069 KPP Complete C83
 SC2035 132302 34156-05  KPP Complete C30
 SC2040 134942 39121 K Complete C83
 SC2048 136942 39293 KPP Complete C86
 SC2050 137002 39422-01 KPP Complete C90
SC2038 132322 34159-07  KPP Complete C38
SC2041 132282 3813-05 K Complete C5
SC2048 135102 39213 K Complete C84
SC2048 136982 39213 KPP Complete C84
SC2048 135002 39293 K Complete C86
SC2050 135142 39422 K Complete C90
SC2051 / SC2765 133242 34156-12 KPP Complete C31
SC2070 137112 39219KPP Complete C84
SC2102 134322 34159-08  KPP Complete C39
SC2134 / SC2759 134022 39265 K Complete C85
SC2175 135772 39466 K Complete C90
SC2175 136992 39466 KPP Complete C90
SC2758 137162 39640 K ALU Complete C91
SC2761 132762 30081-01  K Complete C18
SC27557 137212 38829KPP Complete C80
MACK

363QS28 136992 39466 KPP Complete C90
364QS28 135772 39466 K Complete C90
574QL411M 135772 39466 K Complete C90
574QL411M 136992 39466 KPP Complete C90
MAFERSA

M210 111662 30134 Roll R19
M.A.N.

8.143601.0104 110402 31885 Roll R23
8.143601.0109 110402 31885 Roll R23
8.143601.0111 110402 31885 Roll R23
8.143601.0123 110402 31885 Roll R23
8.143601.0150 110402 31885 Roll R23
81.43600.6035 135532 34884 K Complete C58
81.43600.6036 135512 34882 K Complete C58
81.43600.6038 135522 34883 K Complete C58
81.43600.6044 136642 34885 K Complete C59
81.43600.6046 136582 34886 K Complete C59
81.43601.0017 110002 3644 Roll R3
81.43601.0018 110042 3662 Roll R4
81.43601.0033 110122 3720 Roll R6
81.43601.0036 110122 3720 Roll R6



OE
M

LI
ST

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

O 7

M.A.N.

81.43601.0121 110622 3882 Roll R12
81.43601.0125 110402 31885 Roll R23
81.43601.0127 110662 3706 Roll R5
81.43601.0128 110562 3883 Roll R13
81.43601.0132 110622 3882 Roll R12
81.43601.0139 110662 3706 Roll R5
81.43601.0151 122122 34882 P Service Assy. C58
81.43601.0152 122162 34884 P Service Assy. C58
81.43601.0153 122142 34883 P Service Assy. C58
81.43601.0155 123102 34705 P Service Assy. S6
81.43601.0160 123022 34885 P Service Assy. C59
81.43601.0165 122942 34886 P Service Assy. C59
81.43601.095 110242 3916 Roll R14
81.43601.097 110242 3916 Roll R14
81.43601.100 110242 3916 Roll R14
81.43601.102 110242 3916 Roll R14
81.43601.105 110242 3916 Roll R14
81.43601.126 110242 3916 Roll R14
81.43601.6002 120922 3809 T Without Plate S2
81.43601.6017 120602 3808 T Without Plate S2
81.43601.6019 120622 34810 T Without Plate S7
81.43601.6023 120922 3809 T Without Plate S2
81.43601.6023 120962 3909 T Without Plate S4
81.43601.6071 123022 34885 P Service Assy. C59
90.83112.0144 110022 3661 Roll R3
MAGIRUS-DEUTZ

0249 1566 110062 3673 Roll R4
0249 8667 110022 3661 Roll R3
041 822 247 110022 3661 Roll R3
536 905 265 110002 3644 Roll R3
MENARINI

178623 110342 3944 Roll R17
178739 110162 3737 Roll R7
178741 110362 3945 Roll R18
199196 110002 3644 Roll R3
252933 110742 3769 Roll R9
325993 110342 3944 Roll R17
D020990 111362 320270 Roll R27
MERCEDES

A 000 327 0101 110002 3644 Roll R3
A 307 328 0101 110142 3727 Roll R7
A 356 327 0001 110462  3450-25 Roll R2
A 363 328 0001 110702 3715 Roll R5
A 364 327 7001 111742 3644 B Roll R3
A 382 327 7101 110542 3762 Roll R8
A 382 327 7201 110682 3782 Roll R9
A 613 327 0001 110002 3644 Roll R3
A 613 327 0101 110462  3450-25 Roll R2
A 942 320 30 21 132192 34185-21 K Complete C44
A 946 328 14 01 120882 39002-A8 P Service Assy. C82

M.A.N.

81.43601.0037 110122 3720 Roll R6
81.43601.0039 110102 3716 Roll R6
81.43601.0040 110102 3716 Roll R6
81.43601.0042 120622 34810 T Without Plate S7
81.43601.0047 120622 34810 T Without Plate S7
81.43601.0049 110542 3762 Roll R8
81.43601.0050 120962 3909 T Without Plate S4
81.43601.0051 110042 3662 Roll R4
81.43601.0052 110542 3762 Roll R8
81.43601.0053 110722 3786 Roll R10
81.43601.0054 120962 3909 T Without Plate S4
81.43601.0056 110142 3727 Roll R7
81.43601.0057 110142 3727 Roll R7
81.43601.0058 110142 3727 Roll R7
81.43601.0059 110702 3715 Roll R5
81.43601.0060 110702 3715 Roll R5
81.43601.0061 110702 3715 Roll R5
81.43601.0065 110622 3882 Roll R12
81.43601.0066 110602 3884 Roll R13
81.43601.0067 110622 3882 Roll R12
81.43601.0068 110602 3884 Roll R13
81.43601.0069 110602 3884 Roll R13
81.43601.0070 110622 3882 Roll R12
81.43601.0071 110562 3883 Roll R13
81.43601.0072 110562 3883 Roll R13
81.43601.0075 110702 3715 Roll R5
81.43601.0076 110142 3727 Roll R7
81.43601.0078 110702 3715 Roll R5
81.43601.0079 110142 3727 Roll R7
81.43601.0081 110702 3715 Roll R5
81.43601.0082 110142 3727 Roll R7
81.43601.0083 110702 3715 Roll R5
81.43601.0084 110142 3727 Roll R7
81.43601.0090 110702 3715 Roll R5
81.43601.0091 110142 3727 Roll R7
81.43601.0092 110622 3882 Roll R12
81.43601.0096 110662 3706 Roll R5
81.43601.0098 110662 3706 Roll R5
81.43601.0099 110622 3882 Roll R12
81.43601.0100 110622 3882 Roll R12
81.43601.0101 110662 3706 Roll R5
81.43601.0103 110622 3882 Roll R12
81.43601.0106 110602 3884 Roll R13
81.43601.0108 110602 3884 Roll R13
81.43601.0110 110562 3883 Roll R13
81.43601.0113 110702 3715 Roll R5
81.43601.0114 110142 3727 Roll R7
81.43601.0115 110702 3715 Roll R5
81.43601.0116 110142 3727 Roll R7
81.43601.0117 110702 3715 Roll R5



O 8

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No
MERCEDES

A 974 320 00 21 132172 34185-01 K Complete C43
A 974 320 00 21 122172 34185-01 P Service Assy. C43
A382 327 7001 111812 30031 Roll R18
A382 327 7201 111732 3782 B Roll R10
NAVISTAR

 554768C1 132322 34159-07  KPP Complete C38
1660581 C-1 136982 39213 KPP Complete C84
1670073C-1 136932 39371 KPP Complete C88
1670073C-1 135542 39371 K Complete C88
1686386C-1 135542 39371 K Complete C88
2027911C-1 135542 39371 K Complete C88
1672401C1 137112 39219KPP Complete C84
1681738C11 134322 34159-08  KPP Complete C39
681740C1 134322 34159-08  KPP Complete C39
1681739C1 137112 39219KPP Complete C84
1685174C1 134502 38050 K Complete C76
1686386C-1 136932 39371 KPP Complete C88
2027911C1 137172 39648KPP Complete C91
2027911C-1 136932 39371 KPP Complete C88
2027911C2 137172 39648KPP Complete C91
2027911C3 137172 39648KPP Complete C91
501559C-1 136982 39213 KPP Complete C84
501559C-1 135102 39213 K Complete C84
501559C-2 135102 39213 K Complete C84
1660581C-1 135102 39213 K Complete C84
501559C-2 136982 39213 KPP Complete C84
517559C9 132302 34156-05  KPP Complete C30
554762C1 135142 39422 K Complete C90
554762c1 137002 39422-01 KPP Complete C90
554764C1 134482 39069 K Complete C83
554764C1 136972 39069 KPP Complete C83
554766C1 134362 39039 K Complete C83
554766C1 136952 39039 KPP Complete C83
554772C1 132282 3813-05 K Complete C5
554773C1 134942 39121 K Complete C83
NEOPLAN

1001 10 300 110002 3644 Roll R3
1001 101 00 110482 3719 Roll R6
1001 102 00 110042 3662 Roll R4
1001 12 250 110022 3661 Roll R3
1001 12 254 110002 3644 Roll R3
1001 121 00 111472 3788 Roll R10
1001 122 51 110042 3662 Roll R4
1001 123 00 110122 3720 Roll R6
1021 002 00 110482 3719 Roll R6
1021 003 00 110542 3762 Roll R8
1021 005 00 120962 3909 T Without Plate S4
1021 215 00 120962 3909 T Without Plate S4
AA 10-01-001 110022 3661 Roll R3
AA 10-01-002 110042 3662 Roll R4

NEWAY

21215632 130022 3810  K Complete C2
21215633 130102 3813  K Complete C4
57009096 133242 34156-12 KPP Complete C31
90557112 137132 39243KPP Complete C85
90557117 132502 39921KPP Complete C92
90557118 132582 39923KPP Complete C92
90557120 135002 39293 K Complete C86
90557120 136942 39293 KPP Complete C86
90557127 136942 39293 KPP Complete C86
90557173 137182 38204KPP Complete C78
90557223 137182 38204KPP Complete C78
211 586 130022 3810  K Complete C2
212 156 33 135922 3813 KPP Complete C4
22 282 130102 3813  K Complete C4
22 282 135922 3813 KPP Complete C4
570 08 050 134502 38050 K Complete C76
570 09 219 137112 39219KPP Complete C84
570 093 21 135022 39321 KPP Complete C87
900 441 99 134362 39039 K Complete C83
900 441 99 136952 39039 KPP Complete C83
905 570 01 134362 39039 K Complete C83
905 570 06 132302 34156-05  KPP Complete C30
905 570 08 132322 34159-07  KPP Complete C38
905 570 08 135502 34159-07 K ALU Complete C38
905 570 09 132322 34159-07  KPP Complete C38
905 570 09 135502 34159-07 K ALU Complete C38
905 570 10 134942 39121 K Complete C83
905 570 11 136952 39039 KPP Complete C83
905 570 19 122362 39121 P Service Assy. C83
905 570 19 134942 39121 K Complete C83
905 570 20 132282 3813-05 K Complete C5
905 570 23 134382 34150 K Complete C26
905 570 23 134362 39039 K Complete C83
905 570 23 136952 39039 KPP Complete C83
905 570 27 132302 34156-05  KPP Complete C30
905 570 33 132302 34156-05  KPP Complete C30
905 570 37 132302 34156-05  KPP Complete C30
905 570 43 132322 34159-07  KPP Complete C38
905 570 43 135502 34159-07 K ALU Complete C38
905 570 52 122362 39121 P Service Assy. C83
905 570 52 134942 39121 K Complete C83
905 570 54 132302 34156-05  KPP Complete C30
905 570 71 132282 3813-05 K Complete C5
905 570 75 130402 34156-01  K Complete C29
905 570 75 132302 34156-05  KPP Complete C30
905 570 76 132282 3813-05 K Complete C5
905 570 77 132282 3813-05 K Complete C5
905 570 78 122362 39121 P Service Assy. C83
905 570 78 134942 39121 K Complete C83
905 570 82 135722 34159-07  K Complete C38



OE
M

LI
ST

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

O 9

PORTESI

700 176 110342 3944 Roll R17
RANDON

212100194 111702 30115 Roll R19
R.O.R / MERITOR

17204517 130022 3810  K Complete C2
21208082 130022 3810  K Complete C2
21208082 131242 391320  K Complete C105
21208939 134382 34150 K Complete C26
21215632 130022 3810  K Complete C2
21215632 131242 391320  K Complete C105
21215633 130082 3811-02  K Complete C3
21215633 130102 3813  K Complete C4
21215633 135922 3813 KPP Complete C4
21215633 131442 391319  K Complete C105
21215761 130382 34156 KPP Complete C28
21215761 130402 34156-01  K Complete C29
21215762 130382 34156 KPP Complete C28
21215762 130402 34156-01  K Complete C29
21216135 134382 34150 K Complete C26
21216135 132162 34156-03  K Complete C29
21216135 134362 39039 K Complete C83
21216135 136952 39039 KPP Complete C83
21221307 120882 39002-A8 P Service Assy. C94
21221307 131302 34157  KPP Complete C34
21221307 133302 39002-A8  KPP Complete C82
21221307 131042 34157-04 KPP Complete C34
21221349 131162 391303  K Complete C103
21222239 137332 34028-05 K Complete C25
21122239 130082 3811-02  K Complete C3
21222442 136482 39002 A3  KPP 90º Complete C81
21222673 132062 3912  K Complete C14
21222673 131722 391314  K Complete C104
21223269 133462 39391 K Complete C89
21226046 130382 34156 KPP Complete C28
21226046 130402 34156-01  K Complete C29
21229214 123042 38608 P Service Assy. C78
21229214 136602 38608 KPP Complete C78
RENAULT  V.I

5.000.288.982 110942 3921 Roll R14
5.000.288.982 111712 3921 B Roll R15
5.000.296.816 110522 3876 Roll R12
5.000.452.939 130022 3810  K Complete C2
5.000.452.939 131242 391320  K Complete C105
5.000.640.399 135222 3876 K Complete C10
5.000.738.516 135222 3876 K Complete C10
5.000.745.918 130042 3811  K Complete C3
5.000.790.692 130102 3813  K Complete C4
5.000.790.692 135922 3813 KPP Complete C4
5.000.790.692 131442 391319  K Complete C105
5.000.805.284 110742 3769 Roll R9

NEWAY

905 570 82 132322 34159-07  KPP Complete C38
905 570 82 135502 34159-07 K ALU Complete C38
905 570 83 122362 39121 P Service Assy. C83
905 570 83 134942 39121 K Complete C83
905 570 85 134362 39039 K Complete C83
905 570 85 136952 39039 KPP Complete C83
905 571 13 131092 39362 KPP Complete C88
905 571 20 135142 39422 K Complete C90
905 571 20 137002 39422-01 KPP Complete C90
905 571 27 122982 39294 P Service Assy. C86
905 571 27 135102 39213 K Complete C84
905 571 27 136982 39213 KPP Complete C84
905 571 27 135262 39294 K Complete C86
905 571 27 136962 39294 KPP Complete C86
905 571 27(RL-196-14) 135002 39293 K Complete C86
905 571 27(RL-196A-14) 135002 39293 K Complete C86
905 571 85 132282 3813-05 K Complete C5
905 572 33 120472 34157-03 P Service Assy. S6
905 572 33 130942 34157-08 KPP Complete C35
905 572 33 134262 39002-A3/08 KPP Complete C82
90557086 134322 34159-08  KPP Complete C39
90557108 134322 34159-08  KPP Complete C39
90557135 134322 34159-08  KPP Complete C39
90557136 134322 34159-08  KPP Complete C39
M00557002 131902 34156-02 KPP Complete C29
M00557007 131122 34159-04  KPP Complete C37
M0057000G 133722 39910  K Complete C92
MO 557 019/030 120392 37313 P Service Assy. C75
MO 557 019/030 130772 37313 KPP Complete C74
MO 557 020/031 120392 37313 P Service Assy. C82
MO 557 020/031 130772 37313 KPP Complete C74
PETERBILT

301649 134482 39069 K Complete C83
301649 136972 39069 KPP Complete C83
302038 134482 39069 K Complete C83
302038 136972 39069 KPP Complete C83
302456 134482 39069 K Complete C83
302456 136972 39069 KPP Complete C83
304759 134482 39069 K Complete C83
304759 136972 39069 KPP Complete C83
306746 134482 39069 K Complete C83
306746 136972 39069 KPP Complete C83
307112 134482 39069 K Complete C83
307112 134482 39069 K Complete C83
2310042 134482 39069 K Complete C83
2310042 136972 39069 KPP Complete C83
03-06213 131072 39026 KPP Complete C82
03-07111 131072 39026 KPP Complete C82
03-07887 137192 38852KPP Complete C80



O 10

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No
RIDEWELL

1003589082C 132302 34156-05  KPP Complete C30
1003589101C 132322 34159-07  KPP Complete C38
1003589122C 132282 3813-05 K Complete C5
1003589245C 134022 39265 K Complete C85
1013589039C 136952 39039 KPP Complete C83
S-2061-C/S-5356-C 134362 39039 K Complete C83
1013589039C 134362 39039 K Complete C83
S-3052-C 134942 39121 K Complete C83
1003589121C 134942 39121 K Complete C83
S-5356-C 136952 39039 KPP Complete C83
S-5828-C 132322 34159-07  KPP Complete C38
S-740-C 132322 34159-07  KPP Complete C38
R&S TRUCK

1090023 134942 39121 K Complete C83
1090217 132302 34156-05  KPP Complete C30
1090218 134362 39039 K Complete C83
1090218 136952 39039 KPP Complete C83
SAF

2.228.0002.00 130022 3810  K Complete C2
2.228.0002.00 131242 391320  K Complete C105
2.228.2102.00 130022 3810  K Complete C2
2.228.2202.00 130022 3810  K Complete C2
2.228.2402.00 130022 3810  K Complete C2
2.228.2602.00 130022 3810  K Complete C2
2.229.0003.00 130102 3813  K Complete C4
2.229.0003.00 135922 3813 KPP Complete C4
2.229.0003.00 131442 391319  K Complete C105
2.229.0005.00 132062 3912  K Complete C14
2.229.2103.00 130102 3813  K Complete C4
2.229.2103.00 135922 3813 KPP Complete C4
2.229.2403.00 130102 3813  K Complete C4
2.229.2403.00 135922 3813 KPP Complete C4
2.229.2603.00 130102 3813  K Complete C4
2.229.2603.00 135922 3813 KPP Complete C4
3.228.0003.00 131442 391319  K Complete C105
3.229.0005.00 130822 34813  K Complete C55
3.229.0005.01 131722 391314  K Complete C104
3.229.0006.01 132062 3912  K Complete C14
3.229.0006.01 131722 391314  K Complete C104
3.229.0007.00 130282 34004  K Complete C24
3.229.0007.00 132782 34004  KPP Complete C24
3.229.0007.01 130282 34004  K Complete C24
3.229.0007.01 132782 34004  KPP Complete C24
3.229.0007.02 130282 34004  K Complete C24
3.229.0007.02 132782 34004  KPP Complete C24
3.229.0013.00 132062 3912  K Complete C14
3.229.0013.00 131722 391314  K Complete C104
3.229.0024.00 131162 391303  K Complete C103
3.229.0025.01 130072 32923-01 K Complete C23
3.229.0027.00 133422 32918 K Complete C22

RENAULT  V.I

5.000.805.998 111322 3817 Roll R11
5.000.815.749 133722 39910  K Complete C92
5.000.819.370 110302 3936 Roll R16
5.000.819.517 110702 3715 Roll R5
5.000.954.175 110922 3768 Roll R9
5.000.954.176 110682 3782 Roll R9
5.000.954.176 111732 3782 B Roll R10
5.001.829.866 110022 3661 Roll R3
5.001.832.067 121042 34912 P Service Assy. C60
5.001.843.640 110902 31924 Roll R23
5.001.855.856 121462 34915 P Service Assy. S8
5.006.172.377 135792 31415-01 K Complete C20
5.010.073.846 134982 3661 K Complete C1
5.010.073.847 135222 3876 K Complete C10
5.010.130.925 130102 3813  K Complete C4
5.010.130.925 135922 3813 KPP Complete C4
5.010.130.925 131442 391319  K Complete C105
5.010.151.378 110942 3921 Roll R14
5.010.151.379 110942 3921 Roll R14
5.010.211.724 122602 3902 P Service Assy. C13
5.010.211.724 130962 3902 K Complete C13
5.010.239.252 130362 34154  KPP Complete C26
5.010.239.971 131182 34911  K Complete C59
5.010.294.252 133702 34154-06 K Complete C28
5.010.294.252.B 130362 34154  KPP Complete C26
5.010.294.307 131202 34912  K Complete C60
5.010.294.309 135182 34915-01 K Complete C62
5.010.294.385 110602 3884 Roll R13
5.010.347.891 133902 31924 K Complete C20
5.010.488.070 135182 34915-01 K Complete C62
5.010.488.071 130362 34154  KPP Complete C26
5.010.557.355 135912 34912-10 K Complete C61
5010557356 131182 34911  K Complete C59
5010557356 135982 34911-04 K Complete C60
5010600262 135422 34922 KPP Complete C62
5011294308 121022 34911 P Service Assy. C59
5810111355 111322 3817 Roll R11
REYCO GRANNING

7640 135022 39321 KPP Complete C87
8896 135002 39293 K Complete C86
12882-01 / 2727 132302 34156-05  KPP Complete C30
12882-02 134942 39121 K Complete C83
12883-01 132322 34159-07  KPP Complete C38
12883-02 132282 3813-05 K Complete C5
12928-01 132522 34154-02  KPP Complete C27
17360-01 134362 39039 K Complete C83
23631-01 134502 38050 K Complete C76
RIDEWELL

S-2061-C 136952 39039 KPP Complete C83
10035890110C 132522 34154-02  KPP Complete C27



OE
M

LI
ST

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

O 11

2500009 130102 3813  K Complete C4
2500009 135922 3813 KPP Complete C4
2500425 133962 34159-04 K-ALU Complete C37
2500915 132082 30081  K Complete C18
SCANIA

255293 120522 34813 P Service Assy. C55
255293 130822 34813  K Complete C55
255293 131602 391322  K Complete C105
255294 132142 34159-06 KPP Complete C38
255294 133982 34159-S1 K-ALU Complete C36
255295 120522 34813 P Service Assy. C55
255295 130822 34813  K Complete C55
255295 131602 391322  K Complete C105
298568 120522 34813 P Service Assy. C55
298568 130822 34813  K Complete C55
298568 131602 391322  K Complete C105
325748 120522 34813 P Service Assy. C55
325748 130822 34813  K Complete C55
325748 131602 391322  K Complete C105
402315 110222 3897 Roll R14
411622 110222 3897 Roll R14
411623 110222 3897 Roll R14
411.627 110202 3896 Roll R13
434932 111722 3927 B Roll R15
434932 110282 3928 Roll R16
470919 134682 330307 K Complete C46
470920 122662 330301 P Service Assy. C93
470920 134622 330301 K Complete C93
470921 135632 330302 K Complete C93
470922 122672 330304 P Service Assy. C94
470922 134582 330304 K Complete C94
473868 134602 334506 K Complete C11
475149 134682 330307 K Complete C46
488263 135202 331114 K Complete C95
488264 134602 334506 K Complete C11
488265 122662 330301 P Service Assy. C93
488265 134622 330301 K Complete C93
492678 135482 330306 K Complete C94
492680 122712 330305 P Service Assy. C94
492680 134702 330305 K Complete C94
520.243 111662 30134 Roll R19
523.208 111662 30134 Roll R19
523229 111642 3944 BRZ Roll R17
533802 111642 3944 BRZ Roll R17
1107674 120522 34813 P Service Assy. C55
1107674 130822 34813  K Complete C55
1107674 131602 391322  K Complete C105
1123386 133242 34156-12 KPP Complete C31
1314903 134762 36251 K Complete C68
1314904 122582 37315 P Service Assy. C75
1314904 133762 37315 K Complete C75

SAF

3.229.0028.00 135552 32923 KPP Complete C23
3.229.0029.00 132942 32618  KPP Complete C21
3.229.0029.00 130302 34022  K Complete C24
3.229.0029.00 132802 34022  KPP Complete C24
3.229.0030.00 132702 32926  K Complete C23
3.229.0031.00 120342 34023 P Service Assy. C25
3.229.0031.00 130322 34023  K Complete C25
3.229.0033.00 132922 32619  KPP Complete C22
3.229.0036.00 130432 32922 K Complete C22
3.229.2127.00 133422 32918 K Complete C22
3.229.2129.00 132942 32618  KPP Complete C21
3.229.2129.00 130302 34022  K Complete C24
3.229.2129.00 132802 34022  KPP Complete C24
3.229.2131.00 130322 34023  K Complete C25
3.229.2227.00 133422 32918 K Complete C22
3.229.2229.00 132942 32618  KPP Complete C21
3.229.2229.00 130302 34022  K Complete C24
3.229.2229.00 132802 34022  KPP Complete C24
3.229.2231.00 130322 34023  K Complete C25
3.229.2429.00 132942 32618  KPP Complete C21
3.229.2429.00 130302 34022  K Complete C24
3.229.2429.00 132802 34022  KPP Complete C24
3.229.2431.00 130322 34023  K Complete C25
4.284.3003.01 120302 34004 P Service Assy. C24
4.284.3006.00 121662 32619 P Service Assy. C22
4.284.3006.00 120322 34022 P Service Assy. C24
SAF Type

2618 130282 34004  K Complete C24
2618 132782 34004  KPP Complete C24
2618 120302 34004 P Service Assy. C24
2618 V 132942 32618  KPP Complete C21
2618 V 121662 32619 P Service Assy. C22
2618 V 130302 34022  K Complete C24
2618 V 132802 34022  KPP Complete C24
2618 V 120322 34022 P Service Assy. C24
2619 V 132922 32619  KPP Complete C22
2619 V 121662 32619 P Service Assy. C22
2619 V 120322 34022 P Service Assy. C24
2923 VK 135552 32923 KPP Complete C23
2926 N P01 132702 32926  K Complete C23
2926 V P02 132062 3912  K Complete C14
E1 2918 AR 414 130022 3810  K Complete C2
SAUER

 P50-732 132282 3813-05 K Complete C5
 P50-733 134942 39121 K Complete C83
 P50-734 134362 39039 K Complete C83
 P50-734 136952 39039 KPP Complete C83
P50-733B 134942 39121 K Complete C83
SAMRO

25008 130022 3810  K Complete C2



O 12

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No
SCANIA

1314905 133982 34159-S1 K-ALU Complete C36
1314906 120522 34813 P Service Assy. C55
1314906 130822 34813  K Complete C55
1314906 131602 391322  K Complete C105
1320151 133702 34154-06 K Complete C28
1327144 134792 34159-11 K Complete C40
1379392 132122 34913  K Complete C61
1379393 120582 34913 P Service Assy. C61
1386198 123112 36198 P Service Assy. S9
1386199 132862 36199  K Complete C67
1386200 133182 36200 K Complete C67
1402423 134762 36251 K Complete C68
1434506 134602 334506 K Complete C98
1434930 131522 34930 KPP Complete C63
1434933 131502 34933 K Complete C63
1440294 132122 34913  K Complete C61
1440301 122662 330301 P Service Assy. C93
1440301 134622 330301 K Complete C93
1440302 135632 330302 K Complete C93
1440303 135202 331114 K Complete C95
1440304 122672 330304 P Service Assy. C94
1440304 134582 330304 K Complete C94
1440305 122712 330305 P Service Assy. C94
1440305 134702 330305 K Complete C94
1440306 135482 330306 K Complete C94
1440307 134682 330307 K Complete C46
1475106 135202 331114 K Complete C95
1521114 135202 331114 K Complete C95
1726237 136702 331237 K Complete C95
1726238 136712 331238 K Complete C96
1726239 136722 331239 K Complete C96
1726240 136732 331240 K Complete C96
1726241 136742 331241 K Complete C97
1726242 136752 331242 K Complete C97
1726243 136762 331243 K Complete C97
1726246 136772 331246 K Complete C98
1726247 136782 331247 K Complete C98
1731113 130452 34113 K Complete C26
1865755 130162 35755 K Complete C65
1865759 130192 35759 KPP Complete C66
SCANIA BUSSAR (South America)

523229 110362 3945 Roll R18
SCHMITZ

751065 133802 38186 KPP Complete C77
015 323 130342 34028  K Complete C25
016 512 135872 36318 K Complete C70
750 208 110022 3661 Roll R3
750 209 110042 3662 Roll R4
750 212 110142 3727 Roll R7
750 212 110982 3728 Roll R7

SCHMITZ

750 215 110482 3719 Roll R6
750 999 133202 34158 KPP Complete C35
750 999 133782 38185 KPP Complete C77
751 020HP 135882 36286 K Complete C68
S015323 136542 30283 K Complete C19
US04031 134722 30285 K Complete C19
SOLARIS

1001 101 060 120452 31070 P Service Assy. C20
1001 101 060 130792 31070 K Complete C20
T.E.C

506003 132282 3813-05 K Complete C5
505859/ 01 130102 3813  K Complete C4
505859/01 135922 3813 KPP Complete C4
506243/ 01 130022 3810  K Complete C2
TERBERG

21071483 130102 3813  K Complete C4
21071483 135922 3813 KPP Complete C4
TITAN
91687700000 130102 3813  K Complete C4
91687700000 135922 3813 KPP Complete C4
TOYO

 TRL230H 135142 39422 K Complete C90
 TRL230H 137002 39422-01 KPP Complete C90
 TRL240/393 132302 34156-05  KPP Complete C30
 TRL-250 135722 34159-07  K Complete C38
 TRL-250 132322 34159-07  KPP Complete C38
 TRL-250 135502 34159-07 K ALU Complete C38
TRL-270 / 476 132282 3813-05 K Complete C5
TOYOTA

Coaster Long Type 122842 38002 P Service Assy. S9
Coaster Short Type 122862 38003  P Service Assy. S10
TRAILOR

0036158E 130102 3813  K Complete C4
0036158E 135922 3813 KPP Complete C4
650234Y 130102 3813  K Complete C4
650234Y 135922 3813 KPP Complete C4
M00 1774 133382 34159-02 KPP Complete C37
TRASCAR

3003000060 133542 361481 K Complete C100
3003000070 122592 361421 P Service Assy. C99
3003000070 133602 361421 K Complete C99
TRES EIXOS

1501 111792 30232 Roll R19
1502 111682 30375 Roll R20
1502 111782 30375-01 Roll R29
TRIANGLE

8310 132302 34156-05  KPP Complete C30
8311 134362 39039 K Complete C83
8311 136952 39039 KPP Complete C83
8312 134482 39069 K Complete C83



OE
M

LI
ST

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

O 13

TRIANGLE

8312 136972 39069 KPP Complete C83
8313 132282 3813-05 K Complete C5
8314 135142 39422 K Complete C90
8314 137002 39422-01 KPP Complete C90
8315 135722 34159-07  K Complete C38
8315 132322 34159-07  KPP Complete C38
8315 135502 34159-07 K ALU Complete C38
8317 134942 39121 K Complete C83
8320 134502 38050 K Complete C76
8321 132382 34159-12 K Complete C40
8321 135492 34159-12 K-ALU Complete C40
8321 135302 34159-12 KPP Complete C40
8325 133242 34156-12 KPP Complete C31
8326 134322 34159-08  KPP Complete C39
8345 132522 34154-02  KPP Complete C27
8353 132742 34156-08  KPP Complete C31
8382 134522 32303 K Complete C21
8407 135102 39213 K Complete C84
8407 136982 39213 KPP Complete C84
8408 137112 39219KPP Complete C84
8410 135772 39466 K Complete C90
8410 136992 39466 KPP Complete C90
8424 135002 39293 K Complete C86
8424 136942 39293 KPP Complete C86
8429 132582 39923KPP Complete C92
8433 134042 39270 K Complete C85
8434 132762 30081-01  K Complete C18
8435 134022 39265 K Complete C85
8443 132502 39921KPP Complete C92
8449 137212 38829KPP Complete C80
8472 137192 38852KPP Complete C80
8484 137182 38204KPP Complete C78
8519 133442 39373 K Complete C89
8519 136122 39373 KPP Complete C89
8521 135542 39371 K Complete C88
8521 136932 39371 KPP Complete C88
8522 137152 38755 K ALU Complete C80
8533 137082 38713KPP Complete C79
TRUCKSTELL

63.647 135722 34159-07  K Complete C38
63.647 132322 34159-07  KPP Complete C38
63.647 135502 34159-07 K ALU Complete C38
TROUILLET

HB10315 131242 391320  K Complete C105
ST225-675 131442 391319  K Complete C105
VAN HOOL

624319-420 110002 3644 Roll R3
624319-560 111472 3788 Roll R10
624319-610 110002 3644 Roll R3
624319-640 110142 3727 Roll R7

VAN HOOL

624319-670 110022 3661 Roll R3
624319-690 110022 3661 Roll R3
624319-860 110062 3673 Roll R4
624319-860 110742 3769 Roll R9
624319-860 110342 3944 Roll R17
VIBERTI
128147102 132822 3813-07 K Complete C6
128147109 131642 391210  K Complete C102
128147111 134422 391210-01 K Complete C103
128147122 130102 3813  K Complete C4
128147122 135922 3813 KPP Complete C4
128147122 131442 391319  K Complete C105
VOLKSWAGEN

2TB 511101A 111682 30375 Roll R20
2TB 511101A 111782 30375-01 Roll R29
VOLVO

0 134 445 110002 3644 Roll R3
1 075 290 110102 3716 Roll R6
1 075 290 110842 31421 Roll R22
1 075 366 110902 31924 Roll R23
1 076 076 134562 36075 K Complete C66
1 076 416 132902 36416  K Complete C70
1 076 418 134302 36418 K Complete C71
1 076 420 135282 36420 K Complete C71
1 076 594 131842 34713 K Complete C50
1 076 595 121222 34713 P Service Assy. C50
1 079 718 121982 34718 P Service Assy. C50
1 080 707 130022 3810  K Complete C2
1 082 085 110562 3883 Roll R13
1 082 130 110562 3883 Roll R13
1 134 445 110002 3644 Roll R3
1 134 445 111742 3644 B Roll R3
1 134 446 110142 3727 Roll R7
1 137 882 110022 3661 Roll R3
1 137 888 110022 3661 Roll R3
1 199 893 110002 3644 Roll R3
1 590 136 110122 3720 Roll R6
1 593 842 110102 3716 Roll R6
1 611 776 110062 3673 Roll R4
1 611 776 110342 3944 Roll R17
1 612 455 110922 3768 Roll R9
1 622 111 110002 3644 Roll R3
1 622 116 110502 3713 Roll R5
1 629 193 110122 3720 Roll R6
1 629 780 132962 39780  K Complete C91
1 999 893 110342 3944 Roll R17
350003-3201 137112 39219KPP Complete C84
352223-3203 137112 39219KPP Complete C84
350003-3204 137112 39219KPP Complete C84
350003-3209 137112 39219KPP Complete C84



O 14

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No
VOLVO

20 531 985 132902 36416  K Complete C70
20 531 986 134462 37804 K Complete C75
20 531 987 134302 36418 K Complete C71
20 531 988 135282 36420 K Complete C71
20 540 789 111552 30789 Roll R20
20 540 792 111532 30792 Roll R21
20 554 753 135932 36753 K Complete C71
20 554 759 131962 34718 K Complete C50
20 554 760 135962 36760 K Complete C68
20 554 761 132002 34925  K Complete C62
20 554 762 135972 36762 K Complete C72
20 554 770 135992 36770 K Complete C72
20 573 108 135832 36108 K Complete C66
20 573 113 136562 36113 K Complete C67
20 573 311 136652 36311 K Complete C69
20 573 312 136662 36312 K Complete C70
20 582 206 135582 37803 K Complete C75
20 582 209 134462 37804 K Complete C75
20 582 212 135282 36420 K Complete C71
20 582 214 134302 36418 K Complete C71
20 582 215 132902 36416  K Complete C70
20 712 428 120292 32428 P Service Assy. C21
21 041 697 136562 36113 K Complete C67
6 135 049 110062 3673 Roll R4
6 782 726 111472 3788 Roll R10
6 797 169 110502 3713 Roll R5
6 797 169 110122 3720 Roll R6
6 885 533 110702 3715 Roll R5
70 313 718 121982 34718 P Service Assy.
70 313 718 135832 36108 K Complete C66
70 321 690 121982 34718 P Service Assy.
70 321 692 121982 34718 P Service Assy.
70 321 692 135832 36108 K Complete C66
85 101 145 134482 39069 K Complete C83
85 101 145 134482 39069 K Complete C83
85 101 147 134042 39270 K Complete C85
85 101 148 135142 39422 K Complete C90
85 101 148 137002 39422-01 KPP Complete C90
85 101 153 134362 39039 K Complete C83
85 101 155 134022 39265 K Complete C85
85 101 159 134942 39121 K Complete C83
85 101 160 135022 39321 KPP Complete C87
B12 B Bus 135832 36108 K Complete C66
9 959 514 121062 36311 P Service Assy.
20 712 428 130652 32428 K Complete C69
1 075 365 132002 34925  K Complete C62
1 629 782 132002 34925  K Complete C62
2TB 411099 ate 2001 111692 3928-01 Roll R16
VW BUS

2Z0.616.041 111802 30427 Roll R20

VOLVO

3 027 271 110422 3415-25 Roll R1
3 027 272 110442 3415-28 Roll R2
3 111 277 111302 31277 Roll R21
3 116 354 110262 3927 Roll R15
3 116 983 110282 3928 Roll R16
3 159 252 111742 3644 B Roll R3
3 159 253 110022 3661 Roll R3
3 171 692 135582 37803 K Complete C75
3 171 693 132902 36416  K Complete C70
3 171 694 134462 37804 K Complete C75
3 171 695 134302 36418 K Complete C71
3 173 271 135992 36770 K Complete C72
3 195 240 121082 36312 P Service Assy. C70
3 934 699 137212 38829KPP Complete C80
3 987 630 135932 36753 K Complete C71
8 061 151 131132 39296 KPP Complete C87
8 079 902 137212 38829KPP Complete C80
8 084 296 137212 38829KPP Complete C80
8 097 092 137212 38829KPP Complete C80
8 169 868 131132 39296 KPP Complete C87
21 013 010 123192 30010 P Service Assy. C46
20 413 888 137212 38829KPP Complete C80
20 505 399 137212 38829KPP Complete C80
20 535 875 130852 36876 T Complete C73
20 535 877 130892 36877 T Complete C73
20 554 771 130912 36771 K Complete C73
20 573 305 132542 36305 T Complete C69
20 573 306 132562 36306 T Complete C69
20 352 247 135942 36247 KPP Complete C68
20 374 510 132902 36416  K Complete C70
20 374 511 134302 36418 K Complete C71
20 386 228 135942 36247 KPP Complete C68
20 427 800 135582 37803 K Complete C75
20 427 801 134462 37804 K Complete C75
20 427 802 135282 36420 K Complete C71
20 427 802 135592 37805 K Complete C76
20 427 803 135582 37803 K Complete C75
20 427 804 134462 37804 K Complete C75
20 452 136 135962 36760 K Complete C68
20 452 138 132002 34925  K Complete C62
20 452 138 135972 36762 K Complete C72
20 452 472 135932 36753 K Complete C71
20 456 150 135582 37803 K Complete C75
20 456 152 132902 36416  K Complete C70
20 456 154 134462 37804 K Complete C75
20 456 156 134302 36418 K Complete C71
20 456 158 135282 36420 K Complete C71
20 479 802 135972 36762 K Complete C72
20 480 202 136562 36113 K Complete C67
20 531 984 135582 37803 K Complete C75



OE
M

LI
ST

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No

OEM LIST

O 15

WARSTEINER

501 110042 3662 Roll R4
WATSON & CHALIN

 AS-0011 132302 34156-05  KPP Complete C30
 AS-0012 134362 39039 K Complete C83
 AS-0012 136952 39039 KPP Complete C83
 AS-0013 134942 39121 K Complete C83
 AS-0017 135142 39422 K Complete C90
 AS-0017 137002 39422-01 KPP Complete C90
 AS-0023 132282 3813-05 K Complete C5
 AS-0036 135022 39321 KPP Complete C87
 AS-0038 134322 34159-08  KPP Complete C39
AS-0039 137142 38050-01 K Complete C76
 AS-0039 134502 38050 K Complete C76
 AS-0040 135722 34159-07  K Complete C38
 AS-0040 132322 34159-07  KPP Complete C38
 AS-0040 135502 34159-07 K ALU Complete C38
AS-0044 132522 34154-02  KPP Complete C27
 AS-0046 134322 34159-08  KPP Complete C39
AS 0049 131092 39362 KPP Complete C88
AS 0057 131092 39362 KPP Complete C88
AS 0057 137122 39370KPP Complete C88
AS 0061 137132 39243KPP Complete C85
 AS-0077 134482 39069 K Complete C83
 AS-0077 134482 39069 K Complete C83
 AS-0083 134942 39121 K Complete C83
 AS-0084 134042 39270 K Complete C85
AS 0090 132502 39921KPP Complete C92
WEWELER

US 04028 130342 34028  K Complete C25
US 04030P 122902 30283 P Service Assy. C19
US 04030P 136542 30283 K Complete C19
US 06285 133202 34158 KPP Complete C35
US 06285F 133782 38185 KPP Complete C77
US 06286F 135882 36286 K Complete C68
US 06287 120732 34157-04 P Service Assy. C34
US 06287 131302 34157  KPP Complete C34
US 06316F 133802 38186 KPP Complete C77
US 06318F 135872 36318 K Complete C70
US 07074C 120712 34157-05 P Service Assy. C34
US 07074C 130902 34157-05 KPP Complete C34
US O7074F 136482 39002 A3  KPP 90º Complete C81
US 07074P 120712 34157-05 P Service Assy. C34
US 07074P 130902 34157-05 KPP Complete C34
US 07337 130022 3810  K Complete C2
US 07345 130102 3813  K Complete C4
US 07345 135922 3813 KPP Complete C4
US 07364 120732 34157-04 P Service Assy. C34
US 07364 131302 34157  KPP Complete C34
US 07364 131042 34157-04 KPP Complete C34
US 07364 133302 39002-A8  KPP Complete C82

OEM LIST
AIRTECH

Product NoOEM No AIRTECH
Order No Remark Page

No
WEWELER

US 07380 132702 32926  K Complete C23
US 07380F 131162 391303  K Complete C103
US 35864 130382 34156 KPP Complete C28
US 35864 132742 34156-08  KPP Complete C31
US 500-10 KD 132222 3941-01  KPP Complete C16
US 510030 UD 133362 3940 KPP Complete C14
US 87 EURO F 133302 39002-A8  KPP Complete C82
US 87408 130102 3813  K Complete C4
US 87408 135922 3813 KPP Complete C4
US 87413 130022 3810  K Complete C2
US 96681 132062 3912  K Complete C14
US 96681F 131722 391314  K Complete C104
YORK

785168 130022 3810  K Complete C2
785170 130102 3813  K Complete C4
785170 135922 3813 KPP Complete C4
506243/01 131242 391320  K Complete C105
ZORZI

298568 121762 36873 P Service Assy. S9
298568 131602 391322  K Complete C105
1006545 133842 36885 K Complete C74
1006546 133822 36884 K Complete C74
1006551 131662 391209  K Complete C102
1006552 131562 391304  K Complete C103
1006553 132822 3813-07 K Complete C6
1006557 133222 30076 K Complete C18





CR1

AIRTECH
Product No

AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No AIRTECH

Product No
AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No

CR
OS

S
LI

ST

CONTITECH

644 N 110002 3644 Roll R3
644 N 111742 3644 B Roll R3
661 N 110022 3661 Roll R3
661 N P01 134982 3661 K Complete C1
662 N 110042 3662 Roll R4
673 N 110062 3673 Roll R4
701 N 110082 3701 Roll R4
706 N1 110662 3706 Roll R5
713 N 110502 3713 Roll R5
715 N 110702 3715 Roll R5
716 N 110102 3716 Roll R6
719 N 110482 3719 Roll R6
720 N 110122 3720 Roll R6
724 N P01 122822 3724 P Service Assy. C1
724 N P02 135572 3724 K Complete C1
725 N P01 120002 3725 P Service Assy. C2
725 N P02 130002 3725  K Complete C2
725 N P03 130642 3725-01  K Complete C2
727 N 110142 3727 Roll R7
728 N 110982 3728 Roll R7
737 N 110162 3737 Roll R7
746 N 110182 3746 Roll R8
757 N 110582 3757 Roll R8
762 N 110542 3762 Roll R8
768 N 110922 3768 Roll R9
769 N 110742 3769 Roll R9
782 N 110682 3782 Roll R9
782 N 111732 3782 B Roll R10
786 N 110722 3786 Roll R10
788 N 111472 3788 Roll R10
808 NTB 120602 3808 T Without Plate S2
809 NTB 120922 3809 T Without Plate S2
810 MB 131242 391320  K Complete C105
810 MB 130022 3810  K Complete C2
810 N 120022 3810 P Service Assy. C2
810 NTB 120622 34810 T Without Plate S7
811 MB 130042 3811  K Complete C3
811 MB/0 120042 3811 P Service Assy. C3
811 MB3 131462 391324  K Complete C106
813 MB3 131462 391324  K Complete C106
811 M16 120102 3811-03 P Service Assy. S2
811 M16 K1 131082 3811-07  K Complete C4
811 M16 (with bumper) 121322 3811-07 P Service Assy. C4
813 MB 130102 3813  K Complete C4
813 MB 135922 3813 KPP Complete C4
813 MB/0 120122 3813 P Service Assy. C4
813 MB 131442 391319  K Complete C105
817 N 111322 3817 Roll R11
819 N 110642 3819 Roll R11
836 M K1 131022 3836  K Complete C8

CONTITECH

836 M 120142 3836 P Service Assy. C8
836 MB 120162 3836-01 P Service Assy. S3
836 M2 K1 131062 3836-02 K Complete C9
836 M2 120182 3836-02 P Service Assy. C9
836 MB K4 131922 3836-04 K Complete C9
836 N P05 130502 3836-05 K Complete C9
836 MB K6 131942 3836-06 K Complete C10
836 N P06 130582 3836-16 K Complete C10
838 N 110762 3838 Roll R11
873 N 110802 3873 Roll R12
876 N 110522 3876 Roll R12
876 MB 135222 3876 K Complete C10
881 MB 120222 3881 P Service Assy. C11
882 N1 110622 3882 Roll R12
883 N1 110562 3883 Roll R13
884 N 110602 3884 Roll R13
887 M 122612 3887 P Service Assy. C12
 887 M K1 134782 38683 K Complete C78
 887 MB K6 134902 3887 K Complete C12
887 NP 03 137052 3887-03 K Complete C12
887 NP 04 137062 3887-04 K Complete C12
889 M 123122 3889 P Service Assy. C12
889 M K2 136632 3889 K Complete C13
896 N 110202 3896 Roll R13
897 MB 131282 3897  K Complete C13
897 N 110222 3897 Roll R14
902 MB 130962 3902 K Complete C13
902 N 122602 3902 P Service Assy. C13
909 NTB 120962 3909 T Without Plate S4
912 N P02 132062 3912  K Complete C14
912 N P02 131722 391314  K Complete C104
912 N P01 132702 32926  K Complete C23
916 N1 110242 3916 Roll R14
921 N 110942 3921 Roll R14
921 N 111712 3921 B Roll R15
927 N 110262 3927 Roll R15
928 N 110282 3928 Roll R16
936 N 110302 3936 Roll R16
940 MB 120242 3940 P Service Assy. C14
941 MB 120262 3941 P Service Assy. C15
942 MB 120542 3942 P Service Assy. C16
944 MB 131262 3944  K Complete C17
944 N 111642 3944 BRZ Roll R17
943 N 110322 3943 Roll R17
944 N 110342 3944 Roll R17
945 N 110362 3945 Roll R18
951 MB 120562 3951 P Service Assy. S4
975 N 111442 3975 Roll R18
1415 N 111482 31415 Roll R22
1415 N P01 135792 31415-01 K Complete C20



AIRTECH
Product No

AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No AIRTECH

Product No
AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No

CR1

CONTITECH

1421 N 110842 31421 Roll R22
1720 N 110862 31720 Roll R22
1782 N1 111172 31782 Roll R23
1885 N1 110402 31885 Roll R23
1888 N 111262 31888 Roll R30
1924 N1 110902 31924 Roll R23
1924 N1 P05 133902 31924 K Complete C20
2136 M 135962 36760 K Complete C72
4004 N P02 120302 34004 P Service Assy. C24
4004 N P03 (Steel) 130282 34004  K Complete C24
4004 N P03 132782 34004  KPP Complete C24
4007 N P01 123052 34007 P Service Assy. S5
4022 N P02 121662 32619 P Service Assy. C22
4022 N P02 120322 34022 P Service Assy. C24
4022 N P03 132942 32618  KPP Complete C21
4022 N P03 (Steel) 130302 34022  K Complete C24
4022 N P03 132802 34022  KPP Complete C24
4022 N P05 132922 32619  KPP Complete C22
4023 N 120342 34023 P Service Assy. C25
4023 N P03 130322 34023  K Complete C25
4028 N P02 130342 34028  K Complete C25
4028 N 120362 34028 P Service Assy. C25
4028 NP05 137332 34028-05 K Complete C25
4150 N P04 134382 34150 K Complete C26
4150 N 122722 34150 P Service Assy. C26
4150 N P01 121122 34150 T Without Plate C26
4154 N P05 134162 34154  K Complete C26
4154 N P05 130362 34154  KPP Complete C26
4156 N P05 120402 34156 P Service Assy. C28
4156 N P05 120662 34156 T Without Plate C28
4156 N P07 130402 34156-01  K Complete C29
4156 N P09 132162 34156-03  K Complete C29
4156 N P15 130382 34156 KPP Complete C28
4157 N P03 120472 34157-03 P Service Assy. S6
4157 N P04 131302 34157  KPP Complete C34
4157 N P04 131042 34157-04 KPP Complete C34
4157 N P04 120732 34157-04 P Service Assy. C34
4157 N P05 130902 34157-05 KPP Complete C34
4157 N P05 120712 34157-05 P Service Assy. C34
4157 N P08 130942 34157-08 KPP Complete C35
4157 N P09 136482 39002 A3  KPP 90º Complete C81
4157 N P10 130922 34157-10 KPP Complete C35
4158 N P02 121002 34158 P Service Assy. C35
4158 N P03 133202 34158 KPP Complete C35
4159 N P01 122002 34159-07 P Service Assy. C38
4159 N P03 130442 34159-01 K Complete C36
4159 N P05 120442 34159 P Service Assy. C36
4159 N P07 132042 34159-05  K Complete C38
4159 N P09 133382 34159-02 KPP Complete C37
4159 N P12 135722 34159-07  K Complete C38

CONTITECH

4159 N P14 133962 34159-04 K-ALU Complete C37
4159 N P14 133682 34159-10 KPP Complete C39
4183 N1 121502 34183-24 P Service Assy. C43
4183 N2 122622 34183-23 P Service Assy. C43
4183 N P23 135042 34183-23 K Complete C43
4183 N P24 135822 34183-24 K Complete C43
4185 N P01 132172 34185-01 K Complete C43
4185 N P01 122172 34185-01 P Service Assy. C43
4185-21K 132192 34185-21 K Complete C44
4187 N P01 (Voss 230) 131482 34187-01 K Complete C44
4187 N P21 (Voss 232) 135892 34187-21 K Complete C44
4187 N P22 132462 34187-22 K Complete C45
4390 N P01 130982 34390-01  K Complete C45
4390 N1 121102 34390-01 P Service Assy. C45
4390 N P02 131002 34390-02  K Complete C45
4390 N2 120722 34390-02 P Service Assy. C45
 4390 N P03 134842 34390-03 K Complete C46
 4390 N P04 134862 34390-04 K Complete C46
 4390 N P21 135602 34390-21 K Complete C46
4390 N21 122512 34390-21 P Service Assy. C46
 4390 N P22 135622 34390-22 K Complete C47
4390 N22 122522 34390-22 P Service Assy. C47
 4390 N P23 135662 34390-23 K Complete C47
 4390 N P24 135672 34390-24 K Complete C47
4391 N P01 130092 34391-01 K Complete C48
4391 N P02 137042 34391-02 K Service Assy. C48
4391 N P21 130132 34391-21 K Service Assy. C48
4391 N P22 130152 34391-22 K Service Assy. C49
4420 N P01 134562 36075 K Complete C66
4644 N 122472 34644 P Service Assy. C49
4644 N P 02 132472 34644 K Complete C49
4705 N1 P01 123102 34705 P Service Assy. S6
4713 N 121222 34713 P Service Assy. C50
4713 N P02 131842 34713 K Complete C50
4718 N P01 131962 34718 K Complete C50
4725 N P01 122932 34725 P Service Assy. S6
4737 N 122692 34737-01 P Service Assy. C50
4737 N P01 133022 34737-01 K Complete C50
4737 N P02 133042 34737-02 K Complete C51
4737 N P21 135642 34737-21 K Complete C51
4737 N P22 135652 34737-22 K Complete C51
4757 N1 122572 34757-01 P Service Assy. C52
4757 N P01 132982 34757-01 K Complete C52
4757 N2 122802 34757-02 P Service Assy. C52
4757 N P02 133002 34757-02 K Complete C52
4757 N P09 134882 34757-09 K Complete C52
 4757 N P21 135692 34757-21 K Complete C53
 4757 N P22 135712 34757-22 K Complete C53
 4757 N P29 135682 34757-29 K Complete C53
 4758 N P01 135852 34758-01 K Complete C54



CR3

AIRTECH
Product No

AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No AIRTECH

Product No
AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No

CR
OS

S
LI

ST

CONTITECH

6609 N P01 132002 34925  K Complete C62
7802 M 135592 37805 K Complete C76
9514 M 121062 36311 P Service Assy.
9780 N 132962 39780  K Complete C91
54762 M 135972 36762 K Complete
54771 M 130912 36771 K Complete
73311 M 136652 36311 K Complete C69
82212 M 135282 36420 K Complete C71
9 9-12 P 314 135142 39422 K Complete C90
9 9-12 P 314 137002 39422-01 KPP Complete C90
9 9K-15 P 423 135262 39294 K Complete C86
9 9K-15 P 423 136962 39294 KPP Complete C86
9 9K-15 P 424 135002 39293 K Complete C86
9 9K-15 P 424 136942 39293 KPP Complete C86
9 10-10 P311 134362 39039 K Complete C83
9 10-10 P311 136952 39039 KPP Complete C83
9 10-12 A 427 137162 39640 K ALU Complete C91
9 10-12 P 484 137182 38204KPP Complete C78
9 10-13.5 S 433 134042 39270 K Complete C85
9 10-14 P 312 134482 39069 K Complete C83
9 10-14 P 312 136972 39069 KPP Complete C83
9 10-14 P 345 132522 34154-02  KPP Complete C27
9 10-16 P 310 132302 34156-05  KPP Complete C30
9 10-16 P 325 133242 34156-12 KPP Complete C31
9 10-16 P 353 132742 34156-08  KPP Complete C31
9 10-16 P 408 137112 39219KPP Complete C84
9 10-16 P 410 135772 39466 K Complete C90
9 10-16 P 410 136992 39466 KPP Complete C90
9 10-16 P 441 135102 39213 K Complete C84
9 10-16 P 441 136982 39213 KPP Complete C84
9 10 -16 P 449 137212 38829KPP Complete C80
9 10 -17.5 P 429 132582 39923KPP Complete C92
9 10-17.5 P 440 133442 39373 K Complete C89
9 10-17.5 P 440 136122 39373 KPP Complete C89
9 10-17.5 P 443 132502 39921KPP Complete C92
9 10-17.5 P 456 137172 39648KPP Complete C91
9 10-17.5 P 519 133442 39373 K Complete C89
9 10-17.5 P 519 136122 39373 KPP Complete C89
9 10-17.5 P 521 135542 39371 K Complete C88
9 10-17.5 P 521 136932 39371 KPP Complete C88
9 10-19 P 315 132322 34159-07  KPP Complete C38
9 10-19 P 315 135502 34159-07 K ALU Complete C38
9 10-19 P 321 132382 34159-12 K Complete C40
9 10-19 P 321 135492 34159-12 K-ALU Complete C40
9 10-19 P 321 135302 34159-12 KPP Complete C40
9 10-19 P 326 134322 34159-08  KPP Complete C39
9 10-19 P 435 134022 39265 K Complete C85
9 10-19 P 472 137192 38852KPP Complete C80
9 10S-16 A 382 134522 32303 K Complete C21
9.10-19 P 384 137132 39243KPP Complete C85

CONTITECH

 4758 N P21 135862 34758-21 K Complete C54
4759 N P01 137012 34759-01 K Complete C54
4759 N P21 137022 34759-21 K Complete C55
4810 N P05 133422 32918 K Complete C22
4813 N P07 130822 34813  K Complete C55
4813 N07 120522 34813 P Service Assy. C55
4813 T 121241 34813 T Service Assy. C55
4838 N 121202 34838 P Service Assy. S7
4813 N P07 131602 391322  K Complete C105
4838 N P01 131222 34838-01 K Complete C55
4838 N P02 132442 34838-02 K Complete C56
4838 N P03 132482 34838-03 K Complete C56
4838 N P21 135702 34838-21 K Complete C56
4838 N P22 135802 34838-22 K Complete C57
4838 N P23 135812 34838-23 K Complete C57
4881 N P02 120462 34881 P Service Assy. S7
 4882 N1 P05 135512 34882 K Complete C58
4882 N1 P01 122122 34882 P Service Assy. C58
 4883 N1 P07 135522 34883 K Complete C58
4883 N1 P01 122142 34883 P Service Assy. C58
 4884 N1 P06 135532 34884 K Complete C58
4884 N1 P01 122162 34884 P Service Assy. C58
4885 N1 P02 136642 34885 K Complete C59
4885 N1 P01 123022 34885 P Service Assy. C59
4886 N P01 136582 34886 K Complete C59
4886 N P02 122942 34886 P Service Assy. C59
4911 N 121022 34911 P Service Assy. C59
4911 N P03 131182 34911  K Complete C59
4911 N P04 135982 34911-04 K Complete C60
4912 N P07 131202 34912  K Complete C60
4912 N P08 121042 34912 P Service Assy. C60
 4912 N P10 135912 34912-10 K Complete C61
4912 N P10 123212 34912-10 P Service Assy. C61
4913 N P02 132122 34913  K Complete C61
4913 N P04 120582 34913 P Service Assy. C61
4915 N P03 121462 34915 P Service Assy. S8
 4915 N P06 135182 34915-01 K Complete C62
 4922 MB 135422 34922 KPP Complete C62
4922 N 122552 34922 P Service Assy. S8
4940 N P02 120482 34940 P Service Assy. C63
4941 N P02 120502 34941 P Service Assy. C64
4960 N P02 120742 34960 P Service Assy. C64
4961 N P02 120762 34961 P Service Assy. C65
5240 N 121082 36312 P Service Assy. C70
6602 N P01 136562 36113 K Complete C67
6604 N P01 135832 36108 K Complete C66
6605 N P01 135582 37803 K Complete C75
6606 N P01 134462 37804 K Complete C75
6607 N P01 134302 36418 K Complete C71
6608 N P01 132902 36416  K Complete C70

C69

C72
C73



AIRTECH
Product No

AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No AIRTECH

Product No
AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No

CR4

FIRESTONE STYLE NUMBER

1R2A 380 305 110582 3757 Roll R8
1R2A 380 330 110922 3768 Roll R9
1R2A 445 280 110402 31885 Roll R23
1R2A 450 305 110102 3716 Roll R6
1R2A 460 295 110122 3720 Roll R6
1R2A 490 305 110842 31421 Roll R22
1R2D 390 360 110542 3762 Roll R8
1R2D 460 360 110142 3727 Roll R7
1R2D 470 360 110982 3728 Roll R7
1R2D 530 360 110482 3719 Roll R6
1R2S 355 245 110722 3786 Roll R10
1R3M 340 340 110082 3701 Roll R4
1R4R 465 260 110562 3883 Roll R13
1R4U 395 260 111302 31277 Roll R21
1R5P 345 290 110422 3415-25 Roll R1
1R5P 410 290 110442 3415-28 Roll R2
1RD 445 355 111812 30031 Roll R18
1T 15 AAA-6 130772 37313 KPP Complete C74
1T 15 LP-3 122542 36251 P Service Assy. C68
1T 15 LP-3 134762 36251 K Complete C68
1 T15-7.5 132502 39921KPP Complete C92
 1T15L-1.5 135142 39422 K Complete C90
 1T15L-1.5 122482 39422 P Service Assy. C90
 1T15L-1.5 137002 39422-01 KPP Complete C90
 1T15LP-5 135002 39293 K Complete C86
 1T15LP-5 136942 39293 KPP Complete C86
 1T15LP-5 122442 39293 P Service Assy. C86
1T15L-4 133462 39391 K Complete C89
1T15L-6 120922 3809 T Without Plate S2
1T15L-6 120962 3909 T Without Plate S4
1T15LNR-3 122612 3887 P Service Assy. C12
1T15LNR-3 134782 38683 K Complete C78
1T15LNR-3  134902 3887 K Complete C12
1T15LP-5 135262 39294 K Complete C86
1T15LP-5 136962 39294 KPP Complete C86
1T15LP-5 122982 39294 P Service Assy. C86
1T15M-0 134382 34150 K Complete C26
1T15M-0 121122 34150 T Without Plate C26
1T15M-0 134362 39039 K Complete C83
1T15M-0 136952 39039 KPP Complete C83
1T15M-0 122322 39039 P Service Assy. C83
1 T15 M2 137182 38204KPP Complete C78
1T15M-4 132022 34154-01  K Complete C27
1T15M-4 132522 34154-02  KPP Complete C27
1T15M-4 133082 34154-03  K Complete C27
1T15M-4 133702 34154-06 K Complete C28
1T15M-4 134482 39069 K Complete C83
1T15M-4 136972 39069 KPP Complete C83
1T15M-4 122342 39069 P Service Assy. C83
1T15M-6 135102 39213 K Complete C84

CONTITECH

9 10-21 A 361 135022 39321 KPP Complete C87
 9 10-21 P 361 135022 39321 KPP Complete C87
9.10-21 P448 137122 39370KPP Complete C88
10 10-16 S 460 137072 38709KPP Complete C79
10 10-16 S 522 137152 38755 K ALU Complete C80
10 10-17.5 S 533 137082 38713KPP Complete C79
10 10-21 P 434 132762 30081-01  K Complete C18
11 10.5 E-16 A 320 134502 38050 K Complete C76
11 10.5-15 A 320 134502 38050 K Complete C76
11 10.5-17 A 317 134942 39121 K Complete C83
11 10.5-21 A 313 132282 3813-05 K Complete C5
11 10.5CT-16 A 943 137142 38050-01 K Complete C76
54770 M 135992 36770 K Complete C72
RZ 260-30 110112 37142 Roll R25
RZ 415-25 110422 3415-25 Roll R1
RZ 415-28 110442 3415-28 Roll R2
RZ 450-25 110462  3450-25 Roll R2
FIRESTONE STYLE NUMBER

1R1A 260 285 110322 3943  Roll R17
1R1A 370 285 110062 3673 Roll R4
1R1A 370 285 110342 3944 Roll R17
1R1A 380 260 110742 3769 Roll R9
1R1A 390 295 110002 3644 Roll R3
1R1A 390 295 111742 3644 B Roll R3
1R1A 415 260 110942 3921 Roll R14
1R1A 415 260 111712 3921 B Roll R15
1R1A 415 285 110682 3782 Roll R9
1R1A 415 285 111732 3782 B Roll R10
1R1A 460 290 110362 3945 Roll R18
1R1A 480 330 110162 3737 Roll R7
1R1B 390 270 111642 3944 BRZ Roll R17
1R1B 390 270 111492 3944 CR Roll
1R1B 415 270 110602 3884 Roll R13
1R1C 335 310 110702 3715 Roll R5
1R1C 390 310 110022 3661 Roll R3
1R1D 355 355 110042 3662 Roll R4
1R1E 335 320 111662 30134 Roll R19
1R1E 440 320 111682 30375 Roll R20
1R1E 440 320 111782 30375-01 Roll R29
1R1E 525 320 111792 30232 Roll R19
1R1G 525-370 111702 30115 Roll R19
1R1J 415 285 111722 3927 B Roll R15
1R1J 415 285 110262 3927 Roll R15
1R1J 520 285 110202 3896 Roll R13
1R1K 330 320 111802 30427 Roll R20
1R1K 380 320 110282 3928 Roll R16
1R1K 380-320 111692 3928-01 Roll R16
1R1K 440 320 110222 3897 Roll R14
1R1T 320 195 111442 3975 Roll R18

R17



CR5

AIRTECH
Product No

AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No AIRTECH

Product No
AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No

CR
OS

S
LI

ST

FIRESTONE STYLE NUMBER

 1T15M-6 122382 39213 P Service Assy. C84
1 T15 M-6 137212 38829KPP Complete C80
1T15M-6 134142 34156 K Complete C28
1T15M-6 130382 34156 KPP Complete C28
1T15M-6 120402 34156 P Service Assy. C28
1T15M-6 120662 34156 T Without Plate C28
1T15M-6 130402 34156-01  K Complete C29
1T15M-6 131902 34156-02 KPP Complete C29
1T15M-6 120422 34156-02 P Service Assy. C29
1T15M-6 132162 34156-03  K Complete C29
1T15M-6 132302 34156-05  KPP Complete C30
1T15M-6 121162 34156-05 P Service Assy. C30
1T15M-6 132682 34156-06 KPP Complete C30
1T15M-6 122682 34156-06 P Service Assy. C30
1T15M-6 132722 34156-07  KPP Complete C30
1T15M-6 122702 34156-07 P Service Assy. C30
1T15M-6 132742 34156-08  KPP Complete C31
1T15M-6 133122 34156-10 K Complete C31
1T15M-6 133242 34156-12 KPP Complete C31
1T15M-6 131072 39026 KPP Complete C82
1T15M-6 136982 39213 KPP Complete C84
1T15M-6 137112 39219KPP Complete C84
1T15M-6 131132 39296 KPP Complete C87
1T15M-6 131092 39362 KPP Complete C88
1 T15 M-7.5 132582 39923KPP Complete C92
1 T15 MT-8 137172 39648KPP Complete C91
1T15M-8 130952 39287 KPP Complete C86
1T15M-8 131112 39297 KPP Complete C87
1T15M-9 130422 34159  K Complete C36
1T15M-9 120442 34159 P Service Assy. C36
1T15M-9 130442 34159-01 K Complete C36
1T15M-9 130762 34159-02 K Complete C37
1T15M-9 133382 34159-02 KPP Complete C37
1T15M-9 131102 34159-03  K Complete C37
1T15M-9 121422 34159-03 P Service Assy. C37
1T15M-9 131122 34159-04  KPP Complete C37
1T15M-9 133962 34159-04 K-ALU Complete C37
1T15M-9 121682 34159-04 P Service Assy. C37
1T15M-9 132042 34159-05  K Complete C38
1T15M-9 121822 34159-05 P Service Assy. C38
1T15M-9 132142 34159-06 KPP Complete C38
1T15M-9 135722 34159-07  K Complete C38
1T15M-9 132322 34159-07  KPP Complete C38
1T15M-9 135502 34159-07 K ALU Complete C38
1T15M-9 122002 34159-07 P Service Assy. C38
1T15M-9 134322 34159-08  KPP Complete C39
1T15M-9 133162 34159-09 K Complete C39
1T15M-9 133682 34159-10 KPP Complete C39
1T15M-9 134792 34159-11 K Complete C40
1T15M-9 132382 34159-12 K Complete C40

FIRESTONE STYLE NUMBER

1T15M-9 135492 34159-12 K-ALU Complete C40
1T15M-9 135302 34159-12 KPP Complete C40
1T15M-9 120782 34159-12 P Service Assy. C40
1T15M-9 133982 34159-S1 K-ALU Complete C36
1T15M-9 131682 391208  K Complete C102
1T15M-9 131682 391208  K Complete C102
1T15M-9 121442 391208 P Service Assy. C102
1T15M-9 131662 391209  K Complete C102
1T15M-9 131192 39241 KPP Complete C84
1 T15 M-9 137192 38852KPP Complete C80
1 T15 M-9 137132 39243KPP Complete C85
1T15M-11 137122 39370KPP Complete C88
1T15M-11 135022 39321 KPP Complete C87
1T15M-11 122462 39321 P Service Assy. C87
1T15MM-9 134022 39265 K Complete C85
1 T15MPW-7 120712 34157-05 P Service Assy. C34
1T15MPW-7 133802 38186 KPP Complete C77
1T15MPW-7 122022 38186 P Service Assy. C77
1T15MPW-7 136482 39002 A3  KPP 90º Complete C81
1T15MPW-7 134262 39002-A3/08 KPP Complete C82
1T15MPW-7 133322 39002-A3-01 KPP Complete C81
1T15MPW-7 133302 39002-A8  KPP Complete C82
1T15MPW-9 135882 36286 K Complete C68
1T15MPW-9 135872 36318 K Complete C70
1T15MPW-9 133782 38185 KPP Complete C77
1T15MPW-9 121722 38185 P Service Assy. C77
1 T15 MT-3 137162 39640 K ALU Complete C91
1T15MT-6 135772 39466 K Complete C90
1T15MT-6 136992 39466 KPP Complete C90
1T15MT-6 121302 39466 P Service Assy. C90
1T15MT-8 135542 39371 K Complete C88
1T15MT-8 136932 39371 KPP Complete C88
1T15MT-8 133442 39373 K Complete C89
1T15MT-8 136122 39373 KPP Complete C89
1T15MT-8 122202 39373 P Service Assy. C89
 1T15MT-8 123082 39371 P Service Assy. C88
1 T15 MT-8 137172 39648KPP Complete C91
 1T15VPR-3 135632 330302 K Complete C93
1T15MW-10 122402 39265 P Service Assy. C85
1T15S-11 133762 37315 K Complete C75
1T15S-11 122582 37315 P Service Assy. C75
1T15UR-9 131522 34930 KPP Complete C63
1T15VLT-10.5 132762 30081-01  K Complete C18
1T15VLT-10.5 122972 30081-01 P Service Assy. C18
1T15VP-4 134042 39270 K Complete C85
1T15VP-4 122422 39270 P Service Assy. C85
1T15VR-3 134622 330301 K Complete C93
1T15VR-3    122662 330301 P Service Assy. C93
1T15ZR-6 136922 32303 KPP Complete C21
1T15ZR-6 134522 32303 K Complete C21



AIRTECH
Product No

AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No AIRTECH

Product No
AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No

CR6

FIRESTONE STYLE NUMBER

1T15ZR-6 120982 32303 P Service Assy. C21
1T17AR-4.5 131022 3836  K Complete C8
1T17AR-4.5 120142 3836 P Service Assy. C8
1T17AR-4.5 120162 3836-01 P Service Assy. S3
1T17AR-4.5 131062 3836-02 K Complete C9
1T17AR-4.5 120182 3836-02 P Service Assy. C9
1T17AR-4.5 131922 3836-04 K Complete C9
1T17AR-4.5 131942 3836-06 K Complete C10
1T17AR-4.5 122242 38683 P Service Assy. C78
1 T17 B-5 137152 38755 K ALU Complete C80
1T17B-11 132082 30081  K Complete C18
1T17B-11 121482 30081 P Service Assy. C18
1T17BS-6 132942 32618  KPP Complete C21
1T17BS-6 132922 32619  KPP Complete C22
1T17BS-6 121662 32619 P Service Assy. C22
1T17BS-6 130282 34004  K Complete C24
1T17BS-6 132782 34004  KPP Complete C24
1T17BS-6 120302 34004 P Service Assy. C24
1T17BS-6 130302 34022  K Complete C24
1T17BS-6 132802 34022  KPP Complete C24
1T17BS-6 120322 34022 P Service Assy. C24
1 T17 CA-5 137072 38709KPP Complete C79
1 T17 CA-6.5 137202 38708KPP Complete C79
1 T17 CA-6.5 137082 38713KPP Complete C79
1T17CL-9.5 136142 33708 K Complete C24
1T17D-12 120562 3951 P Service Assy. S4
1T17D-4.3 120242 3940 P Service Assy. C14
1T17D-4.3 130842 3940-01  K Complete C15
1T17D-8.3 130222 3941  K Complete C15
1T17D-8.3 120262 3941 P Service Assy. C15
1T17DJ-7 136602 38608 KPP Complete C78
1T17DJ-7 123042 38608 P Service Assy. C78
1T17HR-8 131502 34933 K Complete C63
 1T19F-7 134942 39121 K Complete C83
 1T19L-7 122362 39121 P Service Assy. C83
1T19 ZK-5.7 134502 38050 K Complete C76
1T19F-11 130322 34023  K Complete C25
1T19F-11 120342 34023 P Service Assy. C25
1T19F-11 121322 3811-07 P Service Assy. C4
1T19F-11 131462 391324  K Complete C106
1T19F-11 131462 391324  K Complete C106
1T19F-12 131162 391303  K Complete C103
1T19F-12 131162 391303  K Complete C103
1T19F-14 132122 34913  K Complete C61
1T19F-14 120582 34913 P Service Assy. C61
1T19G-12 130962 3902 K Complete C13
1T19J-6 122282 38050 P Service Assy. C76
1T19L-7 120622 34810 T Without Plate S7
1T19L-7 133822 36884 K Complete C74
1T19L-7 130022 3810  K Complete C2

FIRESTONE STYLE NUMBER

1T19L-7 120022 3810 P Service Assy. C2
1T19L-7 134942 39121 K Complete C83
1T19L-7 131242 391320  K Complete C105
1T19L-11 130822 34813  K Complete C55
1T19L-11 120522 34813 P Service Assy. C55
1T19L-11 133842 36885 K Complete C74
1T19L-11 130042 3811  K Complete C3
1T19L-11 120042 3811 P Service Assy. C3
1T19L-11 130062 3811-01  K Complete C3
1T19L-11 120062 3811-01 P Service Assy. C3
1T19L-11 130082 3811-02  K Complete C3
1T19L-11 120082 3811-02 P Service Assy. C3
1T19L-11 120102 3811-03 P Service Assy. S2
1T19L-11 120682 3811-04 P Service Assy. S3
1T19L-11 120842 3811-05 P Service Assy. S3
1T19L-11 130482 3811-06  K Complete C4
1T19L-11 131082 3811-07  K Complete C4
1T19L-11 130102 3813  K Complete C4
1T19L-11 135922 3813 KPP Complete C4
1T19L-11 120122 3813 P Service Assy. C4
1T19L-11 130122 3813-01 K Complete C5
1T19L-11 120642 3813-01 P Service Assy. C5
1T19L-11 132282 3813-05 K Complete C5
1T19L-11 122302 3813-05 P Service Assy. C5
1T19L-11 132402 3813-06 K Complete C6
1T19L-11 132822 3813-07 K Complete C6
1T19L-11 133402 3813-08 K Complete C6
1T19L-11 135782 3813-08 KPP Complete C6
1T19L-11 131442 391319  K Complete C105
1T19L-11 131442 391319  K Complete C105
1T19L-11 131602 391322  K Complete C105
1T19L-12 133722 39910  K Complete C92
1T19L-14 133942 30073 K Complete C17
1T19L-14 132062 3912  K Complete C14
1T19L-14 131562 391304  K Complete C103
1T19L-14 131722 391314  K Complete C104
1T19L-14 131722 391314  K Complete C104
1T66D-7.0 120462 34881 P Service Assy. S7
1T66F-10.8 130002 3725  K Complete C2
1T66F-10.8 120002 3725 P Service Assy. C2
1T66F-10.8 130642 3725-01  K Complete C2
1T66F-10.8 120222 3881 P Service Assy. C11
1T66F-10.8 130522 3881-01  K Complete C11
1T66F-13.5 120542 3942 P Service Assy. C16
1T66F-7.0 131862 34881-01  K Complete C57
FIRESTONE ORDER NUMBER

.095.0197 111732 3782 B Roll R10

.095.0226 111712 3921 B Roll R15

.095.0244 111722 3927 B Roll R15
095.0118 111742 3644 B Roll R3



CR7

AIRTECH
Product No

AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No AIRTECH

Product No
AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No

CR
OS

S
LI

ST

FIRESTONE ORDER NUMBER

095.0121 111642 3944 BRZ Roll R17
W01 095 0021 110022 3661 Roll R3
W01 095 0031 111812 30031 Roll R18
W01 095 0063 110362 3945 Roll R18
W01 095 0087 110702 3715 Roll R5
W01 095 0115 111702 30115 Roll R19
W01 095 0118 110002 3644 Roll R3
W01 095 0121 111492 3944 CR Roll
W01 095 0134 111662 30134 Roll R19
W01 095 0145 110102 3716 Roll R6
W01 095 0189 110322 3943 Roll R17
W01 095 0190 110542 3762 Roll R8
W01 095 0191 110142 3727 Roll R7
W01 095 0192 110482 3719 Roll R6
W01 095 0195 110122 3720 Roll R6
W01 095 0197 110682 3782 Roll R9
W01 095 0198 110062 3673 Roll R4
W01 095 0198 110342 3944 Roll R17
W01 095 0204 110742 3769 Roll R9
W01 095 0205 110082 3701 Roll R4
W01 095 0207 110042 3662 Roll R4
W01 095 0211 110162 3737 Roll R7
W01 095 0212 110582 3757 Roll R8
W01 095 0213 110922 3768 Roll R9
W01 095 0226 110942 3921 Roll R14
W01 095 0228 110282 3928 Roll R16
W01 095 0228 111692 3928-01 Roll R16
W01 095 0229 110222 3897 Roll R14
W01 095 0229 111782 30375-01 Roll R29
W01 095 0232 111792 30232 Roll R19
W01 095 0239 110222 3897 Roll R14
W01 095 0244 110262 3927 Roll R15
W01 095 0245 110202 3896 Roll R13
W01 095 0291 134542 34156-16 K Complete C32
W01 095 0292 134662 34156-17 K Complete C33
W01 095 0293 134742 34159-18 K ALU Complete C41
W01 095 0294 136382 34159-15 K ALU Complete C40
W01 095 0295 110602 3884 Roll R13
W01 095 0314 136402 34159-16 K Complete C41
W01 095 0332 136342 34156-14 K Complete C32
W01 095 0337 136822 3813-14 K Complete C8
W01 095 0339 111692 3928-01 Roll R16
W01 095 0356 136362 39373-01 K Complete C89
W01 095 0361 136882 34159-23 K ALU Complete C42
W01 095 0366 132122 34913  K Complete C61
W01 095 0375 111682 30375 Roll R20
W01 095 0378 136802 3813-13 K Complete C8
W01 095 0381 110422 3415-25 Roll R1
W01 095 0382 110442 3415-28 Roll R2
W01 095 0419 110982 3728 Roll R7

FIRESTONE ORDER NUMBER

W01 095 0420 136672 34156-15 K Complete C32
W01 095 0427 111802 30427 Roll R20
W01 095 0429 110402 31885 Roll R23
W01 095 0435 110562 3883 Roll R13
W01 095 0436 110722 3786 Roll R10
W01 095 0437 111442 3975 Roll R18
W01 095 0440 134802 34159-17 K ALU Complete C41
W01 095 0453 111302 31277 Roll R21
W01 095 0455 136322 3909-01K Complete C14
W01 095 0463 134822 34159-19 K Complete C42
W01 095 0472 110842 31421 Roll R22
W01 095 0479 136862 34159-22 K Complete C42
W01 095 0502 136842 34156-18 K Complete C33
W01 095 0524 130752 3813-11 K Complete C7
W01 095 7237 120022 3810 P Service Assy. C2
W01 358 0702 122322 39039 P Service Assy. C83
W01 358 0707 122682 34156-06 P Service Assy. C30
W01 358 0709 122342 39069 P Service Assy. C83
W01 358 0712 121162 34156-05 P Service Assy. C30
W01 358 0748 122382 39213 P Service Assy. C84
W01 358 8050 134502 38050 K Complete C76
W01 358 8050 122282 38050 P Service Assy. C76
W01 358 8204 137182 38204KPP Complete C78
W01 358 8708 137202 38708KPP Complete C79
W01 358 8709 137072 38709KPP Complete C79
W01 358 8713 137082 38713KPP Complete C79
W01 358 8755 137152 38755 K ALU Complete C80
W01 358 8829 137212 38829KPP Complete C80
W01 358 8852 137192 38852KPP Complete C80
W01 358 9010 132522 34154-02  KPP Complete C27
W01 358 9026 131072 39026 KPP Complete C82
W01 358 9039 134382 34150 K Complete C26
W01 358 9039 134362 39039 K Complete C83
W01 358 9039 136952 39039 KPP Complete C83
W01 358 9069 134482 39069 K Complete C83
W01 358 9069 136972 39069 KPP Complete C83
W01 358 9082 132302 34156-05  KPP Complete C30
W01 358 9096 133242 34156-12 KPP Complete C31
W01 358 9101 135722 34159-07  K Complete C38
W01 358 9101 132322 34159-07  KPP Complete C38
W01 358 9101 135502 34159-07 K ALU Complete C38
W01 358 9102 122002 34159-07 P Service Assy. C38
W01 358 9104 132142 34159-06 KPP Complete C38
 W01 358 9121  134942 39121 K Complete C83
W01 358 9122 132282 3813-05 K Complete C5
 W01 358 9123 122362 39121 P Service Assy. C83
W01 358 9130 135492 34159-12 K-ALU Complete C40
W01 358 9192 134322 34159-08  KPP Complete C39
W01 358 9213 135102 39213 K Complete C84
W01 358 9213 136982 39213 KPP Complete C84

R17



AIRTECH
Product No

AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No AIRTECH

Product No
AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No

CR8

FIRESTONE ORDER NUMBER

W01 358 9219 137112 39219KPP Complete C84
W01 358 9227 132742 34156-08  KPP Complete C31
W01 358 9241 131192 39241 KPP Complete C84
W01 358 9243 137132 39243KPP Complete C85
W01 358 9265 134022 39265 K Complete C85
W01 358 9265 122402 39265 P Service Assy. C85
W01 358 9270 134042 39270 K Complete C85
W01 358 9270 122422 39270 P Service Assy. C85
W01 358 9287 130952 39287 KPP Complete C86
W01 358 9293 135002 39293 K Complete C86
W01 358 9293 136942 39293 KPP Complete C86
W01 358 9294 135262 39294 K Complete C86
W01 358 9294 136962 39294 KPP Complete C86
W01 358 9296 131132 39296 KPP Complete C87
W01 358 9297 131112 39297 KPP Complete C87
W01 358 9321 135022 39321 KPP Complete C87
W01 358 9321 122462 39321 P Service Assy. C87
W01 358 9361 130382 34156 KPP Complete C28
W01 358 9362 131092 39362 KPP Complete C88
W01 358 9370 137122 39370KPP Complete C88
W01 358 9371 135542 39371 K Complete C88
W01 358 9371 136932 39371 KPP Complete C88
W01 358 9373 133442 39373 K Complete C89
W01 358 9373 136122 39373 KPP Complete C89
W01 358 9373 122202 39373 P Service Assy. C89
W01 358 9391 133462 39391 K Complete C89
W01 358 9394 132382 34159-12 K Complete C40
W01 358 9394 135302 34159-12 KPP Complete C40
W01 358 9422 135142 39422 K Complete C90
W01 358 9422 122482 39422 P Service Assy. C90
W01 358 9422 137002 39422-01 KPP Complete C90
W01 358 9466 135772 39466 K Complete C90
W01 358 9466 136992 39466 KPP Complete C90
W01 358 9508 133122 34156-10 K Complete C31
W01 358 9580 132762 30081-01  K Complete C18
W01 358 9640 137162 39640 K ALU Complete C91
W01 358 9648 137172 39648KPP Complete C91
W01 358 9780 134522 32303 K Complete C21
W01 358 9921 132502 39921KPP Complete C92
W01 358 9923 132582 39923KPP Complete C92
W01 379 9091 131682 391208  K Complete C102
W01 379 9131 133382 34159-02 KPP Complete C37
W01 455 6288 132722 34156-07  KPP Complete C30
W01 D08 9056 133082 34154-03  K Complete C27
W01 M58 8633 131502 34933 K Complete C63
W01 M58 0687 120922        3809 T Without Plate S2
W01 M58 0687 120962        3909 T Without Plate S4
W01 M58 0736 120442        34159 P Service Assy. C36
W01 M58 0749 120622        34810 T Without Plate S7
W01 M58 0756 121662        32619 P Service Assy. C22

FIRESTONE ORDER NUMBER

W01 M58 0756 120322 34022 P Service Assy. C24
W01 M58 0775 120162 3836-01 P Service Assy. S3
W01 M58 0776 120142 3836 P Service Assy. C8
W01 M58 0777 120182 3836-02 P Service Assy. C9
W01 M58 0780 122612 3887 P Service Assy. C12
W01 M58 0919 120302 34004 P Service Assy. C24
W01 M58 6251 130192 35759 KPP Complete C66
W01 M58 6251 122542 36251 P Service Assy. C68
 W01 M58 6251 134762 36251 K Complete C68
W01 M58 6257 121722 38185 P Service Assy. C77
W01 M58 6285 133782 38185 KPP Complete C77
W01 M58 6286 135882 36286 K Complete C68
W01 M58 6289 131662 391209  K Complete
C102W01 M58 6297 133302 39002-A8  KPP Complete C82
W01 M58 6315 133322 39002-A3-01 KPP Complete C81
W01 M58 6317 134262 39002-A3/08 KPP Complete C82
W01 M58 6318 135872 36318 K Complete C70
W01 M58 6334 131082 3811-07  K Complete C4
W01 M58 6334 131462 391324  K Complete C106
W01 M58 6339 130082 3811-02  K Complete C3
W01 M58 6345 131242 391320  K Complete C105
W01 M58 6345 130022 3810  K Complete C2
W01 M58 6348 130322 34023  K Complete C25
W01 M58 6348 120342 34023 P Service Assy. C25
W01 M58 6359 120042 3811 P Service Assy. C3
W01 M58 6359 131462 391324  K Complete C106
W01 M58 6361 132822 3813-07 K Complete C6
W01 M58 6364 130102 3813  K Complete C4
W01 M58 6364 135922 3813 KPP Complete C4
W01 M58 6364 131442 391319  K Complete C105
W01 M58 6366 132782 34004  KPP Complete C24
W01 M58 6366 (Steel)130282 34004  K Complete C24
W01 M58 6367 132942 32618  KPP Complete C21
W01 M58 6367 132802 34022  KPP Complete C24
W01 M58 6367(Steel) 130302 34022  K Complete C24
W01 M58 7074 136482 39002 A3  KPP 90º Complete C81
W01 M58 7238 120122 3813 P Service Assy. C4
W01 M58 7283 133702 34154-06 K Complete C28
W01 M58 7308 133982 34159-S1 K-ALU Complete C36
W01 M58 7313 130772 37313 KPP Complete C74
W01 M58 7315 133762 37315 K Complete C75
W01 M58 7315 122582 37315 P Service Assy. C75
W01 M58 7345 131442 391319  K Complete C105
W01 M58 7348 134792 34159-11 K Complete C40
W01 M58 7358 130822 34813  K Complete C55
W01 M58 7358 120522 34813 P Service Assy. C55
W01 M58 7358 131602 391322  K Complete C105
W01 M58 7370 130082 3811-02  K Complete C3
W01 M58 7380 131162 391303  K Complete C103
W01 M58 7385 131722 391314  K Complete C104

C102



CR9

AIRTECH
Product No

AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No AIRTECH

Product No
AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No

CR
OS

S
LI

ST

FIRESTONE ORDER NUMBER

W01 M58 7502 133402 3813-08 K Complete C6
W01 M58 7502(Plastic) 135782 3813-08 KPP Complete C6
W01 M58 7548 130442 34159-01 K Complete C36
W01 M58 7548 133962 34159-04 K-ALU Complete C37
W01 M58 7548 133682 34159-10 KPP Complete C39
W01 M58 8185 133202 34158 KPP Complete C35
W01 M58 8185 133782 38185 KPP Complete C77
W01 M58 8186 133802 38186 KPP Complete C77
W01 M58 8193 135632 330302 K Complete C93
W01 M58 8194 122022 38186 P Service Assy. C77
W01 M58 8601 120462 34881 P Service Assy. S7
W01 M58 8602 131862 34881-01  K Complete C57
W01 M58 8608 136602 38608 KPP Complete C78
W01 M58 8608 123042 38608 P Service Assy. C78
W01 M58 8609 130842 3940-01  K Complete C15
W01 M58 8610 130642 3725-01  K Complete C2
W01 M58 8611 120542 3942 P Service Assy. C16
W01 M58 8612 132922 32619  KPP Complete C22
W01 M58 8613 120242 3940 P Service Assy. C14
W01 M58 8619 130222 3941  K Complete C15
W01 M58 8620 120262 3941 P Service Assy. C15
W01 M58 8621 120562 3951 P Service Assy. S4
W01 M58 8643 136142 33708 K Complete C24
W01 M58 8683 134782 38683 K Complete C78
W01 M58 8683 122242 38683 P Service Assy. C78
W01 M58 8683 134902 3887 K Complete C12
W01 M58 8701 131942 3836-06 K Complete C10
W01 M58 8705 131922 3836-04 K Complete C9
W01 M58 8721 131062 3836-02 K Complete C9
W01 M58 8722 131022 3836  K Complete C8
W01 M58 8747 132082 30081  K Complete C18
W01 M58 8762 133942 30073 K Complete C17
W01 M58 8762 131562 391304  K Complete C103
W01 M58 8765 131162 391303  K Complete C103
W01 M58 8766 132062 3912  K Complete C14
W01 M58 8766 131722 391314  K Complete C104
W01 M58 8772 133822 36884 K Complete C74
W01 M58 8775 130022 3810  K Complete C2
W01 M58 8794 133842 36885 K Complete C74
W01 M58 8859 132042 34159-05  K Complete C38
W01 M58 8859 131682 391208  K Complete C102
W01 M58 8859 121442 391208 P Service Assy. C102
W01 M58 8966 130522 3881-01  K Complete C11
W01 M58 8969 130002 3725  K Complete C2
W01 M58 8969 120002 3725 P Service Assy. C2
W01 M58 8978 120222 3881 P Service Assy. C11
W01 M58 9089 132162 34156-03  K Complete C29
W01 M58 9222 131122 34159-04  KPP Complete C37
W01 M58 9229 131902 34156-02 KPP Complete C29
W01 M58 9361 130402 34156-01  K Complete C29

FIRESTONE ORDER NUMBER

W01 M58 9910 130962 3902 K Complete C 13
W01 M58 9910 133722 39910  K Complete C92
W01 S15 8192 134622 330301 K Complete C93
W01 S15 8192 122662 330301 P Service Assy. C93
W01-358-9780 136922 32303 KPP Complete C21
W01-M58-7074 120712 34157-05 P Service Assy. C34
W0A 095 0320 136422 3813-10 K Complete C7
PHOENIX

1 D 23 A-1 120602 3808 T Without Plate S2
 1 D 23 C-1 120922 3809 T Without Plate S2
1 D 23 C-1 120962 3909 T Without Plate S4
1 D 28 A-2 130022 3810  K Complete C2
1 D 28 A-2 131242 391320  K Complete C105
1DK 28 A4 120622 34810 T Without Plate S7
1D 28 A-10 130322 34023  K Complete C25
1D 28A-12 133422 32918 K Complete C22
1 D 28 A-5 NP 120022 3810 P Service Assy. C2
1 D 28 B-2 130102 3813  K Complete C4
1 D 28 B-2 135922 3813 KPP Complete C4
1D 28 B-2 131442 391319  K Complete C105
1D 28 B-4 133402 3813-08 K Complete C6
1D 28 B-4 135782 3813-08 KPP Complete C6
1 D 28 B-5 NP 120122 3813 P Service Assy. C4
1D 28 B-7 131082 3811-07  K Complete C4
1D28B-9 120522 34813 P Service Assy. C55
1 D 28 B-9 130822 34813  K Complete C55
1D 28 B-9 131602 391322  K Complete C105
1 D 28 C-9122 132282 3813-05 K Complete C5
1D28C-12 131162 391303  K Complete C103
1D28D2 132062 3912  K Complete C14
1D 28 D-2 131722 391314  K Complete C104
1 D 28 F3 136542 30283 K Complete C19
1 D 28 F-3 122902 30283 P Service Assy. C19
1 D 28 F-5 123142 30285 P Service Assy. C19
1D28F-5 (566-28-3-529) 134722 30285 K Complete C19
1 DF 23 C-1 132862 36199  K Complete C67
1 DF 23 D-1 133182 36200 K Complete C67
1 DF 25-11 131022 3836  K Complete C8
1 DF 25-13 131062 3836-02 K Complete C9
1 DF 25-14 131922 3836-04 K Complete C9
1 DF 25-15 131942 3836-06 K Complete C10
1 DF 32 130002 3725  K Complete C2
1 DF 32 120002 3725 P Service Assy. C2
1 DF 25 A-1 130792 31070 K Complete C20
1 DF 25 A-1 120452 31070 P Service Assy. C20
1 DF 25-1 NP 120142 3836 P Service Assy. C8
1 DF 25-3 NP 120182 3836-02 P Service Assy. C9
1 DK 19-1 135182 34915-01 K Complete C62
1 DK 20 B-1 133202 34158 KPP Complete C35
1 DK 20 B-1 MP 121002 34158 P Service Assy. C35



AIRTECH
Product No

AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No AIRTECH

Product No
AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No

CR10

PHOENIX

1 DK 20C-2 134262 39002-A3/08 KPP Complete C82
1 DK 21 130222 3941  K Complete C15
1 DK 21 120262 3941 P Service Assy. C15
1 DK 21 A-2 130382 34156 KPP Complete C28
1 DK 21 A-2 130402 34156-01  K Complete C29
1 DK 21 A-3 130902 34157-05 KPP Complete C34
1 DK 21 A3 120712 34157-05 P Service Assy. C34
1 DK 21 A-4 131302 34157  KPP Complete C34
1 DK 21 A-8 131302 34157  KPP Complete C34
1 DK 21 B-4 130442 34159-01 K Complete C36
1 DK 21 B-4 133962 34159-04 K-ALU Complete C37
1 DK 21 B4 133682 34159-10 KPP Complete C39
1 DK 21 B-6 132042 34159-05  K Complete C38
1 DK 21 B-8 133382 34159-02 KPP Complete C37
1 DK 21 K 120242 3940 P Service Assy. C14
1 DK 22 E-5 130282 34004  K Complete C24
1 DK 22 E-5 NP 120302 34004 P Service Assy. C24
1 DK 22 E-8 132782 34004  KPP Complete C24
1 DK 22 E-9 132942 32618  KPP Complete C21
1 DK 22 E-9 132802 34022  KPP Complete C24
1 DK 22 E-9 NP 121662 32619 P Service Assy. C22
1 DK 22 E-9 NP 120322 34022 P Service Assy. C24
1 DK 23 F-1 130362 34154  KPP Complete C26
1 DK 28 F3 136542 30283 K Complete C19
1 DK 28 A-7 133822 36884 K Complete C74
1DK 28 B-7 131142 391318  K Complete C104
1 DK 28 B-8 133842 36885 K Complete C74
1DK 28 B-7 132822 3813-07 K Complete C6
1 DK 32 E-4 122492 31324 P Service Assy. S5
1DK 32 K 120462 34881 P Service Assy. S7
1 DK 32 K-2 133342 34881-01 KPP Complete C57
1 DK 32 120222 3881 P Service Assy. C11
1 DK 32-1 130522 3881-01  K Complete C11
1 DK 32-2 132202 3881-01  KPP Complete C11
1 DK 32L 120542 3942 P Service Assy. C16
1 E 10 111442 3975 Roll R18
1 E 18 110742 3769 Roll R9
1 E 18 110942 3921 Roll R14
1 E 18 D 110132 36875 Roll R24
1 E 18 D-1 110052 36876 Roll R25
1 E 18 D-2 110072 36877 Roll R25
1 E 21 110002 3644 Roll R3
1 E 21 C 110362 3945 Roll R18
1 E 25 110022 3661 Roll R3
1 E 26-1 110082 3701 Roll R4
1 E 32 110042 3662 Roll R4
1 E 23 110462  3450-25 Roll R2
1 F 14 110722 3786 Roll R10
1 F 16 110622 3882 Roll R12
1 F 20 A 110602 3884 Roll R13

PHOENIX

1 F 20 B 110402 31885 Roll R23
1 F 21 110122 3720 Roll R6
1 F 21 A 110062 3673 Roll R4
1 F 21 C-2 110562 3883 Roll R13
1 F 21 C-5 110242 3916 Roll R14
1 F 21 D 110502 3713 Roll R5
1 F 25 110702 3715 Roll R5
1 F 26 110162 3737 Roll R7
1 F 26 D 110762 3838 Roll R11
1 F 26 C 110582 3757 Roll R8
1 F 26 B-1 110102 3716 Roll R6
1 F 32 110542 3762 Roll R8
1 F 32 A 110142 3727 Roll R7
1 F 32 A 110982 3728 Roll R7
1 F 32 B 110482 3719 Roll R6
1 G 08 111502 30008 Roll R29
2 E 18 A 110202 3896 Roll R13
2 E 18 B 110262 3927 Roll R15
2 E 23 110222 3897 Roll R14
2 E 23 A 110282 3928 Roll R16
2 G 20 110422 3415-25 Roll R1
2 G 20 A 110442 3415-28 Roll R2
TAURUS

 AS500-9039 134362 39039 K Complete C83
 AS500-9039 136952 39039 KPP Complete C83
 AS-504-9101 135722 34159-07  K Complete C38
 AS-504-9101 132322 34159-07  KPP Complete C38
 AS-504-9101 135502 34159-07 K ALU Complete C38
AS506-9069 134482 39069 K Complete C83
AS506-9069 136972 39069 KPP Complete C83
AS509-9192 134322 34159-08  KPP Complete C39
AS621-9121 134942 39121 K Complete C83
B 104/K 104 131242 391320  K Complete C105
B 114 110022 3661 Roll R3
B 116-1 110082 3701 Roll R4
B 121 110002 3644 Roll R3
B 124 110682 3782 Roll R9
B 125 110922 3768 Roll R9
B 126 110582 3757 Roll R8
B 127 110162 3737 Roll R7
B 141 110062 3673 Roll R4
B 141 110342 3944 Roll R17
B 144 110702 3715 Roll R5
B 149 110142 3727 Roll R7
B 149 110982 3728 Roll R7
B 151 120962 3909 T Without Plate S4
B 152 110122 3720 Roll R6
B 153 110482 3719 Roll R6
B 154 110242 3916 Roll R14
B 155 110622 3882 Roll R12



CR11

AIRTECH
Product No

AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No AIRTECH

Product No
AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No

CR
OS

S
LI

ST

TAURUS

B 156 110742 3769 Roll R9
B 158 110942 3921 Roll R14
B 159 111622 3159 Roll R1
B 165 110222 3897 Roll R14
B 166 110202 3896 Roll R13
B 178 110282 3928 Roll R16
B 179 110262 3927 Roll R15
B 194 110322 3943 Roll R17
B 197 110102 3716 Roll R6
B 271 110422 3415-25 Roll R1
B 272 110442 3415-28 Roll R2
BL 128 110462  3450-25 Roll R2
BL 143 110042 3662 Roll R4
BL 143 110542 3762 Roll R8
BL 249 110602 3884 Roll R13
K 152 110362 3945 Roll R18
K 505-27 SM 130282 34004  K Complete C24
KR-500-9039 134382 34150 K Complete C26
KR 501-01 134042 39270 K Complete C85
KR 501-01 122422 39270 P Service Assy. C85
KR-504-9069 134482 39069 K Complete C83
KR-504-9069 136972 39069 KPP Complete C83
KR 506-28 132162 34156-03  K Complete C29
KR 506-9082 132302 34156-05  KPP Complete C30
KR 506-9096 133242 34156-12 KPP Complete C31
KR 509-9091 132042 34159-05  K Complete C38
KR 509-9091 131682 391208  K Complete C102
KR-509-9131 133382 34159-02 KPP Complete C37
KR 621-26 130022 3810  K Complete C2
KR 622-01 130822 34813  K Complete C55
KR 622-01 120522 34813 P Service Assy. C55
KR 622-01 131602 391322  K Complete C105
KR 622-26 130102 3813  K Complete C4
KR 622-26 135922 3813 KPP Complete C4
KR 622-31 131082 3811-07  K Complete C4
KR622-9122 132282 3813-05 K Complete C5
KR 624-18 130322 34023  K Complete C25
KR 625-16 132122 34913  K Complete C61
KR 721-03 131062 3836-02 K Complete C9
KR 721-06 131022 3836  K Complete C8
KR 725-28 132942 32618  KPP Complete C21
KR 725-28 132802 34022  KPP Complete C24
KR-730-01 130222 3941  K Complete C15
KR 836-01T 120222 3881 P Service Assy. C11
KR-836-05 132202 3881-01  KPP Complete C11
KR915-53NW 134262 39002-A3/08 KPP Complete C82
KR915-54 133302 39002-A8  KPP Complete
KR915-54 131302 34157  KPP Complete C34
KR915-54 120712 34157-05 P Service Assy. C34
UR 500-13 120602 3808 T Without Plate S2

TAURUS

UR 504-13 120922 3809 T Without Plate S2
UR 621-03 120622 34810 T Without Plate S7
UR 721-01T 120142 3836 P Service Assy. C8
UR 721-03T 120182 3836-02 P Service Assy. C9
UR 725-27T 120302 34004 P Service Assy. C24
UR 725-28T 121662 32619 P Service Assy. C22
UR 725-28T 120322 34022 P Service Assy. C24
UR 730-01T 120262 3941 P Service Assy. C15
UR 732-01T 120242 3940 P Service Assy. C14
UR 836- 11 130002 3725  K Complete C2
UR 836- 11 120002 3725 P Service Assy. C2
UR 837-01T 120542 3942 P Service Assy. C16
UR 838-01 T 120462 34881 P Service Assy. S7
DUNLOP UK

01003A-AP 110132 36875 Roll R24
A310950013 111302 31277 Roll R21
D11B37 133802 38186 KPP Complete C77
IC 3308 110282 3928 Roll R16
PNP300080100 110262 3927 Roll R15
PNP301000100 110122 3720 Roll R6
PNP301000101 110362 3945 Roll R18
PNP301470101 110002 3644 Roll R3
PNP301470102 110002 3644 Roll R3
PNP302730101 110042 3662 Roll R4
PNP304620101 110482 3719 Roll R6
PNP304890101 110702 3715 Roll R5
PNP304980101/IC3309110022 3661 Roll R3
PNP305140100 110742 3769 Roll R9
PNP305140100 110202 3896 Roll R13
PNP30521 111782 30375-01 Roll R29
PNP305210100 110222 3897 Roll R14
PNP305210101 110222 3897 Roll R14
PNP306420100 110142 3727 Roll R7
PNP306420100 110982 3728 Roll R7
PNP307520000 120022 3810 P Service Assy. C2
PNP307800100 110542 3762 Roll R8
PNP309070100 110302 3936 Roll R16
PNP30907100 111282 30907 Roll R21
 PNP30907100 135242 30907 K Complete C19
PNP311380000 120622 34810 T Without Plate S7
PNP311770000 130102 3813  K Complete C4
PNP311770000 135922 3813 KPP Complete C4
PNP311770000 131462 391324  K Complete C106
PNP311780000 130022 3810  K Complete C2
PNP311780000 131242 391320  K Complete C105
PNP316720100 110322 3943 Roll R17
PNP316720100 110342 3944 Roll R17
DUNLOP FR

D 10 S02 110742 3769 Roll R9
D 10 S04 110942 3921 Roll R14

C82



AIRTECH
Product No

AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No AIRTECH

Product No
AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No

CR12

DUNLOP FR

D 10 U10 122122 34882 P Service Assy. C58
D 11 B33 132222 3941-01  KPP Complete C16
D 11 B36 133362 3940 KPP Complete C14
D 11 B38 130222 3941  K Complete C15
D 11 B41 132922 32619  KPP Complete C22
D 11 S01 110002 3644 Roll R3
D 11 S02 110682 3782 Roll R9
D 11 S02 110362 3945 Roll R18
D 11 S03 110322 3943 Roll R17
D 11 U30 120262 3941 P Service Assy. C15
D 11 U31 120242 3940 P Service Assy. C14
D 11 U40 121662 32619 P Service Assy. C22
D 11 U40 120322 34022 P Service Assy. C24
D 11 U47 122142 34883 P Service Assy. C58
D 11 U48 122162 34884 P Service Assy. C58
D 12 B01 131682 391208  K Complete C102
D12B01 130442 34159-01 K Complete C36
D12B01 133962 34159-04 K-ALU Complete C37
D12B01 133682 34159-10 KPP Complete C39
D12B04 133382 34159-02 KPP Complete C37
D12B06/10 131642 391210  K Complete C102
D 12 B07 131662 391209  K Complete C102
D 12 B08 131682 391208  K Complete C102
D12B09 131662 391209  K Complete C102
D 12 B10 131642 391210  K Complete C102
D12B13 132782 34004  KPP Complete C24
D12B14 132942 32618  KPP Complete C21
D12B14 132802 34022  KPP Complete C24
D12B16 132162 34156-03  K Complete C29
D12B17 120712 34157-05 P Service Assy. C34
D12B17 136482 39002 A3  KPP 90º Complete C81
D12B18 131302 34157  KPP Complete C34
D12B19 130382 34156 KPP Complete C28
D12B19 130402 34156-01  K Complete C29
D12B22 133202 34158 KPP Complete C35
D12B24 131842 34713 K Complete C50
D12B25 130282 34004  K Complete C24
D12B30 134262 39002-A3/08 KPP Complete C82
D12S01 110302 3936 Roll R16
D12S02 110022 3661 Roll R3
D12S03 110282 3928 Roll R16
D12S04 110122 3720 Roll R6
D12S05 110242 3916 Roll R14
D12S06 110602 3884 Roll R13
D12S07 110402 31885 Roll R23
D12S08 110422 3415-25 Roll R1
D12S09 110442 3415-28 Roll R2
D12S13 110462  3450-25 Roll R2
D12S21 110132 36875 Roll R24
D12T10 130982 34390-01  K Complete C45

DUNLOP FR

D12T11 131002 34390-02  K Complete C45
D12U13 120302 34004 P Service Assy. C24
D12U23 121002 34158 P Service Assy. C35
D12U24 121222 34713 P Service Assy. C50
D12U25 121102 34390-01 P Service Assy. C45
D12U26 120722 34390-02 P Service Assy. C45
D12U42 122572 34757-01 P Service Assy. C52
D12U43 122802 34757-02 P Service Assy. C52
D13 B05 131582 391305  K Complete C104
D13 B22 131602 391322  K Complete C105
D13B01 131242 391320  K Complete C105
D13B02 131442 391319  K Complete C105
D13B03 132062 3912  K Complete C14
D 13 B 03 131162 391303  K Complete C103
D13B04 131562 391304  K Complete C103
D13B10 130822 34813  K Complete C55
D13B10 120522 34813 P Service Assy. C55
D13B10 131602 391322  K Complete C105
D13B12 131142 391318  K Complete C104
D13B14 131722 391314  K Complete C104
D13B18 131142 391318  K Complete C104
D 13 B19 131442 391319  K Complete C105
D13B19 130102 3813  K Complete C4
D13B19 135922 3813 KPP Complete C4
D13B20 130022 3810  K Complete C2
D 13 B23 131622 391323  K Complete C106
D13B24 131462 391324  K Complete C106
D13B26 130322 34023  K Complete C25
D13B29 133402 3813-08 K Complete C6
D13B29 135782 3813-08 KPP Complete C6
D13B31 131062 3836-02 K Complete C9
D13B32 131022 3836  K Complete C8
D13B34 130042 3811  K Complete C3
D13B36 131082 3811-07  K Complete C4
D13S01 110042 3662 Roll R4
D13S02 110542 3762 Roll R8
D13S04 110142 3727 Roll R7
D13T01 132982 34757-01 K Complete C52
D13T02 134882 34757-09 K Complete C52
D13T03 132442 34838-02 K Complete C56
D13T04 133022 34737-01 K Complete C50
D13T05 133042 34737-02 K Complete C51
D13U31 120182 3836-02 P Service Assy. C9
D13U32 120142 3836 P Service Assy. C8
D14B36 130522 3881-01  K Complete C11
D14B36 132202 3881-01  KPP Complete C11
D14B44 133342 34881-01 KPP Complete C57
D14B51 130082 3811-02  K Complete C3
D14U36 120222 3881 P Service Assy. C11
D14U37 120462 34881 P Service Assy. S7



CR13

AIRTECH
Product No

AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No AIRTECH

Product No
AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No

CR
OS

S
LI

ST

GOODYEAR

9042 110302 3936 Roll R16
9048 110622 3882 Roll R12
9050 110462  3450-25 Roll R2
9051 110062 3673 Roll R4
9066 110502 3713 Roll R5
9067 110662 3706 Roll R5
9068 110862 31720 Roll R22
9073 110102 3716 Roll R6
9074 110762 3838 Roll R11
9075 110162 3737 Roll R7
9076 110182 3746 Roll R8
9077 110582 3757 Roll R8
9078 110922 3768 Roll R9
9080 110132 36875 Roll R24
9081 111552 30789 Roll R20
9082 111532 30792 Roll R21
9505 130982 34390-01  K Complete C45
9506 131002 34390-02  K Complete C45
9507 121102 34390-01 P Service Assy. C45
9508 120722 34390-02 P Service Assy. C45
9517 122572 34757-01 P Service Assy. C52
9518 122802 34757-02 P Service Assy. C52
9519 132982 34757-01 K Complete C52
9520 134882 34757-09 K Complete C52
9522 132442 34838-02 K Complete C56
9523 133022 34737-01 K Complete C50
9524 133042 34737-02 K Complete C51
1 R12-103 132322 34159-07  KPP Complete C38
1 R12-335 135022 39321 KPP Complete C87
1 R12-365 136992 39466 KPP Complete C90
1 R12-365 135772 39466 K Complete C90
1R12-197 135772 39466 K Complete C90
1R12-669 136972 39069 KPP Complete C83
1 R12-717 135502 34159-07 K ALU Complete C38
1 R13-124 137152 38755 K ALU Complete C80
1 R13-140 137082 38713KPP Complete C79
1R10-120 135002 39293 K Complete C86
1R10-120 136942 39293 KPP Complete C86
1R10-702 122122 34882 P Service Assy. C58
1R11-028 135142 39422 K Complete C90
1R11-028 137002 39422-01 KPP Complete C90
1R11-106 120712 34157-05 P Service Assy. C34
1R11-106 136482 39002 A3  KPP 90º Complete C81
1R11-111 133302 39002-A8  KPP Complete C82
1R11-700 120262 3941 P Service Assy. C15
1R11-703 120242 3940 P Service Assy. C14
1R11-704 120562 3951 P Service Assy. S4
1R11-705 120302 34004 P Service Assy. C24
1R11-706 130282 34004  K Complete C24
1R11-709 121662 32619 P Service Assy. C22

DUNLOP FR C2
D14U38 130002 3725  K Complete C2
D14U38 120002 3725 P Service Assy.
SP1217 110342 3944 Roll R17
SP2191 110202 3896 Roll R13
SP2192 110222 3897 Roll R14
GOODYEAR

8012 110342 3944 Roll R17
8013 111732 3782 B Roll R10
8015 110702 3715 Roll R5
8017 110002 3644 Roll R3
8018 110022 3661 Roll R3
8028 110222 3897 Roll R14
8037 110262 3927 Roll R15
8037 111722 3927 B Roll R15
8040 110202 3896 Roll R13
8042 110282 3928 Roll R16
8042 111692 3928-01 Roll R16
8043 110942 3921 Roll R14
8043 111712 3921 B Roll R15
8053 110742 3769 Roll R9
8117 110142 3727 Roll R7
8117 110982 3728 Roll R7
8118 110482 3719 Roll R6
8314 110522 3876 Roll R12
8480 136862 34159-22 K Complete C42
8550 136422 3813-10 K Complete C7
8581 134662 34156-17 K Complete C33
8582 136382 34159-15 K ALU Complete C40
8653 136672 34156-15 K Complete C32
8662 134542 34156-16 K Complete C32
8663 136342 34156-14 K Complete C32
8665 134742 34159-18 K ALU Complete C41
8666 136402 34159-16 K Complete C41
8667 136882 34159-23 K ALU Complete C42
8691 136802 3813-13 K Complete C8
8716 136322 3909-01K Complete C14
8728 134802 34159-17 K ALU Complete C41
9001 110322 3943 Roll R17
9002 110602 3884 Roll R13
9003 110402 31885 Roll R23
9004 110422 3415-25 Roll R1
9005 110442 3415-28 Roll R2
9006 110082 3701 Roll R4
9007 110042 3662 Roll R4
9008 110122 3720 Roll R6
9010 110542 3762 Roll R8
9012 110562 3883 Roll R13
9013 110682 3782 Roll R9
9014 110362 3945 Roll R18
9015 110242 3916 Roll R14

C2



AIRTECH
Product No

AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No AIRTECH

Product No
AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No

CR14

GOODYEAR

1R11-709 120322 34022 P Service Assy. C24
1R11-711 122822 3724 P Service Assy. C1
1R11-713 132782 34004  KPP Complete C24
1R11-714 132942 32618  KPP Complete C21
1R11-714 132802 34022  KPP Complete C24
1R11-743 132222 3941-01  KPP Complete C16
1R11-752 133362 3940 KPP Complete C14
1R11-753 121702 39002-A3/01P Service Assy. C81
1R11-762 130222 3941  K Complete C15
1R11-763 130842 3940-01  K Complete C15
1R11-764 133802 38186 KPP Complete C77
1R11-772 133322 39002-A3-01 KPP Complete C81
1R11-773 134262 39002-A3/08 KPP Complete C82
1R11-781 132922 32619  KPP Complete C22
1R11-796 122612 3887 P Service Assy. C12
1R11-799 120482 34940 P Service Assy. C63
1R11-800 120762 34961 P Service Assy. C65
1R11-801 120742 34960 P Service Assy. C64
1R11-802 120502 34941 P Service Assy. C64
1R11-804 122142 34883 P Service Assy. C58
1R11-820 122162 34884 P Service Assy. C58
1R11-826 130192 35759 KPP Complete C66
1R11-915 135262 39294 K Complete C86
1R11-915 136962 39294 KPP Complete C86
1R12-039 137142 38050-01 K Complete C76
1R12-069 134482 39069 K Complete C83
1R12-069 136972 39069 KPP Complete C83
1R12-090 135102 39213 K Complete C84
1R12-090 136982 39213 KPP Complete C84
1R12-092 132302 34156-05  KPP Complete C30
1R12-095 134382 34150 K Complete C26
1R12-095 134362 39039 K Complete C83
1R12-095 136952 39039 KPP Complete C83
1R12-097 121122 34150 T Without Plate C26
1R12-130 132742 34156-08  KPP Complete C31
1R12-167 134322 34159-08  KPP Complete C39
1R12-182 137112 39219KPP Complete C84
1R12-197 136992 39466 KPP Complete C90
1R12-244 135542 39371 K Complete C88
1R12-244 136932 39371 KPP Complete C88
1R12-281 132382 34159-12 K Complete C40
1R12-281 135492 34159-12 K-ALU Complete C40
1R12-281 135302 34159-12 KPP Complete C40
1R12-303 134522 32303 K Complete C21
1R12-352 132522 34154-02  KPP Complete C27
1R12-421 132522 34154-02  KPP Complete C27
1R12-358 133242 34156-12 KPP Complete C31
 1R12-155 133242 34156-12 KPP Complete C31
1R12-367 137162 39640 K ALU Complete C91
1R12-375 134022 39265 K Complete C85

GOODYEAR

1R12-401 135542 39371 K Complete C88
1R12-401 136932 39371 KPP Complete C88
1R12-403 133442 39373 K Complete C89
1R12-403 136122 39373 KPP Complete C89
1R12-405 137212 38829KPP Complete C80
1R12-480 137132 39243KPP Complete C85
1R12-481 132582 39923KPP Complete C92
1R12-502 132502 39921KPP Complete C92
1R12-508 137182 38204KPP Complete C78
1R12-538 137172 39648KPP Complete C91
1R12-568 137192 38852KPP Complete C80
1R12-700 120142 3836 P Service Assy. C8
1R12-701 130762 34159-02 K Complete C37
1R12-706 132162 34156-03  K Complete C29
1R12-709 120922 3809 T Without Plate S2
1R12-710 120182 3836-02 P Service Assy. C9
1R12-711 131062 3836-02 K Complete C9
1R12-712 131022 3836  K Complete C8
1R12-713 133982 34159-S1 K-ALU Complete C36
1R12-717 135722 34159-07  K Complete C38
1R12-719 130382 34156 KPP Complete C28
1R12-719 130402 34156-01  K Complete C29
1R12-721 133382 34159-02 KPP Complete C37
1R12-748 121722 38185 P Service Assy. C77
1R12-749 133782 38185 KPP Complete C77
1R12-762 131842 34713 K Complete C50
1R12-763 121222 34713 P Service Assy. C50
1R13-038 132282 3813-05 K Complete C5
1R13-039 134942 39121 K Complete C83
1R13-039 122362 39121 P Service Assy. C83
1R13-118 132762 30081-01  K Complete C18
1R13-119 134042 39270 K Complete C85
1R13-119 122422 39270 P Service Assy. C85
1R13-150 132082 30081  K Complete C18
1R13-159 137072 38709KPP Complete C79
1R13-176 137082 38713KPP Complete C79
1R13-708 136142 33708 K Complete C24
1R13-713 121042 34912 P Service Assy. C60
1R13-714 131182 34911  K Complete C59
1R13-803 133942 30073 K Complete C17
1R14-039 134502 38050 K Complete C76
1R14-065 131602 391322  K Complete C105
1R14-700 120542 3942 P Service Assy. C16
1R14-701 120462 34881 P Service Assy. S7
1R14-704 120002 3725 P Service Assy. C2
1R14-705 130102 3813  K Complete C4
1R14-705 135922 3813 KPP Complete C4
1R14-705 131442 391319  K Complete C105
1R14-706 132822 3813-07 K Complete C6
1R14-708 120222 3881 P Service Assy. C11



CR15

AIRTECH
Product No

AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No AIRTECH

Product No
AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No

CR
OS

S
LI

ST

GOODYEAR

1R14-709 133402 3813-08 K Complete C6
1R14-709 135782 3813-08 KPP Complete C6
1R14-712 130522 3881-01  K Complete C11
1R14-713 120622 34810 T Without Plate S7
1R14-716 130022 3810  K Complete C2
1R14-716 131242 391320  K Complete C105
1R14-718 130042 3811  K Complete C3
1R14-719 131082 3811-07  K Complete C4
1R14-721 130082 3811-02  K Complete C3
1R14-724 131862 34881-01  K Complete C57
1R14-727 130822 34813  K Complete C55
1R14-727 131602 391322  K Complete C105
1R14-729 130322 34023  K Complete C25
1R14-729 120342 34023 P Service Assy. C25
1R14-748 132202 3881-01  KPP Complete C11
1R14-757 133342 34881-01 KPP Complete C57
1R14-758 132062 3912  K Complete C14
1R14-781 130802 3942-01  K Complete C16
556 0 3 8013 111732 3782 B Roll R10
556 0 3 8016 111642 3944 BRZ Roll R17
556 0 3 8017 111742 3644 B Roll R3
556 0 3 8019 111662 30134 Roll R19
556 0 3 8028 110222 3897 Roll R14
556 0 3 8032 111792 30232 Roll R19
556 0 3 8037 111722 3927 B Roll R15
556 0 3 8042 111692 3928-01 Roll R16
556 0 3 8043 111712 3921 B Roll R15
556 0 3 8072 111802 30427 Roll R20
556 0 3 8117 110142 3727 Roll R7
556 0 3 8313 111782 30375-01 Roll R29
556 0 3 8911 110422 3415-25 Roll R1
556 0 3 8922 110442 3415-28 Roll R2
566 0 3 8031 111812 30031 Roll R18
566 0 3 8038 111702 30115 Roll R19
CF GOMMA
1S 270-19 111572 319270 Roll R26
1S 270-20 V 111362 320270 Roll R27
1S 270-25C 110602 3884 Roll R13
1S 270-27 110012 327270 Roll R28
1S 280-25 110422 3415-25 Roll R1
1S 280-28 110442 3415-28 Roll R2
1S 285-18 110322 3943 Roll R17
1S 285-20 111342 320285 Roll R27
1S 285-22 110062 3673 Roll R4
1S 285-22 110342 3944 Roll R17
1S 285-23 110942 3921 Roll R14
1S 285-24 110002 3644 Roll R3
1S 285-25 110362 3945 Roll R18
1S 285-25 110682 3782 Roll R9
1S 290-23 V 111382 323290 Roll R27

CF GOMMA

1S 300-27 110462  3450-25 Roll R2
1S 310-28 110022 3661 Roll R3
1 S 320 30 110222 3897 Roll R14
1S 323-23 110162 3737 Roll R7
1S 323-36 111602 336323 Roll R29
1S285-18C 110032 318285 Roll R26
1SC 240-30 110742 3769 Roll R9
1SC 250-19 111592 319250 Roll R26
1SC 250-28 110622 3882 Roll R12
1SC 250-29 110562 3883 Roll R13
1SC 270-28 110402 31885 Roll R23
1SC 290-30 110122 3720 Roll R6
1SC 300-34 110102 3716 Roll R6
1SC 310-16 110702 3715 Roll R5
1SC 360-30 110042 3662 Roll R4
1SC 360-30 110542 3762 Roll R8
1SC 360-34 110142 3727 Roll R7
1SC 360-34 110982 3728 Roll R7
1SC 360-43 110482 3719 Roll R6
1SC260-30 111752 330260 Roll R28
1SC260-32 111762 332260 Roll R28
1T 19 E-3 133942 30073 K Complete C17
1T 19 E-4 132062 3912  K Complete C14
1T 19E-1 120622 34810 T Without Plate S7
1T 19E-1 133822 36884 K Complete C74
1T 19E-1 130022 3810  K Complete C2
1T 19E-1 131242 391320  K Complete C105
1T 19-E2 133862 34420 K Complete C49
1T 19E-2 130322 34023  K Complete C25
1T 19E-2 120342 34023 P Service Assy. C25
1T 19E-2 133842 36885 K Complete C74
1T 19E-2 130042 3811  K Complete C3
1T 19E-2 130102 3813  K Complete C4
1T 19E-2 135922 3813 KPP Complete C4
1T 19E-2 132102 3813-03 K Complete C5
1T 19E-2 132822 3813-07 K Complete C6
1T 19E-2 131442 391319  K Complete C105
1T 19E-2 BR 130822 34813  K Complete C55
1T 19E-2 BR 120522 34813 P Service Assy. C55
1T 19E-2 BR 131602 391322  K Complete C105
1T 19E-3 131562 391304  K Complete C103
1T 19E-4 131722 391314  K Complete C104
1T 19-E6 133222 30076 K Complete C18
1T 19E-93 132122 34913  K Complete C61
1T 300-30 120902 39002-A3 P Service Assy. C81
1T 300-33 130282 34004  K Complete C24
1T 300-338 136482 39002 A3  KPP 90º Complete C81
1T 300-37 130302 34022  K Complete C24
1T 300-38 120712 34157-05 P Service Assy. C34
1T 320 SP 120962 3909 T Without Plate S4



AIRTECH
Product No

AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No AIRTECH

Product No
AIRTECH
Order No Remark Page

No

CROSS LIST
Cross No

CR16

CF GOMMA

1 T 320 SP 120922 3809 T Without Plate S2
1T 323-32 130402 34156-01  K Complete C29
1T 323-33 130382 34156 KPP Complete C28
1T 323-33 121762 36873 P Service Assy. S9
1T 323-40 130442 34159-01 K Complete C36
1T 323-40 133382 34159-02 KPP Complete C37
1T 323-40 131662 391209  K Complete C102
1T 323-40 131642 391210  K Complete C102
1T 323-40 121842 391210 P Service Assy. C102
1T 323-40 BG 134422 391210-01 K Complete C103
1T19 E-2 131462 391324  K Complete C106
1TC 300-30 120242 3940 P Service Assy. C14
1TC 300-36 120262 3941 P Service Assy. C15
1TC 300-36 132222 3941-01  KPP Complete C16
1TC 360-45 120222 3881 P Service Assy. C11
1TC 360-45 130522 3881-01  K Complete C11
1TC 360-50 122492 31324 P Service Assy. S5
1TC 360-55 122562 36055 P Service Assy. S8
1TCS 360-45 120002 3725 P Service Assy. C2
1 TCS 360-45 130002 3725  K Complete C2
1TS 19E-4 121042 34912 P Service Assy. C60
1TS 290-28 122162 34884 P Service Assy. C58
1TS 300-28 131842 34713 K Complete C50
1TS 300-28 121222 34713 P Service Assy. C50
1VSC 285-30 121102 34390-01 P Service Assy. C45
1VSC 285-30 120722 34390-02 P Service Assy. C45
1VSC 285-30 134842 34390-03 K Complete C46
1VSC 285-30 134862 34390-04 K Complete C46
1VSC 300-26 132982 34757-01 K Complete C52
1VSC 300-26 134882 34757-09 K Complete C52
CF GOMMA ORDER NUMBER

87408 135922 3813 KPP Complete C4
87408 131442 391319  K Complete C105
88786 110062 3673 Roll R4
88786 110342 3944 Roll R17
88788 110222 3897 Roll R14
88802 110122 3720 Roll R6
88809 110322 3943 Roll R17
89753 120922 3809 T Without Plate S2
89753 120962 3909 T Without Plate S4
89756 110162 3737 Roll R7
91016 110022 3661 Roll R3
92548 110102 3716 Roll R6
92574 110002 3644 Roll R3
92575 110142 3727 Roll R7
92575 110982 3728 Roll R7
92593 110482 3719 Roll R6
92594 110042 3662 Roll R4
92594 110542 3762 Roll R8
93518 110702 3715 Roll R5

CF GOMMA ORDER NUMBER

93762 132822 3813-07 K Complete C6
96534 111342 320285 Roll R27
96864 131642 391210  K Complete C102
96864 121842 391210 P Service Assy. C102
96871 131662 391209  K Complete C102
96873 121762 36873 P Service Assy. S9
96884 133822 36884 K Complete C74
96885 133842 36885 K Complete C74
97042 110622 3882 Roll R12
97043 110402 31885 Roll R23
97261 110032 318285 Roll R26
97307 134422 391210-01 K Complete C103
97326 110742 3769 Roll R9
97555 110682 3782 Roll R9
97555 110362 3945 Roll R18
97608 110602 3884 Roll R13
97764 130822 34813  K Complete C55
97764 131602 391322  K Complete C105
201715 133222 30076 K Complete C18
201727 111592 319250 Roll R26
201732 111572 319270 Roll R26
201840 133942 30073 K Complete C17
201840 131562 391304  K Complete C103
202728 110942 3921 Roll R14
202773 111362 320270 Roll R27
202964 130002 3725  K Complete C2
202964 120002 3725 P Service Assy. C2
203000 110422 3415-25 Roll R1
203001 110442 3415-28 Roll R2
203386 110462  3450-25 Roll R2
203833 111602 336323 Roll R29
203878 130042 3811  K Complete C3
203878 131462 391324  K Complete C106
204250 110562 3883 Roll R13
204420 133862 34420 K Complete C49
204427 111382 323290 Roll R27
204466 120262 3941 P Service Assy. C15
204530 120222 3881 P Service Assy. C11
204676 130322 34023  K Complete C25
204676 120342 34023 P Service Assy. C25
205536 120242 3940 P Service Assy. C14
206778 121222 34713 P Service Assy. C50
206781 134862 34390-04 K Complete C46
206783 134842 34390-03 K Complete C46
206785 132982 34757-01 K Complete C52
206786 134882 34757-09 K Complete C52
87413/1 130022 3810  K Complete C2
87413/1 131242 391320  K Complete C105





P1

AIRTECH
Product No

AIRTECH
Order No Aplication Page

No

PRODUCT LIST
Remark AIRTECH

Product No
AIRTECH
Order No Aplication Page

No

PRODUCT LIST
Remark

PR
OD

UC
T

LI
ST

111622 3159 Roll R1
110422 3415-25  Roll R1
111122 3415-25 2L  Roll R1
110442 3415-28  Roll R2
111142 3415-28 2L  Roll R2
110462 3450-25  Roll R2
110002 3644 Roll R3
111742 3644 Brazil  Roll R3
110022 3661 Roll R3
110042 3662 Roll R4
110062 3673 Roll R4
110082 3701 Roll R4
110662 3706 Roll R5
110502 3713 Roll R5
110702 3715 Roll R5
110102 3716 Roll R6
110482 3719 Roll R6
110122 3720 Roll R6
110142 3727 Roll R7
110982 3728 Roll R7
110162 3737 Roll R7
110182 3746 Roll R8
110582 3757 Roll R8
110542 3762 Roll R8
110922 3768 Roll R9
110742 3769 Roll R9
110682 3782 Roll R9
111732 3782 Brazil  Roll R10
110722 3786 Roll R10
111472 3788 Roll R10
111322 3817 Roll R11
110642 3819 Roll R11
110762 3838 Roll R11
110802 3873 Roll R12
110522 3876 Roll R12
110622 3882 Roll R12
110562 3883 Roll R13
110602 3884 Roll R13
110202 3896 Roll R13
110222 3897 Roll R14
110242 3916 Roll R14
110942 3921 Roll R14
111712 3921 Brazil  Roll R15
110262 3927 Roll R15
111722 3927 Brazil    Roll R15
110282 3928 Roll R16
111692 3928-01  Roll R16
110302 3936 Roll R16
110322 3943 Roll R17
110342 3944 Roll R17
111642 3944 Brazil Roll R17

110362 3945 Roll R18
111442 3975 Roll R18
111812 30031 Roll R18
111702 30115 Roll R19
111662 30134 Roll R19
111792 30232 Roll R19
111682 30375 Roll R20
111802 30427 Roll R20
111552 30789 Roll R20
111532 30792 Roll R21
111282 30907 Roll R21
111302 31277 Roll R21
111482 31415 Roll R22
110842 31421 Roll R22
110862 31720 Roll R22
111172 31782 Roll R23
110402 31885 Roll R23
110902 31924 Roll R23
110382 36305 Roll R24
110782 36306 Roll R24
110132 36875 Roll R24
110052 36876 Roll R25
110072 36877 Roll R25
110112 37142 Roll R25
110032 318285 Roll R26
111592 319250 Roll R26
111572 319270 Roll R26
111362 320270 Roll R27
111342 320285 Roll R27
111382 323290 Roll R27
110012 327270 Roll R28
111752 330260 Roll R28
111762 332260 Roll R28
111602 336323 Roll R29
111502 30008 Roll R29
111782 30375-01  Roll R29
111262 31888 Roll R30
121382 3662-01 P Service Assy. METRIC S1
121542 3727 P Service Assy. METRIC S1
121562 3727-01 P Service Assy. METRIC S1
120602 3808 T Service Assy. METRIC S2
120922 3809 T Service Assy. METRIC S2
120102 3811-03 P Service Assy. METRIC S2
120682 3811-04 P Service Assy. METRIC S3
120842 3811-05 P Service Assy. METRIC S3
120162 3836-01 P Service Assy. METRIC S3
120962 3909 T Service Assy. METRIC S4
120562 3951 P Service Assy. METRIC S4
123192 30010 P Service Assy. METRIC S4
122492 31324 P Service Assy. METRIC S5
120072 32621 P Service Assy. METRIC S5



P2

AIRTECH
Product No

AIRTECH
Order No Aplication Page

No

PRODUCT LIST
Remark AIRTECH

Product No
AIRTECH
Order No Aplication Page

No

PRODUCT LIST
Remark

123052 34007 P Service Assy. METRIC S5
120472 34157-03 P Service Assy. METRIC S6
123102 34705 P Service Assy. METRIC S6
122932 34725 P Service Assy. METRIC S6
120622 34810 T Service Assy. METRIC S7
121202 34838 P Service Assy. METRIC S7
120462 34881 P Service Assy. METRIC S7
121462 34915 P Service Assy. METRIC S8
122552 34922 P Service Assy. METRIC S8
122562 36055 P Service Assy. METRIC S8
123112 36198 P Service Assy. METRIC S9
121762 36873 P Service Assy. METRIC S9
122842 38002 P Service Assy. METRIC S9
122862 38003  P Service Assy. METRIC S10
134982 3661 K Complete METRIC C1
134182 3701 K Complete METRIC C1
135572 3724 K Complete METRIC C1
130002 3725  K Complete METRIC C2
130642 3725-01  K Complete METRIC C2
130022 3810  K Complete METRIC C2
130042 3811  K Complete METRIC C3
130062 3811-01  K Complete METRIC C3
130082 3811-02  K Complete METRIC C3
130482 3811-06  K Complete METRIC C4
131082 3811-07  K Complete METRIC C4
130102 3813  K Complete METRIC C4
130122 3813-01 K Complete METRIC C5
132102 3813-03 K Complete METRIC C5
132282 3813-05 K Complete IMPERIAL C5
132402 3813-06 K Complete METRIC C6
132822 3813-07 K Complete METRIC C6
133402 3813-08 K Complete METRIC C6
136422 3813-10 K Complete METRIC C7
130752 3813-11 K Complete METRIC C7
136792 3813-12 K Complete METRIC C7
136802 3813-13 K Complete METRIC C8
136822 3813-14 K Complete METRIC C8
131022 3836  K Complete METRIC C8
131062 3836-02 K Complete METRIC C9
131922 3836-04 K Complete METRIC C9
130502 3836-05 K Complete METRIC C9
131942 3836-06 K Complete METRIC C10
130582 3836-16 K Complete METRIC C10
135222 3876 K Complete METRIC C10
130182 3881 K Complete METRIC C11
130522 3881-01  K Complete METRIC C11
130602 3881-02  KPP Complete METRIC C11
134902 3887 K Complete METRIC C12
137052 3887-03 K Complete METRIC C12
137062 3887-04 K Complete METRIC C12
136632 3889 K Complete METRIC C13

131282 3897  K Complete METRIC C13
130962 3902 K Complete METRIC C13
136322 3909-01K Complete METRIC C14
132062 3912  K Complete METRIC C14
130202 3940  K Complete METRIC C14
130842 3940-01  K Complete METRIC C15
130682 3940-02 K Complete METRIC C15
130222 3941  K Complete METRIC C15
132222 3941-01  KPP Complete METRIC C16
130542 3942  K Complete METRIC C16
130802 3942-01  K Complete METRIC C16
131262 3944  K Complete METRIC C17
136682 30051 KPP Complete METRIC C17
133942 30073 K Complete METRIC C17
133222 30076 K Complete METRIC C18
132082 30081  K Complete METRIC C18
132762 30081-01  K Complete IMPERIAL C18
136542 30283 K Complete METRIC C19
134722 30285 K Complete METRIC C19
135242 30907 K Complete METRIC C19
130792 31070 K Complete METRIC C20
135792 31415-01 K Complete METRIC C20
133902 31924 K Complete METRIC C20
134522 32303 K Complete METRIC C21
130652 32428 K Complete METRIC C21
132942 32618  KPP Complete METRIC C21
132922 32619  KPP Complete METRIC C22
133422 32918 K Complete METRIC C22
130432 32922 K Complete METRIC C22
135552 32923 KPP Complete METRIC C23
130072 32923-01 K Complete METRIC C23
132702 32926  K Complete METRIC C23
136142 33708 K Complete METRIC C24
130282 34004  K Complete METRIC C24
130302 34022  K Complete METRIC C24
130322 34023  K Complete METRIC C25
130342 34028  K Complete METRIC C25
137332 34028-05 K Complete METRIC C25
130452 34113 K Complete METRIC C26
134382 34150 K Complete IMPERIAL C26
134162 34154  K Complete METRIC C26
132022 34154-01  K Complete METRIC C27
132522 34154-02  KPP Complete METRIC C27
133082 34154-03  K Complete IMPERIAL C27
134102 34154-04 K Complete IMPERIAL C28
133702 34154-06 K Complete METRIC C28
134142 34156 K Complete METRIC C28
130402 34156-01  K Complete METRIC C29
131902 34156-02 KPP Complete METRIC C29
132162 34156-03  K Complete METRIC C29
132302 34156-05  KPP Complete IMPERIAL C30



P3

AIRTECH
Product No

AIRTECH
Order No Aplication Page

No

PRODUCT LIST
Remark AIRTECH

Product No
AIRTECH
Order No Aplication Page

No

PRODUCT LIST
Remark

PR
OD

UC
T

LI
ST

132682 34156-06 KPP Complete IMPERIAL C30
132722 34156-07  KPP Complete IMPERIAL C30
132742 34156-08  KPP Complete IMPERIAL C31
133122 34156-10 K Complete IMPERIAL C31
133242 34156-12 KPP Complete IMPERIAL C31
136342 34156-14 K Complete METRIC C32
136672 34156-15 K Complete METRIC C32
134542 34156-16 K Complete METRIC C32
134662 34156-17 K Complete METRIC C33
136842 34156-18 K Complete METRIC C33
130412 34156-19 K Complete METRIC C33
131302 34157  KPP Complete METRIC C34
131042 34157-04 KPP Complete METRIC C34
130902 34157-05 KPP Complete METRIC C34
130942 34157-08 KPP Complete METRIC C35
130922 34157-10 KPP Complete METRIC C35
133202 34158 KPP Complete METRIC C35
130422 34159  K Complete METRIC C36
133982 34159-S1 K-ALU Complete METRIC C36
130442 34159-01 K Complete METRIC C36
130762 34159-02 K Complete METRIC C37
131102 34159-03  K Complete METRIC C37
131122 34159-04  KPP Complete METRIC C37
132042 34159-05  K Complete METRIC C38
132142 34159-06 KPP Complete IMPERIAL C38
135722 34159-07  K Complete IMPERIAL C38
132842 34159-08  K Complete IMPERIAL C39
133162 34159-09 K Complete METRIC C39
133682 34159-10 KPP Complete METRIC C39
134792 34159-11 K Complete METRIC C40
132382 34159-12 K Complete IMPERIAL C40
136382 34159-15 K ALU Complete METRIC C40
136402 34159-16 K Complete METRIC C41
134802 34159-17 K ALU Complete METRIC C41
134742 34159-18 K ALU Complete METRIC C41
134822 34159-19 K Complete METRIC C42
136862 34159-22 K Complete METRIC C42
136882 34159-23 K ALU Complete METRIC C42
135042 34183-23 K Complete METRIC C43
135822 34183-24 K Complete METRIC C43
132172 34185-01 K Complete METRIC C43
132192 34185-21 K Complete METRIC C44
131482 34187-01 K Complete METRIC C44
135892 34187-21 K Complete METRIC C44
132462 34187-22 K Complete METRIC C45
130982 34390-01  K Complete METRIC C45
131002 34390-02  K Complete METRIC C45
134842 34390-03 K Complete METRIC C46
134862 34390-04 K Complete METRIC C46
135602 34390-21 K Complete METRIC C46
135622 34390-22 K Complete METRIC C47

135662 34390-23 K Complete METRIC C47
135672 34390-24 K Complete METRIC C47
130092 34391-01 K Complete METRIC C48
137042 34391-02 K Complete METRIC C48
130132 34391-21 K Complete METRIC C48
130152 34391-22 K Complete METRIC C49
133862 34420 K Complete METRIC C49
132472 34644 K Complete METRIC C49
131842 34713 K Complete METRIC C50
131962 34718 K Complete METRIC C50
133022 34737-01 K Complete METRIC C50
133042 34737-02 K Complete METRIC C51
135642 34737-21 K Complete METRIC C51
135652 34737-22 K Complete METRIC C51
132982 34757-01 K Complete METRIC C52
133002 34757-02 K Complete METRIC C52
134882 34757-09 K Complete METRIC C52
135692 34757-21 K Complete METRIC C53
135712 34757-22 K Complete METRIC C53
135682 34757-29 K Complete METRIC C53
135852 34758-01 K Complete METRIC C54
135862 34758-21 K Complete METRIC C54
137012 34759-01 K Complete METRIC C54
137022 34759-21 K Complete METRIC C55
130822 34813  K Complete METRIC C55
131222 34838-01 K Complete METRIC C55
132442 34838-02 K Complete METRIC C56
132482 34838-03 K Complete METRIC C56
135702 34838-21 K Complete METRIC C56
135802 34838-22 K Complete METRIC C57
135812 34838-23 K Complete METRIC C57
131862 34881-01  K Complete METRIC C57
135512 34882 K Complete METRIC C58
135522 34883 K Complete METRIC C58
135532 34884 K Complete METRIC C58
136642 34885 K Complete METRIC C59
136582 34886 K Complete METRIC C59
131182 34911  K Complete METRIC C59
134442 34911-01 K Complete METRIC C60
135982 34911-04 K Complete METRIC C60
131202 34912  K Complete METRIC C60
135062 34912-01 K Complete METRIC C61
135912 34912-10 K Complete METRIC C61
132122 34913  K Complete METRIC C61
135182 34915-01 K Complete METRIC C62
135422 34922 KPP Complete METRIC C62
132002 34925  K Complete METRIC C62
131522 34930 KPP Complete METRIC C63
131502 34933 K Complete METRIC C63
135742 34940 KPP Complete METRIC C63
130722 34940-01 KPP Complete METRIC C64



P4

AIRTECH
Product No

AIRTECH
Order No Aplication Page

No

PRODUCT LIST
Remark AIRTECH

Product No
AIRTECH
Order No Aplication Page

No

PRODUCT LIST
Remark

130882 34941  K Complete METRIC C64
135732 34960 KPP Complete METRIC C64
130862 34960-01 KPP Complete METRIC C65
135752 34961 KPP Complete METRIC C65
130162 35755 K Complete METRIC C65
130192 35759 KPP Complete METRIC C66
134562 36075 K Complete METRIC C66
135832 36108 K Complete METRIC C66
136562 36113 K Complete METRIC C67
132862 36199  K Complete METRIC C67
133182 36200 K Complete METRIC C67
135942 36247 KPP Complete METRIC C68
134762 36251 K Complete METRIC C68
135882 36286 K Complete METRIC C68
132542 36305 T Complete METRIC C69
132562 36306 T Complete METRIC C69
136652 36311 K Complete METRIC C69
136662 36312 K Complete METRIC C70
135872 36318 K Complete METRIC C70
132902 36416  K Complete METRIC C70
134302 36418 K Complete METRIC C71
135282 36420 K Complete METRIC C71
135932 36753 K Complete METRIC C71
135962 36760 K Complete METRIC C72
135972 36762 K Complete METRIC C72
135992 36770 K Complete METRIC C72
130912 36771 K Complete METRIC C73
130852 36876 T Complete METRIC C73
130892 36877 T Complete METRIC C73
133822 36884 K Complete METRIC C74
133842 36885 K Complete METRIC C74
130772 37313 KPP Complete METRIC C74
133762 37315 K Complete METRIC C75
135582 37803 K Complete METRIC C75
134462 37804 K Complete METRIC C75
135592 37805 K Complete METRIC C76
134502 38050 K Complete IMPERIAL C76
137142 38050-01 K Complete IMPERIAL C76
133782 38185 KPP Complete METRIC C77
134122 38185-01 KPP Complete METRIC C77
133802 38186 KPP Complete METRIC C77
137182 38204KPP Complete IMPERIAL C78
136602 38608 KPP Complete METRIC C78
134782 38683 K Complete METRIC C78
137202 38708KPP Complete IMPERIAL C79
137072 38709KPP Complete IMPERIAL C79
137082 38713KPP Complete IMPERIAL C79
137152 38755 K ALU Complete IMPERIAL C80
137212 38829KPP Complete IMPERIAL C80
137192 38852KPP Complete IMPERIAL C80
133282 39002 A3  KPP Complete METRIC C81

136482 39002 A3  KPP 90º Complete METRIC C81
133322 39002-A3-01 KPP Complete METRIC C81
134262 39002-A3/08 KPP Complete METRIC C82
133302 39002-A8  KPP Complete METRIC C82
131072 39026 KPP Complete IMPERIAL C82
134362 39039 K Complete IMPERIAL C83
134482 39069 K Complete IMPERIAL C83
134942 39121 K Complete IMPERIAL C83
135102 39213 K Complete IMPERIAL C84
137112 39219KPP Complete IMPERIAL C84
131192 39241 KPP Complete IMPERIAL C84
137132 39243KPP Complete IMPERIAL C85
134022 39265 K Complete IMPERIAL C85
134042 39270 K Complete IMPERIAL C85
130952 39287 KPP Complete IMPERIAL C86
135002 39293 K Complete IMPERIAL C86
135262 39294 K Complete IMPERIAL C86
131132 39296 KPP Complete IMPERIAL C87
131112 39297 KPP Complete IMPERIAL C87
135022 39321 KPP Complete IMPERIAL C87
131092 39362 KPP Complete IMPERIAL C88
137122 39370KPP Complete IMPERIAL C88
135542 39371 K Complete IMPERIAL C88
133442 39373 K Complete IMPERIAL C89
136362 39373-01 K Complete IMPERIAL C89
133462 39391 K Complete IMPERIAL C89
135142 39422 K Complete IMPERIAL C90
137002 39422-01 KPP Complete IMPERIAL C90
135772 39466 K Complete IMPERIAL C90
137162 39640 K ALU Complete IMPERIAL C91
137172 39648KPP Complete IMPERIAL C91
132962 39780  K Complete METRIC C91
133722 39910  K Complete METRIC C92
132502 39921KPP Complete IMPERIAL C92
132582 39923KPP Complete IMPERIAL C92
134622 330301 K Complete METRIC C93
136102 330301-02  K Complete METRIC C93
135632 330302 K Complete METRIC C93
134582 330304 K Complete METRIC C94
134702 330305 K Complete METRIC C94
135482 330306 K Complete METRIC C94
134682 330307 K Complete METRIC C95
135202 331114 K Complete METRIC C95
136702 331237 K Complete METRIC C95
136712 331238 K Complete METRIC C96
136722 331239 K Complete METRIC C96
136732 331240 K Complete METRIC C96
136742 331241 K Complete METRIC C97
136752 331242 K Complete METRIC C97
136762 331243 K Complete METRIC C97
136772 331246 K Complete METRIC C98



P5

AIRTECH
Product No

AIRTECH
Order No Aplication Page

No

PRODUCT LIST
Remark AIRTECH

Product No
AIRTECH
Order No Aplication Page

No

PRODUCT LIST
Remark

PR
OD

UC
T

LI
ST

136782 331247 K Complete METRIC C98
134602 334506 K Complete METRIC C98
133642 361420 K Complete METRIC C99
133602 361421 K Complete METRIC C99
133622 361480 K Complete METRIC C99
133542 361481 K Complete METRIC C100
133562 362421 K Complete METRIC C100
133522 374521 K Complete METRIC C100
133662 382430 K Complete METRIC C101
137032 382430-01 K Complete METRIC C101
133582 382520 K Complete METRIC C101
131682 391208  K Complete METRIC C102
131662 391209  K Complete METRIC C102
131642 391210  K Complete METRIC C102
134422 391210-01 K Complete METRIC C103
131162 391303  K Complete METRIC C103
131562 391304  K Complete METRIC C103
131582 391305  K Complete METRIC C104
131722 391314  K Complete METRIC C104
131142 391318  K Complete METRIC C104
131442 391319  K Complete METRIC C105
131242 391320  K Complete METRIC C105
131602 391322  K Complete METRIC C105
131622 391323  K Complete METRIC C106
131462 391324  K Complete METRIC C106




